Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 1 253 3RD AVENUE NORTH IWT055
TWIN FALLS, ID 83301

REGISTER OF ACTION LIST SHOWING ALL UPCOMING HEARINGS FOR THE PERIOD 12/01/2014 THRU 3/31/2015. NOTE: ALL HEARINGS WILL BE HELD AT THE SRBA COURTHOUSE UNLESS OTHERWISE NOTED.

DATE TIME SUBCASE# ROA-DESCRIPTION \_\_\_\_\_\_

12/16/2014 12:30 (PT) 00-49576 HEARING ON UNCONTESTED: 12/16/14
12/16/2014 1:30 (PT) 93-07655 NOTICE SETTING HEARING - LATE CLAIM
2/17/2015 1:30 (PT) 93-07656 NOTICE SETTING HEARING ON MOTION TO FILE
LATE NOTICE OF CLAIM

Coeur d'Alene-Spokane River Adjudication DOCKET S 253 3RD AVENUE NORTH TWIN FALLS, ID 83301			ion DOCKET SHEET	12/08/14 IWT040				PAGE: 1	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		RIOD 11/01/2		/30/2014.		
		RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720				6 07 08 0	9 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720						
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES	Water So	urce: ST JO	DE RIVER TI	RIBUTARY:	COEUR D'ALENE LAKE	
91-07624	11/28/2014	(AIII)	BOISE, ID 83724 PAYNE, DOUGLAS & KRISTI PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA	Is	sues: 03 07	12			
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829						
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water So	urce: ST JO	DE RIVER TI	RIBUTARY:	COEUR D'ALENE LAKE	
91-07624	11/28/2014	RESPONSE: (ATTY)	MITCHELL, GARY SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Is	sues: 03 07	12			
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829						
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water So	urce: ST JO	E RIVER TI	RIBUTARY:	COEUR D'ALENE LAKE	
91-07624	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 MC CALL, NORMAN SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Is	sues: 03 07	12			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829						
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water So	urce: ST JO	DE RIVER TI	RIBUTARY:	COEUR D'ALENE LAKE	

253 3RD AVE	NUE NORTH	ver Adjudicat	ion DOCKET SHEET		08/14 WT040		PAGE:	2
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE	PERIOD 1	11/01/2014 THRU	11/30/2014	
91-07624	11/28/2014	RESPONSE: (ATTY)	CROWS NEST WATER ASSN SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	03 07 12		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		Source:	ST JOE RIVER	TRIBUTARY	: COEUR D'ALENE LAKE
91-07624	11/28/2014	(ATTY)	WEBER FARMS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	03 07 12		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		Source:	ST JOE RIVER	TRIBUTARY	: COEUR D'ALENE LAKE
91-07624	11/28/2014	(ATTY)	DAY, RICK & HOLLY PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	03 07 12		
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		(ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 83724				TRIBUTARY	: COEUR D'ALENE LAKE
91-07624	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 FERRIS, JOHN & SHIRLEY SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	03 07 12		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	ST JOE RIVER	TRIBUTAR	: COEUR D'ALENE LAKE
			BOISE, ID 83724					

PAGE: 3

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 253 3RD AVENUE NORTH TWIN FALLS, ID 83301 12/08/14 IWT040

SUBCASE#	DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED				11/30/2014.
			HARTEL, PATRICE SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			03 07 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
91-07624	11/28/2014	RESPONSE: (ATTY)	MURRAY, TERRY & WILMA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	03 07 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
91-07624	11/28/2014	RESPONSE: (ATTY)			Issues:	03 07 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)		Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
91-07624	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	MULLAN SCHOOL DISTRICT #392 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	03 07 12	
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE

253 3RD AVE	NUE NORTH	vei Aujudicac	TOTE DOCKET SHEET		VT040		INGE. 4	
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED					
			HARWOOD, DICK & CAROLE SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			03 07 12		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'AL	ENE LAKE
91-07624	11/28/2014	RESPONSE: (ATTY)	BRUNS, NONA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	03 07 12		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'AI	ENE LAKE
91-07624	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 CLARK, CAROL SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	03 07 12		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'AI	ENE LAKE
91-07624	11/28/2014	(ATTY)	DOHRMAN, JEAN PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201		Issues:	03 07 12		
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'AI	ENE LAKE

253 3RD AVE	NUE NORTH	ver Aujudicat	TOTE DOCKET SHEET		WT040		IAGE. J	
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED					
		RESPONSE: (ATTY)  OBJECTION:	MICHAEL, ROY & LINDA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA					
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)		Water	Source:	ST JOE RIVER	TRIBUTARY:	COEUR D'ALENE LAKE
91-07624	11/28/2014	RESPONSE: (ATTY)	GENTRY, DEAN & GLENDA PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	03 07 12		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		(ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	ST JOE RIVER	TRIBUTARY:	COEUR D'ALENE LAKE
91-07624	11/28/2014	(ATTY)	BOISE, ID 83724 GREEN, MARTHA PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	03 07 12		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER	TRIBUTARY:	COEUR D'ALENE LAKE
91-07624	11/28/2014	(ATTY)	STANLEY, ROBIN & LESLEE PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861		Issues:	03 07 12		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER	TRIBUTARY:	COEUR D'ALENE LAKE

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 6 253 3RD AVENUE NORTH TWIN FALLS, ID 83301 REGISTER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. SUBCASE# DATE FILED PARTIES INVOLVED 91-07624 11/28/2014 RESPONSE: BUELL, JACK A & ELEANOR L ISSUES: 03 07 12 (ATTY) WOLFF, NANCY A. MORRIS & WOLFF, P.A. 722 MAIN AVE ST MARIES, ID 83861 OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M

101 S CAPITOL BLVD 10TH FL

BOISE, ID 83701-0829
CLAIMANT: UNITED STATES OF AMERICA
(ATTY) US DEPARTMENT OF JUSTICE Water Source: ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724

Issues: 03 07 12 (ATTY) PAYNE, DOUGLAS P.
701 W COLLAGE ST STE 201 ST MARIES, ID 83861

PO BOX 829

OBJECTION: WOEMPNER, CARLA
(ATTY) SEMANKO, NORMAN M
101 S CAPITOL BLVD 10TH FL PO BOX 829

BOISE, ID 83701-0829
CLAIMANT: UNITED STATES OF AMERICA
(ATTY) US DEPARTMENT OF JUSTICE Water Source: ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE

ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 91-07624 11/28/2014 RESPONSE: WEBER, BERNARD & DAWN

Issues: 03 07 12 (ATTY) SEMANKO, NORMAN M

> PO BOX 829 BOISE, ID 83701-0829 OBJECTION: WOEMPNER, CARLA

(ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL

101 S CAPITOL BLVD 10TH FL

PO BOX 829
BOISE, ID 83701-0829
CLAIMANT: UNITED STATES OF AMERICA

Water Source: ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE (ATTY) US DEPARTMENT OF JUSTICE

ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033

BOISE, ID 83724 RESPONSE: DEVRIES, KEN & YVONNE 91-07624 11/28/2014 Issues: 03 07 12

(ATTY) PAYNE, DOUGLAS P.
701 W COLLAGE ST STE 201 ST MARIES, ID 83861
OBJECTION: WOEMPNER, CARLA

(ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL

PO BOX 829
BOISE, ID 83701-0829
CLAIMANT: UNITED STATES OF AMERICA

Water Source: ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE (ATTY) US DEPARTMENT OF JUSTICE

ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724

253 3RD AVE				IW	T040		
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED				11/30/2014.
		RESPONSE: (ATTY)	DUHAMEL, TOM & EILEEN PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	03 07 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET MSC 033	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
91-07624	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	03 07 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
91-07624	11/28/2014	RESPONSE: (ATTY)	JOHNSON, J RACHAEL PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M		Issues:	03 07 12	
		OBJECTION: (ATTY)	PO BOX 829				
			BOISE, ID 83701-0829 UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724				TRIBUTARY: COEUR D'ALENE LAKE
91-07624	11/28/2014	RESPONSE: (ATTY)	ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 MCMAHON, JOHN & MICHELLE SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	03 07 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE

253 3RD AVE	253 3RD AVENUE NORTH TWIN FALLS, ID 83301			IWT040		INGL. 0		
REGIS	STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			11/30/2014.		
91-07624	11/28/2014	RESPONSE: (ATTY)	CARVER, THOMAS G & MARY M PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861	Issues:	03 07 12			
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		(ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			TRIBUTARY: COEUR D'ALENE LAKE		
91-07624	11/28/2014	(ATTY)	BOISE, ID 83724 ANDERSON, EDWARD & CANDACE PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	03 07 12			
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE		
91-07624	11/28/2014	(ATTY)	ANDERSON, BOB & PATTY PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	03 07 12			
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		(ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE		
91-07624	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	03 07 12			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE		
			BOISE, ID 83724					

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 9
253 3RD AVENUE NORTH IWT040

253 3RD AVE TWIN FALLS,				IWT040		
REGIS	TER OF ACTION	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIO	D 11/01/2014 THRU	11/30/2014.
91-07624	11/28/2014	(ATTY)	HALVORSON, RODERICK & BETH SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issue	s: 03 07 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	e: ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
91-07624	11/28/2014	RESPONSE: (ATTY)	MENDIVE, RONALD & SHERLENE SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issue	s: 03 07 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	e: ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
91-07624	11/28/2014	(ATTY)	HARRISON, WILLIAM & GRETCHEN PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issue	s: 03 07 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	e: ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
91-07624	11/28/2014	RESPONSE: (ATTY)	MCANICH, WILLIAM & NANCY SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issue	s: 03 07 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	e: ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE

253 3RD AVE	NUE NORTH	ver Aujudicac	TOTE DOCKET SHEET		WT040		IAGE. IV
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED				11/30/2014.
91-07624	11/28/2014	RESPONSE: (ATTY)	MCFADDIN, JOHN & AGNES PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	03 07 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033				TRIBUTARY: COEUR D'ALENE LAKE
91-07624	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 NEWSON, JOEL & CINDY SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	03 07 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
91-07624	11/28/2014		PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	03 07 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
91-07624	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SOTIN, LARRY & SUSAN PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	03 07 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)		Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE

253 3RD AVE	oeur d'Arene-Spokane River Adjudication Docker Sheer 53 3RD AVENUE NORTH WIN FALLS, ID 83301		TON DOCKET SHEET	12/08/14 IWT040			PAGE: II		
REGIS SUBCASE#	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED				11/30/2014.		
91-07624	11/28/2014		BOLDT, LELAND & DANIELLE PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861						
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829						
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE		
91-07624	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201		Issues:	03 07 12			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829						
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE		
91-07624	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	03 07 12			
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829						
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE		
91-07624	11/28/2014	RESPONSE: (ATTY)	POWELL, RICHARD L SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	03 07 12			
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829						
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE		

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 12 253 3RD AVENUE NORTH IWT040

253 3RD AVI		_		IWT040		
			ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			11/30/2014.
91-07624	11/28/2014	RESPONSE: (ATTY)			es: 03 07 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sourc	ce: ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
91-07624	11/28/2014	(ATTY)	VAIL, DON & MARTHA PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID. 83861	Issue	es: 03 07 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sourc	ce: ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
91-07624	11/28/2014	RESPONSE: (ATTY)	BRODIE, VIC & RITA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issue	es: 03 07 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sourc	ce: ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
91-07624	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861	Issue	es: 03 07 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sourc	ce: ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 13 253 3RD AVENUE NORTH IWT040

253 3RD AVE		2		IWT040		
			ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			11/30/2014.
91-07624	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			TRIBUTARY: COEUR D'ALENE LAKE
91-07624	11/28/2014	(ATTY)	BOISE, ID 83724 PETRIE, PATRICK & ANNETTE PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	03 07 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
91-07624	11/28/2014	RESPONSE: (ATTY)	SHORT, ROBERT & GAIL SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	03 07 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
91-07624	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	03 07 12	
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 14 253 3RD AVENUE NORTH IWT040

TWIN FALLS,				1W1'040		
REGIS SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD	11/01/2014 THRU	11/30/2014.
			FARREL, EDMOND & JANET SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	03 07 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
91-07624	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	03 07 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			TRIBUTARY: COEUR D'ALENE LAKE
91-07624	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	03 07 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724	Water Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
91-07624	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	SMITH, PAUL & COLLEEN PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA	Issues:	03 07 12	
		(ATTY)  CLAIMANT:	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA	Water Source	ST .TOF DIVIPD	TRIBUTARY: COEUR D'ALENE LAKE
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water source.	OI OOE KIVEK	TRIDUTARY. COBOR D ADDRE DAKE

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 15 253 3RD AVENUE NORTH IWT040

253 3RD AVE	NUE NORTH TD 83301			IWT040		
REGIS'	TER OF ACTION		G ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			
91-07624	11/28/2014	RESPONSE: (ATTY)	ROBERTS, ELIZABETH SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			TRIBUTARY: COEUR D'ALENE LAKE
91-07624	11/28/2014	(ATTY)	WHEELER, MARVIN & MARYANNE PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	03 07 12	
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			TRIBUTARY: COEUR D'ALENE LAKE
91-07624	11/28/2014	(ATTY)	BOISE, ID 83724 MCDANIEL, LANCE & MICHELE SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	03 07 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
91-07624	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	03 07 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE

253 3RD AVENUE NORTH TWIN FALLS, ID 83301 REGISTER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSE				IWT040	
REGI	STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		
91-07624	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE
91-07636	11/24/2014	RESPONSE: (ATTY)		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
91-07636	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
91-07636	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

Coeur d'Alei 253 3RD AVEI TWIN FALLS,	ne-Spokane Riv	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE:	17
REGIS: SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			
91-07636	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA	Issues:	01 02 03 04 05 06 07 08	09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 FERNWOOD WATER & SEWER DIST	Water Source:		
91-07636	11/28/2014	(A'I'I'Y)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08	09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
91-07636	11/28/2014	(ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE ID 83701-0829	Issues:	01 02 03 04 05 06 07 08	09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
91-07636	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08	09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER	

53 3RD AVE WIN FALLS,	NUE NORTH ID 83301			ΙV	TO40	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
-07636	11/28/2014	(ATTY)	BALDWIN, JOHN LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
-07729	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ALL SOURCES OF SURFACE AND GROUNDWATER
-07729	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOLSE TD 83701-0829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ALL SOURCES OF SURFACE AND GROUNDWATER

253 3RD AVE	NUE NORTH	ver Adjudicat	TON DOCKET SHEET	IZ/U8 IWT	040	PAGE: 19
SUBCASE#	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			
	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water S	Source:	ALL SOURCES OF SURFACE AND GROUNDWATER
91-07729	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	I	ssues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water S	Source:	ALL SOURCES OF SURFACE AND GROUNDWATER
91-07729	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	I	ssues:	01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S			ALL SOURCES OF SURFACE AND GROUNDWATER
91-07729	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Ι	ssues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water S	Source:	ALL SOURCES OF SURFACE AND GROUNDWATER

253 3RD AVE	NUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08 IWI	T040	PAGE: 20
TWIN FALLS, REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	FOR THE E		
91-07729	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water S	Source:	ALL SOURCES OF SURFACE AND GROUNDWATER
91-07729	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	]	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water S	Source:	ALL SOURCES OF SURFACE AND GROUNDWATER
91-07729	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720	3	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water S	Source:	ALL SOURCES OF SURFACE AND GROUNDWATER
91-07755	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	1	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water S	Source:	ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE

Coeur d'Ale 253 3RD AVE TWIN FALLS,	NUE NORTH	ver Adjudicat	ion DOCKET SHEET		08/14 WT040		PAGE: 21		
REGIS SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED				11/30/2014.		
	11/24/2014	RESPONSE:	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720				06 07 08 09 12	2	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010						
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER	TRIBUTARY: COE	EUR D'ALENE	LAKE
91-07755	11/28/2014	RESPONSE: (ATTY)	PINEHÚRST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05	06 07 08 09 12	2	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829						
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER	TRIBUTARY: COE	EUR D'ALENE	LAKE
91-07755	11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05	06 07 08 09 12	2	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829						
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER	TRIBUTARY: COE	EUR D'ALENE	LAKE
91-07755	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05	06 07 08 09 12	2	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829						
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER	TRIBUTARY: COP	EUR D'ALENE	LAKE

253 3RD AVE	NUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040		PAGE: 22	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED				
	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861				
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LA	KE
91-07755	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05	06 07 08 09 12	
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			TRIBUTARY: COEUR D'ALENE LA	KE
91-07755	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05	06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 SCOTT, ANDREW & HEATHER			TRIBUTARY: COEUR D'ALENE LA	KE
91-07755	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05	06 07 08 09 12	
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		an ran nave-		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water Source:	ST JOE KIVER	TRIBUTARY: COEUR D'ALENE LA	ΝE

oeur d'Ale 53 3RD AVE	ene-Spokane Ri NUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08 IWT	3/14 7040		PAGE: 23	
REGIS UBCASE#	DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED					
1-07755	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	I	ssues:	01 02 03 04 05	5 06 07 08 09	12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720					
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724					
1-07756	11/13/2014	RESPONSE: (ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	I	ssues:	01 02 03 04 05	5 06 07 08 09	10 11
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO DO BOY 83720					
		(21111)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033					
-07756	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	I	Issues:	01 02 03 04 05	5 06 07 08 09	12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOY 83720					
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water S	Source:	HELLER CREEK	TRIBUTARY:	ST JOE RIVER
L-07756	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P.	I	ssues:	01 02 03 04 05	5 06 07 08 09	12
		OBJECTION: (ATTY)	TOTAL W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water S	Source:	HELLER CREEK	TRIBUTARY:	ST JOE RIVER

TWIN FALLS,	NUE NORTH			IWT040	
REGIS' SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
91-07756	11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE. ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)			HELLER CREEK TRIBUTARY: ST JOE RIVER
91-07756	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HELLER CREEK TRIBUTARY: ST JOE RIVER
91-07756	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HELLER CREEK TRIBUTARY: ST JOE RIVER
91-07756	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HELLER CREEK TRIBUTARY: ST JOE RIVER

53 3RD AVEN	IUE NORTH	er Adjudicati	ion DOCKET SHEET		8/14 T040	PAGE: 25
UBCASE#	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, I PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA			
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)		Water	Source:	HELLER CREEK TRIBUTARY: ST JOE RIVER
-07756	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	HELLER CREEK TRIBUTARY: ST JOE RIVER
-07756	11/28/2014	(ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE ID 83720-0010			
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	HELLER CREEK TRIBUTARY: ST JOE RIVER
-07757	11/13/2014	RESPONSE: (ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAK

NUE NORTH	=		IWT04	40		PAGE: 20
ID 83301 FER OF ACTION DATE FILED	LIST SHOWING	IMMIIDD INVOLVED				11/30/2014.
11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720				06 07 08 09 12
	OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Sou	urce:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Iss	sues:	01 02 03 04 05	06 07 08 09 12
	OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Sou	urce:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Iss	sues:	01 02 03 04 05	06 07 08 09 12
	OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Sou	urce:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Iss	sues:	01 02 03 04 05	06 07 08 09 12
	OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sou	urce:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
	NUE NORTH ID 83301 FER OF ACTION DATE FILED	NUE NORTH ID 83301 ERR OF ACTION LIST SHOWING DATE FILED  11/24/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)	To Ref action List showing   Parties involved	UNE NORTH	NUE NORTH	NUE NORTH

253 3RD AVE	Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 253 3RD AVENUE NORTH TWIN FALLS, ID 83301			12/08/14 IWT040			PAGE: 27	
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE	PERIOD 1	1/01/2014 THRU	11/30/2014.	
		RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05	06 07 08 09	12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033					COEUR D'ALENE LAKE
91-07757	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05	06 07 08 09	12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724					
91-07757	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05	06 07 08 09	12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER	TRIBUTARY: (	COEUR D'ALENE LAKE
91-07757	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05	06 07 08 09	12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER	TRIBUTARY: (	COEUR D'ALENE LAKE

ENUE NORTH	ver Adjudicat	ion DOCKET SHEET				PAGE: 28
STER OF ACTION DATE FILED		PARTIES INVOLVED				
11/28/2014		BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720				
	OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
	CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200		Issues:	01 02 03 04 05	06 07 08 09 10 11
	OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05	06 07 08 09 12
	OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05	06 07 08 09 12
	OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
2	ENUE NORTH ID 83301 THER OF ACTION DATE FILED 11/28/2014  11/13/2014	NUE NORTH ID 83301 TER OF ACTION LIST SHOWING DATE FILED  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  11/24/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: CLAIMANT:	ID 83301 DATE FILED  TERO FACTION LIST SHOWING DATE FILED  11/28/2014  RESPONSE: BALDWIN, JOHN (ATTY)  (ATTY)  (BYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720 STATE OF IDAHO PO BOX 83720 BOISE, ID 83700-0010 CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010 CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  RESPONSE: AVISTA CORPORATION (ATTY)  OBJECTION: STATE OF IDAHO (ATTY)  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES STATE OF IDAHO (ATTY)  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO (ATTY)  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO (ATTY)  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO (ATTY)  OBJECTION: STATE OF IDAHO (ATTY)  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO (ATTY)  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES SOW WEST FORT STREET, MSC 033 BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES SOW WEST FORT STREET, MSC 033 BOISE, ID 83724  11/28/2014  RESPONSE: PINEHURST WATER DISTRICT PAYNE, DOUGLASE ST STE 201 ST MARIES, ID 83661  OBJECTION: STATE OF OBJECT AS SEMBANCO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES STO WEST FORT STREET, MSC 033 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: UNITED STATES OF AMERICA	INUE NORTH  ID 83301 STER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PARTIES INVOLVED  11/28/2014  RESPONSE: BALDWIN, JOHN  (ATTY) MEYER, CHRISTOPHER H  601 W BANNOCK ST  PO BOX 2720 BOISE, ID 83701-2720  OBJECTION: STATE OF IDAHO  CLAIMANT: UNITED STATES OF AMERICA AS WATER  (ATTY) SEPARATMENT OF JUSTICE  ENVIRONMENT & NATL' RESOURCES  11/13/2014  RESPONSE: AVISTA CORPORATION  (ATTY) CHIEF NATURAL RESOURCES DIV  OFFICE OF THE ATTORNEY GENERAL  STATE OF IDAHO  (ATTY) SEPARTMENT OF JUSTICE  ENVIRONMENT & NATL' RESOURCES  550 WEST FORT STREET, MSC 033  11/13/2014  RESPONSE: AVISTA CORPORATION  (ATTY) STATE OF IDAHO  OBJECTION: STATE OF IDAHO  (ATTY) CHIEF NATURAL RESOURCES DIV  OFFICE OF THE ATTORNEY GENERAL  STATE OF IDAHO  (ATTY) UNITED STATES OF AMERICA AS WATER  (ATTY) UNITED STATES OF AMERICA AS WATER  11/24/2014  RESPONSE: HAGADONE HOSPITALITY CO  AMBONNOCK ST  OBJECTION: STATE OF IDAHO  (ATTY) CHIEF NATURAL RESOURCES DIV  OFFICE OF THE ATTORNEY GENERAL  STATE OF IDAHO  (ATTY) CHIEF NATURAL RESOURCES  550 WEST FORT STREET, MSC 033  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS WATER  (ATTY) CHIEF NATURAL RESOURCES DIV  OFFICE OF THE ATTORNEY GENERAL  STATE OF IDAHO  (ATTY) CHIEF NATURAL RESOURCES DIV  OFFICE OF THE ATTORNEY GENERAL  STATE OF IDAHO  (ATTY) CHIEF NATURAL RESOURCES DIV  OFFICE OF THE ATTORNEY GENERAL  STATE OF IDAHO  (ATTY) CHIEF NATURAL RESOURCES DIV  OFFICE OF THE ATTORNEY GENERAL  STATE OF IDAHO  (ATTY) CHIEF NATURAL RESOURCES DIV  OFFICE OF THE ATTORNEY GENERAL  STATE OF IDAHO  (ATTY) CHIEF NATURAL RESOURCES DIV  OFFICE OF THE ATTORNEY GENERAL  STATE OF IDAHO  (ATTY) CHIEF NATURAL RESOURCES DIV  OFFICE OF THE ATTORNEY GENERAL  STATE OF IDAHO  (ATTY) CHIEF NATURAL RESOURCES DIV  OFFICE OF THE ATTORNEY GENERAL  STATE OF IDAHO  (ATTY) CHIEF NATURAL RESOURCES DIV  OFFICE OF THE ATTORNEY GENERAL  STATE OF IDAHO  (ATTY) USDEPARTMENT OF JUSTICE  ENVIRONMENT & NATURE AND	INUE NORTH  10 83301 STER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 1 DATE FILED  11/28/2014  RESPONSE: BALDWIN, JOHN  (ATTY)  MEMER, CHRISTOPHER H  601 W BANNOCK ST  PO BOX 2720  BOISE, ID 83701-2720  OBJECTION: STATE OF IDAHO  CLAIMANT: UNITED STATES OF AMERICA AS  (ATTY)  ATTY OF THE ATTORNEY GENERAL  STATE OF IDAHO  PO BOX 83720  CLAIMANT: UNITED STATES OF AMERICA AS  (ATTY)  ATTY OF THE ATTORNEY GENERAL  STATE OF IDAHO  PO BOX 83720  OBJECTION: STATE OF IDAHO  (ATTY)  OBJECTION: STATE OF IDAHO  (ATTY)  CLAIMANT: UNITED STATES OF AMERICA AS  (ATTY)  ATTY OF IDAHO  PO BOX 83720  OBJECTION: STATE OF IDAHO  (ATTY)  CLAIMANT: UNITED STATES OF AMERICA AS  (ATTY)  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS  (ATTY)  SCHROEDER, WILLIAM J  PO BOX 83720  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS  (ATTY)  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS  (ATTY)  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS  (ATTY)  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS  (ATTY)  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS  (ATTY)  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS  (ATTY)  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS  (ATTY)  CHAPTONICAL RESPONSE: AMERICA AS  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS  BOISE, ID 83724  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS  BOISE, ID 83724  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS  BOISE, ID 83724  BOISE, ID 83720-0010  BOISE, ID 83724  BOISE, ID 83724  BOISE, ID	NUME NORTH  11 D 3 ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRUDED ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRUDED ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRUDED ACTION LIST SHOWING ALL OBJECTION AND RESPONSES, FOR THE PERIOD 11/01/2014 THRUDED ACTION AND RESPONSES.  RESPONSE: BALDWIN, JOHN SERVED AND RESPONSES, FOR THE PERIOD 11/01/2014 THRUDED ACTION AND RESPONSES

253 3RD AVE	ENUE NORTH	.01 110,001000	1011 2001121 211221	IWT040		11102.
	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			
91-07758	11/28/2014		EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
91-07758	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)		Water Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
91-07758	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05	06 07 08 09 12
		(ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
91-07758	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 30 253 3RD AVENUE NORTH TWIN FALLS, ID 83301 REGISTER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. SUBCASE# DATE FILED PARTIES INVOLVED .\_\_\_\_\_\_ (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829

CLAIMANT: UNITED STATES OF AMERICA AS Water Source: ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033
BOISE, ID 83724
91-07758 11/28/2014 RESPONSE: SCOTT, ANDREW & HEATHER Issues: 01 02 03 04 05 06 07 08 09 12

1-07758 11/28/2014 RESPONSE: SCOTT, ANDREW & HEATHER Issues: 01 02 03 04 05 06 07 08 09 12

(ATTY) SEMANKO, NORMAN M
101 S CAPITOL BLVD 10TH FL

PO BOX 829
BOISE, ID 83701-0829
OBJECTION: WOEMPNER, CARLA
(ATTY) SEMANKO, NORMAN M
101 S CAPITOL BLVD 10TH FL
PO BOX 829
BOISE ID 83701-0829

BOISE, ID 83701-0829

CLAIMANT: UNITED STATES OF AMERICA AS Water Source: ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE

(ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724

(ATTY) MEYER, CHRISTOPHER H
601 W BANNOCK ST
PO BOX 2720
BOISE, ID 83701-2720
BJECTION: STATE OF IDAHO

OBJECTION: STATE OF IDAHO
(ATTY) CHIEF NATURAL RESOURCES DIV
OFFICE OF THE ATTORNEY GENERAL

STATE OF IDAHO
PO BOX 83720
BOISE, ID 83720-0010

BOISE, ID 83720-0010

CLAIMANT: UNITED STATES OF AMERICA AS Water Source: ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE (ATTY) US DEPARTMENT OF JUSTICE

US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 83724

BOISE, ID 83724 91-07759 11/13/2014 RESPONSE: AVISTA CORPORATION Issues: 01 02 03 04 05 06 07 08 09 10 11

(ATTY) SCHROEDER, WILLIAM J
PAINE HAMBLEN LLP
717 W SPRAGUE AVE, STE 1200
SPOKANE, WA 99201-3505
OBJECTION: STATE OF IDAHO

OBJECTION: STATE OF IDAHO
(ATTY) CHIEF NATURAL RESOURCES DIV

OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720

BOISE, ID 83720-0010

CLAIMANT: UNITED STATES OF AMERICA AS Water Source: FLY CREEK TRIBUTARY: ST JOE RIVER (ATTY) US DEPARTMENT OF JUSTICE

ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 253 3RD AVENUE NORTH TWIN FALLS, ID 83301			12/08/14 IWT040	PAGE:	31	
REGIS SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			
	11/24/2014	RESPONSE:	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08	3 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		FLY CREEK TRIBUTARY:	ST JOE RIVER
91-07759	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08	3 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOTSE, ID 83724		FLY CREEK TRIBUTARY:	
91-07759	11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOTSE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08	3 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
91-07759	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08	3 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	FLY CREEK TRIBUTARY:	ST JOE RIVER

253 3RD AVE	ur d'Alene-Spokane River Adjudication DOCKET SHEET  3RD AVENUE NORTH N FALL TD 22201			12/08/14 IWT040	PAGE: 32
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	FLY CREEK TRIBUTARY: ST JOE RIVER
91-07759	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		FLY CREEK TRIBUTARY: ST JOE RIVER
91-07759	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 SCOTT, ANDREW & HEATHER	Water Source:	FLY CREEK TRIBUTARY: ST JOE RIVER
91-07759	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	FLY CREEK TRIBUTARY: ST JOE RIVER

PAGE: 33

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 253 3RD AVENUE NORTH TWIN FALLS, ID 83301 12/08/14 IWT040

SUBCASE#			PARTIES INVOLVED		
91-07759	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	FLY CREEK TRIBUTARY: ST JOE RIVER
91-07760	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE
91-07760	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE
91-07760	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE

2.53 3RD AVI	oeur d'Alene-Spokane River Adjudication Docker Sheer 53 3RD AVENUE NORTH WIN PAILS ID 93301			IWT040		PAGE: 34	
SODCASE#	, ID 83301 STER OF ACTION DATE FILED		G ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED				
		RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL				
		CLAIMANT: (ATTY)	PO BOX 829 BOISE, ID 83701-0829	Water Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE	
91-07760	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05	06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE	
91-07760	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05	06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE	
91-07760	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05	06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE	
			20102, 12 00.21				

OFFICE OF THE ATTORNEY GENERAL

ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033

STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010 CLAIMANT: UNITED STATES OF AMERICA AS

(ATTY) US DEPARTMENT OF JUSTICE

BOISE, ID 83724

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 35 253 3RD AVENUE NORTH TWIN FALLS, ID 83301 REGISTER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. SUBCASE# DATE FILED PARTIES INVOLVED .\_\_\_\_\_\_ (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829

CLAIMANT: UNITED STATES OF AMERICA AS Water Source: ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033
BOISE, ID 83724
91-07760 11/28/2014 RESPONSE: SCOTT, ANDREW & HEATHER Issues: 01 02 03 04 05 06 07 08 09 12 (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
CLAIMANT: UNITED STATES OF AMERICA AS Water Source: ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 91-07760 11/28/2014 RESPONSE: BALDWIN, JOHN Issues: 01 02 03 04 05 06 07 08 09 12 (ATTY) MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720 OBJECTION: STATE OF IDAHO
(ATTY) CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010

CLAIMANT: UNITED STATES OF AMERICA AS Water Source: ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
RESPONSE: AVISTA CORPORATION 91-07761 11/13/2014 Issues: 01 02 03 04 05 06 07 08 09 10 11 (ATTY) SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 OBJECTION: STATE OF IDAHO (ATTY) CHIEF NATURAL RESOURCES DIV

Water Source: SIMMONS CREEK TRIBUTARY: ST JOE RIVER

253 3RD AVE	NUE NORTH	rei Adjudicat	IOII DOCKET SHEET	IWT040	TAGE. 30
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
		RESPONSE:	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOLSE ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		SIMMONS CREEK TRIBUTARY: ST JOE RIVER
91-07761	11/28/2014		BOISE, ID 83724 PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARKES ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SIMMONS CREEK TRIBUTARY: ST JOE RIVER
91-07761	11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOY 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	SIMMONS CREEK TRIBUTARY: ST JOE RIVER
91-07761	11/28/2014	(ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SIMMONS CREEK TRIBUTARY: ST JOE RIVER
			, 00/21		

d'Alana-Snokana Piwar Adiudication 12/00/14

253 3RD AVEN	IUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 37
SUBCASE#	ER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)			01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		SIMMONS CREEK TRIBUTARY: ST JOE RIVER
91-07761	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		SIMMONS CREEK TRIBUTARY: ST JOE RIVER
91-07761	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOTSE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		SIMMONS CREEK TRIBUTARY: ST JOE RIVER
91-07761	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SIMMONS CREEK TRIBUTARY: ST JOE RIVER

Coeur d'Aler 253 3RD AVEN TWIN FALLS,	NUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/0 IW	08/14 7T040	PAGE:	38
REGIST SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED				
		RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL			01 02 03 04 05 06 07 08	
		CLAIMANT: (ATTY)	STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010	Water	Source:	SIMMONS CREEK TRIBUTA	RY: ST JOE RIVER
91-07762	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08	09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 HAGADONE HOSPITALITY CO				
91-07762	11/24/2014	RESPONSE: (ATTY)	LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08	09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GOLD CREEK TRIBUTARY:	ST JOE RIVER
91-07762	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P.		Issues:	01 02 03 04 05 06 07 08	09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GOLD CREEK TRIBUTARY:	ST JOE RIVER

TWIN FALLS,	NUE NORTH			IWT040	
REGIS1	PER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
91-07762		RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	GOLD CREEK TRIBUTARY: ST JOE RIVER
91-07762	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)			GOLD CREEK TRIBUTARY: ST JOE RIVER
91-07762	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GOLD CREEK TRIBUTARY: ST JOE RIVER
91-07762	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GOLD CREEK TRIBUTARY: ST JOE RIVER

253 3RD AVE	NUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 40
TWIN FALLS, REGIS SUBCASE#	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	FOR THE PERIOD :	
	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GOLD CREEK TRIBUTARY: ST JOE RIVER
91-07762	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GOLD CREEK TRIBUTARY: ST JOE RIVER
91-07762	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GOLD CREEK TRIBUTARY: ST JOE RIVER
91-07763	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE

Coeur d'Alene-spokane River Adjudication Docker Sheer 253 3RD AVENUE NORTH				IW	T040		
DODCINDI DIII	83301 OF ACTION : FE FILED	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED				11/30/2014.
91-07763 11/	/24/2014		HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720			01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
91-07763 11/	/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201		Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
91-07763 11/	/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
91-07763 11/	/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE

253 3RD AVE	NUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 PAGE: 42 IWT040			
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			11/30/2014.	
	11/28/2014		FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues	s: 01 02 03 04 05	06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	e: ST JOE RIVER	TRIBUTARY: COEUR D'ALEN	E LAKE
91-07763	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues	s: 01 02 03 04 05	06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	e: ST JOE RIVER	TRIBUTARY: COEUR D'ALEN	E LAKE
91-07763	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues	s: 01 02 03 04 05	06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	e: ST JOE RIVER	TRIBUTARY: COEUR D'ALEN	E LAKE
91-07763	11/28/2014	RESPONSE: (ATTY)		Issues	s: 01 02 03 04 05	06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	e: ST JOE RIVER	TRIBUTARY: COEUR D'ALEN	E LAKE

Coeur d'Aler 253 3RD AVEN TWIN FALLS,	UE NORTH	ver Adjudicat	ion DOCKET SHEET	12/0 IW	8/14 T040		PAGE:	43
REGIST SUBCASE#	ER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F					
	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720 STATE OF IDAHO		Issues:	01 02 03 04 05	06 07 08	09 12
			CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS	Water	Source	ST JOE RIVER	TRTRIITAR'	y: COEUR D'ALENE LAKE
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033					
91-07764	11/13/2014	RESPONSE: (ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05	06 07 08	09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	QUARTZ CREEK	TRIBUTAR	Y: ST JOE RIVER
91-07764	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05	06 07 08	09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010					
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 PINEHURST WATER DISTRICT	Water	Source:	QUARTZ CREEK	TRIBUTAR'	Y: ST JOE RIVER
91-07764	11/28/2014	(ATTY)	701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05	06 07 08	09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	QUARTZ CREEK	TRIBUTAR	Y: ST JOE RIVER

253 3RD AVE	NUE NORTH	ver Adjudicat	ion DOCKET SHEET		08/14 WT040		PAGE: 44	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED					
	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	QUARTZ CREEK	TRIBUTARY: ST JOE RIVER	
91-07764	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05	06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	QUARTZ CREEK	TRIBUTARY: ST JOE RIVER	
91-07764	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861		Issues:	01 02 03 04 05	06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	QUARTZ CREEK	TRIBUTARY: ST JOE RIVER	
91-07764	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05	06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	QUARTZ CREEK	TRIBUTARY: ST JOE RIVER	

PAGE: 45

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 253 3RD AVENUE NORTH TWIN FALLS, ID 83301 12/08/14 IWT040

REGIS' SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1		
91-07764		RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05	5 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
91-07764	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05	5 06 07 08 09 12
		OBJECTION: (ATTY)				
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	QUARTZ CREEK	TRIBUTARY: ST JOE RIVER
91-07764	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05	5 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	QUARTZ CREEK	TRIBUTARY: ST JOE RIVER
91-07765	11/13/2014	RESPONSE: (ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05	5 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE

253 3RD AVE	eur d'Alene-Spokane River Adjudication DOCKET SHEET 13 3RD AVENUE NORTH IIN FALLS, ID 83301				08/14 WT040		PAGE: 46
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED				11/30/2014.
91-07765	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV				
			OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
91-07765	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201		Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
91-07765	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
91-07765	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
			DOIDE, 1D 00/21				

253 3RD AVE	NUE NORTH	_	TON DOCKET SHEET	IWT040	PAGE: 4/	
	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.	
91-07765	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	ST JOE RIVER TRIBUTARY: COEUR 1	)'ALENE LAKE
91-07765	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		ST JOE RIVER TRIBUTARY: COEUR	)'ALENE LAKE
91-07765	11/28/2014	(ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE ID 83701-0829	Issues	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source	ST JOE RIVER TRIBUTARY: COEUR	)'ALENE LAKE
91-07765	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	ST JOE RIVER TRIBUTARY: COEUR 1	)'ALENE LAKE

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 48
253 3RD AVENUE NORTH IWT040
TWIN FALLS, ID 83301
REGISTER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014.
SUBCASE# DATE FILED PARTIES INVOLVED

1-0//65	11/28/2014	RESPONSE:	BALDWIN, JOHN		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	MEYER, CHRISTOPHER H 601 W BANNOCK ST			
			PO BOX 2720			
			BOISE, ID 83701-2720 STATE OF IDAHO			
		OBJECTION:	STATE OF IDAHO			
		(ATTY)	CHIEF NATURAL RESOURCES DIV			
			OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO			
			PO BOX 83720			
		OT 3 T1/31/F	BOISE, ID 83720-0010		~	AT 100 DIVID TRIBUTION GARNE DISTRICT
		(ATTY)	US DEPARTMENT OF JUSTICE	water	Source:	ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE
		(MIII)	ENVIRONMENT & NATL' RESOURCES			
			550 WEST FORT STREET, MSC 033			
	/ /		BOISE, ID 83724			
1-07766	11/13/2014	RESPONSE:	AVISTA CORPORATION		Issues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	PAINE HAMBLEN LLP			
			717 W SPRAGUE AVE, STE 1200			
			717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505			
		OBJECTION: (ATTY)	STATE OF IDAHO			
		(AIII)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL			
			STATE OF IDAHO			
			PO BOX 83720			
		CIAIMANT.	BOISE, ID 83720-0010	Water	Source:	NORTH FORK ST JOE RIVER TRIBUTARY: ST JOE RI
		(ATTY)	US DEPARTMENT OF JUSTICE	water	bource.	NORTH FORK ST OOF RIVER TRIBUTARY. ST OOF RI
		( /	ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
			550 WEST FORT STREET, MSC 033			
1-07766	11/24/2014	RESPONSE.	BOISE, ID 83724 HAGADONE HOSPITALITY CO		Tssiles.	01 02 03 04 05 06 07 08 09 12
1 07700	11/21/2011	(ATTY)	LAWRENCE, MICHAEL P		ibbacb.	01 02 03 01 03 00 07 00 03 12
			601 W RANNOCK ST			
			PO BOX 2720			
		OBJECTION:	BOISE, ID 83701-2720 STATE OF IDAHO			
		(ATTY)	CHIEF NATURAL RESOURCES DIV			
			OFFICE OF THE ATTORNEY GENERAL			
			STATE OF IDAHO PO BOX 83720			
			BOISE, ID 83720-0010			
		CLAIMANT:	UNITED STATES OF AMERICA AS	Water	Source:	NORTH FORK ST JOE RIVER TRIBUTARY: ST JOE RI
		(ATTY)	US DEPARTMENT OF JUSTICE			
			ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
			BOISE, ID 83724			
1-07766	11/28/2014	RESPONSE:	BOISE, ID 83724 PINEHURST WATER DISTRICT		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
			ST MARIES, ID 83861			
		OBJECTION:	WOEMPNER, CARLA			
		(ATTY)	SEMANKO, NORMAN M			
			101 S CAPITOL BLVD 10TH FL			
			PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT:	UNITED STATES OF AMERICA AS	Water	Source:	NORTH FORK ST JOE RIVER TRIBUTARY: ST JOE RI
		(ATTY)	US DEPARTMENT OF JUSTICE			
			ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			

253 3RD AVE	ENUE NORTH	ver Adjudicat	cion DOCKET SHEET	12/08/14 IWT040	PAGE: 49
SUBCASE#	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	NORTH FORK ST JOE RIVER TRIBUTARY: ST JOE RIVER
91-07766	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	NORTH FORK ST JOE RIVER TRIBUTARY: ST JOE RIVER
91-07766	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	NORTH FORK ST JOE RIVER TRIBUTARY: ST JOE RIVER
91-07766	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	NORTH FORK ST JOE RIVER TRIBUTARY: ST JOE RIVER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 50 253 3RD AVENUE NORTH IWT040

253 3RD AVEN				IWT040	
SUBCASE#	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	FOR THE PERIOD 1	.1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		/ \mm\v\	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 SCOTT, ANDREW & HEATHER SEMANKO NORMAN M	Water Source:	NORTH FORK ST JOE RIVER TRIBUTARY: ST JOE RIVER
91-07766	11/28/2014	(AIII)	101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	NORTH FORK ST JOE RIVER TRIBUTARY: ST JOE RIVER
91-07766	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		(ATTY)	ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	NORTH FORK ST JOE RIVER TRIBUTARY: ST JOE RIVER
91-07767	11/13/2014	(A'I'I'Y)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 51 253 3RD AVENUE NORTH TWIN FALLS, ID 83301 REGISTER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. SUBCASE# DATE FILED PARTIES INVOLVED \_\_\_\_\_ (ATTY) LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720 OBJECTION: STATE OF IDAHO (ATTY) CHIEF NATURAL RESOURCES DIV

OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO

BOISE, ID 83720-0010 CLAIMANT: UNITED STATES OF AMERICA AS Water Source: ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033

RESPONSE: PINEHURST WATER DISTRICT
(ATTY) PAYNE, DOUGLAS P.
701 W COLLAGE ST STE 201 91-07767 11/28/2014 Issues: 01 02 03 04 05 06 07 08 09 12

ST MARIES, ID 83861
OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829

PO BOX 83720

BOISE, ID 83701-0829
CLAIMANT: UNITED STATES OF AMERICA AS Water Source: ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE (ATTY) US DEPARTMENT OF JUSTICE

ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724

RESPONSE: EAST SHOSHONE COUNTY WATER 91-07767 11/28/2014 Issues: 01 02 03 04 05 06 07 08 09 12

(ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829

BOISE, ID 83701-0829
OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL

PO BOX 829

BOISE, ID 83701-0829 CLAIMANT: UNITED STATES OF AMERICA AS Water Source: ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE

(ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724

91-07767 11/28/2014 RESPONSE: KELLOGG SCHOOL DISTRICT ISsues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M

101 S CAPITOL BLVD 10TH FL PO BOX 829

BOISE, ID 83701-0829 OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M

101 S CAPITOL BLVD 10TH FL

PO BOX 829

BOISE, ID 83701-0829
CLAIMANT: UNITED STATES OF AMERICA AS
(ATTY) US DEPARTMENT OF JUSTICE Water Source: ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE

ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724

TRILE TRAILS, ID 8300 TOW LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014.  PRACTES INVOLVED  91-07767 11/28/2014 RESPONSE; FERNOOD RATER & SEWER DIST FOR THE PERIOD 12 03 04 05 06 07 08 09 12 70 MARKER, ID 3361 SHARKER, ID	253 3RD AVE	NUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040		PAGE: 52	
11/28/2014   RESPONSE (ATT)   FRANCO MATER S SEMER DIST SATIS   Saues   Saue	REGIS SUBCASE#	TER OF ACTION DATE FILED		PARTIES INVOLVED				
10   S. CARTTON BIND 10TH FL			RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861				
CAIMANT:   UNITED STRIES OF AMERICA AS   Water Source: ST JOE RIVER   TRIBUTARY: COEUR D'ALENE LAKE   UNITED STRIES OF JUSTICE   UNITED STRIES OF AMERICA AS   UNITED STRIES OF AMERICA			OBJECTION: (ATTY)	101 S CAPITOL BLVD 10TH FL PO BOX 829				
91-07767 11/28/2014 RESPONSE: SHOSHOME COUNTY SPORTSMEN'S ISSUES: 01 02 03 04 05 06 07 08 09 12 (ATTY) SEMANC, NORMAN M 101 S. CAPTOL BLVD 10TH FL BOISE, 1D 83701-0829 (ATTY) SEMANC, NORMAN M 101 S. CAPTOL BLVD 10TH FL BOISE, 1D 83701-0829 (ATTY) UNITED STATES OF AMERICA AS CALLARMAN: (ATTY) UNITED STATES OF AMERICA AS 101 S CAPTOL BLVD 10TH FL BOOK 829 (ATTY) UNITED STATES OF AMERICA AS 101 S CAPTOL BLVD 10TH FL BOOK 829 (ATTY) SEMANC, NORMAN M 101 S. CAPTOL BLVD 10TH FL BOOK 829 (ATTY) SEMANC, NORMAN M 101 S. CAPTOL BLVD 10TH FL BOOK 829 (ATTY) SEMANC, NORMAN M 101 S. CAPTOL BLVD 10TH FL BOOK 829 (ATTY) UNITED STATES OF AMERICA AS 101 S CAPTOL BLVD 10TH FL BOOK 829 (ATTY) UNITED STATES OF AMERICA AS 101 S CAPTOL BLVD 10TH FL BOOK 829 (ATTY) UNITED STATES OF AMERICA AS 101 S CAPTOL BLVD 10TH FL BOOK 829 (ATTY) UNITED STATES OF AMERICA AS 101 S CAPTOL BLVD 10TH FL BOOK 829 (ATTY) UNITED STATES OF AMERICA AS 101 S CAPTOL BLVD 10TH FL BOOK 829 (ATTY) UNITED STATES OF AMERICA AS 101 S CAPTOL BLVD 10TH FL BOOK 829 (ATTY) UNITED STATES OF AMERICA AS 101 S CAPTOL BLVD 10TH FL BOOK 829 (ATTY) UNITED STATES OF AMERICA AS 101 S CAPTOL BLVD 10TH FL BOOK 829 (ATTY) UNITED STATES OF AMERICA AS 101 S CAPTOL BLVD 10TH FL BOOK 829 (ATTY) UNITED STATES OF AMERICA AS 101 S CAPTOL BLVD 10TH FL BOOK 829 (ATTY) UNITED STATES OF AMERICA AS 101 S CAPTOL BLVD 10TH FL BOOK 829 (ATTY) UNITED STATES OF AMERICA AS 101 S CAPTOL BLVD 10TH FL BOOK 829 (ATTY) UNITED STATES OF AMERICA AS 101 S CAPTOL BLVD 10TH FL BOOK 829 (ATTY) UNITED STATES OF AMERICA AS 101 S CAPTOL BLVD 10TH FL BOOK 829 (ATTY) UNITED STATES OF AMERICA AS 101 S CAPTOL BLVD 10TH FL BOOK 829 (ATTY) UNITED STATES OF AMERICA AS 101 S CAPTOL BLVD 10TH FL BOOK 829 (ATTY) UNITED STATES OF AMERICA AS 102 S CAPTOL BLVD 10TH FL BOOK 829 (ATTY) BOOK 825 FORT STREET, MSC 033 (ATTY) BOOK 825 FORT STREET,				UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAK	Œ
OBJECTION: WOMMNER, CARLA (ATTY)   CAPITOL BLUV 10TH FL   DO SEMANKO, MORNAN M   101 S CAPITOL BLUV 10TH FL   PO BOX 829   SOURCE: ST JOE RIVER   TRIBUTARY: COEUR D'ALENE LAKE   SOURCE: ST JOE RIVER   TRIBUTARY: COEUR D'ALENE LAK	91-07767	11/28/2014		SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05	06 07 08 09 12	
STOP   STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES STORE STREET, MSC 033   SOISE, ID 83724   SISSUANCE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829   SOISE, ID 83701-0829   SOISE, ID 83702   SOISE, I				WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
91-07767 11/28/2014 RESPONSE: SHOSHONE COUNTY PUBLIC WORKS (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS SOURCE SOURCE SOURCE (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  P1-07767 11/28/2014 RESPONSE: (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  OBJECTION: (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  OBJECTION: (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES STOWNET FOR THE TOTAL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES STOWNET FOR TSTREET, MSC 033				UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAK	Œ
OBJECTION: WOEMPRER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83704  91-07767 11/28/2014 RESPONSE: SCOTT, ANDREW & HEATHER (ATTY) EMANCE (ATTY) EMANCE (ATTY) EMANCE (ATTY) EMANCE (ATTY) BOISE, ID 83701-0829  OBJECTION: (ATTY) OBJECTION: (ATTY) EMANCE (ATTY)	91-07767	11/28/2014		SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05	06 07 08 09 12	
CLAIMANT: (ATTY) UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83701-0829  OBJECTION: (ATTY) OF BOX 829 BOISE, ID 83701-0829  CLAIMANT: (ATTY) OBJECTION: (ATTY) UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83701-0829  CLAIMANT: (ATTY) UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 Water Source: ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE Water Source: ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE Water Source: ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE WATER SOURCES 550 WEST FORT STREET, MSC 033				WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
(ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL FO BOX 829 BOISE, ID 83701-0829  OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL FO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS Water Source: ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAK	Œ
OBJECTION: WOEMPNER, CARLA  (ATTY) SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS Water Source: ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE  (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	91-07767	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05	06 07 08 09 12	
CLAIMANT: UNITED STATES OF AMERICA AS Water Source: ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
				UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAK	Œ

253 3RD AVE	NUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/ IWT0			PAGE: 53
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED				11/30/2014.
		RESPONSE:	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720				06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water So	urce:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
1-07768	11/13/2014	RESPONSE: (ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Is	sues:	01 02 03 04 05	06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		CLAIMANT: (ATTY)		Water So	urce:	MARBLE CREEK	TRIBUTARY: ST JOE RIVER
1-07768	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Is	sues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water So	urce:	MARBLE CREEK	TRIBUTARY: ST JOE RIVER
1-07768	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Is	sues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water So	urce:	MARBLE CREEK	TRIBUTARY: ST JOE RIVER

253 3RD AVE TWIN FALLS,	NUE NORTH	, or 11a, aaroac	ION DOCKET SHEET	IWT040	11021
REGIS SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET MSC 033		MARBLE CREEK TRIBUTARY: ST JOE RIVER
91-07768	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	MARBLE CREEK TRIBUTARY: ST JOE RIVER
91-07768	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	MARBLE CREEK TRIBUTARY: ST JOE RIVER
91-07768	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	MARBLE CREEK TRIBUTARY: ST JOE RIVER
			BOISE, ID 83724		

253 3RD AVE	NUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/0 IW	8/14 T040	PAGE: 55
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			11/01/2014 THRU 11/30/2014.
	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M			
		CLAIMANT: (ATTY)	101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	MARBLE CREEK TRIBUTARY: ST JOE RIVER
91-07768	11/28/2014	RESPONSE: (ATTY)	SOUTH TO RESTRICT FOR THE STATE OF THE STATE OF THE SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	MARBLE CREEK TRIBUTARY: ST JOE RIVER
91-07768	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 83724	Water	Source:	MARBLE CREEK TRIBUTARY: ST JOE RIVER
91-07769	11/13/2014	RESPONSE: (ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	BOULDER CREEK TRIBUTARY: MARBLE CREEK
			BOISE, ID 83724			

WIN FALLS.	NUE NORTH ID 83301 TER OF ACTION	T.TST SHOWING	ALL OBJECTIONS AND RESPONSES, E	IWT040	1/01/2014 THRII 11/30/2014
JBCASE#	DATE FILED		PARTIES INVOLVED		
		RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720 STATE OF IDAHO		01 02 03 04 05 06 07 08 09 12
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	BOULDER CREEK TRIBUTARY: MARBLE CREEK
-07769	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	BOULDER CREEK TRIBUTARY: MARBLE CREEK
-07769	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	BOULDER CREEK TRIBUTARY: MARBLE CREEK
91-07769	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	BOULDER CREEK TRIBUTARY: MARBLE CREEK

253 3RD AVEN	UE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE	: 57
SUBCASE#	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			
		RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861			
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
91-07769	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET. MSC 033			
91-07769	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
			UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		BOULDER CREEK TRIBU	TARY: MARBLE CREEK
91-07769	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	BOULDER CREEK TRIBU	TARY: MARBLE CREEK

253 3RD AVE	Coeur d'Alene-Spokane River Adjudicat 253 3RD AVENUE NORTH TWIN FALLS, ID 83301		ion DOCKET SHEET	12/08/14 IWT040	PAGE: 58
REGIST SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)  OBJECTION:	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720 STATE OF IDAHO		: 01 02 03 04 05 06 07 08 09 12
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		: BOULDER CREEK TRIBUTARY: MARBLE CREEK
91-07770	11/13/2014	RESPONSE: (ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues	: 01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)		Water Source	: MARBLE CREEK TRIBUTARY: ST JOE RIVER
91-07770	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)			
		CLAIMANT: (ATTY)		Water Source	: MARBLE CREEK TRIBUTARY: ST JOE RIVER
91-07770	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861	Issues	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	: MARBLE CREEK TRIBUTARY: ST JOE RIVER

Coeur d'Alene-Spokane Riv 253 3RD AVENUE NORTH	er Adjudicat	ion DOCKET SHEET	12/0 IW	8/14 T040		PAGE:	59
TWIN FALLS, ID 83301 REGISTER OF ACTION SUBCASE# DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED					
	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER					
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		Source:	MARBLE CREEK	TRIBUTARY	: ST JOE RIVER
91-07770 11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05	06 07 08	09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
	(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			MARBLE CREEK		
91-07770 11/28/2014	(ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M		Issues:	01 02 03 04 05	06 07 08	09 12
		101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
	(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S					
91-07770 11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05	06 07 08	09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		Source:	MARBLE CREEK	TRIBUTARY	: ST JOE RIVER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 60 253 3RD AVENUE NORTH IWT040 IWT040 TWIN FALLS, ID 83301 REGISTER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014.

1-07770	11/28/2014	RESPONSE.	SHOSHONE COUNTY PUBLIC WORKS			 
1-07770	11/20/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL	issues.	01 02 03 04 03	00 07 00 09 12
			BOISE, ID 83701-0829 WOEMPNER, CARLA			
		OBJECTION: (ATTY)	WOEMPNER, CARLA			
		(AIII)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CT 7\ TM7\ NT+	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS	Water Source:	MYDBIE CDEEK	TRITTARY OF THE RIVER
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES	water source.	MARDLE CREEK	INIBULANI. SI OUE NIVEN
			550 WEST FORT STREET, MSC 033			
-07770	11/28/2014	RESPONSE:	BOISE, ID 83724 SCOTT, ANDREW & HEATHER	Issues:	01 02 03 04 05	06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)				
		(AIII)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CT 7 TM7 NT.	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS	Water Course.	MADDIE CDEEK	TOTOLITADY, OT TOT DIVED
		(ATTY)	US DEPARTMENT OF JUSTICE	water bource.	HINDDE CINDER	INIDOTANI. DI COL NIVEN
			BOISE, ID 83724			
-07770	11/28/2014	RESPONSE:	550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H	Issues:	01 02 03 04 05	06 07 08 09 12
		(ATTI)	601 W BANNOCK ST PO BOX 2720			
		OD TROUTON	BOISE, ID 83701-2720			
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV			
		, ,	OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO			
			PO BOX 83720 BOISE, ID 83720-0010			
			UNITED STATES OF AMERICA AS	Water Source:	MARBLE CREEK	TRIBUTARY: ST JOE RIVER
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES			
			550 WEST FORT STREET, MSC 033			
-07771	11/13/2014	RESPONSE:	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J	Issues:	01 02 03 04 05	06 07 08 09 10 11
		(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP			
			717 W SPRAGUE AVE, STE 1200			
		OD TECHTON.	SPOKANE, WA 99201-3505 STATE OF IDAHO			
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL			
			STATE OF IDAHO			
			PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT:	UNITED STATES OF AMERICA AS	Water Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAM
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES			

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 253 3RD AVENUE NORTH TWIN FALLS, ID 83301			ion DOCKET SHEET	12/08/14 IWT040	PAGE: 61		
REGIST SUBCASE#	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.		
91-07771		RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720 STATE OF IDAHO				
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE		
91-07771	11/28/2014		PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12		
		OBJECTION: (ATTY)	WOEMPAGES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE		
91-07771	11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO ROY 829	Issues:	01 02 03 04 05 06 07 08 09 12		
		OBJECTION: (ATTY)	BOTSE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)		Water Source:	ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE		
91-07771	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE		

253 3RD AVEN	NUE NORTH	ver Aujuurcat	ION DOCKET SHEET	IWT04			TAGE. UZ
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED				11/30/2014.
			FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861				
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sou	urce:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
91-07771	11/28/2014	(ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA	Iss	sues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033				TRIBUTARY: COEUR D'ALENE LAKE
91-07771	11/28/2014	(ATTI)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Iss	sues:	01 02 03 04 05	06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sou	urce:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
91-07771	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Iss	sues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Soi	urce:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE

d'Alene-Spokane Piwer Adjudication 12/08/14

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 253 3RD AVENUE NORTH TWIN FALLS, ID 83301				12/08/14 IWT040	PAGE: 63
REGIST SUBCASE#	ER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		
91-07771	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720	Issues:	01 02 03 04 05 06 07 08 09 12
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 AVISTA CORPORATION	Water Source:	ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE
91-07772	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	BIG CREEK TRIBUTARY: ST JOE RIVER
91-07772	11/24/2014	(ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	BIG CREEK TRIBUTARY: ST JOE RIVER
91-07772	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Water Source:	BIG CREEK TRIBUTARY: ST JOE RIVER
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water Source:	DIG CALLA TRIBUTART: ST JUE KIVEK

E PERIOD 11/01/2014 THRU 11/30/2014.  Issues: 01 02 03 04 05 06 07 08 09 12
r Source: BIG CREEK TRIBUTARY: ST JOE RIVER
Issues: 01 02 03 04 05 06 07 08 09 12
r Source: BIG CREEK TRIBUTARY: ST JOE RIVER
Issues: 01 02 03 04 05 06 07 08 09 12
r Source: BIG CREEK TRIBUTARY: ST JOE RIVER
Issues: 01 02 03 04 05 06 07 08 09 12
r Source: BIG CREEK TRIBUTARY: ST JOE RIVER
r

253 3RD AVE TWIN FALLS,	NUE NORTH	/er Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 65
REGIS SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1	
91-07772	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	BIG CREEK TRIBUTARY: ST JOE RIVER
91-07772	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	BIG CREEK TRIBUTARY: ST JOE RIVER
91-07772	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	BIG CREEK TRIBUTARY: ST JOE RIVER
91-07773	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	MICA CREEK TRIBUTARY: ST JOE RIVER

(ATTY) SEMANKO, NORMAN M

PO BOX 829

BOISE, ID 83701-0829
CLAIMANT: UNITED STATES OF AMERICA AS
(ATTY) US DEPARTMENT OF JUSTICE

BOISE, ID 83724

101 S CAPITOL BLVD 10TH FL

ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 66 253 3RD AVENUE NORTH TWIN FALLS, ID 83301 REGISTER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. SUBCASE# DATE FILED PARTIES INVOLVED -----(ATTY) LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720
BOISE, ID 83701-2720
OBJECTION: STATE OF IDAHO (ATTY) CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010 CLAIMANT: UNITED STATES OF AMERICA AS Water Source: MICA CREEK TRIBUTARY: ST JOE RIVER (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 RESPONSE: PINEHURST WATER DISTRICT
(ATTY) PAYNE, DOUGLAS P.
701 W COLLAGE ST STE 201 91-07773 11/28/2014 Issues: 01 02 03 04 05 06 07 08 09 12 ST MARIES, ID 83861
OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
CLAIMANT: UNITED STATES OF AMERICA AS Water Source: MICA CREEK TRIBUTARY: ST JOE RIVER (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 RESPONSE: EAST SHOSHONE COUNTY WATER 91-07773 11/28/2014 Issues: 01 02 03 04 05 06 07 08 09 12 (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
CLAIMANT: UNITED STATES OF AMERICA AS Water Source: MICA CREEK TRIBUTARY: ST JOE RIVER (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 91-07773 11/28/2014 RESPONSE: KELLOGG SCHOOL DISTRICT ISsues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
OBJECTION: WOEMPNER, CARLA

Water Source: MICA CREEK TRIBUTARY: ST JOE RIVER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 253 3RD AVENUE NORTH TWIN FALLS, ID 83301				12/08/14 IWT040		PAGE:	67
REGIST	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED				
		RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
			BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		rce: MICA CREEK		
91-07773	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issu	ues: 01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033				
91-07773	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issu	ues: 01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		rce: MICA CREEK		
91-07773	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issu	ues: 01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sour	rce: MICA CREEK	TRIBUTARY:	ST JOE RIVER

53 3RD AVEN	NUE NORTH	ver Adjudicat:	ion DOCKET SHEET		08/14 WT040	PAGE: 68
UBCASE#	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720 STATE OF IDAHO			01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	MICA CREEK TRIBUTARY: ST JOE RIVER
L-07774	11/13/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)		Water	Source:	TROUT CREEK TRIBUTARY: ST JOE RIVER
-07774	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	TROUT CREEK TRIBUTARY: ST JOE RIVER
-07774	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	TROUT CREEK TRIBUTARY: ST JOE RIVER

253 3RD AVE	NUE NORTH	rei Adjudicat	TOIL DOCKET SHEET	IWT040	IAGE. 09
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
91-07774		RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA		
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	TROUT CREEK TRIBUTARY: ST JOE RIVER
91-07774	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOY 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	TROUT CREEK TRIBUTARY: ST JOE RIVER
91-07774	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		TROUT CREEK TRIBUTARY: ST JOE RIVER
91-07774	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	TROUT CREEK TRIBUTARY: ST JOE RIVER

253 3RD AVEN	UE NORTH	ver Adjudicat:	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 70
SUBCASE#	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL		: 01 02 03 04 05 06 07 08 09 12
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		: TROUT CREEK TRIBUTARY: ST JOE RIVER
91-07774	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	: TROUT CREEK TRIBUTARY: ST JOE RIVER
91-07774	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	: TROUT CREEK TRIBUTARY: ST JOE RIVER
91-07775	11/13/2014	RESPONSE: (ATTY)	BOISE, ID 83/24 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO	Issues	: 01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	: ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE

d'Alene-Spokane Piwer Adjudication 12/08/14

Coeur d'Ale 253 3RD AVE TWIN FALLS,	NUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 71
REGIS SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
			HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720		
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE
91-07775	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE
91-07775	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE
91-07775	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE

Coeur d'Ale 253 3RD AVE TWIN FALLS,	NUE NORTH	ver Adjudicat	ion DOCKET SHEET		08/14 WT040		PAGE:	72	
REGIS' SUBCASE#	TER OF ACTION DATE FILED	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE	PERIOD 1	.1/01/2014 THRU	11/30/2014	ł.	
91-07775	11/28/2014	RESPONSE:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				06 07 08	09 12	
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033						JAKE
91-07775	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05	06 07 08	09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829						
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033						JAKE
91-07775	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05	06 07 08	09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829						
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER	TRIBUTARY	: COEUR D'ALENE I	JAKE
91-07775	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05	06 07 08	09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829						
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER	TRIBUTARY	: COEUR D'ALENE I	JAKE

253 3RD AVE	eur d'Alene-Spokane River Adjudication DOCKET SHEET 3 3RD AVENUE NORTH IN FALLS, ID 83301				08/14 WT040		PAGE: 73	
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED					
	11/28/2014		BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720			01 02 03 04 05		
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720					
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE	
91-07776	11/13/2014	RESPONSE: (ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05	06 07 08 09 10 11	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE	
91-07776	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05	06 07 08 09 12	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE	
91-07776	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201		Issues:	01 02 03 04 05	06 07 08 09 12	
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE	

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 253 3RD AVENUE NORTH TWIN FALLS, ID 83301					08/14 VT040		PAGE: 74	
REGIST SUBCASE#	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED					
		RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724					LENE LAKE
91-07776	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE ID 83701-0829		Issues:	01 02 03 04 05	06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)		Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'AL	LENE LAKE
91-07776	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05	06 07 08 09 12	
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'AI	LENE LAKE
91-07776	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05	06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER	TRIBUTARY: COEUR D'A	LENE LAKE

53 3rd aven	NUE NORTH	er Adjudicat:	ion DOCKET SHEET		08/14 VT040	PAGE: 75
UBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
			SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA			
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAK
-07776	11/28/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)		Water	Source:	ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAK
-07776	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAK
-07777	11/13/2014	RESPONSE: (ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAK

253 3RD AVI	ENUE NORTH	er Adjudicat:	ion DOCKET SHEET		12/08/14 IWT040		PAGE:	76
REGIS SUBCASE#	, ID 83301 STER OF ACTION DATE FILED	LIST SHOWING	ALL OBJECTIONS AND REPARTIES INVOLVED	ESPONSES, FOR	THE PERIOD	11/01/2014	THRU 11/30/2014	
91-07777	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY LAWRENCE, MICHAEL P 601 W BANNOCK ST	CO	Issues:	01 02 03	04 05 06 07 08	09 12

1-07777	11/24/2014		HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST	Issues:	01 02 03 04 05	06 07 08 09 12
			PO BOX 2720 BOISE, ID 83701-2720			
		OBJECTION: (ATTY)	STATE OF IDAHO			
		(AIII)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CI A IMANII.	BOISE, ID 83720-0010	Matan Canasa	OM TOP DIVED	motormany, coerro plateme tar
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033	water source:	SI JOE RIVER	IRIBUTART: COLOR D'ALENE LAN
-07777	11/28/2014	RESPONSE:	BOISE, ID 83724 PINEHURST WATER DISTRICT	Issues:	01 02 03 04 05	06 07 08 09 12
		(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M			
		(21111)	101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OT A TMANIM.	BOISE, ID 83701-0829	Matan Canasa	OM TOP DIVED	MOTOLIMADY, CORLD DIALRIE LAW
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033	water source:	ST JOE RIVER	TRIBUTARI: COEUR D'ALENE LAN
-07777	11/28/2014	RESPONSE:	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER	Tasues:	01 02 03 04 05	06 07 08 09 12
0,,,,,	11, 20, 2011	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	100000.	01 01 00 01 00	00 07 00 03 11
		OBJECTION:	BOISE, ID 83701-0829 WOEMPNER, CARLA			
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CT ATMANT.	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS	Water Source:	QT .TOF DIVED	TRIBUTARY: COEUR D'ALENE LAK
		(ATTY)	ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	water source.	SI OOE KIVEK	INIDOTANI. COEON D ADENE DAN
-07777	11/28/2014	RESPONSE:	BOISE, ID 83724	Tssiles.	01 02 03 04 05	06 07 08 09 12
1-0//// 11/28/2014	11, 20, 2011	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	1000001	01 01 00 01 00	00 07 00 03 11
		OB TECTTON.	BOISE, ID 83701-0829 WOEMPNER, CARLA			
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		(T 7) T M 7) N I I I I I	BOISE, ID 83701-0829	Mator Course:	om tor bitter	TOTOLITADY. CORID DIALENTE TAR
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	water source:	ST JUE KIVER	TRIBUTARY: COEUR D'ALENE LAK

(ATTY) US DEPARTMENT OF JUSTICE

BOISE, ID 83724

ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033

253 3RD AVENUE NORTH TWIN FALLS, ID 83301 REGISTER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. SUBCASE# DATE FILED PARTIES INVOLVED ST MARIES, ID 83861
OBJECTION: WOEMPNER, CARLA
(ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 CLAIMANT: UNITED STATES OF AMERICA AS Water Source: ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
RESPONSE: SHOSHONE COUNTY SPORTSMEN'S 91-07777 11/28/2014 Issues: 01 02 03 04 05 06 07 08 09 12 (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 CLAIMANT: UNITED STATES OF AMERICA AS Water Source: ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 91-07777 11/28/2014 RESPONSE: SHOSHONE COUNTY PUBLIC WORKS Issues: 01 02 03 04 05 06 07 08 09 12 (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829
BOISE, ID 83701-0829
CLAIMANT: UNITED STATES OF AMERICA AS Water Source: ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 RESPONSE: SCOTT, ANDREW & HEATHER 91-07777 11/28/2014 Issues: 01 02 03 04 05 06 07 08 09 12 (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 OBJECTION: WOEMPNER, CARLA
(ATTY) SEMANKO, NORMAN M
101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 CLAIMANT: UNITED STATES OF AMERICA AS

Water Source: ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET

253 3RD AVENUE NORTH
TWIN FALLS, ID 83301
REGISTER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014.
SUBCASE# DATE FILED PARTIES INVOLVED

91-07777

11/28/2014
RESPONSE: BALDWIN, JOHN
ISSUES: 01 02 03 04 05 06 07 08 09 12
(ATTY) MEYER, CHRISTOPHER H

OBJECTION: BOISE, ID 83701-2720
OBJECTION: STATE OF IDAHO
(ATTY) CHIEF NATURAL RESOURCES DIV
OFFICE OF THE ATTORNEY GENERAL
STATE OF IDAHO

601 W BANNOCK ST

PO BOX 83720

PO BOX 2720

BOISE, ID 83720-0010

CLAIMANT: UNITED STATES OF AMERICA AS Water Source: ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE (ATTY) US DEPARTMENT OF JUSTICE

Y) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724

91-07778 11/13/2014 RESPONSE: AVISTA CORPORATION Issues: 01 02 03 04 05 06 07 08 09 10 11

(ATTY) SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 12

717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 OBJECTION: STATE OF IDAHO

(ATTY) CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL

STATE OF THE ATTC STATE OF IDAHO PO BOX 83720

BOISE, ID 83720-0010 CLAIMANT: UNITED STATES OF AMERICA AS Water Source: ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE

(ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033

BOISE, ID 83724 11/24/2014 RESPONSE: HAGADONE HOSPITALITY CO Issues: 01 02 03 04 05 06 07 08 09 12

(ATTY) LAWRENCE, MICHAEL P
601 W BANNOCK ST
PO BOX 2720
BOISE, ID 83701-2720

91-07778

OBJECTION: STATE OF IDAHO
(ATTY) CHIEF NATURAL RESOURCES DIV

OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720

BOISE, ID 83720-0010

CLAIMANT: UNITED STATES OF AMERICA AS Water Source: ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033

BOISE, ID 83724 91-07778 11/28/2014 RESPONSE: PINEHURST WATER DISTRICT ISSUES: 01 02 03 04 05 06 07 08 09 12

(ATTY) PAYNE, DOUGLAS P.
701 W COLLAGE ST STE 201
ST MARIES, ID 83861
OBJECTION: WOEMPNER, CARLA
(ATTY) SEMANKO, NORMAN M

(ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829

BOISE, ID 83701-0829

CLAIMANT: UNITED STATES OF AMERICA AS Water Source: ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE (ATTY) US DEPARTMENT OF JUSTICE

ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724

253 3RD AVE	NUE NORTH	rei Aujudicat	TOTE DOCKET SHEET	IWT(			TAGE. 15
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED				11/30/2014.
91-07778	11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724	Water So	ource:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
91-07778	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Ιs	ssues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water So	ource:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
91-07778	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Ιs	ssues:	01 02 03 04 05	06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water So	ource:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
91-07778	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Is	ssues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water So	ource:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE

253 3RD AVE	NUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 80
TWIN FALLS, REGIS SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	OR THE PERIOD	
91-07778	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE
91-07778	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE
91-07778	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE
91-07779	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING

253 3RD AVEN	UE NORTH	<del>-</del>	ION DOCKET SHEET	IZ/U IW	Т040	PAGE: 81
REGIST	ER OF ACTION DATE FILED	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
91-07779	11/24/2014	(ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720			01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 83724	Water	Source:	SPRING
91-07779	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
91-07779	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
91-07779	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING

253 3RD AVE	NUE NORTH	rei najaareae	IOII DOCKET SHEET		WT040	11101. 02
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			11/01/2014 THRU 11/30/2014.
			FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861			
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
91-07779	11/28/2014	(ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	SPRING
91-07779	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
91-07779	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING

Coeur d'Aler 253 3RD AVEN TWIN FALLS,	IUE NORTH	ver Adjudicat	ion DOCKET SHEET		08/14 WT040	PAGE: 83
REGIST	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			
91-07779		RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			01 02 03 04 05 06 07 08 09 12
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724	Water	Source:	SPRING
91-07780	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	SPRING
91-07780	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
91-07780	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING

53 3RD AVE WIN FALLS,	NUE NORTH	. 01 110, 001000	ION DOCKET SHEET	IWT040	PAGE: 04
REGIS UBCASE#	DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		
1-07780	11/28/2014		EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL		01 02 03 04 05 06 07 08 09 12
		CLAIMANT: (ATTY)	PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
L-07780	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	SPRING
1-07780	11/28/2014	RESPONSE: (ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
1-07780	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING

253 3RD AVEN	UE NORTH	ver Adjudicat:	ion DOCKET SHEET		08/14 WT040	PAGE: 85
SUBCASE#	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
91-07780	11/28/2014	(ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M		Issues:	01 02 03 04 05 06 07 08 09 12
		CLAIMANT: (ATTY)	101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE	Water	Source:	SPRING
01 07700	11/28/2014	DEGRONGE.	ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		Tanana	01 02 02 04 05 06 07 00 00 10
91-07780	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	SPRING
91-07780	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
91-07781	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE. STE 1200		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING

253 3RD AVE	NUE NORTH	ver Aujudicat	TOTE DOCKET SHEET		T040	IAGE. 00
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
91-07781	11/24/2014	(ATTY)	HAGADONE HOSPITALITY CO			
		OBJECTION: (ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
91-07781	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARTES. ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
91-07781	11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
91-07781	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING

253 3RD AVEN	IUE NORTH	ver Adjudicat	ion DOCKET SHEET		08/14 WT040	PAGE: 87
TWIN FALLS, REGIST SUBCASE#	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
91-07781	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861			
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
91-07781	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
91-07781	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
91-07781	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING

3 3RD AVEN	ID 83301				4 /04 /004 4 ===== 44 /00 /00====
REGIST JBCASE#	ER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		.1/01/2014 THRU 11/30/2014.
-07781	11/28/2014	RESPONSE.	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
07782	11/13/2014		BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 HAGADONE HOSPITALITY CO	Water Source:	GROUND WATER
-07782	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
L-07782	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH	,01 110,001000	200121 511221	IWT040	11021 03
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		
91-07782	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
91-07782	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	GROUND WATER
91-07782	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
91-07782	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
			,		

Coeur d'Ale 253 3RD AVE TWIN FALLS,	NUE NORTH	er Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE:	90
	TER OF ACTION	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1		4.
91-07782	11/28/2014	RESPONSE: (ATTY)  OBJECTION: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			09 12
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER	
91-07782	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08	09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
91-07782	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08	09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER	
91-07783	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO	Issues:	01 02 03 04 05 06 07 08	09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER	

Coeur d'Alene-Spokane Riv 253 3RD AVENUE NORTH TWIN FALLS, ID 83301	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE:	91
REGISTER OF ACTION SUBCASE# DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	FOR THE PERIOD	11/01/2014 THRU 11/30/201	4.
91-07783 11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08	09 12
	OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER	
91-07783 11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08	09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER	
91-07783 11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08	09 12
	OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
	CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER	
91-07783 11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08	09 12
	OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
	CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER	

253 3RD AVENTWIN FALLS,				IV	VT040	
REGIST	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
91-07783		RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861			
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
91-07783	11/28/2014	(ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
91-07783	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
91-07783	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

VIN FALLS, REGIS	ID 83301 TER OF ACTION	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, F	OR THE PERIOD 1	1/01/2014 THRU 11/30/2014.
BCASE#			PARTIES INVOLVED		
07783	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
-07784	11/13/2014	(A'I'I'Y)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
-07784	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
L-07784	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12
			ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVEN	UE NORTH	rer Adjudicat	ion DOCKET SHEET		08/14 WT040	PAGE: 94
	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
91-07784	11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
91-07784	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 FERNWOOD WATER & SEWER DIST			
91-07784	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Wakan	Canna	CDOUND WATER
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S			
91-07784	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH	.01 110,001000		İI	WT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
91-07784	11/28/2014	RESPONSE:	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
91-07784	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
91-07784	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
91-07785	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE	NUE NORTH	ver Aujudicat	TOTE BOCKET SHEET	IWT040	IAGE. 50
TWIN FALLS, REGIS SUBCASE#	TER OF ACTION	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
91-07785	11/24/2014		HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720		
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
91-07785	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
			UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
91-07785	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
			UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
91-07785	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVEN	UE NORTH	ver hajuareae	IOII DOCKET SHEET	IWT040	17.01. 57
TWIN FALLS, REGIST SUBCASE#	ER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
91-07785			FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
91-07785	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
91-07785	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
91-07785	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

TWIN FALLS.	NUE NORTH ID 83301			⊥ V	T040	
REGIST SUBCASE#	FER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
91-07785	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720 STATE OF IDAHO			01 02 03 04 05 06 07 08 09 12
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR			
		(ATTY)	ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET. MSC 033			
91-07786	11/13/2014	(A'l''I'Y)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE. STE 1200		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET MSC 033	Water	Source:	GROUND WATER
91-07786	11/24/2014	(ATTY)	LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
91-07786	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE	NUE NORTH	ver Adjudicat	ion DOCKET SHEET		08/14 WT040	PAGE: 99
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
91-07786	11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
91-07786	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
91-07786	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
91-07786	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE	ENUE NORTH		200 200021 00221	İI	WT040	
	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
91-07786	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
91-07786	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
91-07786	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
91-07787	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVEN	IUE NORTH	.01 110,001000	1011 2001121 011221	IWT040	111021
	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		
91-07787	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720		
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
91-07787	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	GROUND WATER
91-07787	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
91-07787	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVEN	UE NORTH	ver najuareae	IOII DOCKET SHEET	IWT040	1701. 102
TWIN FALLS, REGIST SUBCASE#	ER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
91-07787			FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
91-07787	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
91-07787	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
91-07787	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE. ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH	, 01 110, 001000	200021 80221	IWT040	11021 100
REGIS SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		
91-07787	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
91-07788	11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
91-07788	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
91-07788	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	ID 83301				VTO40	1/01/0014 7077 11/00/0014
SUBCASE#	DATE FILED		ALL OBJECTIONS AND RESPONSES, E PARTIES INVOLVED			.1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
91-07788	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
91-07788	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
91-07788	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 105 253 3RD AVENUE NORTH IWT040

253 3RD AVEN		2		II	WT040	
SUBCASE#	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	OR THE	PERIOD 1	1/01/2014 THRU 11/30/2014.
91-07788	11/28/2014	(ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
91-07788	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
91-07788	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
91-07789	11/13/2014		BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO		Issues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE	NUE NORTH	.01 110,001000	1011 2001.21 011221	IW	T040	11.021
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
91-07789	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720			
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
91-07789	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
			UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
91-07789	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
91-07789	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH	,		I	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			
91-07789	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861			
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
91-07789	11/28/2014	(ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
91-07789	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
91-07789	11/28/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

53 3RD AVE	3 3RD AVENUE NORTH IN FALLS, ID 83301 REGISTER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONS: BCASE# DATE FILED PARTIES INVOLVED		ion Docker Sheer	12/08/ IWT0	40	PAGE: 108	
	TER OF ACTION DATE FILED					1/01/2014 THRU 11/30/2014.	
			BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720			01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water So	urce:	GROUND WATER	
2-10890	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Is	sues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water So	urce:	ALL SOURCES OF SURFACE AND GROUND WATER	
-10890	11/28/2014	RESPONSE: (ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Is	sues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water So	urce:	ALL SOURCES OF SURFACE AND GROUND WATER	
2-10890	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Is	sues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water So	urce:	ALL SOURCES OF SURFACE AND GROUND WATER	

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 253 3RD AVENUE NORTH TWIN FALLS, ID 83301			ion DOCKET SHEET	12/08/14 IWT040	PAGE: 109
REGIST	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
92-10890	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues	: 01 02 03 04 05 06 07 08 09 12
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		: ALL SOURCES OF SURFACE AND GROUND WATER
92-10890	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861	Issues	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		: ALL SOURCES OF SURFACE AND GROUND WATER
92-10890	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		: ALL SOURCES OF SURFACE AND GROUND WATER
92-10890	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		: ALL SOURCES OF SURFACE AND GROUND WATER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 110 253 3RD AVENUE NORTH IWT040

253 3RD AVEN				IWT040	
SUBCASE#	ER OF ACTION		G ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	OR THE PERIOD	11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		: ALL SOURCES OF SURFACE AND GROUND WATER
92-10890	11/28/2014	(ATTY)	BALDWIN, JOHN LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		: ALL SOURCES OF SURFACE AND GROUND WATER
92-10891	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	: ALL SOURCES OF SURFACE AND GROUND WATER
92-10891	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	: ALL SOURCES OF SURFACE AND GROUND WATER

253 3RD AVE	NUE NORTH	ver hajaareae	ION DOCKET SHEET	IWT040	17.01. 111
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
					01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	ALL SOURCES OF SURFACE AND GROUND WATER
92-10891	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ALL SOURCES OF SURFACE AND GROUND WATER
92-10891	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		ALL SOURCES OF SURFACE AND GROUND WATER
92-10891	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ALL SOURCES OF SURFACE AND GROUND WATER

	r d'Alene-spokane River Adjudication DOCKET SHEET BRD AVENUE NORTH FALLS, ID 83301		IWT040	PAGE: 112	
REGIS JBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
			SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	ALL SOURCES OF SURFACE AND GROUND WATER
-10891	11/28/2014	RESPONSE: (ATTY)	550 WEST FORT STREET, MSC 033 BOISE, ID 83724 SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BUVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	ALL SOURCES OF SURFACE AND GROUND WATER
2-10891	11/28/2014		BOISE, ID 83724 BALDWIN, JOHN LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	ALL SOURCES OF SURFACE AND GROUND WATER
-10906	11/13/2014	RESPONSE: (ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	CHERRY CREEK TRIBUTARY: ST JOE RIVER

NIIE NORTH	=		IWT040	PAGE: 113
				11/01/2014 THRU 11/30/2014.
	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720		01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
	(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	CHERRY CREEK TRIBUTARY: ST JOE RIVER
11/28/2014		701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	CHERRY CREEK TRIBUTARY: ST JOE RIVER
11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE FNVIRONMENT & NATL! RESOURCES	Water Source:	CHERRY CREEK TRIBUTARY: ST JOE RIVER
11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	CHERRY CREEK TRIBUTARY: ST JOE RIVER
	NUE NORTH ID 83301 TER OF ACTION DATE FILED 11/24/2014	NUE NORTH ID 83301 TER OF ACTION LIST SHOWING DATE FILED  11/24/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)	TD 83301  TER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, I PARTIES INVOLVED  11/24/2014  RESPONSE: HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720  OBJECTION: STATE OF IDAHO  (ATTY) CHIEF FAITORNEY GENERAL STATE OF IDAHO  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 HOISE, ID 83724  11/28/2014  RESPONSE: (ATTY) WOMENER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 HOISE, ID 83724  11/28/2014  RESPONSE: (ATTY) WOMENER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 HOISE, ID 83724  11/28/2014  RESPONSE: EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 HOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 HOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 HOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 HOISE, ID 83701-0829  CLAIMANT: SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  BOISE, ID 83701-0829  CLAIMANT: WOMENER, CARLA MATL' RESOURCES 550 WEST FORT STREET, MSC 033 HOISE, ID 83701-0829  CLAIMANT: WOMENER, CARLA MATL' RESOURCES 550 WEST FORT STREET, MSC 033 HOISE, ID 83701-0829  CLAIMANT: WOMENER, CARLA MATL' RESOURCES 550 WEST FORT STREET, MSC 033 HOISE, ID 83701-0829  CLAIMANT: WOMENER, CARLA MATL' RESOURCES 550 WEST FORT STREET, MSC 03	NUE NORTH  1D 83301 TER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD :  PARTIES INVOLVED  11/24/2014  RESPONSE: HAGADONE HOSPITALITY CO

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 114 253 3RD AVENUE NORTH IWT040

253 3RD AVE				IWT040	
SUBCASE#	TER OF ACTION DATE FILED		G ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		
92-10906	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		CHERRY CREEK TRIBUTARY: ST JOE RIVER
92-10906	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		CHERRY CREEK TRIBUTARY: ST JOE RIVER
92-10906	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	CHERRY CREEK TRIBUTARY: ST JOE RIVER
92-10906	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	CHERRY CREEK TRIBUTARY: ST JOE RIVER

d'Alene-Spokane Piwer Adjudication 12/08/14

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 253 3RD AVENUE NORTH TWIN FALLS, ID 83301			ion DOCKET SHEET	12/08/ IWT0		PAGE: 115
REGIS! SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720 STATE OF IDAHO			01 02 03 04 05 06 07 08 09 12
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS			
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			CHERRY CREEK TRIBUTARY: ST JOE RIVER
92-10907	11/13/2014	RESPONSE: (ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Is	sues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 HAGADONE HOSPITALITY CO			ALDER CREEK TRIBUTARY: ST MARIES RIVER
92-10907	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Is	ssues:	01 02 03 04 05 06 07 08 09 12
			STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water So	ource:	ALDER CREEK TRIBUTARY: ST MARIES RIVER
92-10907	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FI	Is	sues:	01 02 03 04 05 06 07 08 09 12
			PO BOX 829 BOTSE, TD 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water So	ource:	ALDER CREEK TRIBUTARY: ST MARIES RIVER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 116 253 3RD AVENUE NORTH IWT040

253 3RD AVE				IWT040	
SUBCASE#	TER OF ACTION		G ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	OR THE PERIOD 11/01/2	014 THRU 11/30/2014.
92-10907	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues: 01 02	2 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source: ALDER	CREEK TRIBUTARY: ST MARIES RIVER
92-10907	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues: 01 02	2 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source: ALDER	CREEK TRIBUTARY: ST MARIES RIVER
92-10907	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues: 01 02	2 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source: ALDER	CREEK TRIBUTARY: ST MARIES RIVER
92-10907	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues: 01 02	03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source: ALDER	R CREEK TRIBUTARY: ST MARIES RIVER

Copyr d'Alana-Snokana Diver Adjudication DOCKET SHEET 12/08/14 DACE: 117

Coeur d'Ale 253 3RD AVE TWIN FALLS,	ne-Spokane Riv NUE NORTH	er Adjudicat	cion DOCKET SHEET	12/08/14 IWT040	PAGE: 117
REGIS	TER OF ACTION	LIST SHOWING	G ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1	11/01/2014 THRU 11/30/2014.
	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER. CARLA	Issues:	01 02 03 04 05 06 07 08 09 12
		CLAIMANT: (ATTY)	TIC DEDADEMENT OF THORTCE	Water Source:	ALDER CREEK TRIBUTARY: ST MARIES RIVER
92-10907	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	ALDER CREEK TRIBUTARY: ST MARIES RIVER
92-10907	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO		
		CLAIMANT: (ATTY)	PO BOX 83720 BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE STE 1200	Water Source:	ALDER CREEK TRIBUTARY: ST MARIES RIVER
92-10908	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 ROISE. ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	MIDDLE FORK SAINT MARIES RIVER TRIBUTARY: SAINT MARIES RIVER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 253 3RD AVENUE NORTH TWIN FALLS, ID 83301				12/08/14 IWT040	PAGE: 118	
REGIS SUBCASE#	TER OF ACTION		G ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.	
92-10908	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	MIDDLE FORK SAINT MARIES RIVER	TRIBUTARY: SAINT MARIES RIVER
92-10908	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	MIDDLE FORK SAINT MARIES RIVER	TRIBUTARY: SAINT MARIES RIVER
92-10908	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	MIDDLE FORK SAINT MARIES RIVER	TRIBUTARY: SAINT MARIES RIVER
92-10908	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	MIDDLE FORK SAINT MARIES RIVER	TRIBUTARY: SAINT MARIES RIVER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 253 3RD AVENUE NORTH TWIN FALLS, ID 83301			12/08/14 IWT040	PAGE: 119		
REGIST SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD	11/01/2014 THRU 11/30/2014.	
92-10908	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE	Water Source:	MIDDLE FORK SAINT MARIES RIVER	TRIBUTARY: SAINT MARIES RIVER
92-10908	11/28/2014	RESPONSE: (ATTY)	ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE		MIDDLE FORK SAINT MARIES RIVER	TRIBUTARY: SAINT MARIES RIVER
92-10908	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET MSC 033	Water Source:	MIDDLE FORK SAINT MARIES RIVER	TRIBUTARY: SAINT MARIES RIVER
92-10908	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	MIDDLE FORK SAINT MARIES RIVER	TRIBUTARY: SAINT MARIES RIVER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 253 3RD AVENUE NORTH TWIN FALLS, ID 83301 12/08/14 IWT040 PAGE: 120

	DATE FILED				
92-10908	11/28/2014		BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	MIDDLE FORK SAINT MARIES RIVER TRIBUTARY: SAINT MARIES
92-10909	11/13/2014	RESPONSE: (ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO	Issues:	01 02 03 04 05 06 07 08 09 10 11
		(AIII)	SPORANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	WEST FORK SAINT MARIES RIVER TRIBUTARY: SAINT MARIES F
2-10909	11/24/2014	(ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 PINEHURST WATER DISTRICT	Water Source:	WEST FORK SAINT MARIES RIVER TRIBUTARY: SAINT MARIES F
2-10909	11/28/2014	(ATTY)	701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	WEST FORK SAINT MARIES RIVER TRIBUTARY: SAINT MARIES F

2.53 3RD AVE	NUE NORTH		TON DOCKET SHEET	IWT040	PAGE: 121	
TWIN FALLS, REGIS SUBCASE#	DETE ETHED	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			
92-10909	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	WEST FORK SAINT MARIES RIVER	TRIBUTARY: SAINT MARIES RIVER
92-10909	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOTSE, ID 83724	Water Source:	WEST FORK SAINT MARIES RIVER	TRIBUTARY: SAINT MARIES RIVER
92-10909	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M	Issues:	01 02 03 04 05 06 07 08 09 12	
		(ATTY)	PO BOX 829 BOISE, ID 83701-0829	Nahan Causas	MIROW RODY CATHW MADIFIC DIVID	MDIDUMADY, CAINE MADIEC DIVED
	/ /	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		WEST FORK SAINT MARIES RIVER	TRIBUTARY: SAINT MARIES RIVER
92-10909	11/28/2014	RESPONSE: (ATTY)	SOU WEST FORT STREET, MSC 033 BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	WEST FORK SAINT MARIES RIVER	TRIBUTARY: SAINT MARIES RIVER

TWIN FALLS, ID 83301 REGISTER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. SUBCASE# DATE FILED PARTIES INVOLVED	Coeur d'Alene-Spokane River Adjudication 253 3RD AVENUE NORTH	DOCKET SHEET	12/08/14 IWT040	PAGE: 122
			FOR THE PERIOD 11/01/2014	THRU 11/30/2014.

SUBCASE#	STER OF ACTION DATE FILED				11/01/2014 THRU 11/30/2014.
92-10909	11/28/2014	(ATTY)	101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	WEST FORK SAINT MARIES RIVER TRIBUTARY: SAINT MARIES RIVER
92-10909	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
			UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	WEST FORK SAINT MARIES RIVER TRIBUTARY: SAINT MARIES RIVER
92-10909	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	WEST FORK SAINT MARIES RIVER TRIBUTARY: SAINT MARIES RIVER
92-10910	11/13/2014	RESPONSE: (ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	THORN CREEK TRIBUTARY: ST MARIES RIVER

253 3RD AVE	ENUE NORTH	,01 110,001000	1011 2001.21 011.221	IWT040	11.021 120
	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
92-10910	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720		
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	THORN CREEK TRIBUTARY: ST MARIES RIVER
92-10910	11/28/2014	(ATTY)	PINEHÜRST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	THORN CREEK TRIBUTARY: ST MARIES RIVER
92-10910	11/28/2014	(ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	THORN CREEK TRIBUTARY: ST MARIES RIVER
92-10910	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	THORN CREEK TRIBUTARY: ST MARIES RIVER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 124 253 3RD AVENUE NORTH IWT040

253 3RD AVE				IWT040	
TWIN FALLS, REGIS SUBCASE#	TER OF ACTION	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 11/01/2014 THRU 11/30/2014.	
92-10910	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL	Issues: 01 02 03 04 05 06 07 08 09 12	
		(ATTY)	PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source: THORN CREEK TRIBUTARY: ST MARIES RIVER	
92-10910	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues: 01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source: THORN CREEK TRIBUTARY: ST MARIES RIVER	
92-10910	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues: 01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source: THORN CREEK TRIBUTARY: ST MARIES RIVER	
92-10910	11/28/2014	(ATTY)	BOISE, ID 83724 SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues: 01 02 03 04 05 06 07 08 09 12	
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source: THORN CREEK TRIBUTARY: ST MARIES RIVER	

ENUE NORTH	ver Adjudicat	ion DOCKET SHEET		08/14 WT040	PAGE: 125
STER OF ACTION DATE FILED		PARTIES INVOLVED			
		BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720			01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
	CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	THORN CREEK TRIBUTARY: ST MARIES RIVER
11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200		Issues:	01 02 03 04 05 06 07 08 09 10 11
	OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	ST MARIES RIVER TRIBUTARY: ST JOE RIVER
11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	ST MARIES RIVER TRIBUTARY: ST JOE RIVER
11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ST MARIES RIVER TRIBUTARY: ST JOE RIVER
	ENUE NORTH ID 83301 TTER OF ACTION DATE FILED	NUE NORTH ID 83301 STER OF ACTION LIST SHOWING DATE FILED  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  11/24/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)	ID 83301 DATE FILED  RESPONSE: BALDWIN, JOHN (ATTY)  (ATTY)  (ATTY)  (BERNOCK ST (ATTY)  (BOUSE, ID 83701-2720  BOISE, ID 83701-2720  BOISE, ID 83701-2700  CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO (ATTY)  (ATTY)  (ATTY)  (CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES SO WEST FORT STREET, MSC 033  BOISE, ID 83724  RESPONSE: AVISTA CORPORATION SCHROCKE, WAS 1200  CHAIMANT: OFFICE OF THE ATTORNEY GENERAL STATE OF DAHO (ATTY)  (ATTY)  (BOISE, ID 83724  RESPONSE: AVISTA CORPORATION SCHROCKE, WAS 1200 SEOKANE, WA 99201-3505  OBJECTION: STATE OF IDAHO (ATTY)  CHAIMANT: OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO (ATTY)  CHAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO (ATTY)  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES SOO WEST FORT STREET, MSC 033  BOISE, ID 83720  OBJECTION: STATE OF IDAHO (ATTY)  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO (ATTY)  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO (ATTY)  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES SOO WEST FORT STREET, MSC 033  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES SO WEST FORT STREET, MSC 033  BOISE, ID 8370-0010  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES SO WEST FORT STREET, MSC 033  BOISE, ID 8370-0010  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES SO WEST FORT STREET, MSC 033  BOISE, ID 8370-0010  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES SO WEST FORT STREET, MSC 033  BOISE, ID 8370	INUE NORTH  ID 83301 STER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE DATE FILED  11/28/2014  RESPONSE: BALDWIN, JOHN  (ATTY)	INUE NORTH  10 83301 STER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD I DATE FILED  11/28/2014  RESPONSE: BALDWIN, JOHN  (ATTY)  MEMPER, CHRISTOPHER H  601 W BANNOCK ST  PO BOX 2720  BOISE, ID 83701-2720  BOISE, ID 83701-2720  BOISE, ID 83701-2720  CLAIMANT: UNITED STATES OF AMERICA AS  (ATTY)  (ATTY)  CLAIMANT: UNITED STATES OF AMERICA AS  (ATTY)  ATTHE OF IDAHO  (ATTY)  ATTHE OF BOX 2720  BOISE, ID 83724  11/13/2014  RESPONSE: ALSO AND RESPONSE SIV  (ATTY)  CHARLES STATE OF IDAHO  (ATTY)  AND SPRAGUE AVE, STEET, MSC 033  BOISE, ID 83724  OBJECTION: STATE OF IDAHO  (ATTY)  CLAIMANT: UNITED STATES OF AMERICA AS  (ATTY)  BOISE, ID 83720  BOISE, ID 83720  OBJECTION: STATE OF IDAHO  (ATTY)  CLAIMANT: UNITED STATES OF AMERICA AS  (ATTY)  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS  (ATTY)  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS  (ATTY)  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS  (ATTY)  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS  (ATTY)  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS  (ATTY)  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS  (ATTY)  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS  (ATTY)  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS  (ATTY)  BOISE, ID 83701-0220  OBJECTION: STATE OF IDAHO  (ATTY)  CHAPPING AMERICA  (ATTY)  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS  (ATTY)  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS  (ATTY)  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS  (ATTY)  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS  (ATTY)  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS  (ATTY)  BOISE, ID 83724  CLAIMANT: UNITED STATES OF AMERICA AS  (ATTY)  BOISE, ID 83724  CLAIMANT: UNITED STATES OF AMERICA AS  (ATTY)  BOISE, ID 83724  CLAIMANT: UNITED STATES OF AMERICA AS  (ATTY)  BOISE, ID 83724  CLAIMANT: UNITED STATES OF AMERICA AS  (ATTY)  DO BOOK 83720  CLAIMANT: UNITED STATES OF

253 3RD AVE TWIN FALLS,				IWTO40	
	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		
92-10911	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source: ST MARIES	RIVER TRIBUTARY: ST JOE RIVER
92-10911	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues: 01 02 03	04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source: ST MARIES	RIVER TRIBUTARY: ST JOE RIVER
92-10911	11/28/2014	(ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues: 01 02 03	04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source: ST MARIES	RIVER TRIBUTARY: ST JOE RIVER
92-10911	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues: 01 02 03	04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source: ST MARIES	RIVER TRIBUTARY: ST JOE RIVER

253 3RD AVE	NUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 127
TWIN FALLS, REGIS SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
92-10911	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ST MARIES RIVER TRIBUTARY: ST JOE RIVER
2-10911	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	ST MARIES RIVER TRIBUTARY: ST JOE RIVER
2-10911	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ST MARIES RIVER TRIBUTARY: ST JOE RIVER
2-10912	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	: 01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAK

253 3RD AVE	NUE NORTH	vei Aujudicac	TOTE DOCKET SHEET	IWT040		1AGE: 120
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/30/2014.
92-10912	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720			
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			TRIBUTARY: COEUR D'ALENE LAKE
92-10912	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES ID 83861	Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
			UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			TRIBUTARY: COEUR D'ALENE LAKE
92-10912	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
92-10912	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 129
253 3RD AVENUE NORTH IWT040
TWIN FALLS. ID 83301

253 3RD AVE TWIN FALLS,	NUE NORTH			IWT040		
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			11/30/2014.
92-10912	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861			
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
92-10912	11/28/2014	(ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	: 01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	: ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE
92-10912	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	: 01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 83724			
92-10912	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	: 01 02 03 04 05	06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	: ST JOE RIVER	TRIBUTARY: COEUR D'ALENE LAKE

53 3RD AVE WIN FALLS,	NUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 130
REGIS BCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV		01 02 03 04 05 07 08 09 12
		,	OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		ST JOE RIVER TRIBUTARY: COEUR D'ALENE LAKE
-10913	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ALDER CREEK
-10913	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ALDER CREEK
2-10913	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ALDER CREEK

253 3RD AVE TWIN FALLS,	ID 83301				TO40	1/01/0014 TVD-7 11/00/0014
SUBCASE#	DATE FILED		ALL OBJECTIONS AND RESPONSES, E PARTIES INVOLVED			.1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ALDER CREEK
92-10913	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ALDER CREEK
92-10913	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ALDER CREEK
92-10913	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ALDER CREEK

253 3RD AVEN	IUE NORTH	ver Aujudicat	IOII DOCKEI SHEEI	IWT040	FAGE. 132
	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		
	11/28/2014	(ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
92-10913	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA	Issues:	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET MSC 033	Water Source:	: ALDER CREEK
92-10913	11/28/2014		BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	: 01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
			BOTSE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 AVISTA CORPORATION SCHOOLDED WILLIAM T	Water Source:	: ALDER CREEK
92-10914	11/13/2014	(AIII)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO	Issues:	: 01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE. ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	: ALDER CREEK

253 3RD AVE	NUE NORTH	rei Adjudicat	ION DOCKET SHEET	IWT040	TAGE. 133
	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
92-10914		RESPONSE:	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720		
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ALDER CREEK
92-10914	11/28/2014		PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ALDER CREEK
92-10914	11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOY 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	ALDER CREEK
92-10914	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ALDER CREEK
			DOTOH, ID 03/24		

253 3RD AVE TWIN FALLS,	ID 83301				WT040	
REGIS SUBCASE#	TER OF ACTION DATE FILED					
92-10914	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
92-10914	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
92-10914	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ALDER CREEK
92-10914	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ALDER CREEK

253 3RD AVENTWIN FALLS,	NUE NORTH		ION DOCKET SHEET	IWT040	
REGIST SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, EPARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
92-10914	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
92-10915	11/13/2014	(ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
92-10915	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
92-10915	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

WIN FALLS,	NUE NORTH ID 83301			IWT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR		
2-10915	11/28/2014		EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
-10915	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
2-10915	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
-10915	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH			IWT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1	11/01/2014 THRU 11/30/2014.
92-10915	11/28/2014	(ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
92-10915	11/28/2014		SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
92-10915	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
92-10916	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE		2		IWT040	
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
92-10916		RESPONSE:	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
92-10916	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
92-10916	11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
92-10916	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVENTWIN FALLS,				II	VT040	
REGIS:	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
92-10916	11/28/2014	RESPONSE:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
92-10916	11/28/2014	(ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
92-10916	11/28/2014	(ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
92-10916	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

WIN FALLS, REGIS	TER OF ACTION	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, F	OR THE	PERIOD 1	1/01/2014 THRU 11/30/2014.
			PARTIES INVOLVED			
2-10916	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720			01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724	Water	Source:	GROUND WATER
2-10917	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
2-10917	11/24/2014	(ATTY)	LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
2-10917	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH	.or majaaroas	ION BOCKET SHEET	IWT040	
REGIS SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		TOD 11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		nes: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 KELLOGG SCHOOL DISTRICT STMANUS NORMAN M	Water Sour	cce: GROUND WATER
92-10917	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issu	nes: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sour	cce: GROUND WATER
92-10917	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issu	nes: 01 02 03 04 05 06 07 08 09 12
			SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sour	rce: GROUND WATER
92-10917	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issu	ues: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sour	cce: GROUND WATER

253 3RD AVE	NUE NORTH	,01 110,001000	200. 200.21 0221	IWT040	11021 115
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	FOR THE PERIOD 1	
92-10917	11/28/2014	(ATTY)	101 S CAPITOL BLVD 10TH FL	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	GROUND WATER
92-10917	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
92-10917	11/28/2014	(ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
92-10918	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE		2		IWT040	
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
92-10918	11/24/2014	RESPONSE:	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
92-10918	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
92-10918	11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
92-10918	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	ID 83301				WT040	
REGIS SUBCASE#	TER OF ACTION DATE FILED					
92-10918	11/28/2014	(ATTY)	701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
92-10918	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
92-10918	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
92-10918	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVENTWIN FALLS,	NUE NORTH	<u> </u>	ION DOCKET SHEET	IWT040	
REGIST SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
92-10918	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
92-10919	11/13/2014	(ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
92-10919	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
92-10919	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	ID 83301				VTO40	1/01/0014 57777 11/00/0014
SUBCASE#	DATE FILED		ALL OBJECTIONS AND RESPONSES, E PARTIES INVOLVED			.1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
92-10919	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
92-10919	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
92-10919	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH	3		IWT040	
REGIS'	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1	11/01/2014 THRU 11/30/2014.
92-10919	11/28/2014	(ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
92-10919	11/28/2014		SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
92-10919	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
92-10920	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LIP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE	NUE NORTH	.01 110,001000	1011 2001.21 011221	IW'	T040	11021 110
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
92-10920		RESPONSE:	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720			
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water :	Source:	GROUND WATER
92-10920	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	:	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
			UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
92-10920	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	:	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
			BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water :	Source:	GROUND WATER
92-10920	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	:	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water :	Source:	GROUND WATER

253 3RD AVE					WT040	
REGIS'	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
92-10920	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
92-10920	11/28/2014	(ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724			
92-10920	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
92-10920	11/28/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVEN	NUE NORTH	rer majaareae	ION DOCKET SHEET		WT040	1101. 100
REGIS:	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
92-10920	11/28/2014	RESPONSE: (ATTY)				01 02 03 04 05 06 07 08 09 12
		, ,	OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR	Water	Source:	GROUND WATER
		(ATTY)	ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET. MSC 033			
92-10921	11/13/2014	(A'l''I'Y)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO		Issues:	01 02 06 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
92-10921	11/24/2014	(ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
92-10921	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

SUBCASE# I	R OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
92-10921					
		(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION:			
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
92-10921	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION:	WOEMPNER, CARLA		
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
92-10921	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
92-10921	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE WIN FALLS,	NUE NORTH		ION DOCKET SHEET	IWT040	11.02.
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 SCOTT, ANDREW & HEATHER	Water Source:	GROUND WATER
92-10921	11/28/2014	(A'I'I'Y)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET MSC 033	Water Source:	GROUND WATER
92-10921	11/28/2014		BOISE ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 AVISTA CORPORATION	Water Source:	GROUND WATER
92-10922	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH	ver najuareae	ION DOCKET SHEET		T040	11101. 100
REGIS SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
92-10922		RESPONSE:	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720			
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
92-10922	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
92-10922	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
92-10922	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
			BOISE, ID 83724			

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 154 253 3RD AVENUE NORTH IWT040

253 3RD AVE		2	IWT040
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. PARTIES INVOLVED
92-10922		RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST ISSUES: 01 02 03 04 05 06 07 08 09 12 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		(ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
92-10922	11/28/2014	(ATTY)	SHOSHONE COUNTY SPORTSMEN'S ISSUES: 01 02 03 04 05 06 07 08 09 12  SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL  PO BOX 829  BOISE. ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		(ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033
92-10922	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS Issues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
92-10922	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER ISSUES: 01 02 03 04 05 06 07 08 09 12  SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL PO BOX 829  BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724

NUE NORTH			IWT0	40	
TER OF ACTION DATE FILED		PARTIES INVOLVED			
	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720			01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water So	ource:	GROUND WATER
11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720	Is	sues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water So	ource:	ALL SOURCES OF SURFACE AND GROUND WATER
11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Is	sues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water So	ource:	ALL SOURCES OF SURFACE AND GROUND WATER
11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Is	sues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water So	urce:	ALL SOURCES OF SURFACE AND GROUND WATER
	ID 83301 TER OF ACTION DATE FILED	ID 83301 TER OF ACTION LIST SHOWING DATE FILED  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)	ID 83301  TER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED  11/28/2014  RESPONSE: BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720  BOISE, ID 83701-2720  STATE OF IDAHO  CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO  CHAIMANT: (ATTY) BOISE, ID 83720-0010  CLAIMANT: (ATTY) BOISE, ID 83720-0010  AMBRICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033  BOISE, ID 83720-0010  CLAIMANT: (ATTY) BOISE, ID 83701-2720  OBJECTION: STATE OF IDAHO  (ATTY) CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO  (ATTY) CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO  (ATTY) WORNENT & NATL' RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO  (ATTY) WORNENT & NATL' RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO  (ATTY) WORNENT & NATL' RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO  (ATTY) BOISE, ID 83701-0010  CLAIMANT: UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES SOWEST FORT STREET, MSC 033  BOISE, ID 83724  (ATTY) WORNENER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  BOISE, ID 83701-0829  OBJECTION: WOEMENER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  BOISE, ID 83701-0829  OBJECTION: WOEMENER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: UNITED STATES OF AMERICA SEMANKO, NOR	To Royal Color	10 83301   PARTIES INVOLVED

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 156 253 3RD AVENUE NORTH IWT040

253 3RD AVE				IWT040	
SUBCASE#	TER OF ACTION		G ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1	11/01/2014 THRU 11/30/2014.
93-07433	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	ALL SOURCES OF SURFACE AND GROUND WATER
93-07433	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	ALL SOURCES OF SURFACE AND GROUND WATER
93-07433	11/28/2014	(ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ALL SOURCES OF SURFACE AND GROUND WATER
93-07433	11/28/2014	(ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ALL SOURCES OF SURFACE AND GROUND WATER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 157 253 3RD AVENUE NORTH IWT040

253 3RD AVE		2		IWT040	
SUBCASE#	TER OF ACTION		G ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	FOR THE PERIOD 1	11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOY 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET MSC 033		ALL SOURCES OF SURFACE AND GROUND WATER
93-07433	11/28/2014		LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724		ALL SOURCES OF SURFACE AND GROUND WATER
93-07462	11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07462	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)		Water Source:	GROUND WATER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 158 253 3RD AVENUE NORTH IWT040

: 01 02 03 04 05 06 07 08 09 12
: GROUND WATER
: 01 02 03 04 05 06 07 08 09 12
: GROUND WATER
: 01 02 03 04 05 06 07 08 09 12
: GROUND WATER
: 01 02 03 04 05 06 07 08 09 12
: GROUND WATER

253 3RD AV	ENUE NORTH , ID 83301			IWT040	
REGI	STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		
93-07462	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07462	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07462	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	GROUND WATER
93-07462	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVENUE NORTH TWIN FALLS, ID 83301				IWT040				
			ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED					
3-07463		RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11		
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720					
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER		
93-07463	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12		
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720					
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER		
-07463	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER		
3-07463	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER		

253 3RD AVE TWIN FALLS,	NUE NORTH	,01 110,001000	200121 511221	IWT040	111021
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1	
93-07463	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	GROUND WATER
93-07463	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07463	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07463	11/28/2014	RESPONSE: (ATTY)		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 162 253 3RD AVENUE NORTH IWT040

253 3RD AVE		2		IWT040	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	FOR THE PERIOD 1	11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL DO BOY 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 ROISE: ID 83724		
93-07463	11/28/2014		BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07464	11/13/2014		AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07464	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 163 253 3RD AVENUE NORTH IWT040

253 3RD AVI		_		IWT040	
REGI			ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1	1/01/2014 THRU 11/30/2014.
			PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07464	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07464	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07464	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVEN	UE NORTH	ver hajuareae	ION BOCKET SHEET	IWT040	17.01.
REGIST	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		
	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07464	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL DO BOY 824	Issues:	01 02 03 04 05 06 07 08 09 12
			BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
			BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 SCOTT, ANDREW & HEATHER	Water Source:	GROUND WATER
93-07464	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE. ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07464	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

WIN FALLS,	INUE NORTH ID 83301	T.TST SHOWING	ALL OBJECTIONS AND RESPONSES, E	OR THE	PERIOD 1	1/01/2014 THRII 11/30/2014
UBCASE#	DATE FILED					
	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07465	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07465	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07465	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

53 3RD AVE WIN FALLS,		-		IWT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1	
3-07465	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
-07465	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
-07465	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
3-07465	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH	ver Adjudicac	ION DOCKET SHEET	12/08/14 IWT040	PAGE: 10/
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
			SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07465	11/28/2014	RESPONSE: (ATTY)	BALDWÍN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07466	11/13/2014	RESPONSE: (ATTY)		Issues:	01 02 03 04 05 06 07 08 09 10
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07466	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVEN	UE NORTH	ver majaareae	ION DOCKET SHEET	IWT040	1101. 100
SUBCASE#	ER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
93-07466			PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201		01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07466	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07466	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOTSE. ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	
93-07466	11/28/2014	RESPONSE: (ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AV	ENUE NORTH , ID 83301			IWT040	
REGI	STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		
93-07466	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07466	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07466	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07466	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE				IWT040	
REGIS'	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F	FOR THE PERIOD 1	
93-07467	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200		01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07467	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07467	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07467	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH	.01 110,001000	200121 20221	IWT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1	
93-07467	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	GROUND WATER
93-07467	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07467	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07467	11/28/2014	RESPONSE: (ATTY)		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 172 253 3RD AVENUE NORTH IWT040

253 3RD AVE		2		IWT040	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	FOR THE PERIOD 1	11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL DO BOY 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 ROISE: ID 83724		
93-07467	11/28/2014		BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07468	11/13/2014		AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07468	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE	NUE NORTH	rei hajuaicat	ION DOCKET SHEET		WT040	INGE. 175
TWIN FALLS, REGIS' SUBCASE#	TER OF ACTION DATE FILED	LIST SHOWING				1/01/2014 THRU 11/30/2014.
	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES ID 83861			
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07468	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)		Water	Source:	GROUND WATER
93-07468	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			GROUND WATER
93-07468	11/28/2014	RESPONSE: (ATTY) OBJECTION:	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	source:	GROUND WATER

253 3RD AVEN	UE NORTH	ver najaareas	ION BOCKET SHEET	IWT040	11101. 171
REGIST	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		
	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07468	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
			BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07468	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE. ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE. ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07468	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVEN	UE NORTH	rer Adjudicat	ion DOCKET SHEET	12/08 IWI	3/14 7040	PAGE: 175
SUBCASE#	ER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
93-07469		RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO			01 02 03 04 05 06 07 08 09 10 11
		CLAIMANT: (ATTY)	PO BOX 83720 BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07469	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720	I	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water S	Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07469	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	I	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water S	Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07469	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	I	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water S	Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 176 253 3RD AVENUE NORTH IWT040

253 3RD AVE		2		IWT040	
TWIN FALLS, REGIS SUBCASE#	STER OF ACTION	LIST SHOWING	PARTIES INVOLVED	FOR THE PERIOD 11/01/2014 THRU 11/30/2014.	
93-07469	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues: 01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source: HANGMAN CREEK TRIBUTARY: SPOKANE RIVER	
93-07469	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues: 01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source: HANGMAN CREEK TRIBUTARY: SPOKANE RIVER	
93-07469	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues: 01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source: HANGMAN CREEK TRIBUTARY: SPOKANE RIVER	
93-07469	11/28/2014	(ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues: 01 02 03 04 05 06 07 08 09 12	
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source: HANGMAN CREEK TRIBUTARY: SPOKANE RIVER	

Coeur d'Ale 253 3RD AVE TWIN FALLS,	NUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 177
REGIS' SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		
	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA		01 02 03 04 05 06 07 08 09 12
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE		HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07469	11/28/2014	(ATTY)	550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720	Ĺ	
		( \lambda TTTV \	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J		HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07470	11/13/2014		717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERA: STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010	L	
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET MSC 033		HANGMAN CREEK (CONDITIONAL) TRIBUTARY: SPOKANE RIVER
93-07470	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERA: STATE OF IDAHO PO BOX 83720 BOISE ID 83720-0010	Ĺ	
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK (CONDITIONAL) TRIBUTARY: SPOKANE RIVER

### PALLS, ID 8390100 LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014.  #### PACIFIC PROVED BY THE PERIOD 11/01/2014 THRU 11/30/2014.  #### PACIFIC PROVIDES BY THE PERIOD 11/01/2014 THRU 11/30/2014.  #### PACIFIC PROVIDES BY THE PERIOD 11/01/2014 THRU 11/30/2014.  #### PACIFIC PROVIDES BY THE PERIOD 11/01/2014 THRU 11/30/2014.  #### PACIFIC PROVIDES BY THE PERIOD 11/01/2014 THRU 11/30/2014.  #### PACIFIC PROVIDES BY THE PERIOD 11/01/2014 THRU 11/30/2014.  #### PACIFIC PROVIDES BY THE PERIOD 11/01/2014 THRU 11/30/2014.  #### PACIFIC PROVIDES BY THE PERIOD 11/01/2014 THRU 11/30/2014.  #### PACIFIC PROVIDES BY THE PERIOD 11/01/2014 THRU 11/30/2014.  #### PACIFIC PROVIDES BY THE PERIOD 11/2014 THRU 11/30/2014.  #### PACIFIC PROVIDES BY THE PERIOD 11/2014 THRU 11/30/2014.  #### PACIFIC PROVIDES BY THE PERIOD 11/2014 THRU 11/30/2014.  #### PACIFIC PROVIDES BY THE PERIOD 11/2014 THRU 11/30/2014.  #### PACIFIC PROVIDES BY THE PERIOD 11/2014 THRU 11/30/2014.  #### PACIFIC PROVIDES BY THE PERIOD 11/2014 THRU 11/30/2014.  #### PACIFIC PROVIDES BY THE PERIOD 11/2014 THRU 11/30/2014.  #### PACIFIC PROVIDES BY THE PERIOD 11/2014 THRU 11/30/2014.  #### PACIFIC PROVIDES BY THE PERIOD 11/2014 THRU 11/30/2014.  #### PACIFIC PROVIDES BY THE PERIOD 11/2014 THRU 11/30/2014.  #### PACIFIC PROVIDES BY THE PERIOD 11/2014 THRU 11/30/2014.  #### PACIFIC PROVIDES BY THE PERIOD 11/2014 THRU 11/30/2014.  #### PACIFIC PROVIDES BY THE PERIOD 11/2014 THRU 11/30/2014.  #### PACIFIC PROVIDES BY THE PERIOD 11/2014 THRU 11/30/2014 THRU 11/30/2014.  #### PACIFIC PROVIDES BY THE PERIOD 11/2014 THRU 11/30/2014 THRU 11/30/2014.  #### PACIFIC PROVIDES BY THE PERIOD 11/2014 THRU 11/30/2014 THRU 11/30/2014 THRU 11/30/2014.  #### PACIFIC PROVIDES BY THE PERIOD 11/2014 THRU 11/30/2014  253 3RD AVE	NUE NORTH	ver Adjudicat	ION DOCKET SHEET		WT040	PAGE: 1/8		
Payer   Collage St StE 201   State   Payer   State   Payer   State   Payer   State   Payer	REGIS' SUBCASE#	TER OF ACTION DATE FILED		PARTIES INVOLVED				
SEMANKO, NORMAN M			RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861				
93-07470 11/28/2014 RESPONSE: CATTY)			(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
93-07470 11/28/2014 RESPONSE: (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 BOISE, ID 83704 BLVD 10TH FL PO BOX 829 BOISE, ID 83704 BLVD 10TH FL PO BOX 829 BOISE, ID 83704 BLVD 10TH FL PO BOX 829 BOISE, ID 83704 BLVD 10TH FL PO BOX 829 BOISE, ID 83704 BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 BOISE, ID				US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	HANGMAN CREEK (CONDITIONAL)	TRIBUTARY: SPOKANE RIVER
OBJECTION: (ATTY) (ATTY	93-07470	11/28/2014		EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL		Issues:	01 02 03 04 05 06 07 08 09 12	
CLAIMANT: UNITED STATES OF AMERICA AS USED AME				WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
93-07470 11/28/2014 RESPONSE: KELLOGG SCHOOL DISTRICT ISsues: 01 02 03 04 05 06 07 08 09 12  SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  OBJECTION: (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: (NITTED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  RESPONSE: (ATTY) RESPONSE: (ATTY) PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861  OBJECTION: WOEMPNER, CARLA  Issues: 01 02 03 04 05 06 07 08 09 12  ISSUES: 01 02 03 04 05 06 07 08 09 12				UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	HANGMAN CREEK (CONDITIONAL)	TRIBUTARY: SPOKANE RIVER
OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS USE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  P3-07470 11/28/2014 RESPONSE: (ATTY) RESOURCES STORE STREET, MSC 033 BOISE, ID 83724  P5-07470 11/28/2014 RESPONSE: (ATTY) PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861  OBJECTION: WOEMPNER, CARLA	93-07470	11/28/2014		KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12	
CLAIMANT: UNITED STATES OF AMERICA AS Water Source: HANGMAN CREEK (CONDITIONAL) TRIBUTARY: SPOKANE RIVER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  93-07470 11/28/2014 RESPONSE: (ATTY) FERNWOOD WATER & SEWER DIST ISSUES: 01 02 03 04 05 06 07 08 09 12  (ATTY) PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861  OBJECTION: WOEMPNER, CARLA			OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
93-07470 11/28/2014 RESPONSE: FERNWOOD WATER & SEWER DIST ISSUES: 01 02 03 04 05 06 07 08 09 12  (ATTY) PAYNE, DOUGLAS P.  701 W COLLAGE ST STE 201  ST MARIES, ID 83861  OBJECTION: WOEMPNER, CARLA				UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	HANGMAN CREEK (CONDITIONAL)	TRIBUTARY: SPOKANE RIVER
OBJECTION: WOEMPNER, CARLA	93-07470	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12	
101 S CAPITOL BLVD 10TH FL PO BOX 829			OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
BOISE, ID 83701-0829 CLAIMANT: UNITED STATES OF AMERICA AS Water Source: HANGMAN CREEK (CONDITIONAL) TRIBUTARY: SPOKANE RIVER  (ATTY) US DEPARTMENT OF JUSTICE  ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033  BOISE, ID 83724				ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	HANGMAN CREEK (CONDITIONAL)	TRIBUTARY: SPOKANE RIVER

253 3RD AVE TWIN FALLS,	ENUE NORTH	5	200.21 0.221	IWT040		
REGIS	STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1		
93-07470	11/28/2014	RESPONSE:			01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	HANGMAN CREEK (CONDITIONAL)	TRIBUTARY: SPOKANE RIVER
93-07470	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12	
		(ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		HANGMAN CREEK (CONDITIONAL)	TRIBUTARY: SPOKANE RIVER
93-07470	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	HANGMAN CREEK (CONDITIONAL)	TRIBUTARY: SPOKANE RIVER
93-07470	11/28/2014	RESPONSE: (ATTY)	BOISE, 1D 83/24 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720	L		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK (CONDITIONAL)	TRIBUTARY: SPOKANE RIVER

33 3RD AVE VIN FALLS,	NUE NORTH ID 83301			IWT040	
REGIS'	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, I PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
-07471		RESPONSE:			: 01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	: HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
-07471	11/24/2014		HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720 STATE OF IDAHO	Issues:	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	: HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
-07471	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
			UNITED STATES OF AMERICA AS		: HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
-07471	11/28/2014	RESPONSE: (ATTY)	FO BOA 029	Issues:	: 01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER

253 3RD AVE	NUE NORTH	,	ION DOCKET SHEET	IWT040	
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07471	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07471	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07471	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER

Coeur d'Ale 253 3RD AVE TWIN FALLS,	NUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 182		
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.		
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER				
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER		
93-07471	11/28/2014		BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 07 08 09 12		
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER		
93-07472	11/13/2014		AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO	Issues:	01 02 03 04 05 06 07 08 09 10 11		
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER		
93-07472	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12		
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE. ID. 83720-0010				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER		

Copyr d'Alana-Spokana Piver Adjudication DOCKET SHEET 12/08/14 DACE: 183

253 3RD AVEN	UE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 183
SUBCASE#	ER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M	Issues:	
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
3-07472	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
3-07472	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
3-07472	11/28/2014		BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER

253 3RD AVE FWIN FALLS,	NUE NORTH		ION BOCKET SHEET	IWT040	11102, 101
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
		RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07472	11/28/2014	(ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07472	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL DO BOY 829	Issues:	01 02 03 04 05 06 07 08 09 12
			BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)			HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07472	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER

33 3RD AVE VIN FALLS,	NUE NORTH ID 83301			IWT040	
REGIS'	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, I PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
-07473		RESPONSE:			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
-07473	11/24/2014		HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720 STATE OF IDAHO	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
-07473	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
					HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
-07473	11/28/2014	RESPONSE: (ATTY)	FO BOA 029	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 186 253 3RD AVENUE NORTH IWT040

253 3RD AVE		2		IWT040	
TWIN FALLS, REGIS SUBCASE#	STER OF ACTION	LIST SHOWING	PARTIES INVOLVED	FOR THE PERIOD 11/01/2014 THRU 11/30/2014.	
93-07473	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues: 01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source: HANGMAN CREEK TRIBUTARY: SPOKANE RIVER	
93-07473	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues: 01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source: HANGMAN CREEK TRIBUTARY: SPOKANE RIVER	
93-07473	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues: 01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source: HANGMAN CREEK TRIBUTARY: SPOKANE RIVER	
93-07473	11/28/2014	(ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues: 01 02 03 04 05 06 07 08 09 12	
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source: HANGMAN CREEK TRIBUTARY: SPOKANE RIVER	

			ALL OBJECTIONS AND RESPONSES, E PARTIES INVOLVED	OR THE	PERIOD I	1/01/2014 THRU 11/30/2014.
3-07473	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL			
			PO BOX 829			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE	Water	Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
			ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
-07473	11/28/2014	RESPONSE:	BOISE, ID 83724 BALDWIN, JOHN		Tssues:	01 02 03 04 05 07 08 09 12
	,,	(ATTY)	MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720			
		OD TECHTON.	BOISE, ID 83701-2720 STATE OF IDAHO			
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO			
			PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 AVISTA CORPORATION	Water	Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
07474	11 /12 /2014	DEGRANGE	BOISE, ID 83724		Ŧ · · ·	01 00 00 04 05 06 07 00 00 10 11
-0/4/4	11/13/2014	RESPONSE: (ATTY)	PAINE HAMBLEN LLP		Issues:	01 02 03 04 05 06 07 08 09 10 11
			717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505			
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL			
			STATE OF IDAHO			
		CT A TMANT.	BOISE, ID 83720-0010	Water	Courac.	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	source.	HANGMAN CREEK INIBUTARI. SPORANE RIVER
-07474	11/24/2014	RESPONSE.	BOISE, ID 83724 HAGADONE HOSPITALITY CO		Teenae.	01 02 03 04 05 06 07 08 09 12
0/1/1	11/24/2014	(ATTY)	LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720		133403.	01 02 03 04 03 00 07 00 07 12
		OD TECHTON.	BOISE, ID 83701-2720 STATE OF IDAHO			
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO			
			PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER

Coeur d'Aler 253 3RD AVEN TWIN FALLS,	IUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 188
REGIST SUBCASE#	ER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		
		RESPONSE:			01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	MOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07474	11/28/2014	RESPONSE: (ATTY)	101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07474	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07474	11/28/2014		701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 189
253 3RD AVENUE NORTH IWT040

253 3RD AVE		2		IWT040	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, EPARTIES INVOLVED	FOR THE PERIOD 1	11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL	Issues:	01 02 03 04 05 06 07 08 09 12
			BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07474	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724		HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07474	11/28/2014		SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07474	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 153 3RD AVENUE NORTH WIN FALLS, ID 83301			ION DOCKET SHEET	12/08/14 IWT040		PAGE: 190	
REGIS: SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.	
3-07475		RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE. STE 1200			01 02 03 04 05 06 07 08 09 10 11	
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER	
3-07475	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER	
3-07475	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER	
93-07475	11/28/2014	(ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER	

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 191 253 3RD AVENUE NORTH IWT040

253 3RD AVE		<u> </u>		IWT040
	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 11/01/2014 THRU 11/30/2014.
93-07475		RESPONSE:	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source: HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07475	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source: HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07475	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source: HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07475	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source: HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
			,	

253 3RD AVE	NUE NORTH	ver hajaareae	ION DOCKET SHEET	IWT040	1AGE. 172
TWIN FALLS, REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07475	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07476	11/13/2014	RESPONSE: (ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07476	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 193 253 3RD AVENUE NORTH IWT040

253 3RD AVE				IWT040	
REGIS SUBCASE#	TER OF ACTION		PARTIES INVOLVED	FOR THE PERIOD 11/01/2014 THRU 11/30/2014.	
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues: 01 02 03 04 05 06 07 08 09 12	
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source: HANGMAN CREEK TRIBUTARY: SPOKANE RIVER	
93-07476	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues: 01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source: HANGMAN CREEK TRIBUTARY: SPOKANE RIVER	
93-07476	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues: 01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source: HANGMAN CREEK TRIBUTARY: SPOKANE RIVER	
93-07476	11/28/2014	RESPONSE: (ATTY) OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861	Issues: 01 02 03 04 05 06 07 08 09 12	
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source: HANGMAN CREEK TRIBUTARY: SPOKANE RIVER	

253 3RD AVE TWIN FALLS,		5		IWT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	FOR THE PERIOD 1	
93-07476		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07476	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07476	11/28/2014		SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE		HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07476	11/28/2014	RESPONSE: (ATTY)	ENVIRONMENT & NAIL RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 195 253 3RD AVENUE NORTH IWT040

253 3RD AVEN		2		IWT040	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, EPARTIES INVOLVED		
		RESPONSE: (ATTY)			01 02 03 04 05 06 07 08 09 10 11
		CLAIMANT: (ATTY)	STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07477	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07477	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07477	11/28/2014	(ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER

	NUE NORTH ID 83301			IWT040	
REGIS'	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		
-07477		RESPONSE:	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
-07477	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
-07477	11/28/2014	(ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
-07477	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER

253 3RD AVE	NUE NORTH	ver Adjudicat	ION DOCKET SHEET	IZ/08/14 IWT040	PAGE: 19/
REGIS'	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
93-07477	11/28/2014		SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07477	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07478	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07478	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 253 3RD AVENUE NORTH TWIN FALLS, ID 83301				12/08/14 IWT040	PAGE: 198
REGIST SUBCASE#	ER OF ACTION DATE FILED	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD	11/01/2014 THRU 11/30/2014.
93-07478	11/28/2014	RESPONSE:	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET MSC 033		HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07478	11/28/2014	(A'I'I'Y)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07478	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07478	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER

253 3RD AVE TWIN FALLS,	NUE NORTH	or majaaroas	ION DOCKET SHEET	IWT040	11102.
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
		RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07478	11/28/2014	(ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07478	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL	Issues:	01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)			HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07478	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER

o3 3RD AVE WIN FALLS,	NUE NORTH ID 83301			IWT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, I PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
-07479		RESPONSE:			: 01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	: HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
-07479	11/24/2014		HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720 STATE OF IDAHO	Issues:	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	: HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
-07479	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
			UNITED STATES OF AMERICA AS		: HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
-07479	11/28/2014	RESPONSE: (ATTY)	FO BOA 029	Issues:	: 01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	: HANGMAN CREEK TRIBUTARY: SPOKANE RIVER

253 3RD AVE	NUE NORTH	ver Adjudicat	TOIL DOCKET SHEET	IWT040	17101. 201
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07479	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07479	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07479	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER

53 3RD AVE	ENUE NORTH ID 83301		ION DOCKET SHEET		WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
07479	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
07480	11/13/2014	RESPONSE: (ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 HAGADONE HOSPITALITY CO			HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
-07480	11/24/2014	(ATTY)	LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE. ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 253 3RD AVENUE NORTH TWIN FALLS, ID 83301				12/08/14 IWT040	PAGE: 203
REGIST	TER OF ACTION	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1	
93-07480	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201		01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07480	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07480	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724		HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07480	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Water Source:	HANGMAN CDEEK TOTDITTADV. SDOKANE DIVED
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 253 3RD AVENUE NORTH TWIN FALLS, ID 83301			ion DOCKET SHEET	12/08/14 IWT040	PAGE: 204	
REGIS' SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1		
	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER	
93-07480	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER	
93-07480	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER	
93-07480	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER	

53 3RD AVE WIN FALLS,	NUE NORTH ID 83301			IWT040	
REGIS'	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, I PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
-07481		RESPONSE:			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
-07481	11/24/2014		HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720 STATE OF IDAHO	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
-07481	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
			UNITED STATES OF AMERICA AS		HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07481	11/28/2014	RESPONSE: (ATTY)	SOLUTION STATE EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER

d'Alene-Spokane Piwer Adjudication 12/08/14

Coeur d'Alene-Spokane Riv 253 3RD AVENUE NORTH TWIN FALLS, ID 83301	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 206
REGISTER OF ACTION SUBCASE# DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
	RESPONSE: (ATTY)			01 02 03 04 05 06 07 08 09 12
	CLAIMANT: (ATTY)	101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIDONMENT 1 NATI PESOUDCES		HANGMAN CREEK TRIBUTARY: SPOKANE RIVER 01 02 03 04 05 06 07 08 09 12
93-07481 11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
	(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07481 11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
	(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07481 11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
	CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER

ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033

BOISE, ID 83724

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 207 253 3RD AVENUE NORTH TWIN FALLS, ID 83301 REGISTER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. SUBCASE# DATE FILED PARTIES INVOLVED 93-07481 11/28/2014 RESPONSE: SCOTT, ANDREW & HEATHER ISSUES: 01 02 03 04 05 06 07 08 09 12 (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829
BOISE, ID 83701-0829
OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829

CLAIMANT: UNITED STATES OF AMERICA AS Water Source: HANGMAN CREEK TRIBUTARY: SPOKANE RIVER (ATTY) US DEPARTMENT OF JUSTICE US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN 93-07481 11/28/2014 RESPONSE: BALDWIN, JOHN Issues: 01 02 03 04 05 07 08 09 12 (ATTY) MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 OBJECTION: BOISE, ID 83701-2720
OBJECTION: STATE OF IDAHO
(ATTY) CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720
BOISE, ID 83720-0010
CLAIMANT: UNITED STATES OF AMERICA AS Water Source: HANGMAN CREEK TRIBUTARY: SPOKANE RIVER (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES
550 WEST FORT STREET, MSC 033
BOISE, ID 83724

11/13/2014 RESPONSE: AVISTA CORPORATION
(ATTY) SCHROEDER, WILLIAM J Issues: 01 02 03 04 05 06 07 08 09 10 11 93-07482 PAINE HAMBLEN LLP
717 W SPRAGUE AVE, STE 1200
SPOKANE, WA 99201-3505
OBJECTION: STATE OF IDAHO (ATTY) CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO
PO BOX 83720 BOISE, ID 83720-0010

CLAIMANT: UNITED STATES OF AMERICA AS Water Source: HANGMAN CREEK TRIBUTARY: SPOKANE RIVER (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 93-07482 11/24/2014 RESPONSE: HAGADONE HOSPITALITY CO ISSUES: 01 02 03 04 05 06 07 08 09 12 (ATTY) LAWRENCE, MICHAEL P 601 W BANNOCK ST OBJECTION: STATE OF IDAHO

(ATTY) CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010 CLAIMANT: UNITED STATES OF AMERICA AS Water Source: HANGMAN CREEK TRIBUTARY: SPOKANE RIVER (ATTY) US DEPARTMENT OF JUSTICE

eur d'Alene-Spokane River Adjudication Dockel Sheel 3 3RD AVENUE NORTH IN FALLS, ID 83301				IWT040	PAGE: 208	
REGIS BCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.	
	11/28/2014	RESPONSE: (ATTY)			01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER	
-07482	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER	
-07482	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER	
-07482	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER	

253 3RD AVE TWIN FALLS,	NUE NORTH	or majaaroas	ION DOCKET SHEET	IWT040	111021 200
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
	11/28/2014	RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07482	11/28/2014	(ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07482	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL	Issues:	01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07482	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER

253 3RD AVE	NUE NORTH	ver najadreae	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 210
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE. STE 1200		01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL		
		CLAIMANT:	STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS	Water Source	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	water bource.	HANGPAN CREEK INIDOTAKI. STOKANE KIVEK
3-07483	11/24/2014	RESPONSE: (ATTY)	LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
3-07483	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07483	11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER

Copyr d'Alana-Snokana Diver Adjudication DOCKET SHEET 12/08/14 DACE: 211

Coeur d'Alene-Spokane River Adjudicat 253 3RD AVENUE NORTH TWIN FALLS, ID 83301			ion DOCKET SHEET	12/08/14 IWT040	PAGE: 211
REGIS' SUBCASE#	TER OF ACTION	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD	11/01/2014 THRU 11/30/2014.
93-07483	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL	Issues:	01 02 03 04 05 06 07 08 09 12
			PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07483	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07483	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 837/24 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07483	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS UNS DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER

253 3RD AVE	Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 253 3RD AVENUE NORTH TWIN FALLS, ID 83301				08/14 VT040	PAGE: 212	
REGIS SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED				
	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER			01 02 03 04 05 06 07 08 09 12	
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER	
93-07483	11/28/2014		BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 07 08 09 12	
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 83724	Water	Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER	
93-07484	11/13/2014		AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			HANGMAN CREEK TRIBUTARY: SPOKANE RIVER	
93-07484	11/24/2014	(ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER	

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 213 253 3RD AVENUE NORTH IWT040

253 3RD AVE				IWT040	
SUBCASE#	TER OF ACTION		PARTIES INVOLVED	FOR THE PERIOD 11/01/2014 THRU 11/30/2014.	
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues: 01 02 03 04 05 06 07 08 09 12	
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source: HANGMAN CREEK TRIBUTARY: SPOKANE RIVER	
93-07484	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues: 01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source: HANGMAN CREEK TRIBUTARY: SPOKANE RIVER	
93-07484	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues: 01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source: HANGMAN CREEK TRIBUTARY: SPOKANE RIVER	
93-07484	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861	Issues: 01 02 03 04 05 06 07 08 09 12	
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS	Water Source: HANGMAN CREEK TRIBUTARY: SPOKANE RIVER	
		(ATTY)	UN DEPARTMENT OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water Source. Handran Creek Tributari: SPURANE RIVER	

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 214 253 3RD AVENUE NORTH IWT040

253 3RD AVE		2		IWT040	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	FOR THE PERIOD 1	11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL	Issues:	01 02 03 04 05 06 07 08 09 12
			BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07484	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724		HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07484	11/28/2014		SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07484	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER

PAGE: 215	
3 10 11	
: SPOKANE RIVER	
9 12	
: SPOKANE RIVER	
9 12	
: SPOKANE RIVER	
9 12	
: SPOKANE RIVER	

Coeur d'Alene 253 3RD AVENI TWIN FALLS,	JE NORTH	er Adjudicati	on DOCKET SHEET		08/14 7T040		PAGE: 216
REGISTI SUBCASE#	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE	PERIOD 1	11/01/2014 THRU 1	1/30/2014.
		RESPONSE: (ATTY)  OBJECTION:	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M		Issues:	01 02 03 04 05	06 07 08 09 12
		CLAIMANT: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724				
93-07485	11/28/2014	(ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M		Issues:	01 02 03 04 05	06 07 08 09 12
			PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724				
93-07485	11/28/2014	(ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033				TRIBUTARY: SPOKANE RIVER
93-07485	11/28/2014	(ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLATMANT:	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	HANGMAN CREEK	TRIBUTARY: SPOKANE RIVER

253 3rd Avei	NUE NORTH	ver Adjudicat	ion DOCKET SHEET		08/14 WT040	PAGE: 217
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
			SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
3-07485	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
3-07486	11/13/2014	RESPONSE: (ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
3-07486	11/24/2014	(ATTY)	LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER

253 3RD AVEN	UE NORTH	ver Adjudicat:	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 218
	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1	
93-07486	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201		01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07486	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07486	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07486	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Water Source	HANGMAN COPER TOTOLITABLE COORAGE DIVER
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 219 253 3RD AVENUE NORTH IWT040

253 3RD AVE		2		IWT040	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	FOR THE PERIOD 1	11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL	Issues:	01 02 03 04 05 06 07 08 09 12
			BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07486	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724		HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07486	11/28/2014		SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET MSC 033	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER
93-07486	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	HANGMAN CREEK TRIBUTARY: SPOKANE RIVER

53 3RD AVEN	NUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 220
UBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200		01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
			BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	: LOLO CREEK TRIBUTARY: HANGMAN CREEK
-07487	11/24/2014		HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		: LOLO CREEK TRIBUTARY: HANGMAN CREEK
-07487	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M	Issues:	: 01 02 03 04 05 06 07 08 09 12
			PO BOX 829		
		(ATTY)	US DEPARTMENT OF JUSTICE		: LOLO CREEK TRIBUTARY: HANGMAN CREEK
8-07487	11/28/2014	RESPONSE: (ATTY)	101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	: LOLO CREEK TRIBUTARY: HANGMAN CREEK

THIT FALLS, ID 8301 NORMAN M PROPERTY AND LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE FERIOD 11/01/2014 THRU 11/30/2014.  303-07487 11/28/2014 RESPONSE: KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPTIOL BLYD 10TH FL TO BOX 8270 BLYD 10TH FL TO BOX 8270 BLYD 10TH FL TO BOX 8270 BLYD 10TH FL TO BOX 8270 BLYD 10TH FL TO BOX 8270 BLYD 10TH FL TO BOX 8270 BLYD 10TH FL TO BOX 827	253 3RD AVE		.01 110,001000	10.1 2001.21 0.1221	IWT040	11021 221
93-07487 11/28/2014 RESPONSE: KELLOGG SCHOOL DISTRICT SEMARKS, NORMAN M 10 1 S CAPITOL BIAD 10TH FL SEMARKS, CARLA SEMARKS, NORMAN M 10 1 S CAPITOL BIAD 10TH FL BOUSE, 10 83701-0829 NORMAN M 10 1 S CAPITOL BIAD 10TH FL BOUSE, 10 83701-0829 NORMAN M 10 1 S CAPITOL BIAD 10TH FL BOUSE, 10 83701-0829 NORMAN M 10 1 S CAPITOL BIAD 10TH FL BOUSE, 10 83701-0829 NORMAN M 10 1 S CAPITOL BIAD 10TH FL BOUSE, 10 83724 NORMAN M 10 1 S CAPITOL BIAD 10TH FL DO BOX 82 S S NEXT FORT STREET, MSC 033 S NARIES, 1D 83861 NORMAN M 10 1 S CAPITOL BIAD 10TH FL DO BOX 82 S S NARIES, 1D 83861 NORMAN M 10 1 S CAPITOL BIAD 10TH FL DO BOX 82 S S NARIES, 1D 83861 NORMAN M 10 1 S CAPITOL BIAD 10TH FL DO BOX 82 S S NARIES, 1D 83861 NORMAN M 10 1 S CAPITOL BIAD 10TH FL DO BOX 82 S S NARIES, 1D 83701-0829 NORMAN M 10 1 S CAPITOL BIAD 10TH FL BOUSE, 1D	REGIS	TER OF ACTION DATE FILED		PARTIES INVOLVED		
OBJECTION: WOEMPRER, CARLA SEMANKO, NORMAN M 101 CAPTIOL BUVD 10TH FL SCHARMS (ATTY)  ONITED STATES OF AMERICA AS UNITED STATES OF JUSTICE BUYLKONDERY & NATE RESOURCES BUYLKONDERY & NATE RES	93-07487		RESPONSE:	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL		
CLAIMANT: UNITED STATES OF AMERICA AS (ATTY) USEPARTMENT OF JUSTICES SOURCES OURCES SOURCE SOURCES SOURCE			OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
93-07487 11/28/2014 RESPONSE: (ATTY) FERNMOOD WATER & SEWER DIST (ATTY) PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 STARIES, 10 83861 WEEKING, CARLA (ATTY) SEMBNER, CARLA (ATTY) SEMBNER, CARLA (ATTY) SEMBNER, CARLA (ATTY) SEMBNER, CARLA SEMBNER, C				UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	LOLO CREEK TRIBUTARY: HANGMAN CREEK
OBJECTION: WOEMPHER, CARLA (ATTY)	93-07487	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
CLAIMANT: UNITED STATES OF AMERICA AS   Water Source: LOLO CREEK   TRIBUTARY: HANGMAN CREEK   US DEPARTMENT OF JUSTICE   ENVIRONMENT & NATL' RESOURCES   550 WEST FORT STREET, MSC 033 B015E, ID 83724			OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  OBJECTION: WOEMPNER, CARLA (ATTY) WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS UNITED STATES OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83704  RESPONSE: SHOSHONE COUNTY PUBLIC WORKS (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  OBJECTION: (ATTY) WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS WATER SOURCE: LOLO CREEK TRIBUTARY: HANGMAN CREEK  Water Source: LOLO CREEK TRIBUTARY: HANGMAN CREEK  Water Source: LOLO CREEK TRIBUTARY: HANGMAN CREEK  WATER SOURCE: LOLO CREEK TRIBUTARY: HANGMAN CREEK  WATER SOURCE: LOLO CREEK TRIBUTARY: HANGMAN CREEK  WATER SOURCE: LOLO CREEK TRIBUTARY: HANGMAN CREEK  WATER SOURCE: LOLO CREEK TRIBUTARY: HANGMAN CREEK			(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
OBJECTION: WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  RESPONSE: (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS Water Source: LOLO CREEK TRIBUTARY: HANGMAN CREEK  Issues: 01 02 03 04 05 06 07 08 09 12  SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS Water Source: LOLO CREEK TRIBUTARY: HANGMAN CREEK	93-07487	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
CLAIMANT: UNITED STATES OF AMERICA AS Water Source: LOLO CREEK TRIBUTARY: HANGMAN CREEK US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  93-07487 11/28/2014 RESPONSE: SHOSHONE COUNTY PUBLIC WORKS SHOSHONE COUNTY PUBLIC WORKS (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS Water Source: LOLO CREEK TRIBUTARY: HANGMAN CREEK			OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
93-07487 11/28/2014 RESPONSE: SHOSHONE COUNTY PUBLIC WORKS ISsues: 01 02 03 04 05 06 07 08 09 12  (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS Water Source: LOLO CREEK TRIBUTARY: HANGMAN CREEK				UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	LOLO CREEK TRIBUTARY: HANGMAN CREEK
OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 CLAIMANT: UNITED STATES OF AMERICA AS Water Source: LOLO CREEK TRIBUTARY: HANGMAN CREEK	93-07487	11/28/2014		SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
CLAIMANT: UNITED STATES OF AMERICA AS Water Source: LOLO CREEK TRIBUTARY: HANGMAN CREEK			OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
(ATT) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	LOLO CREEK TRIBUTARY: HANGMAN CREEK

253 3RD AVE			ion DOCKET SHEET		WT040	PAGE: ZZZ
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			11/01/2014 THRU 11/30/2014.
3-07487		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	LOLO CREEK TRIBUTARY: HANGMAN CREEK
93-07487	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	LOLO CREEK TRIBUTARY: HANGMAN CREEK
3-07488	11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE. STE 1200		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)		Water	Source:	LOLO CREEK TRIBUTARY: HANGMAN CREEK
93-07488	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	LOLO CREEK TRIBUTARY: HANGMAN CREEK

253 3RD AVE TWIN FALLS,	NUE NORTH			IWT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FO PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
93-07488	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TRUS DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	LOLO CREEK TRIBUTARY: HANGMAN CREEK
93-07488	11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	LOLO CREEK TRIBUTARY: HANGMAN CREEK
93-07488	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		LOLO CREEK TRIBUTARY: HANGMAN CREEK
93-07488	11/28/2014	(ATTY) OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY) CLAIMANT:	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR	Water Source:	LOLO CREEK TRIBUTARY: HANGMAN CREEK
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		THE STATE OF THE S

253 3RD AVE	NUE NORTH	vei Adjudicat	ION DOCKET SHEET	IWT040	PAGE: 224
TWIN FALLS, REGIS SUBCASE#	TER OF ACTION DATE FILED	LIST SHOWING			11/01/2014 THRU 11/30/2014.
	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	LOLO CREEK TRIBUTARY: HANGMAN CREEK
93-07488	11/28/2014	RESPONSE: (ATTY)		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	LOLO CREEK TRIBUTARY: HANGMAN CREEK
93-07488	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	LOLO CREEK TRIBUTARY: HANGMAN CREEK
93-07488	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	LOLO CREEK TRIBUTARY: HANGMAN CREEK

253 3RD AVE TWIN FALLS,	NUE NORTH	rei najaareae	ION DOCKET SHEET		VT040		17100.	223
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED					
93-07489	11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505					
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720					
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	LOLO CREEK	TRIBUTARY:	HANGMAN CREEK
93-07489	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010					
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	LOLO CREEK	TRIBUTARY:	HANGMAN CREEK
93-07489	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	LOLO CREEK	TRIBUTARY:	HANGMAN CREEK
93-07489	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04	05 06 07 08	09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	LOLO CREEK	TRIBUTARY:	HANGMAN CREEK

SUBCASE#	R OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
93-07489	11/28/2014				
		RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	LOLO CREEK TRIBUTARY: HANGMAN CREEK
93-07489	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		LOLO CREEK TRIBUTARY: HANGMAN CREEK
93-07489	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	LOLO CREEK TRIBUTARY: HANGMAN CREEK
93-07489	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	LOLO CREEK TRIBUTARY: HANGMAN CREEK

253 3RD AVE TWIN FALLS,	NUE NORTH	. 01 110,000	200.21 021	IWT040	11102 • 55 /
REGIS SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, FOR PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
93-07489	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	LOLO CREEK TRIBUTARY: HANGMAN CREEK
93-07489	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 83724		LOLO CREEK TRIBUTARY: HANGMAN CREEK
93-07490	11/13/2014	(ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO	Issues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	MOCTILEME CREEK TRIBUTARY: HANGMAN CREEK
93-07490	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)		Water Source:	MOCTILEME CREEK TRIBUTARY: HANGMAN CREEK

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 228 253 3RD AVENUE NORTH IWT040

253 3RD AVE		-	IWT040
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. PARTIES INVOLVED
93-07490	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT ISSUES: 01 02 03 04 05 06 07 08 09 12 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: MOCTILEME CREEK TRIBUTARY: HANGMAN CREEK US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
93-07490	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER ISSUES: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: MOCTILEME CREEK TRIBUTARY: HANGMAN CREEK US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
93-07490	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT ISSUES: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: MOCTILEME CREEK TRIBUTARY: HANGMAN CREEK US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
93-07490	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST ISSUES: 01 02 03 04 05 06 07 08 09 12  PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201  ST MARIES, ID 83861
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: MOCTILEME CREEK TRIBUTARY: HANGMAN CREEK US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 229 253 3RD AVENUE NORTH IWT040

253 3RD AVE		3	IWTO40
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. PARTIES INVOLVED
		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S Issues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: MOCTILEME CREEK TRIBUTARY: HANGMAN CREEK US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
93-07490	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS ISsues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPŃER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		(ATTY)	UNITED STATES OF AMERICA AS TR Water Source: MOCTILEME CREEK TRIBUTARY: HANGMAN CREEK US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
93-07490	11/28/2014		SCOTT, ANDREW & HEATHER ISSUES: 01 02 03 04 05 06 07 08 09 12  SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL  PO BOX 829
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: MOCTILEME CREEK TRIBUTARY: HANGMAN CREEK US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
93-07490	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN Issues: 01 02 03 04 05 07 08 09 12 MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: MOCTILEME CREEK TRIBUTARY: HANGMAN CREEK US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724

253 3RD AVE TWIN FALLS,	NUE NORTH	.01 110,001000		IWT040		11102 <b>.</b> 200
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, FO			30/2014.
93-07491		RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO			07 08 09 10 11
		(ATTY)	OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TRUS DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
93-07491	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06	07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TRUS DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	MOCTILEME CREEK	TRIBUTARY: HANGMAN CREEK
93-07491	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA	Issues:	01 02 03 04 05 06	07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	MOCTILEME CREEK	TRIBUTARY: HANGMAN CREEK
93-07491	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06	07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	MOCTILEME CREEK	TRIBUTARY: HANGMAN CREEK

253 3RD AVE	NUE NORTH	.01 110,000	1011 2001(21 011221	IW	T040		11102.
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F				
		RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	MOCTILEME CREEK	TRIBUTARY: HANGMAN CREEK
93-07491	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 0	6 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033				
93-07491	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 0	6 07 08 09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	MOCTILEME CREEK	TRIBUTARY: HANGMAN CREEK
93-07491	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 0	6 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	MOCTILEME CREEK	TRIBUTARY: HANGMAN CREEK
			•				

REGIS	STER OF ACTION	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, F	OR THE	PERIOD I	.1/U1/2U14 THRU 11/	30/2014.
			PARTIES INVOLVED				
-07491	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06	07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL				
			PO BOX 829				
		/ 7x mm \	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NAT! PESCUECES	Water	Source:	MOCTILEME CREEK	TRIBUTARY: HANGMAN CREEK
			550 WEST FORT STREET, MSC 033				
07491	11/28/2014	RESPONSE: (ATTY)	ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST		Issues:	01 02 03 04 05 07	08 09 12
			PO BOX 2720				
			BOISE, ID 83701-2720 STATE OF IDAHO				
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
		CLAIMANT:	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR	Water	Source:	MOCTILEME CREEK	TRIBUTARY: HANGMAN CREEK
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033				
7492	11/13/2014	RESPONSE:	BOISE, ID 83724 AVISTA CORPORATION		Issues:	01 02 03 04 05 06	07 08 09 10 11
		(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200				
		OBJECTION:	SPOKANE, WA 99201-3505 STATE OF IDAHO				
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO				
			PO BOX 83720 BOISE, ID 83720-0010				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES	Water	Source:	MOCTILEME CREEK	TRIBUTARY: HANGMAN CREEK
			550 WEST FORT STREET, MSC 033 BOISE, ID 83724				
07492	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06	07 08 09 12
		OD TECHTON.	BOISE, ID 83701-2720				
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO				
			STATE OF IDAHO PO BOX 83720 POTOE ID 83720-0010				
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES	Water	Source:	MOCTILEME CREEK	TRIBUTARY: HANGMAN CREEK

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 233 253 3RD AVENUE NORTH IWT040

253 3RD AVE		2	IWT040
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. PARTIES INVOLVED
93-07492	11/28/2014	RESPONSE: (ATTY)  OBJECTION: (ATTY)	PINEHURST WATER DISTRICT ISSUES: 01 02 03 04 05 06 07 08 09 12 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861
		, ,	101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR Water Source: MOCTILEME CREEK TRIBUTARY: HANGMAN CREEK
		(ATTY)	UNS DEPARTMENT OF JUSTICE  ENVIRONMENT & NATL' RESOURCES  550 WEST FORT STREET, MSC 033  BOISE, ID 83724
93-07492	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER ISSUES: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR Water Source: MOCTILEME CREEK TRIBUTARY: HANGMAN CREEK US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033
93-07492	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT Issues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: MOCTILEME CREEK TRIBUTARY: HANGMAN CREEK US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
93-07492	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST ISSUES: 01 02 03 04 05 06 07 08 09 12 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: MOCTILEME CREEK TRIBUTARY: HANGMAN CREEK US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
			DOIDE, ID 03/24

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 234 253 3RD AVENUE NORTH IWT040

253 3RD AVENUE		-		IW	T040		
	OF ACTION :		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED				30/2014.
		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE. ID 83701-0829		Issues:	01 02 03 04 05 06	07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
			UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724				
93-07492 11	./28/2014	(ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06	07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724				
93-07492 11	./28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06	07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
			UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724				
93-07492 11	./28/2014	(ATTY)	MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 07	08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	MOCTILEME CREEK	TRIBUTARY: HANGMAN CREEK

REGIS:			ALL OBJECTIONS AND RESPONSES, FOR PARTIES INVOLVED			/30/2014.
93-07493		RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO			5 07 08 09 10 11
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR W US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724			
93-07493	11/24/2014	(ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06	5 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR W US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	MOCTILEME CREEK	TRIBUTARY: HANGMAN CREEK
93-07493	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA	Issues:	01 02 03 04 05 06	5 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR W US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	MOCTILEME CREEK	TRIBUTARY: HANGMAN CREEK
93-07493	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06	5 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR W US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	MOCTILEME CREEK	TRIBUTARY: HANGMAN CREEK

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 236 253 3RD AVENUE NORTH IWT040

253 3RD AVE		2	IWT040
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. PARTIES INVOLVED
93-07493	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT ISsues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	
93-07493	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST ISSUES: 01 02 03 04 05 06 07 08 09 12 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		(ATTY)	UNITED STATES OF AMERICA AS TR Water Source: MOCTILEME CREEK TRIBUTARY: HANGMAN CREEK US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033
93-07493	11/28/2014	(ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S Issues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		(ATTY)	UNITED STATES OF AMERICA AS TR Water Source: MOCTILEME CREEK TRIBUTARY: HANGMAN CREEK US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 83724
93-07493	11/28/2014	(ATTY)	SHOSHONE COUNTY PUBLIC WORKS Issues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: MOCTILEME CREEK TRIBUTARY: HANGMAN CREEK US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724

253 3RD AVE	NUE NORTH	vei Adjudicat	cion DOCKET SHEET	12/08/14 IWT040	PAGE: 237
SUBCASE#	TER OF ACTION DATE FILED		G ALL OBJECTIONS AND RESPONSES, I PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
			SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	MOCTILEME CREEK TRIBUTARY: HANGMAN CREEK
93-07493	11/28/2014	RESPONSE: (ATTY)		Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	MOCTILEME CREEK TRIBUTARY: HANGMAN CREEK
93-07494	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	LITTLE HANGMAN CREEK TRIBUTARY: HANGMAN CREEK
93-07494	11/24/2014	RESPONSE: (ATTY)	LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	LITTLE HANGMAN CREEK TRIBUTARY: HANGMAN CREEK

TWIN FALLS, ID 83301 SUBCASE# DATE FILED  93-07494 11/28/2014 RESPONSE: FINEHURS WATER DISTRICT ISSUES: 01 02 03 04 05 06 07 08 09 12  PARTIES INVOLVED  PARTIES INTO 10 10 10 10 10 10 10 10 10 10 10 10 10	
93-07494 11/28/2014 RESPONSE: PINEHURST WATER DISTRICT	
OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83724  RESPONSE: EAST SHOSHONE COUNTY WATER SOURCES SOME WOEMPNER, CARLA (ATTY) OBJECTION: WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  OBJECTION: WOEMPNER, CARLA SEMANKO, NORWAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: (ATTY) UNITED STATES OF AMERICA AS TR Water Source: LITTLE HANGMAN CREEK TRIBUTARY Water Source: LITTLE HANGMAN CREEK TRIBUTARY Water Source: LITTLE HANGMAN CREEK TRIBUTARY TRIBUTARY  WATER SOURCES SOME STATES OF AMERICA AS TR WATER SOURCE: LITTLE HANGMAN CREEK TRIBUTARY WATER SOURCES SOW WEST FORT STREET, MSC 033 BOISE, ID 83724  WATER SOURCE: LITTLE HANGMAN CREEK TRIBUTARY WATER SOURCE: LITTLE HANGMAN CREEK TRIBUTARY TRIBUTARY WATER SOURCE: LITTLE HANGMAN CREEK TRIBUTARY WATER SOURCE: LITTLE HANGMAN CREEK TRIBUTARY WATER SOURCE: LITTLE HANGMAN CREEK TRIBUTARY WATER SOURCE: LITTLE HANGMAN CREEK TRIBUTARY WATER SOURCE: LITTLE HANGMAN CREEK TRIBUTARY WATER SOURCE: LITTLE HANGMAN CREEK TRIBUTARY WATER SOURCE: LITTLE HANGMAN CREEK TRIBUTARY WATER SOURCE: LITTLE HANGMAN CREEK TRIBUTARY WATER SOURCE: LITTLE HANGMAN CREEK TRIBUTARY WATER SOURCE: LITTLE HANGMAN CREEK TRIBUTARY WATER SOURCE: LITTLE HANGMAN CREEK TRIBUTARY WATER SOURCE: LITTLE HANGMAN CREEK TRIBUTARY WATER SOURCE: LITTLE HANGMAN CREEK TRIBUTARY WATER SOURCE: LITTLE HANGMAN CREEK TRIBUTARY WATER SOURCES SOU	
CLAIMANT: (ATTY) UNITED STATES OF AMERICA AS TR Water Source: LITTLE HANGMAN CREEK TRIBUTARY US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  RESPONSE: (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: (ATTY) WOMENPER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: (ATTY) WOMENPER, CARLA (ATTY) WOMENPER, CARLA (BOX 829 BOISE, ID 83701-0829  CLAIMANT: (ATTY) UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  93-07494 11/28/2014 RESPONSE: KELLOGG SCHOOL DISTRICT Issues: 01 02 03 04 05 06 07 08 09 12	
OBJECTION: WOEMPNER, CARLA (ATTY) WOEMPNER, CARLA (ATTY) BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: LITTLE HANGMAN CREEK TRIBUTARY (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  93-07494 11/28/2014 RESPONSE: KELLOGG SCHOOL DISTRICT Issues: 01 02 03 04 05 06 07 08 09 12	: HANGMAN CREEK
OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: LITTLE HANGMAN CREEK TRIBUTARY (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  93-07494 11/28/2014 RESPONSE: KELLOGG SCHOOL DISTRICT ISSUES: 01 02 03 04 05 06 07 08 09 12	
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: LITTLE HANGMAN CREEK TRIBUTARY  (ATTY) US DEPARTMENT OF JUSTICE  ENVIRONMENT & NATL' RESOURCES  550 WEST FORT STREET, MSC 033  BOISE, ID 83724  93-07494 11/28/2014 RESPONSE: KELLOGG SCHOOL DISTRICT Issues: 01 02 03 04 05 06 07 08 09 12	
93-07494 11/28/2014 RESPONSE: KELLOGG SCHOOL DISTRICT ISsues: 01 02 03 04 05 06 07 08 09 12	: HANGMAN CREEK
101 S CÁPITOL BLVD 10TH FL PO BOX 829	
BOISE, ID 83701-0829  OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: LITTLE HANGMAN CREEK TRIBUTARY  (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES  550 WEST FORT STREET, MSC 033  BOISE. ID 83724	: HANGMAN CREEK
BOISE, ID 83724 93-07494 11/28/2014 RESPONSE: FERNWOOD WATER & SEWER DIST ISSUES: 01 02 03 04 05 06 07 08 09 12 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	
OBJECTION: WOEMPNER, CARLA  (ATTY) SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL  PO BOX 829  BOISE, ID 83701-0829	
BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: LITTLE HANGMAN CREEK TRIBUTARY  (ATTY) US DEPARTMENT OF JUSTICE  ENVIRONMENT & NATL' RESOURCES  550 WEST FORT STREET, MSC 033  BOISE, ID 83724	: HANGMAN CREEK

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 239 253 3RD AVENUE NORTH IWT040

253 3RD AVENUE NORTH			IWT040	
TWIN FALLS, ID 83301 REGISTER OF ACT SUBCASE# DATE FII	'ION LIST SHOWING ED	G ALL OBJECTIONS AND RESPONSES, E PARTIES INVOLVED		
		SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
	OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		LITTLE HANGMAN CREEK TRIBUTARY: HANGMAN CREEK
93-07494 11/28/20	(ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 SCOTT, ANDREW & HEATHER		LITTLE HANGMAN CREEK TRIBUTARY: HANGMAN CREEK
93-07494 11/28/20	(AITI)	SEMANGO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE. ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
	CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOTSE, ID 83724	Water Source:	LITTLE HANGMAN CREEK TRIBUTARY: HANGMAN CREEK
93-07494 11/28/20	RESPONSE: (ATTY)	MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 07 08 09 12
	OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	LITTLE HANGMAN CREEK TRIBUTARY: HANGMAN CREEK

253 3RD AVE TWIN FALLS,	ENUE NORTH			IV	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
	11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	LITTLE HANGMAN CREEK TRIBUTARY: HANGMAN CREEK
93-07495	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	LITTLE HANGMAN CREEK TRIBUTARY: HANGMAN CREEK
93-07495	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE			LITTLE HANGMAN CREEK TRIBUTARY: HANGMAN CREEK
93-07495	11/28/2014		550 WEST FORT STREET, MSC 033 BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	LITTLE HANGMAN CREEK TRIBUTARY: HANGMAN CREEK

TWIN FALLS,	NUE NORTH TD 83301			IWT040	
REGIS			ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		
93-07495	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	LITTLE HANGMAN CREEK TRIBUTARY: HANGMAN CREEK
93-07495	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		LITTLE HANGMAN CREEK TRIBUTARY: HANGMAN CREEK
93-07495	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	LITTLE HANGMAN CREEK TRIBUTARY: HANGMAN CREEK
93-07495	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	LITTLE HANGMAN CREEK TRIBUTARY: HANGMAN CREEK

TWIN FALLS,		LIST SHOWING	ALL OBJECTIONS AND RESPONSES, E	OR THE PERIOD 1	11/01/2014 THRU 11/30/2014.
SUBCASE#	DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		
93-07495	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE		LITTLE HANGMAN CREEK TRIBUTARY: HANGMAN CREEK
93-07495	11/28/2014		MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		LITTLE HANGMAN CREEK TRIBUTARY: HANGMAN CREEK
93-07496	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 HAGADONE HOSPITALITY CO		LITTLE HANGMAN CREEK TRIBUTARY: HANGMAN CREEK
93-07496	11/24/2014	(ATTY)	LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	LITTLE HANGMAN CREEK TRIBUTARY: HANGMAN CREEK

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 243 253 3RD AVENUE NORTH IWT040

	VENUE NORTH	_		IWT040	
REG	S, ID 83301 ISTER OF ACTION DATE FILED	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	FOR THE PERIOD 1	
93-07496	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	LITTLE HANGMAN CREEK TRIBUTARY: HANGMAN CREEK
93-07496	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	LITTLE HANGMAN CREEK TRIBUTARY: HANGMAN CREEK
93-07496	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	LITTLE HANGMAN CREEK TRIBUTARY: HANGMAN CREEK
93-07496	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	LITTLE HANGMAN CREEK TRIBUTARY: HANGMAN CREEK

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 244 253 3RD AVENUE NORTH IWT040

253 3RD AVENUE NORTH	2		IWT040	
TWIN FALLS, ID 83301 REGISTER OF ACTION SUBCASE# DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		
	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
	OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		LITTLE HANGMAN CREEK TRIBUTARY: HANGMAN CREEK
93-07496 11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 SCOTT, ANDREW & HEATHER		LITTLE HANGMAN CREEK TRIBUTARY: HANGMAN CREEK
93-07496 11/28/2014	(ATTI)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE. ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
	CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	LITTLE HANGMAN CREEK TRIBUTARY: HANGMAN CREEK
93-07496 11/28/2014	RESPONSE: (ATTY)	MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 07 08 09 12
	OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	LITTLE HANGMAN CREEK TRIBUTARY: HANGMAN CREEK

TWIN FALLS,	NUE NORTH ID 83301				TO40	
REGIS	STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07497	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07497	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07497	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07497	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE		or majaaroas	1011 2001(21 511221	IW	VT040	
REGIS'	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			1/01/2014 THRU 11/30/2014.
93-07497	11/28/2014		KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)		Water	Source:	GROUND WATER
93-07497	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07497	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07497	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	ID 83301			IWT040	
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, E PARTIES INVOLVED		L1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE	Water Source:	GROUND WATER
93-07497	11/28/2014		MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07498	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07498	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE	NUE NORTH			IV	VT040	
REGIS'	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07498	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861			
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07498	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07498	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07498	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Make	Causa	CDOUND MARRID
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water	source:	GROUND WATER

253 3RD AVE TWIN FALLS,				II	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			
93-07498		RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07498	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07498	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07498	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

53 3RD AVE WIN FALLS,	NUE NORTH ID 83301		ION DOCKET SHEET	II	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
-07499	11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
-07499	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
-07499	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07499	11/28/2014		EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE		01 110,001000		IV	VT040	111021
REGIS'	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
93-07499	11/28/2014		KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07499	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07499	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07499	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 252 253 3RD AVENUE NORTH IWT040

253 3RD AVE		2		I	WT040	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE. ID 83701-0829			
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07499	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
93-07500	11/24/2014	(ATTY)	LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
93-07500	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	PINEHÜRST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	M 2 + 2 · ·	Source:	CDOUND WATED
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water	source:	GROUND WAILK

253 3RD AVE TWIN FALLS,				IWT040	
REGIS SUBCASE#	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, EPARTIES INVOLVED		D 11/01/2014 THRU 11/30/2014.
93-07500	11/28/2014	(ATTY)			s: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sourc	e: GROUND WATER
93-07500	11/28/2014	RESPONSE: (ATTY)		Issue	s: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Sourc	e: GROUND WATER
93-07500	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issue	s: 01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sourc	e: GROUND WATER
93-07500 11	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issue	s: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	BOISE, ID 83/UI-U829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sourc	e: GROUND WATER

253 3RD AVE	NUE NORTH		200. 200.21 0221	II	WT040	
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, E PARTIES INVOLVED		PERIOD 1	1/01/2014 THRU 11/30/2014.
93-07500	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS			01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07500	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07500	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07501	11/24/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE	NUE NORTH	rei Adjudicat	TOIL DOCKET SHEET		WT040	INGE. 200
SUBCASE#	TER OF ACTION DATE FILED					1/01/2014 THRU 11/30/2014.
93-07501		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07501	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07501	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, TD 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 83724			
93-07501	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)  CLAIMANT:	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR	Wa+or	Source	GROUND WATER
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	bource.	OLOGIA MILEIX

253 3RD AVE TWIN FALLS,	ENUE NORTH		ION DOCKET SHEET		VT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			1/01/2014 THRU 11/30/2014.
	11/28/2014	RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07501	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07501	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07501	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE	NUE NORTH	/er Adjudicat	IOII DOCKET SHEET	IWT040	INGE. 237
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
93-07502		RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720		
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07502	11/28/2014	(ATTY)	PAYNE, DOUGLAS P.	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07502	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
			US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET MSC 033	Water Source:	GROUND WATER
93-07502	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
			BOISE, ID 83724		

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 258 253 3RD AVENUE NORTH IWT040

253 3RD AVE		2	IWT040
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. PARTIES INVOLVED
93-07502	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST ISSUES: 01 02 03 04 05 06 07 08 09 12 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M
			101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		(ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
93-07502	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S Issues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
93-07502	11/28/2014	(ATTY)	SHOSHONE COUNTY PUBLIC WORKS ISSUES: 01 02 03 04 05 06 07 08 09 12  SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL PO BOX 829  BOISE, ID 83701-0829
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		(ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
93-07502	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER ISSUES: 01 02 03 04 05 06 07 08 09 12  SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL  PO BOX 829  BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724

253 3RD AVENTWIN FALLS,	NUE NORTH	or majaaroas	ION DOCKET SHEET		T040	11101. 203
REGIS:	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
93-07502	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN			01 02 03 04 05 07 08 09 12
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 AVISTA CORPORATION			
93-07503	11/13/2014	(A'l''I'Y)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	SPRING
93-07503	11/24/2014	(ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720 STATE OF IDAHO		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
93-07503	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING

TWIN FALLS,	NUE NORTH			IWT040	
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	OR THE PERIOD	
93-07503	11/28/2014		EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
93-07503	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
93-07503	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
93-07503	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING

253 3RD AVEN	NUE NORTH	rer Adjudicat	ion DOCKET SHEET		08/14 WT040	PAGE: 261
TWIN FALLS, REGIST SUBCASE#	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
93-07503	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
93-07503	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
93-07503	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
93-07504	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING

253 3RD AVE	NUE NORTH	.01 110,000	1011 2001(21 511221	IWT040	111021 202
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
93-07504	11/24/2014	RESPONSE:	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
93-07504	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	SPRING
93-07504	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
93-07504	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 263 253 3RD AVENUE NORTH IWT040

253 3RD AVE		2	IWT040
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. PARTIES INVOLVED
93-07504		RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST ISSUES: 01 02 03 04 05 06 07 08 09 12 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		(ATTY)	UNITED STATES OF AMERICA AS TR Water Source: SPRING US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
93-07504	11/28/2014	(ATTY)	SHOSHONE COUNTY SPORTSMEN'S Issues: 01 02 03 04 05 06 07 08 09 12  SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL  PO BOX 829  BOISE. ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		(ATTY)	UNITED STATES OF AMERICA AS TR Water Source: SPRING US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033
93-07504	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS ISsues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: SPRING US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
93-07504	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER ISsues: 01 02 03 04 05 06 07 08 09 12  SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: SPRING US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 264 253 3RD AVENUE NORTH IWT040

253 3RD AVE		2		OTWI	040	
TWIN FALLS, REGIS	TER OF ACTION	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, F	OR THE PE	ERIOD 1	1/01/2014 THRU 11/30/2014.
SUBCASE#	DATE FILED		PARTIES INVOLVED			
93-07504	11/28/2014	(ATTY)	MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Is	ssues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water So	ource:	SPRING
93-07505	11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Is	ssues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water So	ource:	SPRING
93-07505	11/24/2014	RESPONSE: (ATTY)	HAGADÓNE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Is	ssues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water So	ource:	SPRING
93-07505	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Is	ssues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water So	ource:	SPRING

53 3RD AVE	ID 83301	TICE CHOMING	ALL OD TECHTOMS AND DESDONGES I	IWT040	1/01/2014 MIDI 11/20/2014
JBCASE#	DATE FILED				1/01/2014 THRO 11/30/2014.
3-07505		RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
-07505	11/28/2014	RESPONSE: (ATTY)		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
3-07505	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
			SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
3-07505	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 266 253 3RD AVENUE NORTH IWT040

253 3RD AVE		_		IWT040	
SUBCASE#	TER OF ACTION		G ALL OBJECTIONS AND RESPONSES, E PARTIES INVOLVED	FOR THE PERIOD 1	11/01/2014 THRU 11/30/2014.
93-07505	11/28/2014	(ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET MSC 033		
93-07505	11/28/2014	(ATTI)	BOISE, ID 83724 SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
93-07505	11/28/2014		BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
93-07506	11/13/2014		BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING

253 3RD AVE				IWT040	
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F		
93-07506		RESPONSE:	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
93-07506	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
93-07506	11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
93-07506	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 268 253 3RD AVENUE NORTH IWT040

253 3RD AVE		2	IWT040
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. PARTIES INVOLVED
93-07506		RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST ISSUES: 01 02 03 04 05 06 07 08 09 12 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		(ATTY)	UNITED STATES OF AMERICA AS TR Water Source: SPRING US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
93-07506	11/28/2014	(ATTY)	SHOSHONE COUNTY SPORTSMEN'S Issues: 01 02 03 04 05 06 07 08 09 12  SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL  PO BOX 829  BOISE. ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		(ATTY)	UNITED STATES OF AMERICA AS TR Water Source: SPRING US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033
93-07506	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS Issues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: SPRING US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
93-07506	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER ISSUES: 01 02 03 04 05 06 07 08 09 12  SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: SPRING US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 269 253 3RD AVENUE NORTH IWT040

253 3RD AVE		2		IWT040	0	
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
	11/28/2014		BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720			01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sour	rce:	SPRING
93-07507	11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issu	ues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sour	rce:	SPRING
93-07507	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issu	ues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Sour	rce:	SPRING
93-07507	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issu	ues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sour	rce:	SPRING

253 3RD AVE TWIN FALLS,	NUE NORTH	J		ΙV	VT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07507	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
93-07507	11/28/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
93-07507	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
93-07507	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING

53 3RD AVE WIN FALLS,	NUE NORTH	ver najaareae	ion DOCKET SHEET		08/14 WT040	PAGE: 271
REGIST	TER OF ACTION DATE FILED	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	FOR THE	PERIOD 1	1/01/2014 THRU 11/30/2014.
3-07507	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
3-07507	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
3-07507	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
3-07508	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING

253 3RD AVE	NUE NORTH	_	ION DOCKET SHEET	IWT040	PAGE: 2/2
REGIS SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
93-07508	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720		01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
93-07508	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
93-07508	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
93-07508 1	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
			•		

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 273 253 3RD AVENUE NORTH IWT040

253 3RD AVE		2	IWT040
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. PARTIES INVOLVED
93-07508		RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST ISSUES: 01 02 03 04 05 06 07 08 09 12 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		(ATTY)	UNITED STATES OF AMERICA AS TR Water Source: SPRING US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
93-07508	11/28/2014	(ATTY)	SHOSHONE COUNTY SPORTSMEN'S Issues: 01 02 03 04 05 06 07 08 09 12  SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL  PO BOX 829  BOISE. ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		(ATTY)	UNITED STATES OF AMERICA AS TR Water Source: SPRING US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033
93-07508	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS Issues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: SPRING US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
93-07508	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER ISsues: 01 02 03 04 05 06 07 08 09 12  SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: SPRING US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724

253 3RD AVE TWIN FALLS,	NUE NORTH		ION DOCKET SHEET		VT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
93-07508	11/28/2014	RESPONSE: (ATTY)				01 02 03 04 05 06 07 08 09 12
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
93-07509	11/13/2014	(ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07509	11/24/2014	(ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720 STATE OF IDAHO		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
93-07509	11/28/2014	RESPONSE: (ATTY) OBJECTION:	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			00000V9
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	source:	SPRING

TWIN FALLS,	NUE NORTH			IWT040	
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	OR THE PERIOD	
93-07509	11/28/2014		EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
93-07509	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
93-07509	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
93-07509	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING

253 3RD AVE	NUE NORTH	,01 110,001000	1011 2001.21 011.221	IWT040	11021 270
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, E PARTIES INVOLVED	FOR THE PERIOD 1	
93-07509	11/28/2014	(ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	SPRING
93-07509	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07509	11/28/2014	(ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
93-07510	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING

253 3RD AVE	NUE NORTH	110,000	1011 2001.21 011221	IWT040	21102, 277
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
93-07510	11/24/2014	RESPONSE:	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720		
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
93-07510	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
93-07510	11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
93-07510	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
			BOISE, ID 83724		

253 3RD AVE	NUE NORTH	.01 110,001000	1011 2001.21 011221	IWT040	21.021
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		
93-07510	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07510	11/28/2014	(ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07510	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
93-07510	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING

Coeur d'Ale: 253 3RD AVE TWIN FALLS,	NUE NORTH	ver Adjudicat	ion DOCKET SHEET		08/14 WT040	PAGE: 279
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			
93-07510	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV			01 02 03 04 05 06 07 08 09 12
		CLAIMANT:	OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR	Water	Source:	SPRING
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724			
93-07511	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	SPRING
93-07511	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
93-07511	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING

### PAILS, 1D 830TCN LIST SHOWING ALL ORIGINATIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014.  #### PAILS THE PILED	253 3RD AVE	NUE NORTH	.01 110,001000	2001.21 01.221	IWT040	111021 200
93-07511 11/28/2014 PRESCONSE: CAST SHORING COUNTY NATER SPRAMEN, NORMAN M SPANAM, NORMAN M STATE OF THE PATTER STATE OF THE PATTER SHORING COUNTY NATER SPRAMEN, NORMAN M STATE OF THE PATTER SHORING COUNTY NATER STATE OF THE PATTER SHORING COUNTY NATER SHORING COUNTY SHORI	REGIS	TER OF ACTION		PARTIES INVOLVED		
OBJECTION: MORMANE, CARLA SEMANCO, MORMANE SEMANCO, MORMA	93-07511	11/28/2014		EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL		
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: SPRING US DEFARTMENT OF JUSTICE BWT MOMENT & NATT BSOURCES BWT MOMENT & NATT BOOK BWT MOMENT & NATT BSOURCES BWT MOMENT & NATT BSOURCES BWT MOMENT & NATT BSOURCES BWT MOMENT & NATT BSOURCES BWT MOMENT & NATT BSOURCES BWT MOMENT & NATT BSOURCES BWT MOMENT & NATT BSOURCES BWT MOMENT & NATT BSOURCES BY MOMENT & NATT BSOURCES BY MOMENT & NATT BSOURCES BY MOMENT & NATT BSOURCES BY MOMENT & NATT BSOURCES BY MOMENT & NATT BSOURCES BY MOMENT & NATT BSOURCE				WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
93-07511 11/28/2014 RESPONSE: KELLOGG SCHOOL DISTRICT ISSUES: 01 02 03 04 05 06 07 08 09 12 (ATTY)				UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	SPRING
## OBJECTION:   (ATTY)   WOEMPRER, CARLA   SEMANKO, NORMAN M   101 S CAPITOL BLVD 10TH FL   DO BOX 829   BOISE, ID 83701-0829   BOISE, ID 83701-0829   BOISE, ID 83724   BOISE, ID 83701-0829   BOISE, ID 837	93-07511	11/28/2014		KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
SPRING				WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
93-07511 11/28/2014 RESPONSE: FERNWOOD WATER & SEWER DIST ISSUES: 01 02 03 04 05 06 07 08 09 12  (ATTY) PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201  ST MARIES, ID 83861  OBJECTION: (ATTY) WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOD BLVD 10TH FL PO BOX 829  BOISE, ID 83701-0829  CLAIMANT: (ATTY) UNITED STATES OF AMERICA AS TR Water Source: SPRING  93-07511 11/28/2014 RESPONSE: STORT STREET, MSC 033  BOISE, ID 83701-0829  (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  BOISE, ID 83701-0829  OBJECTION: (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  BOISE, ID 83701-0829  CLAIMANT: (ATTY) EWANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: SPRING  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: SPRING  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: SPRING  US DEPARTMENT OF JUSTICE  ENVIRONMENT & NATL' RESOURCES  SPRING  SPRING  SPRING  OBJECTION: SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: SPRING  US DEPARTMENT OF JUSTICE  ENVIRONMENT & NATL' RESOURCES				UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES	Water Source:	SPRING
101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: SPRING  (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  RESPONSE: SHOSHONE COUNTY SPORTSMEN'S Issues: 01 02 03 04 05 06 07 08 09 12  SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: SPRING  (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES	93-07511	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: SPRING  US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  PRESPONSE: SHOSHONE COUNTY SPORTSMEN'S Issues: 01 02 03 04 05 06 07 08 09 12  PRESPONSE: (ATTY)  SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL FO BOX 829 BOISE, ID 83701-0829  OBJECTION: (ATTY)  OBJECTION: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: SPRING  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: SPRING  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: SPRING  ENVIRONMENT & NATL' RESOURCES			(ATTY)	101 S CAPITOL BLVD 10TH FL PO BOX 829		
93-07511 11/28/2014 RESPONSE: SHOSHONE COUNTY SPORTSMEN'S Issues: 01 02 03 04 05 06 07 08 09 12  (ATTY) SEMANKO, NORMAN M				UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	SPRING
OBJECTION: WOEMPNER, CARLA  (ATTY) SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL  PO BOX 829  BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: SPRING  (ATTY) US DEPARTMENT OF JUSTICE  ENVIRONMENT & NATL' RESOURCES	93-07511	11/28/2014		SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: SPRING (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES				WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
BOISE, ID 83724				UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	SPRING

NUE NORTH	ver Adjudicat	ION DOCKET SHEET		08/14 WT040	PAGE: 281
TER OF ACTION DATE FILED	LIST SHOWING	PARTIES INVOLVED			
11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	SPRING
11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL RESOURCES	Water	Source:	SPRING
11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	SPRING
11/13/2014	RESPONSE: (ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200		Issues:	01 02 03 04 05 06 07 08 09 10 11
	OBJECTION: (ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
	NUE NORTH ID 83301 TER OF ACTION DATE FILED -11/28/2014  11/28/2014	NUE NORTH ID 83301 TER OF ACTION LIST SHOWING DATE FILED  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)	ID 83301 DATE FILED  11/28/2014 RESPONSE: SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOMENER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 CLAIMANT: WINTED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83704  11/28/2014 RESPONSE: SCOTT, ANDREW & HEATHER (ATTY) OBJECTION: WOMENER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83704  11/28/2014 RESPONSE: SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 CLAIMANT: UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83701-0829 CLAIMANT: UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83702-0010  ATTY) RESPONSE: BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720 OBJECTION: STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720  CLAIMANT: UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  11/13/2014 RESPONSE: AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAWBLEN LLP 717 W SPRAGUE AVE, STE 1200 OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO CHIEF NATURAL RESOURCES STOWN ROMENT & NATL' RESOURCES STOWN ROMENT & NATL' RESOURCES STOWN ROMENT & NATL' RESOURCES STOWN ROMENT & NATL' RESOURCES STOWN ROMENT	NUE NORTH  10 83301 TER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE DATE FILED  11/28/2014  RESPONSE: SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  BOISE, 1D 83701-0829  OBJECTION: WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: USTEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: USTEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: USTEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: USTEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: WOEMPNER, CARLA SEAURCES SO WEST FORT STREET, MSC 033 BOISE, 1D 83724 42  11/28/2014  RESPONSE: SCOTT, ANDREW & HEATHER SEAURCES SEAUR SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  OBJECTION: WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  OBJECTION: WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: UNITED STATES OF AMERICA AS TR WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: UNITED STATES OF AMERICA AS TR WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: UNITED STATES OF AMERICA AS TR WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: UNITED STATES OF AMERICA AS TR WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: UNITED STATES OF AMERICA AS TR WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 83720  OBJECTION: STATE OF TDAHO  CLAIMANT: UNITED STATES OF AMERICA AS TR WATER SEMANCO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 83720  OBJECTION: STATE OF TDAHO  (ATTY) SPRAGUE AVE, STE 1200 SPOKANE, WA 9920-3505  OBJECTION: STATE OF TDAHO  (ATTY) WERRACH AVER SEAURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF TDAHO  (ATTY) CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF TDAHO  (ATTY) UNITED STATES OF AMERICA AS TR WATER SEAURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF TDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STAT	NUE NORTH  10 83301 TER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD:  PARTIES INVOLVED  11/28/2014  RESPONSE: SHOSHONE COUNTY PUBLIC WORKS ISSUES: SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  WOMENNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 CLAIMANT: UNITED RATMET FOR AMERICA AS TR (ATTY) BOISE, ID 83701-0829  CLAIMANT: UNITED RATMET RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83701-0829  WOMENNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  WOMENNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  OBJECTION: WOMENNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  OBJECTION: WOMENNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL BOISE, ID 83701-0829  OBJECTION: WOMENNER, CARLA BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR WATER SEMANKO, NORMAN M 10 S CAPITOL BLVD 10TH FL BOISE, ID 83701-0829  OBJECTION: STATE OF IDABO (ATTY) BY BRANKO STREET, MSC 033 BOISE, ID 83702-0010  OBJECTION: STATE OF IDABO (ATTY) BOISE, ID 83702-0010  CLAIMANT: UNITED STATES OF AMERICA AS TR WATER OF IDABO PO BOX 83720  CLAIMANT: UNITED STATES OF AMERICA AS TR WATER OF IDABO PO BOX 83720  CLAIMANT: UNITED STATES OF AMERICA AS TR WATER OF IDABO PO BOX 83720  CLAIMANT: UNITED STATES OF AMERICA AS TR WATER OF IDABO PO BOX 83720  CLAIMANT: UNITED STATES OF AMERICA AS TR WATER OF IDABO PO BOX 83720  CLAIMANT: UNITED STATES OF AMERICA AS TR WATER OF IDABO PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505  OBJECTION: STATE OF IDABO CHAPT OF THE ATTORNEY GENERAL STATE OF IDABO PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505  OBJECTION: STATE OF IDABO PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505  OBJECTION: CATTORNEY GENERAL STATE OF IDABO PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505  OBJECTION: UNITED STATES OF AMERICA AS TR WATER OF IDABO

ES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014.
Issues: 01 02 03 04 05 06 07 08 09 12
7 ERAL
S TR Water Source: SPRING CES 333
Issues: 01 02 03 04 05 06 07 08 09 12
S TR Water Source: SPRING CES 033
Issues: 01 02 03 04 05 06 07 08 09 12
S TR Water Source: SPRING CES 333
Issues: 01 02 03 04 05 06 07 08 09 12
S TR Water Source: SPRING DES 333

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 283 253 3RD AVENUE NORTH IWT040

ID 83301					
TER OF ACTION DATE FILED		PARTIES INVOLVED	OR THE	PERIOD 1	1/01/2014 THRU 11/30/2014.
11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	101 S CAPITOL BLVD 10TH FL PO BOX 829			
	(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
	(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	SPRING
11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
	CLAIMANT: (ATTY)		Water	Source:	SPRING
	DATE FILED 11/28/2014  11/28/2014	DATE FILED  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)	DATE FILED  11/28/2014  RESPONSE: FERNMOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861  OBJECTION: WOEMPNER, CARLA SEMANKO, NORMAN M 101 SCAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES S50 WEST FORT STREET, MSC 033 BOISE, ID 83701-0829  OBJECTION: WOEMPNER, CARLA STR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES S50 WEST FORT STREET, MSC 033 BOISE, ID 83724  11/28/2014  RESPONSE: SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 SCAPITOL BLVD 10TH FL PO BOX 829  OBJECTION: WOEMPNER, CARLA STR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES S50 WEST FORT STREET, MSC 033 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES S50 WEST FORT STREET, MSC 033 BOISE, ID 83701-0829  OBJECTION: WOEMPNER, CARLA STR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES S50 WEST FORT STREET, MSC 033 BOISE, ID 83701-0829  OBJECTION: WOEMPNER, CARLA STR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  OBJECTION: WOEMPNER, CARLA STR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  OBJECTION: WOEMPNER, CARLA STR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES SOURST FORT STREET, MSC 033 BOISE, ID 83701-0829  OBJECTION: WOEMPNER, CARLA STR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES SOURST FORT STREET, MSC 033 BOISE, ID 83701-0829  OBJECTION: WOEMPNER, CARLA STR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  OBJECTION: WOEMPNER, CARLA STR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  OBJECTION: WOEMPNER, CARLA STR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  OBJECTION:	DATE FILED  11/28/2014  RESPONSE:	11/28/2014 RESPONSE: FERNWOOD WATER & SEWER DIST (ATTY)  (ATTY)  (ATTY)  (ATTY)  (ATTY)  (BY)  (BY)  (BY)  (BY)  (CATTY)

Coeur d'Alen 253 3RD AVEN TWIN FALLS,	IUE NORTH	ver Adjudicat	ion DOCKET SHEET		08/14 WT040	PAGE: 284
	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			
93-07512	11/28/2014		BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720			01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	SPRING
93-07513	11/13/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	SPRING
93-07513	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
93-07513	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING

253 3RD AVE TWIN FALLS,	NUE NORTH			IW	TO40	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07513	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
93-07513	11/28/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)		Water	Source:	SPRING
93-07513	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
93-07513	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 286 253 3RD AVENUE NORTH IWT040

253 3RD AVEN		2		IWT040	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	OR THE PERIO	D 11/01/2014 THRU 11/30/2014.
93-07513	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issue	s: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07513	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issue	s: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	e: SPRING
93-07513	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issue	s: 01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	e: SPRING
93-07514	11/13/2014		BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO	Issue.	s: 01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	e: SPRING

	3		IWT040	
TER OF ACTION		PARTIES INVOLVED		
11/24/2014	RESPONSE:	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720		
	OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	SPRING
11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES	Water Source:	SPRING
11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	SPRING
11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	SPRING
	DATE_FILED_ 11/24/2014 11/28/2014	ID 83301 PER OF ACTION LIST SHOWING DATE FILED  11/24/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)	ID 83301 DATE FILED  PARTIES INVOLVED  11/24/2014  RESPONSE: (ATTY) HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720  OBJECTION: STATE OF IDAHO (ATTY) CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO CLAIMANT: (ATTY) BOISE; ID 83720-0010  CLAIMANT: (ATTY) UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  11/28/2014  RESPONSE: (ATTY) PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861  OBJECTION: (ATTY) WOMENER, CARLA (ATTY) BOISE, ID 83701-0829  CLAIMANT: (ATTY) SEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83701-0829  CLAIMANT: (ATTY) SEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83701-0829  OBJECTION: (ATTY) SEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83701-0829  OBJECTION: (ATTY) SEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83701-0829  OBJECTION: (ATTY) WOMENER, CARLA (ATTY) SEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83701-0829  OBJECTION: (ATTY) WOMENER, CARLA (ATTY) WOMENER, CARL	To any color   To a

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 288 253 3RD AVENUE NORTH IWT040

253 3RD AVE		2	IWT040
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. PARTIES INVOLVED
93-07514		RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST ISSUES: 01 02 03 04 05 06 07 08 09 12 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		(ATTY)	UNITED STATES OF AMERICA AS TR Water Source: SPRING US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
93-07514	11/28/2014	(ATTY)	SHOSHONE COUNTY SPORTSMEN'S Issues: 01 02 03 04 05 06 07 08 09 12  SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL  PO BOX 829  BOISE. ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		(ATTY)	UNITED STATES OF AMERICA AS TR Water Source: SPRING US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET MSC 033
93-07514	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS ISsues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: SPRING US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
93-07514	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER ISsues: 01 02 03 04 05 06 07 08 09 12  SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: SPRING US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724

253 3RD AVE		_		IWT040	
SUBCASE#	TER OF ACTION DATE FILED		G ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		
	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE. ID. 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
93-07515	11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
93-07515	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
93-07515	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING

253 3RD AVE TWIN FALLS,	NUE NORTH	_		IV	VT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07515	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
93-07515	11/28/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
93-07515	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
93-07515	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING

253 3RD AVE TWIN FALLS,	ENUE NORTH		1011 2001.21 011221	II	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07515	11/28/2014		SHOSHONE COUNTY PUBLIC WORKS			
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
93-07515	11/28/2014		SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
			UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
93-07515	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
93-07516	11/13/2014	(ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING

SPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014.
Issues: 01 02 03 04 05 06 07 08 09 12
S DIV GENERAL
CA AS TR Water Source: SPRING CE SOURCES MSC 033
CT Issues: 01 02 03 04 05 06 07 08 09 12
PH FL
CA AS TR Water Source: SPRING CE SSOURCES MSC 033
ISSUES: 01 02 03 04 05 06 07 08 09 12
TH FL
CA AS TR Water Source: SPRING CE SOURCES MSC 033
T Issues: 01 02 03 04 05 06 07 08 09 12 TH FL
TH FL
CA AS TR Water Source: SPRING CE SOURCES MSC 033
O CEY ORTRE, R 2 O 9 STITE, W T O 9 O 9 STITE

253 3RD AVE TWIN FALLS,		_		IWT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		
93-07516		RESPONSE:			: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	: SPRING
93-07516	11/28/2014	(ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEFARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07516	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues	: 01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	: SPRING
93-07516	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	: SPRING

253 3RD AVE TWIN FALLS,	NUE NORTH		200 200021 00221	ĬĬ	WT040	
REGIS SUBCASE#	STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F			
93-07516	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720			01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
93-07517	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
93-07517	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
93-07517	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING

253 3RD AVE TWIN FALLS,	NUE NORTH	3		IV	VT 0 4 0	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07517	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
93-07517	11/28/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)		Water	Source:	SPRING
93-07517	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
93-07517	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 296 253 3RD AVENUE NORTH IWT040

253 3RD AVEN		2		IWT	040	
SUBCASE#	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	OR THE PI	ERIOD 1	1/01/2014 THRU 11/30/2014.
93-07517	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	I:	ssues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07517	11/28/2014	(ATTY)	BOISE, ID 83724 SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	I:	ssues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water So	ource:	SPRING
93-07517	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	I;	ssues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water So	ource:	SPRING
93-07518	11/13/2014		BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO	I:	ssues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water So	ource:	GROUND WATER

253 3RD AVE	NUE NORTH	rei Adjudicat	IOII DOCKET SHEET	IWT040	TAGE. 297
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
93-07518	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720		
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07518	11/28/2014	(ATTY)	PAYNE, DOUGLAS P.	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	NOT W COLLAGE SI SIE 201 ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
			UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07518	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
			UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES	Water Source:	GROUND WATER
93-07518	11/28/2014	RESPONSE: (ATTY)	550 WEST FORT STREET, MSC 033 BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
			,		

253 3RD AVE TWIN FALLS,	ID 83301				WT040	
SUBCASE#	DATE FILED					
93-07518	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07518	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07518	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07518	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVI		, or 11a, aaroa o	10.1 2001.21 0.1221	IWT040	11021 233
REGI: SUBCASE#	STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F		
93-07518	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07519	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07519	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07519	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH	-		IW	TO40	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07519	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07519	11/28/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07519	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07519	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE	NUE NORTH	ver Adjudicat	ion DOCKET SHEET		08/14 WT040	PAGE: 301
TWIN FALLS, REGIS SUBCASE#	TD 83301 STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
93-07519	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07519	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07519	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07520	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
			BOISE, ID 83724			

NUE NORTH			IW:	T040	
TER OF ACTION		PARTIES INVOLVED			
11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720	-	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water S	Source:	GROUND WATER
11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	-	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water S	Source:	GROUND WATER
11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	-	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water S	Source:	GROUND WATER
11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	-	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
	CLAIMANT: (ATTY)		Water S	Source:	GROUND WATER
	NUE ÑORTH ID 83301 TER OF ACTION DATE FILED 11/24/2014	NUE NORTH ID 83301 FER OF ACTION LIST SHOWING DATE FILED  11/24/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)	NUE NORTH  1D 83301  TER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED  11/24/2014  RESPONSE: HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720  BOISE, ID 83701-2720  OBJECTION: STATE OF IDAHO  CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO  CLAIMANT: UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033  11/28/2014  RESPONSE: (ATTY) DAYNOR AND 101 S CAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: (ATTY) WOMENFA, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: (ATTY) SEPONSE: EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: (ATTY) WOMENFA, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: (ATTY) WOMENFA, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: (ATTY) WOMENFA, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: (ATTY) WOMENFA, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: (ATTY) WOMENFA, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  BOISE, ID 83701-0829  CLAIMANT: (ATTY) WOMENFA, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  BOISE, ID 83701-0829  CLAIMANT: (ATTY) WOMENFA, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  BOISE, ID 83701-0829  CLAIMANT: (ATTY) WOMENFA, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  BOISE, ID 83701-0829  CLAIMANT: (ATTY) WOMENFA, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  BOISE, ID 83701-0829  CLAIMANT: (ATTY) WOMENFA, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  BOISE, ID 83701-0829  CLAIMANT: (ATTY) WOMENFA, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  BOISE, ID 83701-0829  CLAIMANT: (ATTY) WOMENFA, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  BOISE, ID 83701-0829  CLAIM	NUE NORTH	NUE NORTH

253 3RD AVENTWIN FALLS,				IV	VT040	
REGIS:	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07520	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARTES. ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07520	11/28/2014	(ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07520	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07520	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

TWIN FALLS,	NUE NORTH	_	ion DOCKET SHEET		08/14 VT040	PAGE: 304
REGIST SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
			BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720			01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07521	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07521	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07521	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE	NUE NORTH	rei Adjudicat	IOII DOCKET SHEET		WT040	INGE. 303
TWIN FALLS, REGIS SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
		(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M			
		CLAIMANT:	101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR	Water	Source:	GROUND WATER
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
93-07521	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07521	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
93-07521	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVEN		2		II	WT040	
SUBCASE#	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	OR THE	PERIOD 1	1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
			UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 SCOTT, ANDREW & HEATHER			
93-07521	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07521	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
93-07522	11/13/2014	(ATTY)	PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

NUE NORTH			IWI	ГО40	
TER OF ACTION		PARTIES INVOLVED			
11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720	]	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water S	Source:	GROUND WATER
11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	]	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water S	Source:	GROUND WATER
11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	1	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water S	Source:	GROUND WATER
11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	3	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
	CLAIMANT: (ATTY)		Water S	Source:	GROUND WATER
	NUE ÑORTH ID 83301 FOR OF ACTION DATE FILED 11/24/2014  11/28/2014	NUE NORTH ID 83301 FER OF ACTION LIST SHOWING DATE FILED  11/24/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)	NORTH   10 83301   11 28 3001   12 8 3001   12 8 3001   12 8 10 8 10	NUE NORTH	NUE NORTH

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 308 253 3RD AVENUE NORTH IWT040

REGIS			ALL OBJECTIONS AND RESPONSES, FOR THE PARTIES INVOLVED	PERIOD 1	11/01/2014 THRU 11/30/2014.
93-07522		RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR Water US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 ROISE. ID 83724		
93-07522	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Source:	GROUND WATER
93-07522	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07522	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Source:	GROUND WATER

Cour d'Alene-Spokane Diver Adjudication DOCKET SHEET 12/08/14 DVCE . 3U0

Coeur d'Ale 253 3RD AVE TWIN FALLS,	NUE NORTH	ver Adjudicat	ion DOCKET SHEET		08/14 WT040	PAGE: 309
	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			
93-07522	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720 STATE OF IDAHO			01 02 03 04 05 06 07 08 09 12
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 82724			
93-07523	11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07523	11/24/2014	(ATTY)	LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07523	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH	-	1011 2001.21 011221	IW	T040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07523	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER			
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07523	11/28/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)		Water	Source:	GROUND WATER
93-07523	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07523	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 311 253 3RD AVENUE NORTH IWT040

253 3RD AVE		3		I	WT040	
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	FOR THE	PERIOD 1	11/01/2014 THRU 11/30/2014.
	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
			UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 SCOTT, ANDREW & HEATHER			
93-07523	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07523	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 AVISTA CORPORATION			
93-07524	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

NUE NORTH	<u> </u>		IW	T040	
TER OF ACTION		PARTIES INVOLVED			
11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201		Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
	CLAIMANT: (ATTY)		Water	Source:	GROUND WATER
	ID 83301 FER OF ACTION DATE FILED	ID 83301 FER OF ACTION LIST SHOWING DATE FILED  11/24/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)	To action   List showing   All objections and responses,   Parties   Involved	To 83301	ID 83301   PARTIES INVOLVED

253 3RD AVENTWIN FALLS,				IV	VT040	
REGIS:	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07524	11/28/2014	RESPONSE:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07524	11/28/2014	(ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07524	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07524	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH			IWT040	
REGIS SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		
93-07524	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07525	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07525	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07525	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION:	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	ID 83301				VT040	
SUBCASE#	DATE FILED					
93-07525	11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07525	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07525	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07525	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 316 253 3RD AVENUE NORTH IWT040

253 3RD AVE		2		I	WT040	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	OR THE	PERIOD 1	11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE. ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
			UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 SCOTT, ANDREW & HEATHER			
93-07525	11/28/2014	(ATTY)	SEMANNO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOTSE, TD 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07525	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 AVISTA CORPORATION			
93-07526	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE	NUE NORTH	ver Aujudicat	IOII DOCKET SHEET	IWT040	1AGE. 317
TWIN FALLS, REGIS' SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
93-07526		RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720		
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07526	11/28/2014		PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07526	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07526	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE ID 83701-0829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
			, 00/21		

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 318 253 3RD AVENUE NORTH IWT040

253 3RD AVE		2		II	VT040	
TWIN FALLS, REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR PARTIES INVOLVED	OR THE	PERIOD 1	1/01/2014 THRU 11/30/2014.
93-07526		RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07526	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07526	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07526	11/28/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE	NUE NORTH	.01 110,001000		IWT040	11021 013
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F		
93-07526	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07527	11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE. STE 1200	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07527	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)		Water Source:	GROUND WATER
93-07527	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

	UE NORTH			IWT040	
TWIN FALLS, REGIST SUBCASE#	PER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
93-07527			EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07527	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07527	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07527	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	ENUE NORTH		1011 2001.21 01.221	ĬĬ	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07527	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07527	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07527	11/28/2014	(ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07528	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE	NUE NORTH	rei Aujuuicat	ION DOCKET SHEET	IWT040	IAGE. J22
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
93-07528		RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720		
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07528	11/28/2014	(ATTY)	PAYNE, DOUGLAS P.	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOELLAGE SI SIE 201 ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
			UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07528	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
			UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET MSC 033	Water Source:	GROUND WATER
93-07528	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
			·		

253 3RD AVE TWIN FALLS,	NUE NORTH	_		IWT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F		
93-07528		RESPONSE:			: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEFARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07528	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEFARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07528	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	: 01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	: GROUND WATER
93-07528	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	: 01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	: GROUND WATER

253 3RD AVEI	NUE NORTH	ver najaareae	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 324
REGIS' SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
			BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07529	11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724	Water Source:	GROUND WATER
93-07529	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07529	11/28/2014	(ATTY)	BOISE, ID 83724 PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH			IW	T040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07529	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07529	11/28/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07529	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07529	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 326 253 3RD AVENUE NORTH IWT040

253 3RD AVEN		2		I.	WT040	
SUBCASE#	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	OR THE	PERIOD 1	1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
93-07529	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
93-07529	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07530	11/13/2014	(ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE	NUE NORTH	ver Aujudicat	TOTE BOCKET SHEET	IWT040	IAGE. 327
TWIN FALLS, REGIS SUBCASE#	TER OF ACTION	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
93-07530	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720		
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07530	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
			UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07530	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
			UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07530	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

TWIN FALLS, ID 83301  REGISTER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/3  SUBCASE# DATE FILED PARTIES INVOLVED  93-07530  11/28/2014  RESPONSE: FERNWOOD WATER & SEWER DIST ISSUES: 01 02 03 04 05 06  (ATTY) PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861  OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES	
93-07530 11/28/2014 RESPONSE: FERNWOOD WATER & SEWER DIST ISSUES: 01 02 03 04 05 06 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861  OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES	07 08 09 12
OBJECTION: WOEMPNER, CARLA  (ATTY) SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES	
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES	
550 WEST FORT STREET, MSC 033 BOISE, ID 83724	
93-07530 11/28/2014 RESPONSE: SHOSHONE COUNTY SPORTSMEN'S ISSUES: 01 02 03 04 05 06  (ATTY) SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	07 08 09 12
BOISE, ID 83701-0829 OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  (ATTY) US DEPARTMENT OF JUSTICE  ENVIRONMENT & NATL' RESOURCES  550 WEST FORT STREET, MSC 033	
93-07530 11/28/2014 RESPONSE: BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS Issues: 01 02 03 04 05 06 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	07 08 09 12
OBJECTION: WOEMPHER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	
93-07530 11/28/2014 RESPONSE: SCOTT, ANDREW & HEATHER ISSUES: 01 02 03 04 05 06  (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	07 08 09 12
OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	

253 3RD AVE TWIN FALLS,	NUE NORTH			IV	TO40	
REGIS SUBCASE#	STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F			
93-07530	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720			01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07531	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LIP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07531	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07531	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

TWIN FALLS,	NUE NORTH			ΤW	T040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07531	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER			
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07531	11/28/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)		Water	Source:	GROUND WATER
93-07531	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07531	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVEN				II	WT040	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	OR THE	PERIOD 1	1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 SCOTT, ANDREW & HEATHER			
93-07531	11/28/2014	(ATTI)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07531	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
93-07532	11/13/2014	(ATTY)	PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE	NUE NORTH	rei Adjudicat	IOII DOCKET SHEET	IWT040	INGE. 332
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
93-07532	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720		
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07532	11/28/2014	(ATTY)	PAYNE, DOUGLAS P.	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	NOT W COLLAGE SI SIE 201 ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
			UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07532	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
			UNITED STATES OF AMERICA AS TR US DEFARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET MSC 033	Water Source:	GROUND WATER
93-07532	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
			,		

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 333 253 3RD AVENUE NORTH IWT040

REGIS			ALL OBJECTIONS AND RESPONSES, FOR THE PARTIES INVOLVED	E PERIOD 1	11/01/2014 THRU 11/30/2014.
93-07532		RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR Water US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07532	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Wate US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	er Source:	GROUND WATER
93-07532	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07532	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	r Source:	GROUND WATER

SUBCASE# DATE FILED 93-07532 11/28/2014 RESI			1/01/2014 THRU 11/30/2014. 01 02 03 04 05 06 07 08 09 12
93-07532 11/28/2014 RESI	PONSE: BALDWIN, JOHN MTTY) MEYER, CHRISTOPHER H 601 W BANNOCK ST	Issues:	01 02 03 04 05 06 07 08 09 12
	DOTOR ID 02701 2720		
	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720	L	
(I	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS THE STATES OF AMERICA AS THE STATES OF AMERICA AS THE STATES OF AMERICA AS THE STATES OF AMERICA AS THE STATES OF AMERICA AS THE STATES OF ASSOCIATION OF AMERICAN ASSOCIATION OF AMERICAN ASSOCIATION OF AMERICAN S THE AMERICAN OF AMERICA AS THE AMERICA AS THE AMERICA AS THE AMERICA AS THE AMERICA AS THE AMERICA AS THE AMERICA AS THE AMERICA AS THE AMERICA AS THE AMERICA AS THE AMERICA AS THE AMERICA AS THE AMERICA AS THE AMERICA AS THE AMERICA AS THE AMERICA AS THE AMERICAN OF AMER		GROUND WATER
(2	BOISE, ID 83724  PONSE: AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
	TION: STATE OF IDAHO (TTY) CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERA: STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010	L	
	MANT: UNITED STATES OF AMERICA AS TO US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		GROUND WATER
	PONSE: HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
	CTION: STATE OF IDAHO  CHIEF NATURAL RESOURCES DIV  OFFICE OF THE ATTORNEY GENERAL  STATE OF IDAHO  PO BOX 83720  BOISE, ID 83720-0010	L	
	MANT: UNITED STATES OF AMERICA AS TO US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		GROUND WATER
	PONSE: PINEHURST WATER DISTRICT ATTY) PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12
	ST MARIES, ID 83861  TION: WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
	MANT: UNITED STATES OF AMERICA AS TO US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	R Water Source:	GROUND WATER

253 3RD AVE		2			T040	
REGIS'	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07533	11/28/2014	RESPONSE:	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07533	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)		Water	Source:	GROUND WATER
93-07533	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07533	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 336 253 3RD AVENUE NORTH IWT040

253 3RD AVE				IWT040	
SUBCASE#	TER OF ACTION		G ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	FOR THE PERIOD 1	11/01/2014 THRU 11/30/2014.
93-07533	11/28/2014	(ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET MSC 033		
93-07533	11/28/2014	(AIII)	BOISE, ID 83724 SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07533	11/28/2014		BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07534	11/13/2014		BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE	NUE NORTH	ver Aujudicat	TOTE DOCKET SHEET	IWT040	TAGE. 337
TWIN FALLS, REGIST	TER OF ACTION	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, F	OR THE PERIOD 1	1/01/2014 THRU 11/30/2014.
SUBCASE#	DATE FILED		PARTIES INVOLVED		
93-07534	11/24/2014	RESPONSE: (ATTY)	601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 83724	Water Source:	GROUND WATER
93-07534	11/28/2014		PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07534	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07534	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVEN	UE NORTH	ver najuareae	IOII DOCKET SHEET	IWT040	1101. 330
TWIN FALLS, REGIST SUBCASE#	ER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, EPARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
93-07534			FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07534	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07534	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07534	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH			IW	T040	
REGIS SUBCASE#	STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F			
93-07534	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720			01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07535	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LIP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07535	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07535	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 340 253 3RD AVENUE NORTH IWT040

253 3RD AVE		2	IWT040
REGIS			ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. PARTIES INVOLVED
93-07535	11/28/2014		EAST SHOSHONE COUNTY WATER Issues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033
93-07535	11/28/2014	(ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT Issues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033
93-07535	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST Issues: 01 02 03 04 05 06 07 08 09 12 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033
93-07535	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S ISsues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 DOISE ID 82701 0820
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
			20102, 12 00.21

253 3RD AVE	ENUE NORTH		1011 2001.21 01.221	ĬĬ	WT040	
	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07535	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07535	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07535	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07536	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE		2		IWT040	
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
93-07536		RESPONSE:	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07536	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07536	11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07536	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVENTWIN FALLS,				IV	VT040	
REGIS:	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07536	11/28/2014	RESPONSE:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07536	11/28/2014	(ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07536	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07536	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH	ver najaareae	ion DOCKET SHEET	12/0 IW	T040	PAGE: 344
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			.1/01/2014 THRU 11/30/2014.
	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720 STATE OF IDAHO			01 02 03 04 05 06 07 08 09 12
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07537	11/13/2014	RESPONSE: (ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07537	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07537	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE	NUE NORTH	ver Aujudicat	IOII DOCKET SHEET		WT040	INGE. 343
TWIN FALLS, REGIS SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M			
		CLAIMANT:	101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR	Water	Source:	GROUND WATER
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
93-07537	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07537	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07537	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH		1011 2001(21 511221	İI	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			
93-07537	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07537	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07537	11/28/2014	(ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07538	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE	NUE NORTH	ver Aujudicat	TOTE DOCKET SHEET	IWT040	INGE. JT/
TWIN FALLS, REGIS	TER OF ACTION	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, F	OR THE PERIOD 1	1/01/2014 THRU 11/30/2014.
SUBCASE#	DATE FILED		PARTIES INVOLVED		
93-07538	11/24/2014	RESPONSE: (ATTY)	601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 83724	Water Source:	GROUND WATER
93-07538	11/28/2014		PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07538	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07538	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE					VT040	
REGIS'	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07538	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARTES. ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07538	11/28/2014	(ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07538	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07538	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

rwin falls,	, ID 83301	TITST SHOWING	ALL OBJECTIONS AND RESPONSES, F	OR THE	PERTOD 1	11/01/2014 THRII 11/30/2014
			PARTIES INVOLVED			
93-07538		RESPONSE:	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720			01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07539	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07539	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07539	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,				IWT040	
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		
93-07539		RESPONSE:	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	: GROUND WATER
93-07539	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues	e: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07539	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source	: GROUND WATER
93-07539	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	: GROUND WATER

253 3RD AVE		2		IWT040	
SUBCASE#	TER OF ACTION		G ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOY 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07539	11/28/2014		MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE ID 83720-0010		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07540	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07540	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
			STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE	NUE NORTH	rei Adjudicat	TOIL DOCKET SHEET		WT040	1AGE: 332
SUBCASE#	TER OF ACTION DATE FILED					1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07540	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07540	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, TD 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07540	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	M2+2	Source:	CDOUND WATER
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water	source:	GROUND WAILK

253 3RD AVE FWIN FALLS,	NUE NORTH		ION DOCKET SHEET		WT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, E			
	11/28/2014	RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07540	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07540	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOY 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07540	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

53 3RD AVŁ WIN FALLS,	ENUE NORTH ID 83301			IV	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
3-07541	11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
-07541	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
-07541	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07541	11/28/2014		BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH			IV	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07541	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07541	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07541	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07541	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 356 253 3RD AVENUE NORTH IWT040

253 3RD AVE	NUE NORTH			IWT040	
SUBCASE#	TER OF ACTION		G ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	OR THE PERIOD 1	11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07541	11/28/2014	(ATTY)	MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07542	11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07542	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 357 253 3RD AVENUE NORTH IWT040

253 3RD AVE		<u> </u>	IWT040
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. PARTIES INVOLVED
93-07542	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT ISSUES: 01 02 03 04 05 06 07 08 09 12 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. 1D 83861
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
93-07542	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER ISSUES: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033
93-07542	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT ISSUES: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
93-07542	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST ISSUES: 01 02 03 04 05 06 07 08 09 12 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724

253 3RD AVE TWIN FALLS,				II	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07542		RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07542	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07542	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07542	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	ENUE ÑORTH	3		IWT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F		
93-07543		RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues	s: 01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	e: GROUND WATER
93-07543	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues	s: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	e: GROUND WATER
93-07543	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861	Issues	s: 01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source	e: GROUND WATER
93-07543	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues	s: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	e: GROUND WATER

253 3RD AVEN	NUE NORTH		ION DOCKET SHEET		T040	111021 000
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
93-07543	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07543	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07543	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)		Water	Source:	GROUND WATER
93-07543	11/28/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	ID 83301			IWT040	
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, E PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE		
93-07543	11/28/2014		MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07544	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07544	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH			IW	T040	
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR PARTIES INVOLVED			
93-07544	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT			
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07544	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07544	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TRUS DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07544	11/28/2014		FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
			20102/ 12 00/21			

	ENUE NORTH ID 83301			I	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07544		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07544	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07544	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07544	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH			ΙV	T040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07545	11/13/2014	RESPONSE:				01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07545	11/24/2014		HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07545	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07545	11/28/2014	(ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

53 3RD AVE WIN FALLS,	ID 83301	T.TST SHOWING	ALL OBJECTIONS AND RESPONSES, E		WT040 PERTOD 1	11/01/2014 THRI 11/30/2014
UBCASE#	DATE FILED		PARTIES INVOLVED			
		RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07545	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
3-07545	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07545	11/28/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	ID 83301			IWT040			
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, E PARTIES INVOLVED		.1/01/2014 THRU 11/30/2014.		
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE				
93-07545	11/28/2014		MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12		
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724				
93-07546	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11		
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER		
93-07546	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12		
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER		

253 3RD AVE	NUE NORTH	rei Adjudicat	TOTE DOCKET SHEET		WT040	INGE. 307
SUBCASE#	TER OF ACTION DATE FILED					1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07546	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07546	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, TD 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07546	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Wa+a	Source:	CDOUND WATED
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water	source:	GROUND WATER

253 3RD AVE TWIN FALLS,				I	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			
93-07546		RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07546	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07546	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07546	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

53 3RD AVŁ WIN FALLS,	NUE NORTH ID 83301			IV	WT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
-07547	11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
-07547	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
-07547	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07547	11/28/2014		BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH			IV	T040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07547	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07547	11/28/2014		FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07547	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07547	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH	. 01 110,000	TON DOCKET ONEDT	IWT040	211021 072
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN MEYER CHRISTOPHER H	Water Source:	GROUND WATER
93-07547	11/28/2014	RESPONSE: (ATTY)	BALDWÍN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	: 01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07548	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	: 01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	: GROUND WATER
93-07548	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	: GROUND WATER

253 3RD AVE	NUE NORTH	rei Adjudicat	TOTE DOCKET SHEET		WT040	1AGE. 372
SUBCASE#	TER OF ACTION DATE FILED					1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07548	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07548	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, TD 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
93-07548	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)  CLAIMANT:	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR	Wa+or	Source	CROUND WATER
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Macel	Jource.	OLOGIE WILLIA

	ENUE NORTH ID 83301			I	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07548		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07548	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07548	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07548	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

WIN FALLS,	ENUE NORTH				TO40	1/01/0014 77777 11/00/0014
	DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
3-07549	11/13/2014	RESPONSE: (ATTY)				01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07549	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07549	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07549	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVEN		-	ION DOCKET SHEET		T040	
SUBCASE#	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
93-07549	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07549	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07549	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)		Water	Source:	GROUND WATER
93-07549	11/28/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	ENUE NORTH ID 83301			ΙV	VT040	
REGIS SUBCASE#	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07549	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H	Water	Source:	GROUND WATER
93-07549	11/28/2014	RESPONSE: (ATTY)	BALDWÍN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07550	11/13/2014	(A'I'IY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07550	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,				II	WT040	
REGIS SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			11/01/2014 THRU 11/30/2014.
	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07550	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07550	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, TD 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07550	11/28/2014	(ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

3 3RD AVENUE IN FALLS, ID	NORTH 83301			IWT040	
REGISTER	OF ACTION :		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1	
-07550 11	L/28/2014		SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
-07550 11	L/28/2014	(ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOTSE. ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
-07550 11	L/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO ROX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOTSE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
-07550 11	L/28/2014	(ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

TWIN FALLS,	ENUE NORTH ID 83301				T040	
REGIS	STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07551	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07551	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07551	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07551	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH			IV	WT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07551	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07551	11/28/2014		FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07551	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07551	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH	ver najaareae	ION BOOKET UNEET	IWT040	11102. 301
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F		
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07551	11/28/2014		MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE ID 83720-0010		
		(A'I'I'Y)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07552	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07552	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE	NUE NORTH	rei Adjudicat	TOTE DOCKET SHEET		WT040	1AGE: 302
SUBCASE#	TER OF ACTION DATE FILED					1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07552	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07552	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, TD 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 83724			
93-07552	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)  CLAIMANT:	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR	Wa+or	Source	GROUND WATER
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Macel	Jource.	OLOGIE MILLIN

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 383 253 3RD AVENUE NORTH IWT040

253 3RD AVE		2		IWT040	0	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	OR THE PERI	IOD 11	/01/2014 THRU 11/30/2014.
	11/28/2014		SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issu	ues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sour	rce:	GROUND WATER
93-07552	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issu	ues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
93-07552	11/28/2014		SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issu	ues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Sour	rce:	GROUND WATER
93-07552	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issu	ues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sour	rce:	GROUND WATER

THIN TALLS, ID 830101 SUBCASES TROP ATTEM PATTES NUMBER 15 DAMES 1	253 3RD AVEN	IUE NORTH	vei Aujuuicac	ION DOCKET SHEET	IWT040	IAGE. JUT
93-07553 11/28/2014 RESPONSE: AVISTA CORPORATION   Issues: 01 02 03 04 05 06 07 08 09 10 11   Part	REGIST	ER OF ACTION		PARTIES INVOLVED		
CATTY   CHAPTER NATURAL RESOURCES DIV	93-07553	11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP		
CLAIMANT:				STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
93-07553				UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	: GROUND WATER
OBJECTION: STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 3720 -0010 CLAIMANT: UNITIED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 RESPONSE: (ATTY) OBJECTION: WOEMENER, CARLA (ATTY) OBJECTION: WOEMENER, CARLA (ATTY) OBJECTION: WOEMENER, CARLA (ATTY) OBJECTION: WOEMENER, CARLA (ATTY) SEMANKO, NORWAN M 101 S CAPITOL BLVD 10TH FL ENVIRONMENT & NATL' RESOURCES S50 WEST FORT STREET, MSC 033 BOISE, ID 83701-0829 CLAIMANT: UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES SEMANKO, NORWAN M 101 S CAPITOL BLVD 10TH FL ENVIRONMENT & NATL' RESOURCES SOW WATER OBJECTION: WOEMENER, CARLA SEMANKO, NORWAN M 101 S CAPITOL BLVD 10TH FL ENVIRONMENT & NATL' RESOURCES SOW WOEMENER, CARLA SEMANKO, NORWAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 CLAIMANT: WOEMENER, CARLA (ATTY) OBJECTION: WOEMENER, CARLA SEMANKO, NORWAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 CLAIMANT: UNITED STATES OF AMERICA AS TR WATER SOURCE: GROUND WATER UNITED STATES OF AMERICA AS TR WATER SOURCE: GROUND WATER UNITED STATES OF AMERICA AS TR WATER SOURCE: GROUND WATER UNITED STATES OF AMERICA AS TR WATER SOURCE: GROUND WATER UNITED STATES OF AMERICA AS TR WATER SOURCE: GROUND WATER UNITED STATES OF AMERICA AS TR WATER SOURCE: GROUND WATER UNITED STATES OF AMERICA AS TR WATER SOURCE: GROUND WATER UNITED STATES OF AMERICA AS TR WATER SOURCE: GROUND WATER UNITED STATES OF AMERICA AS TR WATER SOURCE: GROUND WATER UNITED STATES OF AMERICA AS TR WATER SOURCE: GROUND WATER UNITED STATES OF AMERICA AS TR WATER SOURCE: GROUND WATER UNITED STATES OF AMERICA AS TR WATER SOURCE: GROUND WATER UNITED STATES OF AMERICA AS TR WATER SOURCE: GROUND WATER UNITED STATES OF AMERICA AS TR WATER SOURCE: GROUND WATER UNITED STATES OF AMERICA AS TR WATER SOURCE: GROUND WATER UNITED STATES OF AMERICA AS TR WATER SOURCE: GROUND WATER UNITED STATES OF AMERICA AS TR WATER SOURCE:	93-07553	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	: 01 02 03 04 05 06 07 08 09 12
CLAIMANT: UNITED STATES OF AMERICA ST Water Source: GROUND WATER   UNITED STATES OF AMERICA ST   UNITED STATES OF AMERICA AS TR   UNITED STATES OF AMER				STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
ATTY  PAYNE, DOUGLASE P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861			(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	: GROUND WATER
## PO BOX 829 ## BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033  BOISE, ID 83724  PRESPONSE: EAST SHOSHONE COUNTY WATER (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  (ATTY) US DEPARTMENT OF JUSTICE  ### Water Source: GROUND WATER  GROUND WATER  GROUND WATER  GROUND WATER  GROUND WATER  GROUND WATER  GROUND WATER	93-07553	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	: 01 02 03 04 05 06 07 08 09 12
CLAIMANT: (ATTY)  CLAIMANT: (A			OBJECTION: (ATTY)	PO BOX 829		
93-07553 11/28/2014 RESPONSE: EAST SHOSHONE COUNTY WATER ISSUES: 01 02 03 04 05 06 07 08 09 12  SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER (ATTY) US DEPARTMENT OF JUSTICE				UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	: GROUND WATER
(ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER (ATTY) US DEPARTMENT OF JUSTICE	93-07553	11/28/2014		EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOY 829	Issues:	: 01 02 03 04 05 06 07 08 09 12
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  (ATTY) US DEPARTMENT OF JUSTICE			OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
550 WEST FORT STREET, MSC 033 BOISE, ID 83724				UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	: GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH			IWT040	
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		
93-07553		RESPONSE:	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		s: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	e: GROUND WATER
93-07553	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issue	s: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07553	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issue	s: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	e: GROUND WATER
93-07553	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issue	s: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	e: GROUND WATER

253 3RD AVE		<u> </u>		IV	WT040	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	OR THE	PERIOD 1	1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07553	11/28/2014	(ATTY)	MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
93-07554	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07554	11/24/2014	(ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
			STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

SUBCASE# I	R OF ACTION	LIST SHOWING	ATT OR TECTTONS AND DESDONSES E			
			PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
93-07554	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07554	11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07554	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07554	11/28/2014	(ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,				I	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			
93-07554		RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07554	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07554	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07554	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

WIN FALLS,	ENUE NORTH ID 83301				TT040	
REGIS	STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
3-07555	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07555	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07555	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07555	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,				IV	WT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07555	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07555	11/28/2014		FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07555	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07555	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

53 3RD AVEN	IUE NORTH	er Adjudicat:	ion DOCKET SHEET		8/14 T040	PAGE: 391
UBCASE#	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
3-07555		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN	Water	Source:	GROUND WATER
-07555	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 83724	Water	Source:	GROUND WATER
3-07556	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07556	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

SUBCASEA DATE RITES SHOWING ALL CORRECTIONS AND RESPONSES, FOR THE FERIOD 11/01/2014 THRU 11/30/2014.  93-07556 11/28/2014	253 3RD AVE TWIN FALLS,				II	WT040	
ATTY   PATNE, DOUGLAGE ST STEE 201   OBJECTION: VICILIZED STREET 201   OBJECTION: VICILIZED STATES OF AMERICA AS TR Water Source: GROUND WATER SEMANNO, NORMAN M	REGIS	TER OF ACTION		PARTIES INVOLVED			
OBJECTION: WORMNER, CARIA SEMANKE, NORMAN M 101 SEMANKE, NORMAN M	93-07556	11/28/2014		PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
CLAIMANT:				WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
93-07556 11/28/2014 RESPONSE: RAST SHOSHONE COUNTY WATER ISSUES: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO				UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
OBJECTION: (ATTY)   SEMANKO, NORMAN M   101 S CAPITOL BLVD 10TH FL   PO BOX 829   BOISE, ID   83701-0829   BOISE, ID   83	93-07556	11/28/2014		EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
CLAIMANT:			OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
SEMANKO, NORMAN M			(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  RESPONSE: FERNWOOD WATER & SEWER DIST FOAT WATER & SEWER DIST FOAT WATER & SEWER DIST FOAT WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER (ATTY) WOEMPNER, CARLA Water Source: GROUND WATER GROUND WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES	93-07556	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  93-07556 11/28/2014 RESPONSE: FERNWOOD WATER & SEWER DIST (ATTY) PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861  OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES			OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
93-07556 11/28/2014 RESPONSE: FERNWOOD WATER & SEWER DIST ISSUES: 01 02 03 04 05 06 07 08 09 12 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861  OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES				UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
(ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES	93-07556	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
(ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES			(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	EZ - '	Carry	CDOUND WATER
BOISE, ID 83724				US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	water	source:	GROUND WATER

253 3RD AVE TWIN FALLS,				II	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07556		RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07556	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07556	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07556	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

53 3RD AVE WIN FALLS,	NUE NORTH ID 83301	3	ION DOCKET SHEET	II	WT040	
	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
-07557	11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
-07557	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
-07557	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMFNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07557	11/28/2014		EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

53 3RD AVE WIN FALLS,	ID 83301				WT040	44 /04 /004 4 44 /00 /004
UBCASE#	DATE FILED		ALL OBJECTIONS AND RESPONSES, E PARTIES INVOLVED			11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07557	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
3-07557	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07557	11/28/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH	ver najaareae	ION BOOKET BREET	IWT040	11102. 350
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(A'I'I'Y)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07557	11/28/2014		MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE ID 83720-0010		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07558	11/13/2014	(ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO	Issues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE. ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07558	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

TWIN FALLS, ID 83301 REGISTER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 1: SUBCASE# DATE FILED PARTIES INVOLVED  93-07558 11/28/2014 RESPONSE: PINEHURST WATER DISTRICT Issues: 01 02 03 04 05 0	
93-07558 11/28/2014 RESPONSE: PINEHURST WATER DISTRICT ISSUES: 01 02 03 04 05 07 07 07 07 07 07 07 07 07 07 07 07 07	
(ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER	
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER	
(ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	
93-07558 11/28/2014 RESPONSE: EAST SHOSHONE COUNTY WATER ISSUES: 01 02 03 04 05 (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	06 07 08 09 12
BOISE, ID 83701-0829  OBJECTION: WOEMPNER, CARLA  (ATTY) SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL  PO BOX 829	
BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	
93-07558 11/28/2014 RESPONSE: KELLOGG SCHOOL DISTRICT ISSUES: 01 02 03 04 05 0	06 07 08 09 12
OBJECTION: WOEMPNER, CARLA  (ATTY) SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL  PO BOX 829  BOISE, ID 83701-0829	
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  (ATTY) US DEPARTMENT OF JUSTICE  ENVIRONMENT & NATL' RESOURCES  550 WEST FORT STREET, MSC 033	
BOISE, ID 83724 93-07558 11/28/2014 RESPONSE: FERNWOOD WATER & SEWER DIST Issues: 01 02 03 04 05 0 (ATTY) PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	06 07 08 09 12
OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  (ATTY) US DEPARTMENT OF JUSTICE  ENVIRONMENT & NATL' RESOURCES  550 WEST FORT STREET, MSC 033  BOISE, ID 83724	

	ENUE NORTH , ID 83301			I	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07558		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07558	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07558	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07558	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

53 3RD AVE WIN FALLS,	NUE NORTH ID 83301		ION DOCKET SHEET	IV	VT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
-07559	11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
-07559	11/24/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
-07559	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07559 11/28/201	11/28/2014		EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	ID 83301				WT040	14 /04 /004 4 44 /00 /004
SUBCASE#	DATE FILED					
93-07559	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07559	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07559	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07559	11/28/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

53 3RD AVEN	NUE NORTH	ver Adjudicat	ion DOCKET SHEET		08/14 WT040	PAGE: 401
UBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
			SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN	Water	Source:	GROUND WATER
3-07559	11/28/2014	RESPONSE: (ATTY)	BALDWÍN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07560	11/13/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07560	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE	NUE NORTH	rei Adjudicat	TOTE DOCKET SHEET		WT040	1AGE: 402
SUBCASE#	TER OF ACTION DATE FILED					1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07560	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07560	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, TD 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
93-07560	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)  CLAIMANT:	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR	W2+^~	Source	CDOLIND WATER
		(ATTY)	US DEPARTMENT OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,				II	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			
93-07560		RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07560	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07560	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07560	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

TWIN FALLS,	IUE NORTH			IWT	040	
REGIST	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			
93-07561	11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	I	ssues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water S	ource:	GROUND WATER
93-07561	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	I	ssues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water S	ource:	GROUND WATER
93-07561	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	I.	ssues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water S	ource:	GROUND WATER
93-07561	11/28/2014		BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	I	ssues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water S	ource:	GROUND WATER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 405 253 3RD AVENUE NORTH IWT040

253 3RD AVE		2	IWT040
			ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. PARTIES INVOLVED
93-07561	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT ISSUES: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	
93-07561	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST ISSUES: 01 02 03 04 05 06 07 08 09 12 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
93-07561	11/28/2014	(ATTY)	SHOSHONE COUNTY SPORTSMEN'S Issues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
93-07561	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS Issues: 01 02 03 04 05 06 07 08 09 12  SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL PO BOX 829  BOISE, ID 83701-0829
		OBJECTION: (ATTY)	
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724

253 3RD AVE		2		IWT040	
SUBCASE#	TER OF ACTION		G ALL OBJECTIONS AND RESPONSES, E PARTIES INVOLVED		
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOY 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07561	11/28/2014		MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE ID 83720-0010		
		(ATTI)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07562	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07562	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
			STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE	NUE NORTH	rei Adjudicat	TOTE DOCKET SHEET		WT040	INGE. 407
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07562	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07562	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
93-07562	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)  CLAIMANT:	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR	Water	Source	CDOUND WATER
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH TD 83301		IWTO40	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. PARTIES INVOLVED	
93-07562		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S Issues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	
93-07562	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS Issues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	
3-07562	11/28/2014		BOISE, ID 83724 SCOTT, ANDREW & HEATHER ISSUES: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 DOLON DRIVER OF THE PO BOX 829	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE ID 83701 0820	
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN  ISSUES: 01 02 03 04 05 06 07 08 09 12	
3-07562	11/28/2014	RESPONSE: (ATTY)	MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720	
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	

253 3RD AVENUE NORTH TWIN FALLS, ID 83301				IWT040					
	STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED						
93-07563	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11			
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720						
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER			
3-07563	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12			
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010						
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER			
3-07563	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12			
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829						
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER			
3-07563	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829						
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER			

	ID 83301			IWT(		
REGIS JBCASE#			ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
-07563	11/28/2014		KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water So	ource:	GROUND WATER
-07563	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Is	ssues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
-07563	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Ιs	ssues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water So	ource:	GROUND WATER
-07563	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Is	ssues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water So	ource:	GROUND WATER

253 3RD AVE				IM	T040	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	FOR THE	PERIOD 1	1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07563	11/28/2014	(ATTY)	MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
93-07564	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07564	11/24/2014	(ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
			STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE	NUE NORTH	rei Adjudicat	TOTE DOCKET SHEET		WT040	INGE. 412
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07564	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07564	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, TD 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07564	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)  CLAIMANT:	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR	Water	Source	CDOLIND WATER
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,		3	IWT040	
REGIS	TER OF ACTION		G ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. PARTIES INVOLVED	
93-07564		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S ISSUES: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	
93-07564	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS Issues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	
93-07564	11/28/2014		BOISE, ID 83724 SCOTT, ANDREW & HEATHER ISSUES: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE ID 82701-0828	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
		(ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN Issues: 01 02 03 04 05 06 07 08 09 12	
93-07564	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN ISSUES: 01 02 03 04 05 06 07 08 09 12  MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720	
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	

253 3RD AVENUE NORTH TWIN FALLS, ID 83301				IWT040					
	STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED						
3-07565	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11			
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720						
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER			
3-07565	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12			
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010						
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER			
3-07565	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12			
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829						
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER			
3-07565	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829						
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER			

253 3RD AVE	NUE NORTH	rei Adjudicat	ION DOCKET SHEET		WT040	INGE. 415
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
93-07565		RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M			01 02 03 04 05 06 07 08 09 12
		CLAIMANT:	101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR	Water	Source:	GROUND WATER
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source.	GROUND WATER
93-07565	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07565	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724	Water	Source:	GROUND WATER
93-07565	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	ID 83301	_		IWT040	
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE		
93-07565	11/28/2014		MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07566	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LIP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07566	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE	NUE NORTH	rei Adjudicat	TOTE DOCKET SHEET		WT040	INDE. 417
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07566	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07566	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, TD 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07566	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	₩ <b>ɔ</b> +o	Source:	CDOUND WATED
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water	source:	GROUND WAILK

253 3RD AVE TWIN FALLS,	ENUE NORTH , ID 83301			II	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			
93-07566		RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07566	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07566	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07566	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVENUE NORTH TWIN FALLS, ID 83301 REGISTER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES				IWT040					
	DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED						
3-07567	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11			
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720						
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER			
3-07567	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12			
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010						
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER			
3-07567	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12			
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829						
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER			
3-07567	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829						
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER			

253 3RD AVE TWIN FALLS,				II	VT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07567	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07567	11/28/2014		FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07567	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07567	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 DOLER ID 82701 0820			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE		2		IWT040	
SUBCASE#	TER OF ACTION		G ALL OBJECTIONS AND RESPONSES, E PARTIES INVOLVED		
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOY 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07567	11/28/2014	(MIII)	MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE ID 83720-0010		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 83724	Water Source:	GROUND WATER
93-07568	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07568	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
			STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH			II	WT040	
REGIS SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07568	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07568	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07568	11/28/2014	(ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE		or majaaroad	10.1 2001.21 01.221		T040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			
93-07568		RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07568	11/28/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07568	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07568	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

THIS TALLS, ID 83401	253 3RD AVEN	IUE NORTH	vei Aujudicac	ION BOCKET SHEET	IWT040	IAGE. 727
93-07569 11/28/2014 RESPONSE: (ATT) SCHADURES, MILITARY J. SCHADURES	REGIST	ER OF ACTION		PARTIES INVOLVED		
OBJECTION: STATE OF IDAHO CHIEF MATURAL RESOURCES DIV STATE OF IDAHO DO BOX 8370 CLAIMANT: CLAIMANT: COLOR MATURAL RESOURCES GROUND WATER CLAIMANT: CLAIMANT	93-07569	11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP	Issues:	01 02 03 04 05 06 07 08 09 10 11
CLAIMANT: (ATTY)   UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER   UNITED STATES OF AMERICA AS TR WATER SOURCES				STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
93-07569 11/24/2014 RESPONSE: HAGADOME HOSPITALITY CO				UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
OBJECTION: (ATTY) STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO CELETON: CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO POLICE. CLAIMANT: UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 PINEHURST WATER DISTRICT 701 W COLLAGE ST STE 201 OBJECTION: WOMENINE CALLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES STATE OF MARKET, MSC 033 BOISE, ID 83701-0829 OBJECTION: (ATTY) OBJECTION: SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 OBJECTION: OBJECTION: ORDER OBJECTION: ORDER OBJECTION: OBJECTION: ORDER O	93-07569	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
CLAIMANT:				STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
ATTY			(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  93-07569 11/28/2014 RESPONSE: EAST SHOSHONE COUNTY WATER ISSUES: 01 02 03 04 05 06 07 08 09 12  SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  OBJECTION: WOEMPNER, CARLA (ATTY) WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES	93-07569	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  US DEPARTMENT OF JUSTICE  ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  PARTY EAST SHOSHONE COUNTY WATER ISSUES: 01 02 03 04 05 06 07 08 09 12  RESPONSE: (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  OBJECTION: (ATTY) WOEMPNER, CARLA  (ATTY) WOEMPNER, CARLA  (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: (ATTY) Water Source: GROUND WATER  UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  US DEPARTMENT OF JUSTICE  ENVIRONMENT & NATL' RESOURCES			OBJECTION: (ATTY)	PO BOX 829		
93-07569 11/28/2014 RESPONSE: EAST SHOSHONE COUNTY WATER ISSUES: 01 02 03 04 05 06 07 08 09 12 (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  OBJECTION: WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES				UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
(ATTY) SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL  PO BOX 829  BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  (ATTY) US DEPARTMENT OF JUSTICE  ENVIRONMENT & NATL' RESOURCES	93-07569	11/28/2014	(A'I'I'Y)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOY 829	Issues:	01 02 03 04 05 06 07 08 09 12
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES			OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
550 WEST FORT STREET, MSC 033 BOISE, ID 83724				UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER

TWIN FALLS, ID 83301 REGISTER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014.  93-07569 11/28/2014 RESPONSE: KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  OBJECTION: (ATTY) WOEMPER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 CLAIMANT: (ATTY) UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NARL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  93-07569 11/28/2014 RESPONSE: FERNWOOD WATER & SEWER DIST ISSUES: 01 02 03 04 05 06 07 08 09 12  PAYER JOINGLAS P. 701 W COLLAGE ST STE 201 ST MADLES ID 83811  PAYER JOINGLAS P. 701 W COLLAGE ST STE 201 ST MADLES ID 83811  PAYER JOINGLAS P. 701 W COLLAGE ST STE 201 ST MADLES ID 83821		IWT040	200121 011221			253 3RD AVE
93-07569 11/28/2014 RESPONSE: KELLOGG SCHOOL DISTRICT ISSUES: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 RESPONSE: GROUND WATER & SEWER DIST ISSUES: 01 02 03 04 05 06 07 08 09 12 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			PARTIES INVOLVED		ER OF ACTION	REGIS
OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  93-07569 11/28/2014 RESPONSE: FERNWOOD WATER & SEWER DIST ISSUES: 01 02 03 04 05 06 07 08 09 12 PAYNE, DOUGLAGE ST STE 201			KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	RESPONSE:	11/28/2014	93-07569
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  93-07569 11/28/2014 RESPONSE: FERNWOOD WATER & SEWER DIST ISSUES: 01 02 03 04 05 06 07 08 09 12 (ATTY) PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	OBJECTION: (ATTY)		
93-07569 11/28/2014 RESPONSE: FERNWOOD WATER & SEWER DIST ISSUES: 01 02 03 04 05 06 07 08 09 12 (ATTY) PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	GROUND WATER	ater Source:	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
DI MARIED, ID ODOUI	01 02 03 04 05 06 07 08 09 12	Issues:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	(ATTY)	11/28/2014	93-07569
OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			101 S CAPITOL BLVD 10TH FL PO BOX 829	OBJECTION: (ATTY)		
BOISE, ID 83701-0829 CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	(ATTY)		
BOISE, ID 83724 93-07569 11/28/2014 RESPONSE: SHOSHONE COUNTY SPORTSMEN'S ISSUES: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	01 02 03 04 05 06 07 08 09 12	Issues:	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	RESPONSE: (ATTY)	11/28/2014	93-07569
OBJECTION: WOEMPNER, CARLA  (ATTY) SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL  PO BOX 829  BOISE, ID 83701-0829			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	OBJECTION: (ATTY)		
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	GROUND WATER	ater Source:	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07569 11/28/2014 RESPONSE: SHOSHONE COUNTY PUBLIC WORKS ISSUES: 01 02 03 04 05 06 07 08 09 12  (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	01 02 03 04 05 06 07 08 09 12	Issues:	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		11/28/2014	93-07569
OBJECTION: WOEMPNER, CARLA  (ATTY) SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL  PO BOX 829  BOISE, ID 83701-0829			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	OBJECTION: (ATTY)		
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  (ATTY) US DEPARTMENT OF JUSTICE  ENVIRONMENT & NATL' RESOURCES  550 WEST FORT STREET, MSC 033  BOISE, ID 83724	GROUND WATER	ater Source:	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			

253 3RD AVE		2		IWT040	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL DO BOY 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07569	11/28/2014		MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE ID 83720-0010		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07570	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07570	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
			STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH		IWT040	
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11 PARTIES INVOLVED	
93-07570	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT Issues: PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	
93-07570	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER Issues: SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 POTER ID 82701 0020	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR Water Source: US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	GROUND WATER
93-07570	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT Issues: SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	GROUND WATER
93-07570	11/28/2014		FERNWOOD WATER & SEWER DIST Issues: PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	GROUND WATER
			,	

	NUE NORTH ID 83301		IWT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD :	l1/01/2014 THRU 11/30/2014.
3-07570		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S Issues: SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR Water Source: US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	GROUND WATER
3-07570	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS Issues: SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR Water Source: US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	GROUND WATER
3-07570	11/28/2014		BOISE, ID 83724 SCOTT, ANDREW & HEATHER ISSUES: SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 POLICE TO 23701 0000	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
		(ATTY)	UNITED STATES OF AMERICA AS TR Water Source: US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN Issues:	GROUND WATER
3-07570	11/28/2014	RESPONSE: (ATTY)	MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720	
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR Water Source: US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	GROUND WATER

53 3RD AVE WIN FALLS,	NUE NORTH ID 83301			IV	WT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
3-07571	11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07571	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
-07571	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07571	11/28/2014		BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,				II	VT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07571	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07571	11/28/2014		FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07571	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07571	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE		3		IWT040	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	FOR THE PERIOD 1	
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL DO BOY 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07571	11/28/2014		MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE ID 83720-0010		
		(ATTI)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07572	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07572	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
			STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE1 TWIN FALLS,	NUE NORTH		ION DOCKET SHEET	IWT040	PAGE: 432
REGIS: SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		.1/01/2014 THRU 11/30/2014.
3-07572			PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861		01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
3-07572	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
3-07572	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
3-07572	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,				II	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07572		RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07572	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07572	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07572	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

TWIN FALLS, ID 83301 REGISTER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU SUBCASE# DATE FILED  93-07573 11/13/2014 RESPONSE: AVISTA CORPORATION ISsues: 01 02 03 04 0  (ATTY) SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505  OBJECTION: STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO DO POW 93720	
93-07573 11/13/2014 RESPONSE: AVISTA CORPORATION ISsues: 01 02 03 04 0  (ATTY) SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505  OBJECTION: STATE OF IDAHO (ATTY) CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO	
OBJECTION: STATE OF IDAHO  (ATTY) CHIEF NATURAL RESOURCES DIV  OFFICE OF THE ATTORNEY GENERAL  STATE OF IDAHO	
PO BOX 83720	
BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  (ATTY) US DEPARTMENT OF JUSTICE  ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033  BOISE, ID 83724	
93-07573 11/24/2014 RESPONSE: HAGADONE HOSPITALITY CO ISsues: 01 02 03 04 0 LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	05 06 07 08 09 12
OBJECTION: STATE OF IDAHO  (ATTY) CHIEF NATURAL RESOURCES DIV  OFFICE OF THE ATTORNEY GENERAL  STATE OF IDAHO  PO BOX 83720  BOISE, ID 83720-0010	
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  (ATTY) US DEPARTMENT OF JUSTICE  ENVIRONMENT & NATL' RESOURCES  550 WEST FORT STREET, MSC 033	
BOISE, ID 83724 93-07573 11/28/2014 RESPONSE: PINEHURST WATER DISTRICT Issues: 01 02 03 04 0 (ATTY) PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	05 06 07 08 09 12
OBJECTION: WOEMPNER, CARLA  (ATTY) SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL  PO BOX 829  BOISE, ID 83701-0829	
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  (ATTY) US DEPARTMENT OF JUSTICE  ENVIRONMENT & NATL' RESOURCES  550 WEST FORT STREET, MSC 033	
BOISE, ID 83724 93-07573 11/28/2014 RESPONSE: EAST SHOSHONE COUNTY WATER Issues: 01 02 03 04 0 (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	05 06 07 08 09 12
BOISE, ID 83701-0829  OBJECTION: WOEMPNER, CARLA  (ATTY) SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL  PO BOX 829  DOLOR DO SON 829	
BOISE, ID 83701-0829 CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	

253 3RD AVE TWIN FALLS,				II	WT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07573	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07573	11/28/2014		FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07573	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07573	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	ID 83301			IWT040	
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, E PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE	Water Source:	GROUND WATER
93-07573	11/28/2014		MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07574	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07574	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

	ID 83301				WT040	
REGIST SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07574	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07574	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07574	11/28/2014	(ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

	ENUE NORTH ID 83301			I	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07574		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07574	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07574	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07574	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

WIN FALLS,	ENUE NORTH , ID 83301	T TOW OHOUTHO	ALL OR TROUTONS AND DESPONSES. F		VTO40	1/01/0014 MUDI 11/00/0014
	DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
3-07575	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07575	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07575	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07575	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE		3	ION DOCKET SHEET	IWT040	
	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
93-07575			KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL		
		CLAIMANT:	PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR	Water Source:	GROUND WATER
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07575	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07575	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07575	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH	ver najaareae	ION BOOKET UNEET	IWT040	11102. 111
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07575	11/28/2014	RESPONSE: (ATTY)	ENVIRONMENT & NAIL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		(A'I'I'Y)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07576	11/13/2014	(ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO	Issues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOTSE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07576	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,		-	ION BOCKET SHEET	I	WT040	
REGIS SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			11/01/2014 THRU 11/30/2014.
	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07576	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07576	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07576	11/28/2014	(ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE	NUE NORTH	er najaareae	IOII DOCKET SHEET		VT040	11101. 110
REGIS'	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
	11/28/2014	RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07576	11/28/2014	(ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE. ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07576	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07576	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVEN TWIN FALLS,	UE NORTH	ver najuareae	ION DOCKET SHEET	IWT040	11101. 444
REGIST	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, I PARTIES INVOLVED		
93-07577	11/13/2014	RESPONSE:			s: 01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	e: GROUND WATER
93-07577	11/24/2014		HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issue	s: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source	e: GROUND WATER
93-07577	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issue	s: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	e: GROUND WATER
93-07577	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issue:	s: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 83724	Water Source	e: GROUND WATER
			BOISE, ID 83724		

253 3RD AVE	NUE NORTH			IWT040	
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	OR THE PERIOD	
93-07577	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 83724		
93-07577	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07577	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07577	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE		2		IWT040	
SUBCASE#	TER OF ACTION		G ALL OBJECTIONS AND RESPONSES, E PARTIES INVOLVED	FOR THE PERIOD 1	
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOY 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07577	11/28/2014		MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE ID 83720-0010		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07578	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07578	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
			STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH			IWT040	
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR PARTIES INVOLVED		
93-07578	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR WE US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07578	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR Was US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	ater Source:	GROUND WATER
93-07578	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR WAS DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	ater Source:	GROUND WATER
93-07578	11/28/2014		FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR WAS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	ater Source:	GROUND WATER
			20102/ 10 00/21		

253 3RD AVE	NUE NORTH		ION DOCKET SHEET	IV	VT040	PAGE: 448
REGIS SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
93-07578	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07578	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07578	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07578	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

WIN FALLS,	ENUE NORTH , ID 83301	T TOW OHOUTING	ALL OR TROUTONS AND DESPONSES. F		TO40	1/01/0014 MUDI 11/00/0014
	DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
3-07579	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
-07579	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07579	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07579	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,		.01 110,001000	10.1 2001.21 511221	IV	VT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			1/01/2014 THRU 11/30/2014.
93-07579	11/28/2014		KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07579	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07579	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07579	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	ID 83301	_		IWT040	
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE		
93-07579	11/28/2014		MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07580	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LIP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07580	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE	NUE NORTH	rei Adjudicat	TOIL DOCKET SHEET		WT040	INGE. 132
SUBCASE#	TER OF ACTION DATE FILED					1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07580	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07580	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, TD 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07580	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Wa+a	Source:	CDOUND WATED
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water	source:	GROUND WATER

253 3RD AVE FWIN FALLS,			IWT040	
REGIS	TER OF ACTION		G ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. PARTIES INVOLVED	
93-07580		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S ISSUES: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	
93-07580	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS ISSUES: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	
93-07580	11/28/2014		BOISE, ID 83724 SCOTT, ANDREW & HEATHER ISSUES: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE ID 83701-0829	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
		(ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN ISSUES: 01 02 03 04 05 06 07 08 09 12	
93-07580	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN ISSUES: 01 02 03 04 05 06 07 08 09 12  MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720	
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	

53 3RD AVE WIN FALLS,	ENUE NORTH ID 83301			IV	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
-07581	11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
-07581	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
-07581	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07581	11/28/2014		BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH	J		IWT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F		
93-07581	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	GROUND WATER
93-07581	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07581	11/28/2014	(ATTI)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07581	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	GROUND WATER
			,		

253 3RD AVE		2		IWT040	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL DO BOY 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07581	11/28/2014		MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE ID 83720-0010		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07582	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07582	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
			STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVEN	UE NORTH	rei Adjudicat	TOIL DOCKET SHEET		WT040	INGE. 137
SUBCASE#	PER OF ACTION DATE FILED					1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07582	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07582	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, TD 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 83724			
93-07582	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)  CLAIMANT:	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR	Ma+o~	Source:	CDOUND WATED
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water	Source:	GNOUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH TD 83301		IWT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. PARTIES INVOLVED	
93-07582		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S ISSUES: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	
93-07582	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS Issues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	
93-07582	11/28/2014		BOISE, ID 83724 SCOTT, ANDREW & HEATHER ISsues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE ID 83701-0829	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
		(ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN ISSUES: 01 02 03 04 05 06 07 08 09 12	
93-07582	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN Issues: 01 02 03 04 05 06 07 08 09 12  MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720	
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	

53 3RD AVE WIN FALLS,	NUE NORTH ID 83301	3	ION DOCKET SHEET	IV	VT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
3-07583	11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
-07583	11/24/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
-07583	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07583	11/28/2014		EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	ENUE NORTH			IV	T040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			
93-07583	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07583	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07583	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07583	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	ID 83301	_		IWT040	
REGIS SUBCASE#	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE		
93-07583	11/28/2014		MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE ID 83720-0010		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07584	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LIP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07584	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

TWIN FALLS, ID 83301 REGISTER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30, SUBCASE# DATE FILED PARTIES INVOLVED  93-07584 11/28/2014 RESPONSE: PINEHURST WATER DISTRICT ISSUES: 01 02 03 04 05 06 0'  (ATTY) PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 OBJECTION: WOCMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER UN DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  93-07584 11/28/2014 RESPONSE: EAST SHOSHONE COUNTY WATER ISSUES: 01 02 03 04 05 06 0' SEMANKO, NORMAN M SEMANKO, NORMAN M SEMANKO, NORMAN M SEMANKO, NORMAN M SEMANKO, NORMAN M SEMANKO, NORMAN M SEMANKO, NORMAN M SEMANKO, NORMAN M SEMANKO, NORMAN M SEMANKO, NORMAN M SEMANKO, NORMAN M	
(ATTY) PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861  OBJECTION: WOEMPNER, CARLA (ATTY) WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER (ATTY) UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  93-07584 11/28/2014 RESPONSE: EAST SHOSHONE COUNTY WATER ISSUES: 01 02 03 04 05 06 0	7 08 09 12
OBJECTION: WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER (ATTY) UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  93-07584 11/28/2014 RESPONSE: EAST SHOSHONE COUNTY WATER ISSUES: 01 02 03 04 05 06 0	
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  (ATTY) US DEPARTMENT OF JUSTICE  ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  93-07584 11/28/2014 RESPONSE: EAST SHOSHONE COUNTY WATER ISSUES: 01 02 03 04 05 06 07  (ATTY) SEMANKO, NORMAN M	
93-07584 11/28/2014 RESPONSE: EAST SHOSHONE COUNTY WATER ISSUES: 01 02 03 04 05 06 07 (ATTY) SEMANKO, NORMAN M	
101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, 1D 83701-0829	7 08 09 12
OBJECTION: WOEMPNER, CARLA  (ATTY) SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL  PO BOX 829  BOISE, ID 83701-0829	
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  (ATTY) US DEPARTMENT OF JUSTICE  ENVIRONMENT & NATL' RESOURCES  550 WEST FORT STREET, MSC 033	
BOISE, ID 83724 93-07584 11/28/2014 RESPONSE: KELLOGG SCHOOL DISTRICT ISsues: 01 02 03 04 05 06 0' SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	7 08 09 12
OBJECTION: WOEMPNER, CARLA  (ATTY) SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL  PO BOX 829  BOISE, ID 83701-0829	
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	
93-07584 11/28/2014 RESPONSE: FERNWOOD WATER & SEWER DIST ISSUES: 01 02 03 04 05 06 07 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 OBJECTION: WOEMPNER, CARLA	7 08 09 12
(ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  (ATTY) US DEPARTMENT OF JUSTICE  ENVIRONMENT & NATL' RESOURCES  550 WEST FORT STREET, MSC 033  BOISE, ID 83724	

253 3RD AVE TWIN FALLS,	NUE NORTH			IWT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR	OR THE PERIOD :	
93-07584		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOY 829		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07584	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724		
93-07584	11/28/2014		SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN	Water Source:	GROUND WATER
93-07584	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVEN	UE NORTH	ver Adjudicat	ION BOCKET SHEET	IWT040	INGE. TOT
REGIST	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, I PARTIES INVOLVED		
93-07585	11/13/2014	RESPONSE:			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07585	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07585	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07585	11/28/2014		101 S CAPITOL BLVD 10TH FL	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
			DOIDH, ID 03/24		

253 3RD AVE TWIN FALLS,	NUE NORTH			IV	WT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07585	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	BOISE, ID 83/01-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07585	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07585	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07585	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVEN		3		IWT040	
SUBCASE#	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	FOR THE PERIOD 1	
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN		
93-07585	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 83724	Water Source:	GROUND WATER
93-07586	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07586	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,				II	WT040	
REGIS SUBCASE#	TER OF ACTION	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07586	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07586	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07586	11/28/2014	(ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	ENUE NORTH , ID 83301			II	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07586		RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07586	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07586	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07586	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

53 3RD AVE WIN FALLS,	NUE NORTH ID 83301			IV	WT040	
	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			
3-07587	11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
S-07587	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
-07587	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07587	11/28/2014		BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,				IWT040	
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F		
93-07587		RESPONSE:	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	: GROUND WATER
93-07587	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07587	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	: GROUND WATER
93-07587	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	: GROUND WATER

253 3RD AVE TWIN FALLS,	ENUE NORTH ID 83301			ΙV	VT040	
REGIS SUBCASE#	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07587	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H	Water	Source:	GROUND WATER
93-07587	11/28/2014	RESPONSE: (ATTY)	BALDWÍN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07588	11/13/2014	(A'I'IY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07588	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE	NUE NORTH	rei Adjudicat	TOTE DOCKET SHEET		WT040	INDE. 1/2
SUBCASE#	TER OF ACTION DATE FILED					1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07588	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07588	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07588	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	₩ <b>ɔ</b> +o	Source:	CDOUND WATED
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water	source:	GROUND WATER

253 3RD AVE TWIN FALLS,	ENUE NORTH			II	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07588		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07588	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07588	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07588	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVEN	UE NORTH	vei Aujudicac	ION DOCKET SHEET	IWT040	INGE. 4/4
REGIST	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, I PARTIES INVOLVED		
93-07589	11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issue:	s: 01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	e: GROUND WATER
93-07589	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issue	s: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source	e: GROUND WATER
93-07589	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issue	s: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source	e: GROUND WATER
93-07589	11/28/2014		101 S CAPITOL BLVD 10TH FL	Issues	s: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source	e: GROUND WATER
			ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		

253 3RD AVŁ TWIN FALLS,	NUE NORTH			IWT040	
	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F		
93-07589		RESPONSE:			: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	: GROUND WATER
93-07589	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07589	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	: GROUND WATER
93-07589	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	: GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH			IWT040	
REGIS SUBCASE#	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
			UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07589	11/28/2014	(AIII)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720 STATE OF IDAHO	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07590	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07590	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE	NUE NORTH	rei Adjudicat	TOIL DOCKET SHEET		WT040	INGE. 4//
SUBCASE#	TER OF ACTION DATE FILED					1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07590	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07590	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, TD 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
93-07590	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)  CLAIMANT:	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR	Water	Source	CDOLIND WATER
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water	Source:	GROUND WATER

253 3RD AVE		or majaaroad			T040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			
93-07590		RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07590	11/28/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07590	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724	Water	Source:	GROUND WATER
93-07590	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

53 3RD AVE WIN FALLS,	NUE NORTH ID 83301			71	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
3-07591	11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
-07591	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
-07591	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07591	11/28/2014		BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH			IV	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07591	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07591	11/28/2014		FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07591	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07591	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE		2		IWT040	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL DO BOY 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07591	11/28/2014		MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE ID 83720-0010		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07592	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07592	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
			STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH	or majaaroas		IV	VT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR PARTIES INVOLVED			
93-07592	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861			
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07592	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07592	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07592	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Wakan	C	CDOUND WATER
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water	source:	GROUND WAILK

253 3RD AVENTWIN FALLS,	NUE NORTH	er najaareae.	ION DOCKET SHEET		VT040	11102. 100
REGIS:	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
	11/28/2014	RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07592	11/28/2014	(ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE. ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07592	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(A'I'I'Y)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
93-07592	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

53 3RD AVE WIN FALLS,	NUE NORTH ID 83301		ION DOCKET SHEET	II	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			
3-07593	11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
-07593	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
-07593	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07593 11/28/2014	11/28/2014		EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVEN TWIN FALLS,				ΙV	VT040	
REGIST	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			1/01/2014 THRU 11/30/2014.
93-07593	11/28/2014		KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07593	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07593	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07593	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE		2		IWT040	
SUBCASE#	TER OF ACTION		G ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOY 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07593	11/28/2014		MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE ID 83720-0010		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07594	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07594	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
			BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE ID 83720-0010		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH	or majaaroas		IV	VT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			
93-07594	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861			
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07594	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07594	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07594	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	T-T-1	0	CDOUND MATTER
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water	source:	GROUND WATER

253 3RD AVEN TWIN FALLS,	UE NORTH	ver hajuareae	ION BOCKET SHEET	IWT040	1701. 400
REGIST	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		
93-07594	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07594	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
			SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOTSE, TD 83701-0829		
			UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 SCOTT, ANDREW & HEATHER	Water Source:	GROUND WATER
93-07594	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOTSE, TD 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOTSE. ID 83724	Water Source:	GROUND WATER
93-07594	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVEN	NUE NORTH	ver Aujudicac	ION DOCKET SHEET	IWT040	INGE. 409
REGIST	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, I PARTIES INVOLVED		
93-07595	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07595	11/24/2014	(ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07595	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07595	11/28/2014	RESPONSE: (ATTY)	101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
			BOISE, ID 83724		

			II		
		PARTIES INVOLVED			
11/28/2014	RESPONSE:	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	101 S CAPITOL BLVD 10TH FL PO BOX 829			
	(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
	R OF ACTION DATE FILED	R OF ACTION LIST SHOWING DATE FILED  11/28/2014 RESPONSE: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)	R OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, F DATES INVOLVED  11/28/2014  RESPONSE: KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  OBJECTION: WOEMPRER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  RESPONSE: RATTY)  OBJECTION: WOEMPRER, CARLA (ATTY)  RESPONSE: FERNWOOD WATER & SEWER DIST PAYNE, DOUGLASP STREET, MSC 033 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83701-0829  CLAIMANT: WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: WINTED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES SOUBLEST FORT STREET, MSC 033 BOISE, ID 83701-0829  CLAIMANT: WINTED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES SOUBLEST FORT STREET, MSC 033 BOISE, ID 83701-0829  CLAIMANT: WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: WOEMPNER, CARLA SEMANK	R OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE DATE FILED	R OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 1 DATE FILED  PARTIES INVOLVED  11/28/2014  RESPONSE: KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLUD 10TH FL PO BOX 829  OBJECTION: WOMENER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLUD 10TH FL PO BOX 829  CLAIMANT: WOMENER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLUD 10TH FL PO BOX 829  CLAIMANT: WINITED STATES OF AMERICA AS TR Water Source:  WINIRONMENT & NATL' RESOURCES SO WEST FORT STREET, MSC 033 BOISE, ID 83701-0829  CLAIMANT: WOMENER, CARLA (ATTY) PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83361  OBJECTION: WOMENER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLUD 10TH FL PO BOX 829  CLAIMANT: WINITED STATES OF AMERICA AS TR Water Source:  (ATTY) W SEPARATMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES SO WEST FORS STREET, MSC 033 BOISE, ID 83701-0829  CLAIMANT: WINITED STATES OF AMERICA AS TR Water Source:  (ATTY) W SEPARATMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES SOURCES SOURCES SOURCES SOURCES FOR STREET, MSC 033 BOISE, ID 83701-0829  CLAIMANT: WINITED STATES OF AMERICA AS TR Water Source:  (ATTY) W SEPARATMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES SOURCES FOR STREET, MSC 033 BOISE, ID 83701-0829  CLAIMANT: WINITED STATES OF AMERICA AS TR Water Source:  (ATTY) W SEMANKO, NORMAN M 101 S CAPITOL BLUD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: WINITED STATES OF AMERICA AS TR Water Source:  (ATTY) W SEMANKO, NORMAN M 101 S CAPITOL BLUD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: WINITED STATES OF AMERICA AS TR Water Source:  (ATTY) W SEMANKO, NORMAN M 101 S CAPITOL BLUD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: WOMENER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLUD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: WOMENER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLUD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: WATER AND AND AND AND AND AND AND AND AND AND

253 3RD AVE TWIN FALLS,	ID 83301			IWT040	
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, E PARTIES INVOLVED		L1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE		
93-07595	11/28/2014		MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07596	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07596	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH		IWT040
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. PARTIES INVOLVED
93-07596	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT
		OBJECTION: (ATTY)	
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033
93-07596	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER ISsues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033
93-07596	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT ISSUES: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
93-07596	11/28/2014		FERNWOOD WATER & SEWER DIST Issues: 01 02 03 04 05 06 07 08 09 12 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
			20102, 12 00.21

253 3RD AVE TWIN FALLS,		.01 110,001000	IWT040
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. PARTIES INVOLVED
93-07596		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S ISSUES: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
93-07596	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS Issues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033
93-07596	11/28/2014		BOISE, ID 83724 SCOTT, ANDREW & HEATHER ISSUES: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE ID 83701-0829
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		(ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN ISSUES: 01 02 03 04 05 06 07 08 09 12
93-07596	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN Issues: 01 02 03 04 05 06 07 08 09 12  MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724

	OF ACTION	LIST SHOWING	ALL OBTECHTONS AND DESDONSES I			
	AID FIDED		PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
93-07597 1	1/13/2014	RESPONSE:				01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07597 1	1/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07597 1	1/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07597 1	1/28/2014		BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,				IWT040	
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F		
93-07597		RESPONSE:	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	: GROUND WATER
93-07597	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07597	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	: GROUND WATER
93-07597	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	: GROUND WATER

253 3RD AVE		2		IWT040	
SUBCASE#	TER OF ACTION		G ALL OBJECTIONS AND RESPONSES, E PARTIES INVOLVED		
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOY 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07597	11/28/2014		MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE ID 83720-0010		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07598	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07598	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
			STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	ENUE NORTH		IWT040
	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. PARTIES INVOLVED
93-07598	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033
93-07598	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER ISSUES: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033
93-07598	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT Issues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	
93-07598	11/28/2014		FERNWOOD WATER & SEWER DIST ISSUES: 01 02 03 04 05 06 07 08 09 12 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724

253 3RD AVE		or majaaroas			T040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			
93-07598		RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07598	11/28/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07598	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724	Water	Source:	GROUND WATER
93-07598	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	ENUE NORTH			IWT040		
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			30/2014.
93-07599		RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issu	es: 01 02 03 04 05 06	07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sour	ce: GROUND WATER	
93-07599	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issu	es: 01 02 03 04 05 06	07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sour	ce: GROUND WATER	
93-07599	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861	Issu	es: 01 02 03 04 05 06	07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Sour	ce: GROUND WATER	
93-07599	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issu	es: 01 02 03 04 05 06	07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sour	ce: GROUND WATER	

253 3RD AVE	NUE NORTH		IOII DOCKET SHEET	IWT040	
TWIN FALLS, REGIS: SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
93-07599	11/28/2014		KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL		
		CLAIMANT:	PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR	Water Source:	GROUND WATER
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07599	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07599	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07599	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH	ver najaareae	ION BOOKET UNEET	IWT040	11102. 301
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F		
	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(A'I'I'Y)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07599	11/28/2014	RESPONSE: (ATTY)	ENVIRONMENT & NAIL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07600	11/13/2014	(ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO	Issues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE. ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07600	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH		IWT040	
	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/PARTIES INVOLVED	2014.
93-07600	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT ISSUES: 01 02 03 04 05 06 07 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	
93-07600	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 POLICE TR 92701 0920	08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	
93-07600	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT Issues: 01 02 03 04 05 06 07 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	
93-07600	11/28/2014		FERNWOOD WATER & SEWER DIST ISSUES: 01 02 03 04 05 06 07 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	
			·	

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 503 253 3RD AVENUE NORTH IWT040

UE NORTH			IWT040	
TER OF ACTION DATE FILED		PARTIES INVOLVED	OR THE PERIOD 1	11/01/2014 THRU 11/30/2014.
		SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
	(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
	CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES	Water Source:	GROUND WATER
11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
11/28/2014		SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
	(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
	CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
	ID 83301 FER OF ACTION DATE FILED	ID 83301 PER OF ACTION LIST SHOWING DATE FILED  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)	DR 83301	ID 83301 ERR OF ACTION LIST SHOWING PARTIES INVOLVED  11/28/2014 RESPONSE: SHOSHORE COUNTY SPORTSMEN'S ISSUES: SEMANKO, MORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOILD BOX 829 BOX 820 BOX 820 BOX 820 BOX 820 BOX 820 BOX 820 BOX 820 BOX 820 BOX 820 BOX 820 BOX 820

53 3RD AVE WIN FALLS,	NUE NORTH ID 83301			71	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
3-07601	11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
-07601	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
-07601	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
-07601	11/28/2014		BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,				IV	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07601	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07601	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07601	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07601	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

JBCASE#	DATE FILED		PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
3-07601	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE	Water Source:	GROUND WATER
-07601	11/28/2014		MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
-07602	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
			UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 HAGADONE HOSPITALITY CO	Water Source:	GROUND WATER
-07602	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)		Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,		2	ION BOCKET SHEET	II	WT040	
REGIS SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			L1/01/2014 THRU 11/30/2014.
	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07602	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07602	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, TD 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07602	11/28/2014	(ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH	, or 11a, aaroac	ION BOCKET SHEET	IWT040	21.02 <b>.</b> 000
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1	
93-07602	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07602	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
			BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07602	11/28/2014	RESPONSE: (ATTY)	550 WEST FORT STREET, MSC 033 BOISE, ID 83724 SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07602	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

WIN FALLS,	ENUE NORTH ID 83301				TT040	. ( (
	STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07603	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07603	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07603	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07603	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 510 253 3RD AVENUE NORTH IWT040

253 3RD AVE		2	IWT040
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. PARTIES INVOLVED
93-07603	11/28/2014		KELLOGG SCHOOL DISTRICT ISSUES: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
93-07603	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST ISSUES: 01 02 03 04 05 06 07 08 09 12 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
93-07603	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S Issues: 01 02 03 04 05 06 07 08 09 12  SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL PO BOX 829  BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
93-07603	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS Issues: 01 02 03 04 05 06 07 08 09 12  SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL  PO BOX 829  BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724

253 3RD AVE	NUE NORTH		ion booker oneer	IWT040	
REGIS' SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		) 11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		s: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN MEYER CHRISTORHER H	Water Source	: GROUND WATER
93-07603	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues	e: 01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07604	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues	s: 01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	: GROUND WATER
93-07604	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues	s: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	: GROUND WATER

253 3RD AVE	NUE NORTH	rei Adjudicat	TOIL DOCKET SHEET		WT040	INGE. JIZ
SUBCASE#	TER OF ACTION DATE FILED					1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07604	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07604	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, TD 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07604	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	M2+2	Source:	CDOUND WATER
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water	source:	GROUND WAIER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 513 253 3RD AVENUE NORTH IWT040

253 3RD AVE		2		II	WT040	
SUBCASE#	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	OR THE	PERIOD 1	.1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07604	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07604	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)		Water	Source:	GROUND WATER
93-07604	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

SS SED AVE WIN FALLS,	NUE NORTH ID 83301			ΙV	T040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
3-07605	11/13/2014	RESPONSE:				01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
-07605	11/24/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
-07605	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07605	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE	NUE NORTH	or majaaroas	10.1 2001.21 511221	IWT040	0
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		IOD 11/01/2014 THRU 11/30/2014.
93-07605	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		ues: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sour	rce: GROUND WATER
93-07605	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issu	ues: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07605	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issu	ues: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sour	rce: GROUND WATER
93-07605	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issu	ues: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sour	rce: GROUND WATER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 516 253 3RD AVENUE NORTH IWT040

253 3RD AVE	NUE NORTH			IWT040	
SUBCASE#	TER OF ACTION		G ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	FOR THE PERIOD 1	11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07605	11/28/2014	(ATTY)	MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07606	11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07606	11/24/2014	(ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE	NUE NORTH	rei Adjudicat	TOIL DOCKET SHEET		WT040	INGE. JIT
SUBCASE#	TER OF ACTION DATE FILED					1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07606	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07606	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, TD 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07606	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	M2+2	Source:	CDOUND WATED
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water	source:	GROUND WAIER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 518 253 3RD AVENUE NORTH IWT040

253 3RD AVE		2		ΙV	VT040	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	OR THE	PERIOD 1	1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07606	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
93-07606	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)		Water	Source:	GROUND WATER
93-07606	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

53 3RD AVE WIN FALLS,	NUE NORTH ID 83301			7I	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
-07607	11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
-07607	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
-07607	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07607	11/28/2014		BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVEI TWIN FALLS,				IWT040	
REGIST	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
93-07607			KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07607	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL		
		CLAIMANT: (ATTY)	PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07607	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07607	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER

253 3RD AVE		3		7I	WT040	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F	OR THE	PERIOD 1	11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07607	11/28/2014	(ATTY)	MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07608	11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07608	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE		01 110,001000		IWT		11.021
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
93-07608		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	I	ssues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water S	Source:	GROUND WATER
93-07608	11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	I	ssues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
93-07608	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	I	ssues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
93-07608	11/28/2014	(ATTY) OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA	I	ssues:	01 02 03 04 05 06 07 08 09 12
		(ATTY) CLAIMANT:	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR	Water S	Source:	GROUND WATER
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			

253 3RD AVE		or majaaroad			VT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			
93-07608		RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07608	11/28/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07608	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724	Water	Source:	GROUND WATER
93-07608	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

93-07609 11/13/2014 RESPONSE: AVISTA (ATTY) SCHROED	INVOLVED		1/01/2014 THRU 11/30/2014.
93-07609 11/13/2014 RESPONSE: AVISTA (ATTY) SCHROED			
PAINE H	CORPORATION ER, WILLIAM J AMBLEN LLP PRAGUE AVE, STE 1200 , WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
OBJECTION: STATE O (ATTY) CHIEF N OFFICE STATE O PO BOX	F IDAHO ATURAL RESOURCES DIV OF THE ATTORNEY GENERAL F IDAHO		
CLAIMANT: UNITED (ATTY) US DEPA ENVIRON 550 WES	ID 83/20-0010 STATES OF AMERICA AS TR W: RTMENT OF JUSTICE MENT & NATL' RESOURCES T FORT STREET, MSC 033 ID 83724	Jater Source:	GROUND WATER
93-07609 11/24/2014 RESPONSE: HAGADON LAWRENC 601 W B PO BOX BOISE,	E HOSPITALITY CO E, MICHAEL P ANNOCK ST 2720 ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
OBJECTION: STATE O  (ATTY) CHIEF N  OFFICE  STATE O  PO BOX	F IDAHO ATURAL RESOURCES DIV OF THE ATTORNEY GENERAL F IDAHO		
CLAIMANT: UNITED (ATTY) US DEPA ENVIRON 550 WES	STATES OF AMERICA AS TR WARTMENT OF JUSTICE MENT & NATL' RESOURCES T FORT STREET, MSC 033	later Source:	GROUND WATER
ST MART	DOUGLAS P. OLLAGE ST STE 201 ES. ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
OBJECTION: WOEMPNE (ATTY) SEMANKO 101 S C PO BOX BOISE.	R, CARLA , NORMAN M APITOL BLVD 10TH FL 829 ID 83701-0829		
CLAIMANT: UNITED (ATTY) US DEPA ENVIRON 550 WES	STATES OF AMERICA AS TR WORTHENT OF JUSTICE MENT & NATL' RESOURCES T FORT STREET, MSC 033	Jater Source:	GROUND WATER
93-07609 11/28/2014 RESPONSE: EAST SH (ATTY) SEMANKO 101 S C	APITOL BLVD 10TH FL	Issues:	01 02 03 04 05 06 07 08 09 12
PO BOX	, NORMAN M APITOL BLVD 10TH FL 829		
CLAIMANT: UNITED (ATTY) US DEPA ENVIRON 550 WES	ID 83701-0829 STATES OF AMERICA AS TR WARTHENT OF JUSTICE MENT & NATL' RESOURCES T FORT STREET, MSC 033 ID 83724	Jater Source:	GROUND WATER

53 3RD AVE WIN FALLS,	ID 83301	TIOM CHOWING	ALL OD TECHTONS AND DESDONSES. I		WT040	1/01/2014 munu 11/20/2014
UBCASE#	DATE FILED		ALL OBJECTIONS AND RESPONSES, E PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07609	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
3-07609	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07609	11/28/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE		2		IWT040	
SUBCASE#	TER OF ACTION		G ALL OBJECTIONS AND RESPONSES, E PARTIES INVOLVED		
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOY 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07609	11/28/2014		MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE ID 83720-0010		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07610	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07610	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
			BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE ID 83720-0010		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE	NUE NORTH	rei Adjudicat	TOIL DOCKET SHEET		WT040	INGE. J27
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07610	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07610	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, TD 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07610	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)  CLAIMANT:	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR	Wa+o∽	Source:	CDOUND WATED
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water	Source:	GNOUND WATER

253 3RD AVE		or majaaroad			T040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			
93-07610		RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07610	11/28/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07610	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724	Water	Source:	GROUND WATER
93-07610	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE	NUE NORTH	rei Adjudicat	IOII DOCKET SHEET		VT040	INGE. J2J
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
93-07611	11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07611	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07611	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07611	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,				IV	WT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07611	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07611	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07611	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07611	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE	NUE NORTH	ver Adjudicat.	ion DOCKET SHEET		08/14 WT040	PAGE: 531
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			11/01/2014 THRU 11/30/2014.
3-07611			SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN	Water	Source:	GROUND WATER
3-07611	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07612	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07612	11/24/2014	RESPONSE: (ATTY)	LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOLSE ID 83720-0010			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,		3	ION BOCKET SHEET	II	WT040	
REGIS SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			L1/01/2014 THRU 11/30/2014.
	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07612	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07612	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, TD 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07612	11/28/2014	(ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH		ION BOCKET SHEET		WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, E			
	11/28/2014	RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07612	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07612	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOY 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
93-07612	11/28/2014	RESPONSE: (ATTY)	BALDWÍN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVENUE NORTH TWIN FALLS, ID 83301				IWT040					
REGIS	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED						
93-07613	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11			
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720						
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER			
3-07613	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12			
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010						
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER			
93-07613	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12			
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829						
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER			
3-07613	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829						
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER			

253 3RD AVE TWIN FALLS,				IV	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07613	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07613	11/28/2014		FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07613	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07613	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH	3	TON BOOKET BREET	IWT040	
REGIS SUBCASE#	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE		
93-07613	11/28/2014		MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE ID 83720-0010		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07614	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LIP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07614	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE	NUE NORTH	rei Adjudicat	TOIL DOCKET SHEET		WT040	1AGE. 337
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07614	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07614	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, TD 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07614	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	M2+2	Source:	CDOUND WATER
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water	source:	GROUND WAILK

253 3RD AVE TWIN FALLS,	ENUE NORTH ID 83301			II	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07614		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07614	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07614	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07614	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVENUE NORTH TWIN FALLS, ID 83301					IWT040					
REGIS	STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED							
93-07615	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11				
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720							
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER				
93-07615	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12				
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010							
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER				
93-07615	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12				
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829							
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER				
93-07615	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12				
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829							
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER				

53 3RD AVE WIN FALLS,	ID 83301			IWT040	
JBCASE#	DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		.1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)			01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
-07615	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 83724		
-07615	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
3-07615	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH ID 83301	3	ION DOCKET DIEBT	IWT040	
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, E PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE		
93-07615	11/28/2014		MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07616	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07616	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVEN	NUE NORTH	ver najuareae	ION DOCKET SHEET	IWT040	1101. 342
TWIN FALLS, REGIST SUBCASE#		LIST SHOWING	ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07616	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07616	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE. ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07616	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Walan Gara	CDOUND WATER
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,		_		I	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07616		RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07616	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07616	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07616	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

53 3RD AVE WIN FALLS,	NUE NORTH ID 83301			II	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
3-07617	11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07617 11/24/2014	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
-07617	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07617	11/28/2014		BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,				IV	WT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07617	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07617	11/28/2014		FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
3-07617	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07617	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE ID 83701-0829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE		2		IWT040	
SUBCASE#	TER OF ACTION		G ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOY 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07617	11/28/2014		MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE ID 83720-0010		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 83724	Water Source:	GROUND WATER
93-07618	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07618	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
			STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE	NUE NORTH	rei Adjudicat	TOTE DOCKET SHEET		WT040	INGE. Jan
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07618	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07618	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
93-07618	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)  CLAIMANT:	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR	Water	Source	CDOLIND MATER
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water	Dource.	GROOM WITH

253 3RD AVE TWIN FALLS,	NUE NORTH	, , , , , , , , , , , , , , , , , , , ,		ĬĬ	VT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		PERIOD 1	
93-07618		RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07618	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07618	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07618	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

WIN FALLS,	NUE NORTH ID 83301				T040	
REGIS	STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
3-07619	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07619	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07619	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07619	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVŁ TWIN FALLS,	NUE NORTH			IWT040	
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F		
93-07619		RESPONSE:			s: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	e: GROUND WATER
93-07619	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues	s: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07619	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues	s: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source	e: GROUND WATER
93-07619	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues	s: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	e: GROUND WATER

253 3RD AVEN	NUE NORTH	ver Adjudicat.	ion DOCKET SHEET		08/14 WT040	PAGE: 551
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			11/01/2014 THRU 11/30/2014.
3-07619			SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN	Water	Source:	GROUND WATER
3-07619	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07620	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07620	11/24/2014	RESPONSE: (ATTY)	LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOLSE ID 83720-0010			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 552 253 3RD AVENUE NORTH IWT040

253 3RD AVE	ENUE NORTH , ID 83301		IWT040
REGIS	STER OF ACTION		G ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. PARTIES INVOLVED
93-07620		RESPONSE:	PINEHURST WATER DISTRICT ISSUES: 01 02 03 04 05 06 07 08 09 12 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
93-07620	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER ISSUES: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		(ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033
93-07620	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT ISsues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		(ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
93-07620	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST ISSUES: 01 02 03 04 05 06 07 08 09 12 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724

253 3RD AVE TWIN FALLS,				I	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			
93-07620		RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07620	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07620	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07620	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

WIN FALLS,	NUE NORTH ID 83301				TO40	
REGIS	STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07621	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07621	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07621	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07621	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVEN TWIN FALLS,				ΙV	VT040	
REGIST	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			1/01/2014 THRU 11/30/2014.
93-07621			KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07621	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07621	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07621	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

BCASE#			PARTIES INVOLVED			
-07621	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
			BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
07621	11/28/2014	RESPONSE: (ATTY)	MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
07622	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 HAGADONE HOSPITALITY CO	Water	Source:	GROUND WATER
07622	11/24/2014	(ATTY)	LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER

TWIN FALLS,	NUE NORTH			II	WT040	
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07622	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07622	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07622	11/28/2014	(ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 558 253 3RD AVENUE NORTH IWT040

253 3RD AVE				IWT040	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		
	11/28/2014		SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07622	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07622	11/28/2014		SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07622	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

WIN FALLS,	NUE NORTH ID 83301				IT040	
REGIS	STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07623	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07623	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07623	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07623	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVENTURE TWIN FALLS,				IV	VT040	
REGIST	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			1/01/2014 THRU 11/30/2014.
93-07623	11/28/2014		KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)		Water	Source:	GROUND WATER
93-07623	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07623	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07623	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	ENUE NORTH , ID 83301			IW	T040	
REGIS SUBCASE#	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07623	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	-	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H	Water S	Source:	GROUND WATER
93-07623	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	<u>-</u>	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
93-07624	11/13/2014	(A'I'IY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	<u>-</u>	Issues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water S	Source:	GROUND WATER
93-07624	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	<u>-</u>	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water S	Source:	GROUND WATER

253 3RD AVE	NUE NORTH	rei Adjudicat	TOTE DOCKET SHEET		WT040	1AGE: 302
SUBCASE#	TER OF ACTION DATE FILED					1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07624	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07624	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07624	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)  CLAIMANT:	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR	Water	Source	CDOLIND MATER
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water	bource.	GROOM WITH

253 3RD AVE TWIN FALLS,	ENUE NORTH TD 83301			I	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07624		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07624	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07624	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07624	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

53 3RD AVE WIN FALLS,	NUE NORTH ID 83301			71	WT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
3-07625	11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
-07625	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
-07625	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07625	11/28/2014		BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,				IWT040	
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F		
93-07625		RESPONSE:	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		s: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	e: GROUND WATER
93-07625	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issue	s: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07625	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issue	s: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	e: GROUND WATER
93-07625	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issue	s: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	e: GROUND WATER

253 3RD AVE		3		IV	WT040	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F		PERIOD 1	
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07625	11/28/2014	(ATTY)	MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07626	11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07626	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE	NUE NORTH	rei Adjudicat	TOIL DOCKET SHEET		WT040	TAGE. 307
SUBCASE#	TER OF ACTION DATE FILED					1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07626	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07626	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, TD 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
93-07626	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)  CLAIMANT:	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR	Water	Source	CDOLIND MATER
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	bource.	GROOM WITH

253 3RD AVE TWIN FALLS,		_		II	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07626		RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07626	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07626	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07626	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE FWIN FALLS,	NUE NORTH	-	ION BOCKET SHEET	IW	TO40	
REGIS'	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07627	11/13/2014	RESPONSE:				01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07627	11/24/2014		HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07627	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07627	11/28/2014		EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH			IV	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07627	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07627	11/28/2014		FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07627	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07627	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

53 3RD AVEN	NUE NORTH	ver Adjudicat	ion DOCKET SHEET		08/14 WT040	PAGE: 571
UBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			11/01/2014 THRU 11/30/2014.
			SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN	Water	Source:	GROUND WATER
3-07627	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07628	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07628	11/24/2014	RESPONSE: (ATTY)	LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOLSE ID 83720-0010			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH			I	WT040	
REGIS SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			11/01/2014 THRU 11/30/2014.
	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07628	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07628	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07628	11/28/2014	(ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	ENUE NORTH , ID 83301	_		I	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			
93-07628		RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07628	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07628	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07628	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

REGISTER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. PARTIES INVOLVED  93-07629 11/13/2014 RESPONSE: AVISTA CORPORATION SCHROEDER, WILLIAM PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99/201-3505  OBJECTION: STATE OF IDARO FOR AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83701-2720  OBJECTION: STATE OF IDARO FOR STREET, MSC 033 BOISE, ID 83701-2720  OBJECTION: STATE OF DARO FOR STREET OF STATE	IWT040	Telon bocker sheet	E NORTH	253 3RD AVENUE I TWIN FALLS, ID
93-07629 11/23/2014 RESPONSE: AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LIP 1717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 9201-3505  OBJECTION: STATE OF IDAHO OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO OFFICE OF THE ATTORNEY GENERAL STATE OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83720-0010  93-07629 11/24/2014 RESPONSE: (ATTY) CLAIMANT: (ATTY) CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83720-0010  11/24/2014 RESPONSE: HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720  OBJECTION: (ATTY) CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720  OBJECTION: STATE OF IDAHO PO BOX 83720 RESPONSE: UNIFORMENT & NATL' RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720  93-07629 11/28/2014 RESPONSE: PINEHURST WATER DISTRICT PAINE, DOUGLAS P. PINEHURST WATER DISTRICT PAINE, DOUGLAS P. PINEHURST WATER DISTRICT PAINE, DOUGLAS P. PINEHURST WATER DISTRICT PAINE, DOUGLAS P. TO WATER COULAGE P. STE 201		PARTIES INVOLVED	R OF ACTION LIST SHOWING DATE FILED	REGISTER (
OBJECTION: (ATTY)		: AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP	11/13/2014 RESPONSE:	93-07629 11,
CLAIMANT: (ATTY) UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 B015E, ID 83724  RESPONSE: HAGADONE HOSPITALITY CO ISsues: 01 02 03 04 05 06 07 08 09 12 LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 B015E, ID 83701-2720  OBJECTION: STATE OF IDAHO (ATTY) CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 B015E, ID 83720-0010  CLAIMANT: (ATTY) CLAIMANT: Water DISTRICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 B015E, ID 83724  93-07629 11/28/2014 RESPONSE: PINBERURST WATER DISTRICT ISSUES: 01 02 03 04 05 06 07 08 09 12	C	: STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERA STATE OF IDAHO PO BOX 83720		
93-07629 11/24/2014 RESPONSE: HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720  OBJECTION: STATE OF IDAHO (ATTY) OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  93-07629 11/28/2014 RESPONSE: PINEHURST WATER DISTRICT ISSUES: 01 02 03 04 05 06 07 08 09 12		: UNITED STATES OF AMERICA AS T US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  93-07629 11/28/2014 RESPONSE: PINEHURST WATER DISTRICT ISSUES: 01 02 03 04 05 06 07 08 09 12 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues: 01 02 03 04 05 06 07 08 09 12	: HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		93-07629 11,
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  (ATTY) US DEPARTMENT OF JUSTICE  ENVIRONMENT & NATL' RESOURCES  550 WEST FORT STREET, MSC 033  BOISE, ID 83724  93-07629 11/28/2014 RESPONSE: PINEHURST WATER DISTRICT ISsues: 01 02 03 04 05 06 07 08 09 12  PAYNE, DOUGLAGE ST STE 201	C C C C C C C C C C C C C C C C C C C	: STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERA STATE OF IDAHO PO BOX 83720		
(ATTY) PAYNE, DOUGLAS P. 701 W COLLEGE ST STE 201		: UNITED STATES OF AMERICA AS T US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	(ATTY)	
ST MARTES, ID 83861	Issues: 01 02 03 04 05 06 07 08 09 12	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	(ATTY)	93-07629 11,
OBJECTION: WOEMPNER, CARLA  (ATTY) SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL  PO BOX 829  BOISE, ID 83701-0829		PO BOX 829	OBJECTION: (ATTY)	
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  (ATTY) US DEPARTMENT OF JUSTICE  ENVIRONMENT & NATL' RESOURCES  550 WEST FORT STREET, MSC 033		: UNITED STATES OF AMERICA AS T US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
BOISE, ID 83724 93-07629 11/28/2014 RESPONSE: EAST SHOSHONE COUNTY WATER ISSUES: 01 02 03 04 05 06 07 08 09 12 (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues: 01 02 03 04 05 06 07 08 09 12	: EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO ROY 829		93-07629 11,
BOISE, ID 83701-0829  OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	OBJECTION: (ATTY)	
BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  (ATTY) US DEPARTMENT OF JUSTICE  ENVIRONMENT & NATL' RESOURCES  550 WEST FORT STREET, MSC 033  BOISE, ID 83724	R Water Source: GROUND WATER	: UNITED STATES OF AMERICA AS T US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		

253 3RD AVE TWIN FALLS,				IWT040	
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F		
93-07629		RESPONSE:	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07629	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07629	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07629	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH ID 83301	J	ION BOOKET BREET	IWT040	
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE		
93-07629	11/28/2014		MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07630	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LIP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07630	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

SUBCASE# DA	OF ACTION	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, F	OR THE	PERIOD 1	1/01/2014 ####################################
			PARTIES INVOLVED			1/01/2014 THRO 11/30/2014.
	./28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07630 11	./28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07630 11	/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07630 11	./28/2014	(ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,				II	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			
93-07630		RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07630	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07630	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07630	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

53 3RD AVE WIN FALLS,	NUE NORTH ID 83301			IV	VT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
3-07631	11/13/2014	RESPONSE:				01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
-07631	11/24/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
-07631	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07631 11/28/	11/28/2014		EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOTSE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH			II	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07631	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07631	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07631	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07631	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

Coeur d'Alen 253 3RD AVEN TWIN FALLS,	UE NORTH	ver Adjudicat	ion DOCKET SHEET		08/14 WT040	PAGE: 581
REGIST SUBCASE#	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, EPARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
93-07631	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
93-07632	11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07632	11/24/2014	RESPONSE: (ATTY)	LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE	NUE NORTH	rei Adjudicat	TOIL DOCKET SHEET		WT040	1AGE: 302
SUBCASE#	TER OF ACTION DATE FILED					1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07632	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07632	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, TD 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 83724			
93-07632	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)  CLAIMANT:	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR	Wa+or	Source	CROUND WATER
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water	bource.	GROOM WITH

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 583 253 3RD AVENUE NORTH IWT040

IUE NORTH			IWT040	
ER OF ACTION DATE FILED		PARTIES INVOLVED		
		SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
	(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
	CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES	Water Source:	GROUND WATER
11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
11/28/2014		SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
	(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
11/28/2014	RESPONSE: (ATTY)	MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
	(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
	CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
	DATE FILED 11/28/2014  11/28/2014  11/28/2014	TER OF ACTION LIST SHOWING DATE FILED  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)	Transfer   Carry   C	TER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD DATE FILED  11/28/2014 RESPONSE: SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOJECTION: WOEMPINER, CARLA RATTY)  10 SCAPITOL BLVD 10TH FL PO BOX 829 BOJECTION: WOEMPINER, CARLA RATTY)  10 SCAPITOL BLVD 10TH FL PO BOX 829 BOJECTION: WOEMPINER, CARLA RATTY RESOURCES: SO WEST FORT STREET, MSC 033 BOJES, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: WOEMPINER OF JUSTICE ENVIRONMENT & NATL' RESOURCES: SO WEST FORT STREET, MSC 033 BOJES, ID 83701-0829  OBJECTION: SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOJES, ID 83701-0829  OBJECTION: WOEMPINER, CARLA RATTY RESOURCES: SO WEST FORT STREET, MSC 033 BOJES, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES: SO WEST FORT STREET, MSC 033 BOJES, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES: SO WEST FORT STREET, MSC 033 BOJES, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES: SOURCES: SOURCES, ID 83701-0829  OBJECTION: WOEMPINER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOJES, ID 83701-0829  OBJECTION: WOEMPINER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOJES, ID 83701-0829  OBJECTION: WOEMPINER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOJES, ID 83701-0829  OBJECTION: WOEMPINER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOJES, ID 83701-0829  OBJECTION: WOEMPINER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOJES, ID 83701-0829  OBJECTION: WOEMPINER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 820 BOJES, ID 83701-0829  OBJECTION: WOEMPINER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 820 BOJES, ID 83701-0829  OBJECTION: WOEMPINER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD

WIN FALLS,	NUE NORTH ID 83301				TO40	
REGIS	STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
3-07633	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07633	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07633	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07633	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

TWIN FALLS,	UE NORTH			± v	TO40	
REGIST	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
93-07633	11/28/2014	RESPONSE:	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07633	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07633	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07633	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

53 3RD AVE WIN FALLS,	ID 83301			IWT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, I PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
3-07633	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA		
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
-07633	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
3-07634	11/13/2014		BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
-07634	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

	ER OF ACTION	LIST SHOWING	ALL OD TROUTONG AND DECDONORG E			
	DAIE FILED		PARTIES INVOLVED			.1/01/2014 THRU 11/30/2014.
93-07634	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07634	11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07634	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07634	11/28/2014	(ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH	ver majaareae	TON DOCKET SHEET	IWT040	11102. 000
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		
93-07634	11/28/2014	(ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07634	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07634	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		(A'I'IY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
			UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07634	11/28/2014	(ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720 STATE OF IDAHO	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE	ENUE NORTH , ID 83301			IWT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F		
93-07635		RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07635	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07635	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07635	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE		or majaaroas		IW	TT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			1/01/2014 THRU 11/30/2014.
93-07635	11/28/2014		KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07635	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07635	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07635	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

:53 3RD AVEN	NUE NORTH	ver Adjudicat	ion DOCKET SHEET		08/14 WT040	PAGE: 591
UBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			11/01/2014 THRU 11/30/2014.
			SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN	Water	Source:	GROUND WATER
3-07635	11/28/2014	RESPONSE: (ATTY)	BALDWÍN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07636	11/13/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07636	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,		3	ION BOCKET SHEET	II	WT040	
REGIS SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07636	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07636	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, TD 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07636	11/28/2014	(ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH	, 01 110, 001000		ĬĬ	VT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		PERIOD 1	
93-07636		RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07636	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07636	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07636	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

TWING FATTS	NUE NORTH ID 83301			IWT040	
REGIST	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		
93-07637	11/13/2014	RESPONSE:			: 01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	: GROUND WATER
93-07637	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source	: GROUND WATER
93-07637	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues	e: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	: GROUND WATER
93-07637	11/28/2014		EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOY 829	Issues	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	: GROUND WATER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 595 253 3RD AVENUE NORTH IWT040

253 3RD AVE		2	IWT040	
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. PARTIES INVOLVED	
93-07637	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT ISSUES: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	
93-07637	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST ISSUES: 01 02 03 04 05 06 07 08 09 12 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
		(ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	
93-07637	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S Issues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	
93-07637	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS ISsues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	

253 3RD AVE		3		IWT040	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL DO BOY 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07637	11/28/2014		MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE ID 83720-0010		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07638	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07638	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
			STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH			IV	VT040	-11021
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FO			
93-07638	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861			
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07638	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07638	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07638	11/28/2014		FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
			,			

253 3RD AVEN	UE NORTH	ver hajuareae	ION BOCKET SHEET	IWT040	11101. 350
REGIST	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		
	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07638	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
			SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOTSE, TD 83701-0829		
			UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 SCOTT, ANDREW & HEATHER	Water Source:	GROUND WATER
93-07638	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOTSE, TD 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOTSE, ID 83724	Water Source:	GROUND WATER
93-07638	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

TWIN FALLS,	ENUE NORTH , ID 83301				T040	
REGIS	STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07639	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07639	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07639	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07639	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	ID 83301				WT040	
SUBCASE#	DATE FILED		ALL OBJECTIONS AND RESPONSES, E PARTIES INVOLVED			.1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07639	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07639	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07639	11/28/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVEN	UE NORTH	ver Adjudicat	ion DOCKET SHEET		08/14 WT040	PAGE: 601
SUBCASE#	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		PERIOD 1	
93-07639		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07639	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07640	11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07640	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE	NUE NORTH	rei Adjudicat	TOIL DOCKET SHEET		WT040	1AGE: 002
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07640	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07640	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, TD 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
93-07640	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY) CLAIMANT:	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR	Wa+er	Source	GROUND WATER
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source.	Chooks Mildi

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 603 253 3RD AVENUE NORTH IWT040

UE NORTH			IWT040	
PER OF ACTION DATE FILED		PARTIES INVOLVED		
		SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
	(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
	CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES	Water Source:	GROUND WATER
11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
11/28/2014		SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
	(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
	CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
	ID 83301 PER OF ACTION DATE FILED	ID 83301 PER OF ACTION LIST SHOWING DATE FILED  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)	D 83301	ID 83301 ERR OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD DATE FILED  11/28/2014 RESPONSE: SHONGE COUNTY SPORTSMEN'S ISSUES: SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE DEED 83701-0829  OBJECTION: RESPONSE: CARLA STREET, MSC 033 BOISE, 10 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: US DEPARTMENT OF JUSTICE BOISE, 1D 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: US DEPARTMENT OF JUSTICE BOISE, 1D 83701-0829  OBJECTION: RESPONSE: SHOSHONE COUNTY PUBLIC WORKS ISSUES: SHOWN AND AND ADDRESS SOURCES SO WEST FORT STREET, MSC 033 BOISE, 1D 83701-0829  OBJECTION: WORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, 1D 83701-0829  OBJECTION: WORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, 1D 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: US DEPARTMENT OF JUSTICE US DEPARTMENT OF JUSTICE US DEPARTMENT OF JUSTICE SOWN AND AND ADDRESS SOWEST FORT STREET, MSC 033 BOISE, 1D 83701-0829  OBJECTION: WORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, 1D 83701-0829  OBJECTION: WORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, 1D 83701-0829  OBJECTION: WORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, 1D 83701-0829  OBJECTION: WORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, 1D 83701-0829  OBJECTION: WORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, 1D 83701-0829  OBJECTION: WORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 820 BOISE, 1D 83701-0829  OBJECTION: WORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 820 BOISE, 1D 83701-0829  OBJECTION: WORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 820 BOISE, 1D 83701-0829  OBJECTION: STATES OF AMERICA AS TR WATER SOURCE: SOWEST FORT STREET, MSC 033  BOISE, 1D 83701-0829  OBJECTION: STATES OF AMERICA AS TR WATER SOURCE: BADWIN, JOHN AND STATES OF AMERICA AS TR WATER SOURCE: BADWIN, JOHN AND STATES OF AMERICA AS TR WATER SOURCE: BADWIN, JOHN BANNOCK ST PO BOX 2720  OBJECTION: STATE OF IDARO STREET, MSC 033  BOISE, 1D 83701-0720  OBJECTION: STATES OF AMERICA AS TR WATER SOURCE:

253 3RD AVENTWIN FALLS,	NUE NORTH			IWT040	
REGIS:	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		
93-07641	11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07641	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07641	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07641	11/28/2014	(A'I'I'Y)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOY 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,				IV	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07641	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07641	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07641	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07641	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 606 253 3RD AVENUE NORTH IWT040

253 3RD AVE	NUE NORTH			IWT040	
SUBCASE#	TER OF ACTION		G ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	OR THE PERIOD 1	11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07641	11/28/2014	(ATTY)	MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07642	11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07642	11/24/2014	(ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE	NUE NORTH	rei Adjudicat	TOTE DOCKET SHEET		WT040	TAGE. 007
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07642	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07642	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07642	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)  CLAIMANT:	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR	Water	Source	CDOLIND MATER
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water	Source:	GROUND WATER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 608 253 3RD AVENUE NORTH IWT040

UE NORTH			IWT040	
PER OF ACTION DATE FILED		PARTIES INVOLVED		
		SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
	(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
	CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES	Water Source:	GROUND WATER
11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
11/28/2014		SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
	(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
11/28/2014	RESPONSE: (ATTY)	MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
	(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
	CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
	DATE FILED 11/28/2014  11/28/2014  11/28/2014	TER OF ACTION LIST SHOWING DATE FILED  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)	Transfer   Carry   C	TER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD DATE FILED  11/28/2014 RESPONSE: SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOJECTION: WOEMPINER, CARLA RATTY)  10 SCAPITOL BLVD 10TH FL PO BOX 829 BOJECTION: WOEMPINER, CARLA RATTY)  10 SCAPITOL BLVD 10TH FL PO BOX 829 BOJECTION: WOEMPINER, CARLA RATTY RESOURCES: SO WEST FORT STREET, MSC 033 BOJES, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: WOEMPINER OF JUSTICE ENVIRONMENT & NATL' RESOURCES: SO WEST FORT STREET, MSC 033 BOJES, ID 83701-0829  OBJECTION: SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOJES, ID 83701-0829  OBJECTION: WOEMPINER, CARLA RATTY RESOURCES: SO WEST FORT STREET, MSC 033 BOJES, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES: SO WEST FORT STREET, MSC 033 BOJES, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES: SO WEST FORT STREET, MSC 033 BOJES, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES: SOURCES: SOURCES, ID 83701-0829  OBJECTION: WOEMPINER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOJES, ID 83701-0829  OBJECTION: WOEMPINER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOJES, ID 83701-0829  OBJECTION: WOEMPINER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOJES, ID 83701-0829  OBJECTION: WOEMPINER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOJES, ID 83701-0829  OBJECTION: WOEMPINER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOJES, ID 83701-0829  OBJECTION: WOEMPINER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 820 BOJES, ID 83701-0829  OBJECTION: WOEMPINER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 820 BOJES, ID 83701-0829  OBJECTION: WOEMPINER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD

WIN FALLS,	ENUE NORTH ID 83301				TT040	
REGIS	STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07643	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
3-07643	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07643	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07643	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE		.01 110,001000		IV	VT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			1/01/2014 THRU 11/30/2014.
93-07643	11/28/2014		KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)		Water	Source:	GROUND WATER
93-07643	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07643	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07643	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 611 253 3RD AVENUE NORTH IWT040

253 3RD AVE	NUE NORTH			IWT040	
SUBCASE#	TER OF ACTION		G ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	OR THE PERIOD 1	11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07643	11/28/2014	(ATTY)	MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07644	11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07644	11/24/2014	(ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE	NUE NORTH	rei Adjudicat	TOIL DOCKET SHEET		WT040	INGE. UIZ
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07644	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07644	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, TD 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07644	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Wa+a	Source:	CDOUND WATED
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water	source:	GROUND WATER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 613 253 3RD AVENUE NORTH IWT040

253 3RD AVE		2		II	WT040	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	OR THE	PERIOD 1	.1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07644	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07644	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07644	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVENUE NORTH TWIN FALLS, ID 83301				IWT040				
REGIS	STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED					
3-07645	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11		
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720					
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER		
3-07645	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12		
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER		
3-07645	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER		
3-07645	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER		

253 3RD AVE TWIN FALLS,				IWT040	
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F		
93-07645		RESPONSE:			s: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	e: GROUND WATER
93-07645	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issue	s: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
93-07645	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issue	s: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	e: GROUND WATER
93-07645	11/28/2014	RESPONSE: (ATTY)		Issue:	s: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	e: GROUND WATER

253 3RD AVE				IW	T040	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	OR THE	PERIOD 1	1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07645	11/28/2014	(ATTI)	MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
93-07646	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07646	11/24/2014	(ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
			STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE	NUE NORTH	rei Adjudicat	TOIL DOCKET SHEET		WT040	IAGE. UIT
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07646	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07646	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, TD 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
93-07646	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)  CLAIMANT:	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR	Water	Source	CDOLIND MATER
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water	bource.	GROOMS WITH

253 3RD AVE TWIN FALLS,				I	WT040		
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F				
93-07646		RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER	
93-07646	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER	
93-07646	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER	
93-07646	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER	

253 3RD AVENUE NORTH TWIN FALLS, ID 83301				IWT040				
			ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED					
3-07647		RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11		
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720					
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER		
3-07647	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12		
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER		
3-07647	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER		
3-07647	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER		

253 3RD AVE TWIN FALLS,				ΙV	VT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07647	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07647	11/28/2014		FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07647	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07647	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE				IM	T040	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	FOR THE	PERIOD 1	1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07647	11/28/2014	(ATTI)	MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		(ATTI)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
93-07648	11/13/2014	(ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
93-07648	11/24/2014	(ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
			STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE	NUE NORTH	rei Adjudicat	TOTE DOCKET SHEET		WT040	1AGE: 022
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07648	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07648	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07648	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Mate.	Courac	CDOUND WATER
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water	source:	GROUND WAIER

253 3RD AVE TWIN FALLS,	ENUE NORTH ID 83301			I	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07648		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07648	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07648	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07648	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVEN TWIN FALLS,	IUE NORTH	ver Adjudicat	ION DOCKET SHEET	IWT040	IAGE. UZ-
REGIST	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, I PARTIES INVOLVED		
93-07649	11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07649	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07649	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07649	11/28/2014		101 S CAPITOL BLVD 10TH FL	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
			550 WEST FORT STREET, MSC 033 BOISE, ID 83724		

53 3RD AVE WIN FALLS, REGIS	ID 83301	TIST SHOWING	ALL OBJECTIONS AND RESPONSES, E	OR THE	PERIOD 1	1/01/2014 THRU 11/30/2014
UBCASE#	DATE FILED		PARTIES INVOLVED			
		RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07649	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
3-07649	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
3-07649	11/28/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE	ENUE NORTH			IWT040	
REGIS SUBCASE#	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
			UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN MEYED CHDISTORIED H	Water Source:	GROUND WATER
93-07649	11/28/2014	(MIII)	601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE ID 83720-0010		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
93-07650	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07650	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE	NUE NORTH	rei Adjudicat	TOIL DOCKET SHEET		WT040	1 AGE . 02 /
SUBCASE#	TER OF ACTION DATE FILED					1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07650	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07650	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, TD 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07650	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)  CLAIMANT:	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR	Ma+o~	Source:	CDOUND WATED
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water	Source:	GNOUND WATER

253 3RD AVE TWIN FALLS,				I	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			
93-07650		RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07650	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07650	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07650	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	ENUE NORTH	,		IWT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		
93-07651		RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	: 01 02 03 04 05 06 07 08 09 10
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	: GROUND WATER
93-07651	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
93-07651	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861	Issues:	: 01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
93-07651	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	: GROUND WATER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 630 253 3RD AVENUE NORTH IWT040

253 3RD AVE		2	IWTO40
TWIN FALLS, REGIS SUBCASE#		LIST SHOWING	ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. PARTIES INVOLVED
93-07651	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT Issues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
93-07651	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST ISSUES: 01 02 03 04 05 06 07 08 09 12 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033
93-07651	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S Issues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
93-07651	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS ISsues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724

253 3RD AVEN	Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 253 3RD AVENUE NORTH TWIN FALLS, ID 83301				08/14 WT040	PAGE: 631	
REGIST	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, I PARTIES INVOLVED		PERIOD 1		
93-07651	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER	
93-07651	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER	
93-07652	11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER	
93-07652	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER	

253 3RD AVE TWIN FALLS,	NUE NORTH	2		IV	VT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			
93-07652	11/28/2014		PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861			
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07652	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07652	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07652	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Wa+ o	Courac -	CDOLIND MATER
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water	source:	GROUND WATER

253 3RD AVE TWIN FALLS,	ENUE NORTH	.01 110,001000		IV	VT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
93-07652		RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
93-07652	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07652	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
93-07652	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH			IWT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, EPARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
94-08621	11/24/2014	(ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
94-08621	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
94-08621	11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
94-08621	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 635 253 3RD AVENUE NORTH IWT040

253 3RD AVE				IWT040	
SUBCASE#	TER OF ACTION		G ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1	1/01/2014 THRU 11/30/2014.
94-08621	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
94-08621	11/28/2014	(ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
94-08621	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	
94-08621	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVEN	NUE NORTH	er Adjudicat	ion DOCKET SHEET		08/14 VT040	PAGE: 636
SUBCASE#	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
94-08621		RESPONSE: (ATTY)	BALDWIN, JOHN LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720			01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
94-09133	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 0.33	Water	Source:	ALL SOURCES OF SURFACE AND GROUND WATER
94-09133	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	ALL SOURCES OF SURFACE AND GROUND WATER
94-09133	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ALL SOURCES OF SURFACE AND GROUND WATER
			DOIDE, ID 00/24			

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 637 253 3RD AVENUE NORTH IWT040

253 3RD AVE				IWT040	
SUBCASE#	TER OF ACTION		G ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1	1/01/2014 THRU 11/30/2014.
94-09133	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	ALL SOURCES OF SURFACE AND GROUND WATER
94-09133	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	ALL SOURCES OF SURFACE AND GROUND WATER
94-09133	11/28/2014	(ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ALL SOURCES OF SURFACE AND GROUND WATER
94-09133	11/28/2014	(ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	ALL SOURCES OF SURFACE AND GROUND WATER

53 3RD AVE	NUE NORTH	ver Adjudicat	ion DOCKET SHEET		08/14 WT040	PAGE: 638
UBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, EPARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
			SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA US DEFARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ALL SOURCES OF SURFACE AND GROUND WATER
1-09133	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	ALL SOURCES OF SURFACE AND GROUND WATER
1-09244	11/13/2014	RESPONSE: (ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	BLACK CREEK TRIBUTARY: BLACK LAKE
4-09244	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	BLACK CREEK TRIBUTARY: BLACK LAKE

253 3RD AVEI	NUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 639
REGIST SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		BLACK CREEK TRIBUTARY: BLACK LAKE
94-09244	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		BLACK CREEK TRIBUTARY: BLACK LAKE
94-09244	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOTSE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)			BLACK CREEK TRIBUTARY: BLACK LAKE
94-09244	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	77-1	DIAGN OPERN
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water Source:	BLACK CREEK TRIBUTARY: BLACK LAKE

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 640 253 3RD AVENUE NORTH IWT040

253 3RD AVE				IWT040	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		
		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL	Issues:	01 02 03 04 05 06 07 08 09 12
			BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	BLACK CREEK TRIBUTARY: BLACK LAKE
94-09244	11/28/2014	(ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)			BLACK CREEK TRIBUTARY: BLACK LAKE
94-09244	11/28/2014	(A'I''I'Y)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN	Water Source:	BLACK CREEK TRIBUTARY: BLACK LAKE
94-09244	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	BLACK CREEK TRIBUTARY: BLACK LAKE

253 3RD AVE TWIN FALLS,	INUE NORTH TD 83301			IWT040		
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			1/30/2014.
	11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE. STE 1200	Issues:	01 02 03 04 05	06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010	Water Source:	WILLOW CREEK	TRIBUTARY: CAVE LAKE
94-09245	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)				
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	WILLOW CREEK	TRIBUTARY: CAVE LAKE
94-09245	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05	06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	WILLOW CREEK	TRIBUTARY: CAVE LAKE
94-09245	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	WILLOW CREEK	TRIBUTARY: CAVE LAKE

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 642 253 3RD AVENUE NORTH IWT040

253 3RD AVE		_		IWT040	
REGIS	, ID 83301 STER OF ACTION DATE FILED	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1	1/01/2014 THRU 11/30/2014.
94-09245	11/28/2014	RESPONSE: (ATTY)	101 S CÁPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	WILLOW CREEK TRIBUTARY: CAVE LAKE
94-09245	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		WILLOW CREEK TRIBUTARY: CAVE LAKE
94-09245	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	WILLOW CREEK TRIBUTARY: CAVE LAKE
94-09245	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	WILLOW CREEK TRIBUTARY: CAVE LAKE

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 643 253 3RD AVENUE NORTH IWT040

253 3RD AVE TWIN FALLS,	NUE NORTH			IWT040	
REGIS SUBCASE#	TER OF ACTION		G ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	FOR THE PERIOD :	11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		WILLOW CREEK TRIBUTARY: CAVE LAKE
94-09245	11/28/2014	(ATTY)	MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		WILLOW CREEK TRIBUTARY: CAVE LAKE
94-09246	11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS	Water Source:	EVANS CREEK TRIBUTARY: MEDICINE LAKE
94-09246	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	EVANS CREEK TRIBUTARY: MEDICINE LAKE

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 644 253 3RD AVENUE NORTH IWT040

253 3RD AVE				IWT040
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues: 01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source: EVANS CREEK TRIBUTARY: MEDICINE LAKE
94-09246	11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source: EVANS CREEK TRIBUTARY: MEDICINE LAKE
94-09246	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source: EVANS CREEK TRIBUTARY: MEDICINE LAKE
94-09246	11/28/2014	(ATTY) OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues: 01 02 03 04 05 06 07 08 09 12
		(ATTY) CLAIMANT:	PO BOX 829 BOISE, ID 83701-0829	Water Source: EVANS CREEK TRIBUTARY: MEDICINE LAKE
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	

253 3RD AV	ENUE NORTH , ID 83301			IWT040	
REGI	STER OF ACTION	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		
94-09246	11/28/2014	(ATTY)	101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	EVANS CREEK TRIBUTARY: MEDICINE LAKE
94-09246	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	EVANS CREEK TRIBUTARY: MEDICINE LAKE
94-09246	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 837/24 SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	EVANS CREEK TRIBUTARY: MEDICINE LAKE
94-09246	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	EVANS CREEK TRIBUTARY: MEDICINE LAKE

253 3RD AVE TWIN FALLS,	NUE NORTH			IWTO	40		
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED				
94-09247	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11	
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: TEEPEE CREEK
94-09247	11/24/2014	(ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Is	sues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water So	urce:	NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: TEEPEE CREEK
94-09247	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA	Is	sues:	01 02 03 04 05 06 07 08 09 12	
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water So	urce:	NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: TEEPEE CREEK
94-09247	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Is	sues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water So	urce:	NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: TEEPEE CREEK

SUBCASE#	DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			
		RESPONSE:	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)		Water Source:	NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: TEEPEE CREE
94-09247	11/28/2014		FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: TEEPEE CREE
94-09247	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: TEEPEE CREE
94-09247	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: TEEPEE CREE

Coeur d'Ale 253 3RD AVE TWIN FALLS,	NUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 648
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD	
		RESPONSE: (ATTY)  OBJECTION:	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA		
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Water Source:	NORTH FORK COEUR D'ALENE RIVER TRIBUTARY: TEEPEE CREEK
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
94-09247	11/28/2014	RESPONSE: (ATTY)	MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID. 83724		NORTH FORK COEUR D'ALENE RIVER TRIBUTARY: TEEPEE CREEK
94-09248	11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO	Issues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	TEEPEE CREEK TRIBUTARY: COEUR D'ALENE RIVER
94-09248	11/24/2014	(ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE. ID. 83720-0010		
		CLAIMANT: (ATTY)		Water Source:	TEEPEE CREEK TRIBUTARY: COEUR D'ALENE RIVER

	NUE NORTH		ION DOCKET SHEET	IWT040	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
94-09248	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	TEEPEE CREEK TRIBUTARY: COEUR D'ALENE RIVER
94-09248	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	TEEPEE CREEK TRIBUTARY: COEUR D'ALENE RIVER
94-09248	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	TEEPEE CREEK TRIBUTARY: COEUR D'ALENE RIVER
94-09248	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	TEEPEE CREEK TRIBUTARY: COEUR D'ALENE RIVER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 650 253 3RD AVENUE NORTH IWT040

253 3RD AVEN	IUE NORTH			IWT040	
SUBCASE#	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
94-09248	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	TEEPEE CREEK TRIBUTARY: COEUR D'ALENE RIVER
94-09248	11/28/2014	(ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		TEEPEE CREEK TRIBUTARY: COEUR D'ALENE RIVER
94-09248	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	TEEPEE CREEK TRIBUTARY: COEUR D'ALENE RIVER
94-09248	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	TEEPEE CREEK TRIBUTARY: COEUR D'ALENE RIVER

253 3DD 717E	יאווד או∩סידם		ion DOCKET SHEET	12/08/14 IWT040	PAGE: 651
REGIS SUBCASE#	TER OF ACTION DATE FILED	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD :	11/01/2014 THRU 11/30/2014.
		RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200		01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE. ID 83720-0010		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	YELLOW DOG CREEK TRIBUTARY: NORTH FORK COUER D'ALENE RIVER
94-09249	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		YELLOW DOG CREEK TRIBUTARY: NORTH FORK COUER D'ALENE RIVER
94-09249	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	BOISE, ID 83724 PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	IIS DEPARTMENT OF JIISTICE		YELLOW DOG CREEK TRIBUTARY: NORTH FORK COUER D'ALENE RIVER 01 02 03 04 05 06 07 08 09 12
94-09249	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	YELLOW DOG CREEK TRIBUTARY: NORTH FORK COUER D'ALENE RIVER

253 3RD AVE	NUE NORTH	ver najadreae	IOH BOCKET SHEET	IWT040	11101. 002
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEFARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 FERNWOOD WATER & SEWER DIST	Water Source:	YELLOW DOG CREEK TRIBUTARY: NORTH FORK COUER D'ALENE RIVER
94-09249	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M	Issues:	01 02 03 04 05 06 07 08 09 12
			SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS	Water Source.	YELLOW DOG CREEK TRIBUTARY: NORTH FORK COUER D'ALENE RIVER
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES		01 02 03 04 05 06 07 08 09 12
94-09249	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	YELLOW DOG CREEK TRIBUTARY: NORTH FORK COUER D'ALENE RIVER
94-09249	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	YELLOW DOG CREEK TRIBUTARY: NORTH FORK COUER D'ALENE RIVER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 653 253 3RD AVENUE NORTH IWT040 TWIN FALLS, ID 83301

SUBCASE#	STER OF ACTION DATE FILED		G ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		
94-09249	11/28/2014	RESPONSE:	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83/01-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! PESCURCES	Water Source:	YELLOW DOG CREEK TRIBUTARY: NORTH FORK COUER D'ALENE RIVER
94-09249	11/28/2014		550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	YELLOW DOG CREEK TRIBUTARY: NORTH FORK COUER D'ALENE RIVER
94-09250	11/13/2014	RESPONSE: (ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	DOWNEY CREEK TRIBUTARY: NORTH FORK COEUR D'ALENE RIVER
94-09250	11/24/2014	(ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	DOWNEY CREEK TRIBUTARY: NORTH FORK COEUR D'ALENE RIVER

253 3RD AV	ENUE NORTH	ver Adjudicat	ION DOCKET SHEET		WT040		PAGE: 034	
REGI: SUBCASE#	, ID 83301 STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED				11/30/2014.	
	11/28/2014	RESPONSE.				01 02 03 04 05		
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	DOWNEY CREEK	TRIBUTARY: NORTH FORK COEUR D'ALEN	E RIVER
94-09250	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05	06 07 08 09 12	
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES	Water	Source:	DOWNEY CREEK	TRIBUTARY: NORTH FORK COEUR D'ALEN	E RIVER
94-09250	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83/24 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL		Issues:	01 02 03 04 05	06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET. MSC 033				TRIBUTARY: NORTH FORK COEUR D'ALEN	E RIVER
94-09250	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA SEMANUO NORMAN M		Issues:	01 02 03 04 05	06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	DOWNEY CREEK	TRIBUTARY: NORTH FORK COEUR D'ALEN	E RIVER
			•					

Coeur d'Alei 253 3RD AVEI		er Adjudicat	ion DOCKET SHEET	12/08/14 IWT040		PAGE: 655	
TWIN FALLS,	ID 83301	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, 1	FOR THE PERI	OD 11/01/2014 TH	TRII 11/30/2014.	
SUBCASE#	DATE FILED		PARTIES INVOLVED				
94-09250	11/28/2014	RESPONSE: (ATTY)				05 06 07 08 09 12	
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		20.33.71		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water Sour	rce: DOWNEY CREE	K TRIBUTARY: NORTH	FORK COEUR D'ALENE RIVER
94-09250	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issu	nes: 01 02 03 04	05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sour	rce: DOWNEY CREE	K TRIBUTARY: NORTH	FORK COEUR D'ALENE RIVER
94-09250	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issu	nes: 01 02 03 04	05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sour	cce: DOWNEY CREE	K TRIBUTARY: NORTH	FORK COEUR D'ALENE RIVER
94-09250	11/28/2014	RESPONSE: (ATTY)	BALDWÍN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issu	nes: 01 02 03 04	05 06 07 08 09 12	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sour	cce: DOWNEY CREE	K TRIBUTARY: NORTH	FORK COEUR D'ALENE RIVER

Coeur d'Ale 253 3RD AVE TWIN FALLS,	NUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 656	
REGIS! SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.	
94-09251	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		01 02 03 04 05 06 07 08 09 10 11	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09251	11/24/2014	RESPONSE: (ATTY)	LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOTSE. ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09251	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09251	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER

550 WEST FORT STREET, MSC 033

SHOSHONE COUNTY SPORTSMEN'S

101 S CAPITOL BLVD 10TH FL

US DEPARTMENT OF JUSTICE

101 S CAPITOL BLVD 10TH FL

SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL

US DEPARTMENT OF JUSTICE

ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033

ENVIRONMENT & NATL' RESOURCES

BOISE, ID 83724

SEMANKO, NORMAN M

OBJECTION: WOEMPNER, CARLA
(ATTY) SEMANKO, NORMAN M
101 S CAPITOL BLVD 10TH FL

PO BOX 829
BOISE, ID 83701-0829
CLAIMANT: UNITED STATES OF AMERICA AS

550 WEST FORT STREET, MSC 033 BOISE, ID 83724 RESPONSE: SHOSHONE COUNTY PUBLIC WORKS

SEMANKO, NORMAN M

PO BOX 829
BOISE, ID 83701-0829
CLAIMANT: UNITED STATES OF AMERICA AS

BOISE, ID 83724

BOISE, ID 83701-0829 WOEMPNER, CARLA

PO BOX 829

PO BOX 829

94-09251

94-09251

11/28/2014

11/28/2014

RESPONSE:

(ATTY)

(ATTY)

(ATTY)

OBJECTION:

(ATTY)

(ATTY)

253 3RD AV		ver Adjudicat	tion DOCKET SHEET	12/08/14 IWT040	PAGE: 657	
REGI: SUBCASE#		LIST SHOWING	G ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1	1/01/2014 THRU 11/30/2014.	
94-09251	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09251	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES	Water Source:	NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER

Issues: 01 02 03 04 05 06 07 08 09 12

Issues: 01 02 03 04 05 06 07 08 09 12

Water Source: NORTH FORK COEUR D'ALENE RIVER TRIBUTARY: COEUR D'ALENE RIVER

Water Source: NORTH FORK COEUR D'ALENE RIVER TRIBUTARY: COEUR D'ALENE RIVER

Coeur d'Ale 253 3RD AVE	ne-Spokane Riv	er Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 658	
TWIN FALLS,	ID 83301	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, F	OR THE PERIOD	11/01/2014 THRU 11/30/2014.	
SUBCASE#			PARTIES INVOLVED			
94-09251	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE	Water Source:	NORTH FORK COEUR D'ALENE RIVER TRIBUTARY: COEUR D'ALENE R	IVER
94-09251	11/28/2014		550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12	
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		NORTH FORK COEUR D'ALENE RIVER TRIBUTARY: COEUR D'ALENE R	IVER
94-09252	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SHOSHONE CREEK TRIBUTARY: NORTH FORK COUER D'ALENE RIVER	
94-09252	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE. ID. 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SHOSHONE CREEK TRIBUTARY: NORTH FORK COUER D'ALENE RIVER	

Coeur d'Alei 253 3RD AVEI TWIN FALLS,	NUE NORTH	rer Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 659
REGIS' SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
94-09252	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 EAST SHOSHONE COUNTY WATER		SHOSHONE CREEK TRIBUTARY: NORTH FORK COUER D'ALENE RIVER
94-09252	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		SHOSHONE CREEK TRIBUTARY: NORTH FORK COUER D'ALENE RIVER
94-09252	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		SHOSHONE CREEK TRIBUTARY: NORTH FORK COUER D'ALENE RIVER
94-09252	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SHOSHONE CREEK TRIBUTARY: NORTH FORK COUER D'ALENE RIVER

Coeur d'Aler 253 3RD AVEN TWIN FALLS,	IUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 660
REGIST SUBCASE#	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1	11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	ENVIRONMENT & NATL! RESOURCES		SHOSHONE CREEK TRIBUTARY: NORTH FORK COUER D'ALENE RIVER 01 02 03 04 05 06 07 08 09 12
94-09252	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE		SHOSHONE CREEK TRIBUTARY: NORTH FORK COUER D'ALENE RIVER
94-09252	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
			UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE		SHOSHONE CREEK TRIBUTARY: NORTH FORK COUER D'ALENE RIVER
94-09252	11/28/2014		BOUSE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720	L	
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SHOSHONE CREEK TRIBUTARY: NORTH FORK COUER D'ALENE RIVER

Coeur d'Alene-Spokane River Ac 253 3RD AVENUE NORTH TWIN FALLS, ID 83301		12/08/14 IWT040	PAGE: 661	
SUBCASE# DATE FILED	SHOWING ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			
94-09253 11/13/2014 RES	SPONSE: AVISTA CORPORATION (ATTY) SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11	
(	(ATTY) CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOY 83720	1		
,	AIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
	(ATTY) LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12	
(	CCTION: STATE OF IDAHO (ATTY) CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010	1		
(	AIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  EPONSE: PINEHURST WATER DISTRICT		NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
(	(ATTY) PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12	
(	(ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
	BOISE, ID 83701-0829  AIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
	SPONSE: EAST SHOSHONE COUNTY WATER (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12	
	CCTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
	BOISE, ID 83701-0829  MIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 662 253 3RD AVENUE NORTH IWT040 TWIN FALLS, ID 83301

	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.	
94-09253	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		01 02 03 04 05 06 07 08 09 12	
			BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL	Water Source:	NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09253	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09253	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES	Water Source:	NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09253	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER

Coeur d'Ale 253 3RD AVE	ne-Spokane Riv	ver Adjudicat	ion DOCKET SHEET	12/08/1 IWT04			PAGE: 663	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			/01/2014 THRU		
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		(ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724					TRIBUTARY: COEUR D'ALENE RIVER
94-09253	11/28/2014	RESPONSE: (ATTY)	ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Iss	sues: (	01 02 03 04 05	5 06 07 08 09 12	
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO					
		CLAIMANT: (ATTY)	PO BOX 83/20 BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PATNE HAMBLEN LLD	Water Sou				TRIBUTARY: COEUR D'ALENE RIVER
94-09254	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO	Iss	sues: (	01 02 03 04 05	5 06 07 08 09 10 11	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010					
		(ATTY)	BOISE, ID 83724 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 HAGADONE HOSPITALITY CO					RD CREEK
94-09254	11/24/2014	(AIII)	601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Iss	sues: (	01 02 03 04 05	5 06 07 08 09 12	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sou	urce: F	EAGLE CREEK	TRIBUTARY: PRICHAR	RD CREEK

253 3RD AVE	WE NORTH	rei najaareae	ION DOCKET SHEET	IWT040	17.01. 004
SUBCASE#	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. 1D 83861		01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	EAGLE CREEK TRIBUTARY: PRICHARD CREEK
94-09254	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	EAGLE CREEK TRIBUTARY: PRICHARD CREEK
94-09254	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		EAGLE CREEK TRIBUTARY: PRICHARD CREEK
94-09254	11/28/2014	RESPONSE: (ATTY) OBJECTION:	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Wat on Course	EAGLE ODEEN MOTDIMADY, DOTGUADO ODDOV
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water source:	EAGLE CREEK TRIBUTARY: PRICHARD CREEK

253 3RD AVE TWIN FALLS,	ENUE NORTH	.01 110,001000	10.1 2001.21 5.1221	IWT040	21102. VVV
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		
			SHOSHONE COUNTY SPORTSMEN'S		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	EAGLE CREEK TRIBUTARY: PRICHARD CREEK
94-09254	11/28/2014	RESPONSE: (ATTY)		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	EAGLE CREEK TRIBUTARY: PRICHARD CREEK
94-09254	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	EAGLE CREEK TRIBUTARY: PRICHARD CREEK
94-09254	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	EAGLE CREEK TRIBUTARY: PRICHARD CREEK

d'Alene-Spokane Piver Adjudication 12/08/14

Coeur d'Alene-Spokane Riv 253 3RD AVENUE NORTH	er Adjudicat	tion DOCKET SHEET	12/08/14 IWT040	PAGE: 666
TWIN FALLS, ID 83301 REGISTER OF ACTION SUBCASE# DATE FILED		G ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1	1/01/2014 THRU 11/30/2014.
	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
	(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS		
	(ATTY)	ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	PRICHARD CREEK TRIBUTARY: NORTH FORK COEUR D'ALENE RIVER
94-09255 11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
	(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		PRICHARD CREEK TRIBUTARY: NORTH FORK COEUR D'ALENE RIVER
94-09255 11/28/2014	RESPONSE: (ATTY)	PINEHÜRST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA	Issues:	01 02 03 04 05 06 07 08 09 12
	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS		
	( \lambda \pi \pi \rangle \lambda \lam	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M		PRICHARD CREEK TRIBUTARY: NORTH FORK COEUR D'ALENE RIVER
94-09255 11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	PRICHARD CREEK TRIBUTARY: NORTH FORK COEUR D'ALENE RIVER

253 3RD AVE	NUE NORTH	ver majaareae	TOTE DOCKET SHEET	IWT040	1101. 007
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	PRICHARD CREEK TRIBUTARY: NORTH FORK COEUR D'ALENE RIVER
94-09255	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		PRICHARD CREEK TRIBUTARY: NORTH FORK COEUR D'ALENE RIVER
94-09255	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	PRICHARD CREEK TRIBUTARY: NORTH FORK COEUR D'ALENE RIVER
94-09255	11/28/2014	(ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE. ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	PRICHARD CREEK TRIBUTARY: NORTH FORK COEUR D'ALENE RIVER

Coeur d'Ale: 253 3RD AVE: TWIN FALLS,	NUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 668
REGIS' SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA		01 02 03 04 05 06 07 08 09 12
		CLAIMANT:	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	PRICHARD CREEK TRIBUTARY: NORTH FORK COEUR D'ALENE RIVER
94-09255	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		PRICHARD CREEK TRIBUTARY: NORTH FORK COEUR D'ALENE RIVER
94-09256	11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	BEAVER CREEK TRIBUTARY: NORTH FORK COEUR D'ALENE RIVER
94-09256	11/24/2014	(ATTY)	LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)		Water Source:	BEAVER CREEK TRIBUTARY: NORTH FORK COEUR D'ALENE RIVER

253 3RD AVE	NUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040		PAGE: 669	
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1	11/01/2014 THRU	11/30/2014.	
94-09256	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA	Issues:	01 02 03 04 05	5 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET. MSC 033				FORK COEUR D'ALENE RIVER
94-09256	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05	5 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	BEAVER CREEK	TRIBUTARY: NORTH	FORK COEUR D'ALENE RIVER
94-09256	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05	5 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033				FORK COEUR D'ALENE RIVER
94-09256	11/28/2014	(ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05	5 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	BEAVER CREEK	TRIBUTARY: NORTH	FORK COEUR D'ALENE RIVER

253 3RD AVE	NUE NORTH	_	ion DOCKET SHEET	TW	T040		PAGE: 670
TWIN FALLS, REGIS SUBCASE#	DAIE FIDED	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, I PARTIES INVOLVED				11/30/2014.
94-09256	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	BEAVER CREEK	TRIBUTARY: NORTH FORK COEUR D'ALENE RIVER
94-09256	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)		Water	Source:	BEAVER CREEK	TRIBUTARY: NORTH FORK COEUR D'ALENE RIVER
94-09256	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	BEAVER CREEK	TRIBUTARY: NORTH FORK COEUR D'ALENE RIVER
94-09256	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	BEAVER CREEK	TRIBUTARY: NORTH FORK COEUR D'ALENE RIVER

Coeur d'Alen 253 3RD AVEN TWIN FALLS,	UE NORTH	ver Adjudicat	ion DOCKET SHEET			18/14 IT040	PAGE: 671
REGIST SUBCASE#	ER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED				
	11/13/2014	RESPONSE: (ATTY)					: 01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCE:	S			: GRAHAM CREEK TRIBUTARY: COEUR D'ALENE RIVER
94-09257	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720			Issues:	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010	AL			
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 03	S 3			: GRAHAM CREEK TRIBUTARY: COEUR D'ALENE RIVER
94-09257	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA			Issues:	: 01 02 03 04 05 06 07 08 09 12
		(A'I''I'Y)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		(111 1 1 )	ENVIRONMENT & NATL' RESOURCES	S			: GRAHAM CREEK TRIBUTARY: COEUR D'ALENE RIVER
94-09257	11/28/2014	(A'I'I'Y)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL			Issues:	: 01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCE: 550 WEST FORT STREET, MSC 03: BOISE, ID 83724		iter	Source:	: GRAHAM CREEK TRIBUTARY: COEUR D'ALENE RIVER

253 3RD AVE	NUE NORTH	.01 110,000	ION DOCKET SHEET	IV	T040		11101. 072
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED				11/30/2014.
		RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)		Water	Source:	GRAHAM CREEK	TRIBUTARY: COEUR D'ALENE RIVER
94-09257	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033				TRIBUTARY: COEUR D'ALENE RIVER
94-09257	11/28/2014	(ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GRAHAM CREEK	TRIBUTARY: COEUR D'ALENE RIVER
94-09257	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GRAHAM CREEK	TRIBUTARY: COEUR D'ALENE RIVER

253 3RD AVE	NUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/0 IW	8/14 T040	PAGE: 673
SUBCASE#	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
	11/28/2014		SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GRAHAM CREEK TRIBUTARY: COEUR D'ALENE RIVER
94-09257	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GRAHAM CREEK TRIBUTARY: COEUR D'ALENE RIVER
94-09258	11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 83724	Water	Source:	STEAMBOAT CREEK TRIBUTARY: NORTH FORK COUER D'ALENE RIV.
94-09258	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	STEAMBOAT CREEK TRIBUTARY: NORTH FORK COUER D'ALENE RIVI

253 3RD AVE	NUE NORTH	ver Adjudicat	TION DOCKET SHEET	IWT040	E	AGE: 0/4	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED				
	11/28/2014	DECDONCE.	סדאקטווספי שאייקס הופייסוכיי				
		OBJECTION: (ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES	Water Source:	STEAMBOAT CREEK	TRIBUTARY: NORTH FORK COUER D	ALENE RIVER
94-09258	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06	07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET MSC 033	Water Source:	STEAMBOAT CREEK	TRIBUTARY: NORTH FORK COUER D	ALENE RIVER
94-09258	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE. ID 83701-0829	Issues:	01 02 03 04 05 06	07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 FERNWOOD WATER & SEWER DIST	Water Source:	STEAMBOAT CREEK	TRIBUTARY: NORTH FORK COUER D	ALENE RIVER
94-09258	11/28/2014	(ATTI)	701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06	07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water Source:	STEAMBOAT CREEK	TRIBUTARY: NORTH FORK COUER D	ALENE RIVER

253 3RD VAL	NIIE NORTH	=	ion DOCKET SHEET	12/08/1 IWT04	1 ∩		PAGE: 675
REGIS SUBCASE#	TER OF ACTION DATE FILED	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PER	RIOD 1	1/01/2014 THRU 11/	30/2014.
94-09258	11/28/2014	RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Iss	sues:	01 02 03 04 05 06	07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 ROISE. ID 83724				TRIBUTARY: NORTH FORK COUER D'ALENE RIVER
94-09258	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CARTTOL BLVD 10TH FI	Iss	sues:	01 02 03 04 05 06	07 08 09 12
		OBJECTION: (ATTY)	PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE FINAL PROBLEM OF THE PROBLEM				TRIBUTARY: NORTH FORK COUER D'ALENE RIVER
94-09258	11/28/2014	RESPONSE: (ATTY)	550 WEST FORT STREET, MSC 033 BOISE, ID 83724 SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA	Iss	sues:	01 02 03 04 05 06	07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
			UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE		arce:	STEAMBOAT CREEK	TRIBUTARY: NORTH FORK COUER D'ALENE RIVER
94-09258	11/28/2014	RESPONSE: (ATTY)	ENVIRONMENT & NAIL RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Iss	sues:	01 02 03 04 05 06	07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sou	irce:	STEAMBOAT CREEK	TRIBUTARY: NORTH FORK COUER D'ALENE RIVER

253 3RD AVE	Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 253 3RD AVENUE NORTH TWIN FALLS, ID 83301				PAGE: 6/6	
REGIS SUBCASE#	STER OF ACTION DATE FILED		G ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.	
94-09259	11/13/2014		AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200		01 02 03 04 05 06 07 08 09 10 1	
		OBJECTION: (ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P	Water Source:	NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09259	11/24/2014	RESPONSE: (ATTY)	HAGADÓNE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09259	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS	Water Source:	NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09259	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
			,			

253 3RD AVE TWIN FALLS,	ENUE NORTH	voi majaaroak	2001.21	IWT040	Inez: 077	
REGIS	STER OF ACTION DATE FILED		G ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.	
			KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES	Water Source:	NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09259	11/28/2014	RESPONSE: (ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09259	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)		Water Source:	NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09259	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER

Coeur d'Ale 253 3RD AVE	ne-Spokane Riv	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 678
SUDCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD	11/01/2014 THRU 11/30/2014.
		RESPONSE:	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	NORTH FORK COEUR D'ALENE RIVER TRIBUTARY: COEUR D'ALENE RIVER
94-09259	11/28/2014		BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 83724		NORTH FORK COEUR D'ALENE RIVER TRIBUTARY: COEUR D'ALENE RIVER
94-09260	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
COEUR D'ALE	NE RTV	CLAIMANT:	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS	Water Source:	LITTLE NORTH FORK COEUR D'ALENE RIVER TRIBUTARY: NORTH FORK
002011 2 1122		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
94-09260	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
COEUR D'ALE	NE RIV	CLAIMANT:	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS	Water Source:	LITTLE NORTH FORK COEUR D'ALENE RIVER TRIBUTARY: NORTH FORK
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		

253 3RD AVE	NUE NORTH	ver Adjudicat	ION DOCKET SHEET	12/08/14 IWT040	PAGE: 6/9	
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.	
	11/28/2014				01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
COEUR D'ALE	יאור סדוו	CLAIMANT:	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS	Water Source:	LITTLE NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: NORTH FORK
COEUR D ALE	INE KIV	(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
94-09260	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
COEUR D'ALE	NE DIV	CLAIMANT:	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS	Water Source:	LITTLE NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: NORTH FORK
COEOR D ALE	INE KIV	(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
94-09260	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
COEUR D'ALE	NE RIV	CLAIMANT:	UNITED STATES OF AMERICA AS	Water Source:	LITTLE NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: NORTH FORK
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
94-09260	11/28/2014	RESPONSE: (ATTY)		Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
COEUR D'ALE	'NE RIV	CLAIMANT:	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS	Water Source:	LITTLE NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: NORTH FORK
COLOR D ALE	M. VIA	(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			

Coeur d'Alen 253 3RD AVEN TWIN FALLS,	UE NORTH	er Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 680	
REGIST SUBCASE#	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1		
			SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
COEUR D'ALEN	IF. RTV	CLAIMANT:	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS	Water Source:	LITTLE NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: NORTH FORK
COLOR D TIBLE	I III	(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
94-09260	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
CORUD DIALEM		CLAIMANT:	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS	Water Source:	LITTLE NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: NORTH FORK
COEUR D'ALEN	E RIV	(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
94-09260	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
COEUR D'ALEN	E RIV	CLAIMANT:	UNITED STATES OF AMERICA AS	Water Source:	LITTLE NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: NORTH FORK
94-09260	11/28/2014	(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN	Taguage	01 02 03 04 05 06 07 08 09 12	
J4 0J200	11/20/2014	(ATTY)	MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	issues.	01 02 03 04 03 00 07 00 03 12	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
COEUR D'ALEN	E RIV	CLAIMANT:	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS	Water Source:	LITTLE NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: NORTH FORK
. ,	_,	(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			

Coeur d'Aler 253 3RD AVEN TWIN FALLS,	ne-Spokane Riv	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 681	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.	
		RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200		01 02 03 04 05 06 07 08 09 10 11	
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
COEUD DIALEA	JE DIV	CLAIMANT:	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS	Water Source:	LITTLE NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: NORTH FORK
COEUR D'ALE	NE KIV	(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
94-09261	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
COEUR D'ALE	NE DIV	CLAIMANT:	UNITED STATES OF AMERICA AS	Water Source:	LITTLE NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: NORTH FORK
		(ATTY)	ENVIRONMENT & NATL' RESOURCES			
94-09261	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
COEUR D'ALE	NE RTV	CLAIMANT:	UNITED STATES OF AMERICA AS	Water Source:	LITTLE NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: NORTH FORK
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
94-09261	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
CORID DIATE	JE DIV	CLAIMANT:	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS	Water Source:	LITTLE NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: NORTH FORK
COEUR D'ALEN	NE KIA	(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			

253 3RD AVE	NUE NORTH	rei Adjudicat	ION DOCKET SHEET	IWT040	IAGE. 002	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.	
		RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL		01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CT.ATMANT:	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS	Water Source:	LITTLE NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: NORTH FORK
COEUR D'ALE	NE RIV	(ATTY)	US DEPARTMENT OF JUSTICE			
		, ,	ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 83724			
94-09261	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
	NE DIII	CLAIMANT:	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS	Water Source:	LITTLE NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: NORTH FORK
COEUR D'ALE	NE RIV	(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
94-09261	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
COEUR D'ALE	NE RIV	CLAIMANT:	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS	Water Source:	LITTLE NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: NORTH FORK
COEON D ALLE	NE KIV	(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
94-09261	11/28/2014	RESPONSE: (ATTY)	550 WEST FORT STREET, MSC 033 BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
COEUR D'ALE	NE RTV	CLAIMANT:	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS	Water Source:	LITTLE NORTH FORK COEUR D'ALENE RIVER	TRIBUTARY: NORTH FORK
COLOR D TABLE	111 V	(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			

		ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 683
SUBCASE#	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1	11/01/2014 THRU 11/30/2014.
		RESPONSE:	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
COEUR D'ALE	ENE RIV	CLAIMANT:	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS	Water Source:	LITTLE NORTH FORK COEUR D'ALENE RIVER TRIBUTARY: NORTH FORK
		(ATTY)	ENVIRONMENT & NATL' RESOURCES		
94-09261	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	PO BOX 2720 BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
COEUR D'ALE	THE DIV	CLAIMANT:	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS	Water Source:	LITTLE NORTH FORK COEUR D'ALENE RIVER TRIBUTARY: NORTH FORK
COLOR D ALE	INE KIV	(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
94-09262	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	NORTH FORK COEUR D ALENE RIVER TRIBUTARY: COEUR D ALENE RIV
94-09262	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010	Water Source:	NORTH FORK COEUR D ALENE RIVER TRIBUTARY: COEUR D ALENE RIV

Coeur d'Ale 253 3RD AVE		ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 684	
TWIN FALLS, REGIS SUBCASE#	ID 83301 STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			
	11/28/2014	RESPONSE.	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL		01 02 03 04 05 06 07 08 09 12	
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES	Water Source:	NORTH FORK COEUR D ALENE RIVER	TRIBUTARY: COEUR D ALENE RIVER
94-09262	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE	Water Source:	NORTH FORK COEUR D ALENE RIVER	TRIBUTARY: COEUR D ALENE RIVER
94-09262	11/28/2014	RESPONSE: (ATTY)	550 WEST FORT STREET, MSC 033 BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		NORTH FORK COEUR D ALENE RIVER	TRIBUTARY: COEUR D ALENE RIVER
94-09262	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA	Issues:	01 02 03 04 05 06 07 08 09 12	
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	NORTH FORK COEUR D ALENE RIVER	TRIBUTARY: COEUR D ALENE RIVER

2.53 3RD AVE	ENUE NORTH		tion DOCKET SHEET	12/08/14 IWT040	PAGE: 685	
DODCIADDI	TID 83301 STER OF ACTION DATE FILED		G ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.	
	11/28/2014		SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS	Water Source:	NORTH FORK COEUR D ALENE RIVER	TRIBUTARY: COEUR D ALENE RIVER
94-09262	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724	Water Source:	NORTH FORK COEUR D ALENE RIVER	TRIBUTARY: COEUR D ALENE RIVER
94-09262	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	NORTH FORK COEUR D ALENE RIVER	TRIBUTARY: COEUR D ALENE RIVER
94-09262	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	NORTH FORK COEUR D ALENE RIVER	TRIBUTARY: COEUR D ALENE RIVER

Coeur d'Ale 253 3RD AVE TWIN FALLS,	NUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 686	
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.	
94-09263	11/13/2014	RESPONSE: (ATTY)  OBJECTION:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO		01 02 03 04 05 06 07 08 09 11 10	
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS			
		CLAIMANT: (ATTY)	ENVIRONMENT & NATL' RESOURCES	Water Source:	SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09263	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09263	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09263	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER

253 3RD AVE	NUE NORTH	.or majaaroas	2001.21 20221	IWT040	11.62	
REGIS'	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1		
94-09263	11/28/2014	RESPONSE:	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE	Water Source:	SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09263	11/28/2014	RESPONSE: (ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09263	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09263	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER

253 3RD AVE	NUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 688	
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, I PARTIES INVOLVED			
	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE	Water Source:	SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09263	11/28/2014	RESPONSE: (ATTY)	BOUSE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09264	11/13/2014		BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	PLACER CREEK TRIBUTARY: SOUTH	FORK COEUR D'ALENE RIVER
94-09264	11/24/2014	RESPONSE: (ATTY)	LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	PLACER CREEK TRIBUTARY: SOUTH	FORK COEUR D'ALENE RIVER

253 3RD AVEN	NUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040		PAGE: 689	
TWIN FALLS, REGIST SUBCASE#	ER OF ACTION	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1	11/01/2014 THRU	11/30/2014.	
94-09264	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA	Issues:	01 02 03 04 05	06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 EAST SHOSHONE COUNTY WATER				FORK COEUR D'ALENE RIVER
94-09264	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05	5 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	PLACER CREEK	TRIBUTARY: SOUTH	FORK COEUR D'ALENE RIVER
94-09264	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05	5 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033				FORK COEUR D'ALENE RIVER
94-09264	11/28/2014	(ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05	5 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	PLACER CREEK	TRIBUTARY: SOUTH	FORK COEUR D'ALENE RIVER

253 3RD AVE	Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 253 3RD AVENUE NORTH TWIN FALLS, ID 83301						PAGE: 690	
REGIS:	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, I PARTIES INVOLVED				11/30/2014.	
94-09264	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			01 02 03 04 05	06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)		Water	Source:	PLACER CREEK	TRIBUTARY: SOUTH	FORK COEUR D'ALENE RIVER
94-09264	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05	06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	PLACER CREEK	TRIBUTARY: SOUTH	FORK COEUR D'ALENE RIVER
94-09264	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05	06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	PLACER CREEK	TRIBUTARY: SOUTH	FORK COEUR D'ALENE RIVER
94-09264	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05	06 07 08 09 12	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	PLACER CREEK	TRIBUTARY: SOUTH	FORK COEUR D'ALENE RIVER

253 3RD AVE TWIN FALLS,	ENUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 691	
REGIS SUBCASE#	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.	
	11/13/2014	RESPONSE: (ATTY)			01 02 03 04 05 06 07 08 09 10 11	
		(ATTY)	OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 M BANNOCK ST	Water Source:	SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09265	11/24/2014	RESPONSE: (ATTY)	PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09265	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA	Issues:	01 02 03 04 05 06 07 08 09 12	
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09265	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER

253 3RD AVE TWIN FALLS,	NUE NORTH	.or majaaroas	200121 2021	IWT040	11.62.	
REGIS'	TER OF ACTION DATE FILED		G ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1		
94-09265	11/28/2014	RESPONSE:	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE	Water Source:	SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09265	11/28/2014	RESPONSE: (ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09265	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09265	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER

253 3RD AVE	ENUE NORTH	ver Adjudicat	ION DOCKET SHEET	12/08/14 IWT040	PAGE: 693	
	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.	
	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)		Water Source:	SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09265	11/28/2014	RESPONSE: (ATTY)	MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J	Water Source:	SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09266	11/13/2014	RESPONSE: (ATTY)	717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09266	11/24/2014	RESPONSE: (ATTY)	LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE. ID. 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER

Coeur d'Ale 253 3RD AVE TWIN FALLS,	NUE NORTH	er Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 694	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1		
94-09266	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M		01 02 03 04 05 06 07 08 09 12	
			PO BOX 829 BOISE, ID 83701-0829	Watan Gaussa	COURT FOR COURT PLANER DIVER	MDIDUMADY, COPUD DIALPHE DIVED
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09266	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09266	11/28/2014	(ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09266	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12	
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS	Water Course.	SOUTH FOR CORID DIVIDED DIVED	TOTOLITADY. CODID DIALENE DIVED
		(ATTY)	US DEPARTMENT OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water Source:	SOUTH FORK COEUR D'ALENE RIVER	INIDUIANI. COPOR D ABENE RIVER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 695 253 3RD AVENUE NORTH IWT040

253 3RD AVE		_		IWT040		
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			
94-09266	11/28/2014		SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09266	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09266	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09266	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)		Water Source:	SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER

253 3RD AVE	NITE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 696
SUBCASE#	DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200		01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE ID 83720-0010		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	PINE CREEK TRIBUTARY: SOUTH FORK COEUR D'ALENE RIVER
94-09267	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010	Ĺ	
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	PINE CREEK TRIBUTARY: SOUTH FORK COEUR D'ALENE RIVER
94-09267	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS		
		CLAIMANT: (ATTY)	TIC DEDADMMENT OF THOMEOF		PINE CREEK TRIBUTARY: SOUTH FORK COEUR D'ALENE RIVER 01 02 03 04 05 06 07 08 09 12
94-09267	11/28/2014	RESPONSE: (ATTY)	PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	PINE CREEK TRIBUTARY: SOUTH FORK COEUR D'ALENE RIVER

253 3RD AVE	NUE NORTH	ver Adjudicat	ion DOCKET SHEET		/08/14 IWT040	PAGE: 697	
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			) 11/01/2014 THRU 11/30/2014.	
	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			s: 01 02 03 04 05 06 07 08 09 12	
			ENVIRONMENT & NATI PERCURCER			: PINE CREEK TRIBUTARY: SOUTH FORK COEUR D'ALENE RIVER	ξ.
94-09267	11/28/2014		FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	s: 01 02 03 04 05 06 07 08 09 12	
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS	Water	r Source:	: PINE CREEK TRIBUTARY: SOUTH FORK COEUR D'ALENE RIVER	R
94-09267	11/28/2014	(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATI! RESOURCES			s: 01 02 03 04 05 06 07 08 09 12	
94-09207	11/20/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		issues.	. 01 02 03 04 03 00 07 00 09 12	
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS			e: PINE CREEK TRIBUTARY: SOUTH FORK COEUR D'ALENE RIVER	ξ.
94-09267	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	: 01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Wate	r Source:	:: PINE CREEK TRIBUTARY: SOUTH FORK COEUR D'ALENE RIVER	ξ.

253 3RD AVE	ENUE NORTH	ver Adjudicat	cion DOCKET SHEET	12/08/14 IWT040	PAGE: 698
SUBCASE#	STER OF ACTION		G ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
94-09267		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	PINE CREEK TRIBUTARY: SOUTH FORK COEUR D'ALENE RIVER
94-09267	11/28/2014	RESPONSE: (ATTY)	MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	PINE CREEK TRIBUTARY: SOUTH FORK COEUR D'ALENE RIVER
94-09268	11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	SOUTH FORK COEUR D'ALENE RIVER TRIBUTARY: COEUR D'ALENE RIVER
94-09268	11/24/2014	RESPONSE: (ATTY)	LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SOUTH FORK COEUR D'ALENE RIVER TRIBUTARY: COEUR D'ALENE RIVER

Coeur d'Ale 253 3RD AVE TWIN FALLS,	NUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 699	
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1		
94-09268	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201		01 02 03 04 05 06 07 08 09 12	
			SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09268	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09268	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09268	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	NOT WARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 700 253 3RD AVENUE NORTH IWT040 TWIN FALLS, ID 83301

TWIN FALLS,		T.TST SHOWING	G ALL OBJECTIONS AND RESPONSES,	FOR THE PERIOD 1	1/01/2014 THRU 11/30/2014	
			PARTIES INVOLVED	ION THE TENTOD I	11/01/2014 IIIKO 11/30/2014.	
94-09268	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09268	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09268	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER
94-09268	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SOUTH FORK COEUR D'ALENE RIVER	TRIBUTARY: COEUR D'ALENE RIVER

253 3RD AV	ENUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 701
	, ID 83301 STER OF ACTION DATE FILED	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1	11/01/2014 THRU 11/30/2014.
94-09269	11/13/2014	RESPONSE: (ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)		Water Source:	COEUR D'ALENE RIVER TRIBUTARY: COEUR D'ALENE LA
94-09269	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	COEUR D'ALENE RIVER TRIBUTARY: COEUR D'ALENE LA
94-09269	11/28/2014	RESPONSE:	PINEHURST WATER DISTRICT	Issues:	01 02 03 04 05 06 07 08 09 12

PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201

SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL

ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033

101 S CAPITOL BLVD 10TH FL

US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724

ST MARIES, ID 83861
OBJECTION: WOEMPNER, CARLA

PO BOX 829

PO BOX 829 OBJECTION: WOEMPNER, CARLA
(ATTY) SEMANKO, NORMAN M
101 S CAPITOL BLVD 10TH FL

PO BOX 829 BOISE, ID 83701-0829 CLAIMANT: UNITED STATES OF AMERICA AS

CLAIMANT: UNITED STATES OF AMERICA AS (ATTY) US DEPARTMENT OF JUSTICE

BOISE, ID 83724
RESPONSE: EAST SHOSHONE COUNTY WATER

SEMANKO, NORMAN M

Issues: 01 02 03 04 05 06 07 08 09 12

Water Source: COEUR D'ALENE RIVER TRIBUTARY: COEUR D'ALENE LAKE

Water Source: COEUR D'ALENE RIVER TRIBUTARY: COEUR D'ALENE LAKE

94-09269

11/28/2014

(ATTY)

(ATTY)

(ATTY)

(ATTY)

253 3RD AVE	ENUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 702
SUBCASE#	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT		01 02 03 04 05 06 07 08 09 12
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		COEUR D'ALENE RIVER TRIBUTARY: COEUR D'ALENE LAKE
94-09269	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M	Issues:	01 02 03 04 05 06 07 08 09 12
			101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Water Course	CORID DIALENE DIVED ENTRUMADY, CORID DIALENE LAVE
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOTSE, ID 83724		COEUR D'ALENE RIVER TRIBUTARY: COEUR D'ALENE LAKE
94-09269	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	COEUR D'ALENE RIVER TRIBUTARY: COEUR D'ALENE LAKE
94-09269	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	COEUR D'ALENE RIVER TRIBUTARY: COEUR D'ALENE LAKE

Coeur d'Ale 253 3RD AVE TWIN FALLS,	ne-Spokane Riv NUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 703
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER		01 02 03 04 05 06 07 08 09 12
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	COEUR D'ALENE RIVER TRIBUTARY: COEUR D'ALENE LAKE
94-09269	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	COEUR D'ALENE RIVER TRIBUTARY: COEUR D'ALENE LAKE
94-09270	11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	COEUR D'ALENE RIVER TRIBUTARY: COEUR D'ALENE LAKE
94-09270	11/24/2014	(ATTY)	LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)		Water Source:	COEUR D'ALENE RIVER TRIBUTARY: COEUR D'ALENE LAKE

253 3RD AVE	NUE NORTH	er Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 704
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1	11/01/2014 THRU 11/30/2014.
94-09270	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT		01 02 03 04 05 06 07 08 09 12
		CLAIMANT: (ATTY)	PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	COEUR D'ALENE RIVER TRIBUTARY: COEUR D'ALENE LAKE
94-09270	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	COEUR D'ALENE RIVER TRIBUTARY: COEUR D'ALENE LAKE
94-09270	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO ROX 829		
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		COEUR D'ALENE RIVER TRIBUTARY: COEUR D'ALENE LAKE
94-09270	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)  CLAIMANT: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	COEUR D'ALENE RIVER TRIBUTARY: COEUR D'ALENE LAKE
			BOISE, ID 83724		

Coeur d'Alene-Spokane F 253 3RD AVENUE NORTH	<del>-</del>		12/08/14 IWT040	PAGE: 705
REGISTER OF ACTION SUBCASE# DATE FILEI	N LIST SHOWING	G ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD	11/01/2014 THRU 11/30/2014.
	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATI ' DESCRIPCES		COEUR D'ALENE RIVER TRIBUTARY: COEUR D'ALENE LAKE
94-09270 11/28/2014			Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		ENVITOONMEND & NAME   DECOMPOSE		COEUR D'ALENE RIVER TRIBUTARY: COEUR D'ALENE LAKE
94-09270 11/28/2014	(AIII)	101 C CADITOI DIVO 10TH DI	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE		COEUR D'ALENE RIVER TRIBUTARY: COEUR D'ALENE LAKE
94-09270 11/28/2014		ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
	(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERA STATE OF IDAHO PO BOX 83720		
	CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		COEUR D'ALENE RIVER TRIBUTARY: COEUR D'ALENE LAKE

53 3RD AVE	NUE NORTH		ion DOCKET SHEET	12/08/14 IWT040	
REGIS UBCASE#	TER OF ACTION DATE FILED	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		OD 11/01/2014 THRU 11/30/2014.
4-09271	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200		nes: 01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sour	ce: SPRING
4-09271	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issu	nes: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Sour	cce: SPRING
1-09271	11/28/2014	RESPONSE: (ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issu	nes: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sour	cce: SPRING
4-09271	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issu	nes: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sour	cce: SPRING

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 707 253 3RD AVENUE NORTH IWT040

253 3RD AVE		2		IWT040	
REGIS	, ID 83301 STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	OR THE PERIOD 1	1/01/2014 THRU 11/30/2014.
94-09271	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	SPRING
94-09271	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
94-09271	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
94-09271	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING

Coeur d'Ale 253 3RD AVE TWIN FALLS,	NUE NORTH	er Adjudicat.	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 708
REGIS'	TER OF ACTION	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD	
94-09271	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL		01 02 03 04 05 06 07 08 09 12
		CLAIMANT: (ATTY)	PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
94-09271	11/28/2014		BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	SPRING
94-09272	11/13/2014	RESPONSE: (ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
94-09272	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING

253 3RD AVE TWIN FALLS,	NUE NORTH		ION BOCKET SHEET		WT040	
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
94-09272	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	SPRING
94-09272	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, TD 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
94-09272	11/28/2014	(ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING

253 3RD AVE	NUE NORTH	_	100 DOCKET SHEET	II	WT040	PAGE: /10
REGIS SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
94-09272	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
94-09272	11/28/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
94-09272	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
94-09272	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING

WIN FALLS,	ENUE NORTH ID 83301			IWT040					
REGIS	STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED						
94-09273	11/13/2014					01 02 03 04 05 06 07 08 09 10 11			
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720						
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	SPRING			
4-09273	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12			
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010						
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING			
4-09273	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12			
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829						
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	SPRING			
4-09273	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829						
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING			

253 3RD AVŁ TWIN FALLS,	NUE NORTH			II	WT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
94-09273	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
94-09273	11/28/2014		FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
94-09273	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	SPRING
94-09273	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING

Coeur d'Alene-Spokane R 253 3RD AVENUE NORTH	River Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 713
	)	ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		
94-09273 11/28/2014	RESPONSE: (ATTY)			01 02 03 04 05 06 07 08 09 12
	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
94-09273 11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
94-09274 11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
	OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
	(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	BLACK LAKE TRIBUTARY: COEUR D'ALENE RIVER
94-09274 11/24/2014	(ATTY)	LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	BLACK LAKE TRIBUTARY: COEUR D'ALENE RIVER

	ID 83301	TICT CHOWING	ALL OBJECTIONS AND RESPONSES, FO	ים חוד סבסדטה 11/	/በ1/2በ1/ ጥሀር	ott 11/30/201/	
BCASE#			PARTIES INVOLVED				
-09274	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861				09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033				
09274	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues: 0	01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source: B	BLACK LAKE	TRIBUTARY:	COEUR D'ALENE RIVE
09274	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues: 0	01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724				
-09274	11/28/2014		FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA	Issues: 0	01 02 03 04	05 06 07 08	09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source: B	BLACK LAKE	TRIBUTARY:	COEUR D'ALENE RIVE

253 3RD AVE	NUE NORTH	_	ION DOCKET SHEET	12/0	T040		PAGE:	
SUBCASE#	DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED					
			SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033					
94-09274	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	<u>-</u>	Issues:	01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water S	Source:	BLACK LAKE	TRIBUTARY:	COEUR D'ALENE RIVER
94-09274	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE. ID 83701-0829	=	Issues:	01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)						
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724					
94-09274	11/28/2014	RESPONSE: (ATTY)	BALDWÍN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	-	Issues:	01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water S	Source:	BLACK LAKE	TRIBUTARY:	COEUR D'ALENE RIVER

253 3RD AVE TWIN FALLS,		5	IWT040
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. PARTIES INVOLVED
94-09275		RESPONSE: (ATTY)	AVISTA CORPORATION ISsues: 01 02 03 04 05 06 07 08 09 10 11 SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: BLACK LAKE TRIBUTARY: COEUR D'ALENE RIVER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
94-09275	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO ISsues: 01 02 03 04 05 06 07 08 09 12  LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: BLACK LAKE TRIBUTARY: COEUR D'ALENE RIVER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
94-09275	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT ISSUES: 01 02 03 04 05 06 07 08 09 12 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: BLACK LAKE TRIBUTARY: COEUR D'ALENE RIVER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
94-09275	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER ISSUES: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR Water Source: BLACK LAKE TRIBUTARY: COEUR D'ALENE RIVER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724

	NUE NORTH ID 83301			AD THE DEDICE 1	1 /01 /0014 ===================================	11/20/0014
BCASE#	DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
		RESPONSE:	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	BLACK LAKE TH	RIBUTARY: COEUR D'ALENE RIVE
09275	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	BLACK LAKE TH	RIBUTARY: COEUR D'ALENE RIVE
)9275	11/28/2014	(ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	BLACK LAKE TH	RIBUTARY: COEUR D'ALENE RIVE
)9275	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	BLACK LAKE TH	RIBUTARY: COEUR D'ALENE RIVE

BCASE#	DATE FILED		ALL OBJECTIONS AND RESPONSES, FOR PARTIES INVOLVED					
			SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M					
			101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	BLACK LAKE	TRIBUTARY:	COEUR D'ALENE RIVE
09275	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04	05 06 07 08	09 12
		OBJECTION:	BOISE, ID 83701-2720 STATE OF IDAHO					
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720					
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	BLACK LAKE	TRIBUTARY:	COEUR D'ALENE RIVE
09276	11/13/2014	RESPONSE: (ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04	05 06 07 08	09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720					
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	BLACK LAKE	TRIBUTARY:	COEUR D'ALENE RIVE
09276	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720					
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	BLACK LAKE	TRIBUTARY:	COEUR D'ALENE RIVE

53 3RD AVE			ION DOCKET SHEET		VT040		PAGE:	. — •
REGIS JBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED					4.
	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861					09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	BLACK LAKE	TRIBUTARY:	COEUR D'ALENE RIVER
94-09276 1	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	BLACK LAKE	TRIBUTARY:	COEUR D'ALENE RIVER
-09276	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	BLACK LAKE	TRIBUTARY:	COEUR D'ALENE RIVER
-09276	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	BLACK LAKE	TRIBUTARY:	COEUR D'ALENE RIVER

253 3RD AVE	NUE NORTH	rei hajuaicat	IOII DOCKET SHEET	IWT040	IAGE. 720
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
94-09276	11/28/2014	RESPONSE: (ATTY)			01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	BLACK LAKE TRIBUTARY: COEUR D'ALENE RIVER
94-09276	11/28/2014	(ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES		BLACK LAKE TRIBUTARY: COEUR D'ALENE RIVER 01 02 03 04 05 06 07 08 09 12
94-09276	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL	Issues:	01 02 03 04 05 06 07 08 09 12
		(AIII)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN		BLACK LAKE TRIBUTARY: COEUR D'ALENE RIVER
94-09276	11/28/2014	RESPONSE: (ATTY)	BALDWÍN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	BLACK LAKE TRIBUTARY: COEUR D'ALENE RIVER

253 3RD AVEN TWIN FALLS,	NUE NORTH	or majaaroad	IWT040
REGIST	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. PARTIES INVOLVED
94-09277	11/13/2014		AVISTA CORPORATION ISSUES: 01 02 03 04 05 06 07 08 09 10 11 SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR Water Source: BLACK LAKE TRIBUTARY: COEUR D'ALENE RIVER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
94-09277	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO ISSUES: 01 02 03 04 05 06 07 08 09 12 LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: BLACK LAKE TRIBUTARY: COEUR D'ALENE RIVER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
94-09277	11/28/2014	(ATTY)	PINEHÜRST WATER DISTRICT ISSUES: 01 02 03 04 05 06 07 08 09 12  PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201  ST MARIES. ID 83861
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: BLACK LAKE TRIBUTARY: COEUR D'ALENE RIVER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033
94-09277	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER ISSUES: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR Water Source: BLACK LAKE TRIBUTARY: COEUR D'ALENE RIVER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033
			BOISE, ID 83724

253 3RD AVE TWIN FALLS,	NUE NORTH	5	ION BOCKET SHEET	IWT040	0
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		IOD 11/01/2014 THRU 11/30/2014.
94-09277	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		ues: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Sour	rce: BLACK LAKE TRIBUTARY: COEUR D'ALENE RIVER
4-09277	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issu	ues: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		rce: BLACK LAKE TRIBUTARY: COEUR D'ALENE RIVER
94-09277	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issu	ues: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724		rce: BLACK LAKE TRIBUTARY: COEUR D'ALENE RIVER
4-09277	11/28/2014		SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL	Issu	ues: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOTSE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Sour	rce: BLACK LAKE TRIBUTARY: COEUR D'ALENE RIVER

253 3RD AVE	NUE NORTH	ver Adjudicat	ion DOCKET SHEET		08/14 WT040	PAGE: 723
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			11/01/2014 THRU 11/30/2014.
			SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	BLACK LAKE TRIBUTARY: COEUR D'ALENE RIVER
4-09277	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	BLACK LAKE TRIBUTARY: COEUR D'ALENE RIVER
4-09278	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)		Water	Source:	BLACK LAKE TRIBUTARY: COEUR D'ALENE RIVER
1-09278	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	BLACK LAKE TRIBUTARY: COEUR D'ALENE RIVER

	ID 83301	TICE CHOMING	ALL OD TECHTONS AND DESDONSES EG	mile DEDIOD 11/01/2014 milDi 11/20/2014	
BCASE#			PARTIES INVOLVED	THE PERIOD 11/01/2014 THRU 11/30/2014	•
-09278	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues: 01 02 03 04 05 06 07 08	09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	ater Source: BLACK LAKE TRIBUTARY:	
09278	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues: 01 02 03 04 05 06 07 08	09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	ater Source: BLACK LAKE TRIBUTARY:	COEUR D'ALENE RIVE
09278	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues: 01 02 03 04 05 06 07 08	09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	ater Source: BLACK LAKE TRIBUTARY:	
-09278	11/28/2014		FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA	Issues: 01 02 03 04 05 06 07 08	09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		ater Source: BLACK LAKE TRIBUTARY:	COEUR D'ALENE RIVE

253 3RD AVE	NUE NORTH	ver Adjudicat	ion DOCKET SHEET		78714 7T040		PAGE:	125
TWIN FALLS, REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, E PARTIES INVOLVED					
94-09278	11/28/2014		SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	BLACK LAKE	TRIBUTARY:	COEUR D'ALENE RIVER
94-09278	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	BLACK LAKE	TRIBUTARY:	COEUR D'ALENE RIVER
94-09278	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	BLACK LAKE	TRIBUTARY:	COEUR D'ALENE RIVER
94-09278	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720					
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	BLACK LAKE	TRIBUTARY:	COEUR D'ALENE RIVER

253 3RD AVEN	NUE NORTH	ver Aujudicac	ION DOCKET SHEET		T040		IAGE.	20
REGIST	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED					
	11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04	05 06 07 08	09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720					
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	BLACK LAKE	TRIBUTARY:	COEUR D'ALENE RIVER
94-09279	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	BLACK LAKE	TRIBUTARY:	COEUR D'ALENE RIVER
94-09279	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	BLACK LAKE	TRIBUTARY:	COEUR D'ALENE RIVER
94-09279	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	BLACK LAKE	TRIBUTARY:	COEUR D'ALENE RIVER

53 3RD AVE	NUE NORTH	3	ION BOCKET SHEET	IWT040	
REGIS UBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		OD 11/01/2014 THRU 11/30/2014.
4-09279	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issue	es: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Sourc	ce: BLACK LAKE TRIBUTARY: COEUR D'ALENE RIVER
4-09279	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issue	es: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		ce: BLACK LAKE TRIBUTARY: COEUR D'ALENE RIVER
1-09279	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issue	es: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724		ce: BLACK LAKE TRIBUTARY: COEUR D'ALENE RIVER
1-09279	11/28/2014		SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO ROY 829	Issue	es: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOTSE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source	ce: BLACK LAKE TRIBUTARY: COEUR D'ALENE RIVER

253 3RD AVE TWIN FALLS,	NUE NORTH	ver Adjudicat	ION DOCKET SHEET	12/08/14 IWT040	PAGE: 728
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		
	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	BLACK LAKE TRIBUTARY: COEUR D'ALENE RIVER
94-09279	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	BLACK LAKE TRIBUTARY: COEUR D'ALENE RIVER
94-09280	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	COEUR D ALENE LAKE TRIBUTARY: SPOKANE RIVER
94-09280	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	COEUR D ALENE LAKE TRIBUTARY: SPOKANE RIVER

Coeur d'Alene-Spokane River Adjudicatio 253 3RD AVENUE NORTH		ON DOCKET SHEET		08/14 VT040	PAGI	PAGE: /29		
SUBCASE#	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED					
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861					
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPO	OKANE RIVER
94-09280	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07	08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033					OKANE RIVER
94-09280	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07	08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPO	OKANE RIVER
94-09280	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07	08 09 12	
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Matau	Course	COEID D ALEME TAVE	mpipimany. On	OMANIE DITTED
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water	source:	COLOR D ALENE LAKE	INIBUTANT: SPO	JAANE KIVEK

253 3RD AVE	NUE NORTH	rei Aujuuicat.	IOII DOCKET SHEET	IWT040	IAG	E. 750
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			2014.
	11/28/2014		SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sourc	e: COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
94-09280	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issue	es: 01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sourc	e: COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
94-09280	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issue	es: 01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sourc	e: COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
94-09280	11/28/2014		BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issue	es: 01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sourc	e: COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER

d'Alene-Snokane Piwer Adjudication DOCKET SHE 12/08/14 DACE: 731

Coeur d'Alene-Spokane Ri 253 3RD AVENUE NORTH	ver Adjudicat	ion DOCKET SHEET		08/14 WT040	PAGE: 731
SUBCASE# DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			11/01/2014 THRU 11/30/2014.
	RESPONSE: (ATTY)				01 02 03 04 05 06 07 08 09 10 11
	CLAIMANT: (ATTY)	STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TF US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		Source:	COEUR D ALENE LAKE TRIBUTARY: SPOKANE RIVER
94-09281 11/24/2014	RESPONSE: (ATTY)	LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720	ı		
	(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	R Water	Source:	COEUR D ALENE LAKE TRIBUTARY: SPOKANE RIVER
94-09281 11/28/2014	RESPONSE: (ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
	CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TF US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	R Water	Source:	COEUR D ALENE LAKE TRIBUTARY: SPOKANE RIVER
94-09281 11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL		Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
	CLAIMANT: (ATTY)	BOISE, ID 83701-0829	R Water	Source:	COEUR D ALENE LAKE TRIBUTARY: SPOKANE RIVER

253 3RD AVE		2	IWT040						
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. PARTIES INVOLVED						
94-09281	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT Issues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829						
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829						
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: COEUR D ALENE LAKE TRIBUTARY: SPOKANE RIVER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724						
94-09281	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST ISSUES: 01 02 03 04 05 06 07 08 09 12 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861						
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829						
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: COEUR D ALENE LAKE TRIBUTARY: SPOKANE RIVER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033						
94-09281	11/28/2014	(ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S Issues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829						
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829						
		(ATTY)	UNITED STATES OF AMERICA AS TR Water Source: COEUR D ALENE LAKE TRIBUTARY: SPOKANE RIVER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033						
94-09281	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS Issues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE ID 83701-0829						
		OBJECTION: (ATTY)							
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: COEUR D ALENE LAKE TRIBUTARY: SPOKANE RIVER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724						

253 3RD AVEN		3	IWT040								
SUBCASE#	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	OR THE PERIOD 1							
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL								
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829								
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET MSC 033		COEUR D ALENE LAKE TRIBUTARY: SPOKANE RIVER						
94-09281	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12						
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720								
		(MIII)	ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	COEUR D ALENE LAKE TRIBUTARY: SPOKANE RIVER						
94-09282	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE. STE 1200	Issues:	01 02 03 04 05 06 07 08 09 10 11						
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010								
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033								
94-09282	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12						
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010								
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER						

253 3RD AVEN	rei Adjudicat	TOIL DOCKET SHEET		WT040	INDE. 134	
SUBCASE#	PER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
94-09282	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
94-09282	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, TD 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
94-09282	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)  CLAIMANT:	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR	Wa+or	Source	GROUND WATER
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Macel	Jource.	OLOGIE MILLIN

253 3RD AVE	NUE NORTH	_	ION DOCKET SHEET	TΜ	VT040	PAGE: /35
REGIS SUBCASE#	TER OF ACTION DATE FILED	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
94-09282	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
94-09282	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
94-09282	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE	NUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 PAGE: 736 IWT040			
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED				
94-09283	11/13/2014		AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505				0 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE TRIBUTA	RY: SPOKANE RIVER
94-09283	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 1	2
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE TRIBUTA	RY: SPOKANE RIVER
94-09283	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 1	2
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE TRIBUTA	RY: SPOKANE RIVER
94-09283	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 1	2
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE TRIBUTA	RY: SPOKANE RIVER

253 3RD AVE TWIN FALLS,				IWT040		
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR			2014.
94-09283		RESPONSE:	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
94-09283	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861	Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
94-09283	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 83724			
94-09283	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER

253 3RD AVE	d'Alene-Spokane River Adjudication DOCKET SHEET BRD AVENUE NORTH FALLS, ID 83301		ion DOCKET SHEET		08/14 7T040	PAGE: 738		
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			11/01/2014 THRU 11/30/2014.		
			SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE TRIBUTARY: SPOKANE RIVER		
94-09283	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12		
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720					
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	COEUR D ALENE LAKE TRIBUTARY: SPOKANE RIVER		
95-16527	11/05/2014	RESPONSE: (ATTY)	BOISE, ID 83724 RATHDRUM POWER LLC SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	02 03 04 07 09 10		
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ALL SOURCES OF SURFACE AND GROUND WATER		
95-16527	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12		
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720					
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	ALL SOURCES OF SURFACE AND GROUND WATER		

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 739 253 3RD AVENUE NORTH IWT040

253 3RD AVE	NUE NORTH			IWT040	
SUBCASE#	TER OF ACTION		G ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	OR THE PERIOD 11/	
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL	Issues: 0	1 02 03 04 05 06 07 08 09 12
		CLAIMANT: (ATTY)	PO BOX 829 BOISE, ID 83701-0829	Water Source: A	LL SOURCES OF SURFACE AND GROUND WATER
95-16527	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues: 0	1 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source: A	LL SOURCES OF SURFACE AND GROUND WATER
95-16527	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues: 0	1 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source: A	LL SOURCES OF SURFACE AND GROUND WATER
95-16527	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861	Issues: 0	1 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source: A	LL SOURCES OF SURFACE AND GROUND WATER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 740 253 3RD AVENUE NORTH IWT040

253 3RD AVE		2	IWT040							
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, EPARTIES INVOLVED	FOR THE PERIOD	11/01/2014 THRU 11/30/2014.					
		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE. ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12					
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829							
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ALL SOURCES OF SURFACE AND GROUND WATER					
95-16527	11/28/2014	(ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12					
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829							
		(ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		ALL SOURCES OF SURFACE AND GROUND WATER					
95-16527	11/28/2014		SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12					
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829							
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		ALL SOURCES OF SURFACE AND GROUND WATER					
95-16527	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12					
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010							
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	ALL SOURCES OF SURFACE AND GROUND WATER					

253 3RD AVE	oeur d'Alene-Spokane kiver Adjudication DOCKET SHEET 53 3RD AVENUE NORTH WIN FALLS, ID 83301				PAGE: /41
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
95-16663	11/19/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200		: 01 02 03 04 05 06 07 08 09 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 HAUSER LAKE WATER ASSN INC MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		
		CLAIMANT:	BOISE, ID 83701-2720 AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3727	Water Source	: COEUR D'ALENE LAKE TRIBUTARY: SPOKANE RIVER
95-16663	11/19/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues	: 01 02 03 04 05 06 07 08 09 11
		(ATTY)	ALPINE MEADOWS WATER AND SEWER MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		
			AVISTA CORPORATION 1411 E MISSION AVE		: COEUR D'ALENE LAKE TRIBUTARY: SPOKANE RIVER
95-16663	11/19/2014	(11111)	PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues	: 01 02 03 04 05 06 07 08 09 11
		(ATTY)	WHITEMAN LUMBER CO INC WOLFF, NANCY A. MORRIS & WOLFF, P.A. 722 MAIN AVE ST MARIES, ID 83861		
			AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3727 AVISTA CORPORATION		: COEUR D'ALENE LAKE TRIBUTARY: SPOKANE RIVER
95-16663	11/19/2014	(ATTY)	PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues	: 01 02 03 04 05 06 07 08 09 11
		(ATTY)	CORKILL, DAVID BRADLEY & MARY WOLFF, NANCY A. MORRIS & WOLFF, P.A. 722 MAIN AVE ST MARIES, ID 83861		
			1411 E MISSION AVE	Water Source	: COEUR D'ALENE LAKE TRIBUTARY: SPOKANE RIVER
95-16663	11/19/2014	(ATTY)	SPOKANE, WA 99202-3727 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues	: 01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	CITY OF COEUR D'ALENE MCHUGH, CANDICE M 380 S 4TH STREET STE 103 BOISE, ID 83702		
		CLAIMANT:	AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3727	Water Source	: COEUR D'ALENE LAKE TRIBUTARY: SPOKANE RIVER

253 3RD AVENUE NORTH TWIN FALLS, ID 83301						WT040					
REGIS SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND PARTIES INVOLVED	-							
	11/19/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM PAINE HAMBLEN LLP 717 W SPRAGUE AVE. S	J STE 1200		Issues:	11				
		OBJECTION:	SPOKANE, WA 99201-3 TATE, DENNIS PO BOX 273 KELLOGG, ID 83837	3505							
		CLAIMANT:	AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3		Water	Source:	COEUR D'ALE	ENE LAKE	TRIBUTARY:	SPOKANE	RIVER
95-16663	11/19/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM PAINE HAMBLEN LLP 717 W SPRAGUE AVE, SPOKANE, WA 99201-	J STE 1200		Issues:	11				
		OBJECTION:	MILLER, DORIS 27002 E DUDLEY RD CATALDO, ID 83810	3303							
		CLAIMANT:	AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3		Water	Source:	COEUR D'ALE	ENE LAKE	TRIBUTARY:	SPOKANE	RIVER
95-16663	11/19/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM PAINE HAMBLEN LLP 717 W SPRAGUE AVE, S	J STE 1200		Issues:	11				
		OBJECTION:	SPOKANE, WA 99201-3 WICK, VICTORIA 26430 E DUDLEY RD CATALDO, ID 83810	3303							
		CLAIMANT:	AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3		Water	Source:	COEUR D'ALE	ENE LAKE	TRIBUTARY:	SPOKANE	RIVER
95-16663	11/19/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM PAINE HAMBLEN LLP 717 W SPRAGUE AVE.	J STE 1200		Issues:	11				
		OBJECTION:	SPOKANE, WA 99201-3 RUMPEL, DON 1957 MONTGOMERY GULC KELLOGG, ID 83837	CH							
		CLAIMANT:	AVISTA CORPORATION 1411 E MISSION AVE					ENE LAKE	TRIBUTARY:	SPOKANE	RIVER
95-16663	11/19/2014	RESPONSE: (ATTY)	SPOKANE, WA 99202-AVISTA CORPORATION SCHROEDER, WILLIAM PAINE HAMBLEN LLP 717 W SPRAGUE AVE, SPOKANE, WA 99201-3	J STE 1200		Issues:	11				
		OBJECTION:	MILLER, ROSALIE 119 E ST SMELTERVILLE, ID 83								
		CLAIMANT:	AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3		Water	Source:	COEUR D'ALI	ENE LAKE	TRIBUTARY:	SPOKANE	RIVER

253 3RD AVENUE NORTH TWIN FALLS, ID 83301				IWT040							
REGIST	TER OF ACTION		ALL OBJECTIONS AND R PARTIES INVOLVED	-							
		RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, S	TE 1200		Issues:					
			SPOKANE, WA 99201-3 MILLER, BELINDA 13704 CATALDO DR								
		CLAIMANT:	CATALDO, ID 83810 AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3	3727				D'ALENE LAKE	TRIBUTARY:	SPOKANE	RIVER
95-16663	11/19/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, S SPOKANE, WA 99201-3	T STE 1200		Issues:	11				
		OBJECTION:	MARKUS, MIKE 15699 S HWY 3								
			CATALDO, ID 83810 AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3		Water	Source:	COEUR	D'ALENE LAKE	TRIBUTARY:	SPOKANE	RIVER
95-16663	11/19/2014	RESPONSE: (ATTY)	SPOKANE, WA 99202-3 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, S SPOKANE, WA 99201-3			Issues:	11				
			ELLIS, DEBRA 27722 E DUDLEY RD CATALDO, ID 83810								
			AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3 AVISTA CORPORATION					D'ALENE LAKE		SPOKANE	RIVER
95-16663	11/19/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE S	r rr 1200		Issues:	01 02	03 04 05 06 0	7 08 09 11		
		(ATTY)	SPOKANE, WA 99201-3 BUELL BROS INC WOLFF, NANCY A. MORRIS & WOLFF, P.A. 722 MAIN AVE ST MARIES, ID 83861 AVISTA CORPORATION								
			1411 E MISSION AVE					D'ALENE LAKE		SPOKANE	RIVER
95-16663	11/19/2014	(AITY)	SPOKANE, WA 99202-3 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, S SPOKANE, WA 99201-3			Issues:	01 02	03 04 05 06 0	7 08 09 11		
		OBJECTION: (ATTY)	CITY OF HARRISON WOLFF, NANCY A. MORRIS & WOLFF, P.A. 722 MAIN AVE ST MARIES, ID 83861								
		CLAIMANT:	AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3		Water	Source:	COEUR	D'ALENE LAKE	TRIBUTARY:	SPOKANE	RIVER

Coeur d'Ale 253 3RD AVE TWIN FALLS,	NUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 744
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, I PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
95-16663		RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP		: 01 02 03 04 05 06 07 08 09 11
		OBJECTION: (ATTY)	717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 BENEWAH COUNTY BOARD OF WOLFF, NANCY A. MORRIS & WOLFF, P.A. 722 MAIN AVE		
			1411 E MISSION AVE SPOKANE, WA 99202-3727		: COEUR D'ALENE LAKE TRIBUTARY: SPOKANE RIVER
95-16663	11/19/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues	: 01 02 03 04 05 06 07 08 09 11
		OBJECTION: (ATTY)	CITY OF ST MARIES WOLFF, NANCY A. MORRIS & WOLFF, P.A. 722 MAIN AVE ST MARIES, ID 83861		
		CLAIMANT:	AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3727	Water Source	: COEUR D'ALENE LAKE TRIBUTARY: SPOKANE RIVER
95-16663	11/19/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues	: 01 02 03 04 05 06 07 08 09 11
		(ATTY)	HECLA LIMITED BARKER, ALBERT P 1010 W JEFFERSON ST STE 102 PO BOX 2139 BOISE, ID 83701-2139		
		CLAIMANT:	AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3727 AVISTA CORPORATION		: COEUR D'ALENE LAKE TRIBUTARY: SPOKANE RIVER
95-16663	11/19/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues	: 01 02 03 04 05 06 07 08 09 11
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT:	AVISTA CORPORATION 1411 E MISSION AVE		: COEUR D'ALENE LAKE TRIBUTARY: SPOKANE RIVER
95-16663	11/19/2014	(ATTY)	SPOKANE, WA 99202-3727 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues	: 01 02 03 04 05 06 07 08 09 11
		OBJECTION: (ATTY)	BUELL, JACK A & ELEANOR L WOLFF, NANCY A. MORRIS & WOLFF, P.A. 722 MAIN AVE ST MARIES, ID 83861		
		CLAIMANT:	AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3727	Water Source	: COEUR D'ALENE LAKE TRIBUTARY: SPOKANE RIVER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 745 253 3RD AVENUE NORTH IWT040

253 3RD AVE				IWT040		
TWIN FALLS,	TD 83301	T.TST SHOWING	ALL OBJECTIONS AND RESPONSES,	FOR THE PERIOD 1	1/01/2014 THRII 11/30	/2014
SUBCASE#	DATE FILED		PARTIES INVOLVED			, 2014.
	11/19/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issues:		
		OBJECTION: (ATTY)	LYONS, MARC A RAMSDEN & LYONS LLP 700 NORTHWEST BLVD PO BOX 1336			
		CLAIMANT:	1411 E MISSION AVE	Water Source:	COEUR D'ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16663	11/19/2014	RESPONSE: (ATTY)	SPOKANE, WA 99202-3727 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issues:	11	
			SPOKANE, WA 99201-3505 JAMES E CARNEY, TRUSTEE CARNEY LIVING TRUST 19483 S LATOUR CREEK RD CATALDO, ID 83810			
			1411 E MISSION AVE	Water Source:	COEUR D'ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16663	11/19/2014	RESPONSE: (ATTY)	SPOKANE, WA 99202-3727 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE WA 99201-2505	Issues:	11	
			SPOKANE, WA 99201-3505 ARLENE A CARNEY, TRUSTEE CARNEY LIVING TRUST 19483 S LATOUR CREEK RD CATALDO, ID 83810 AVISTA CORPORATION			
			1411 E MISSION AVE			TRIBUTARY: SPOKANE RIVER
95-16663	11/19/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	11	
		(ATTY)	POTLATCH FOREST HOLDINGS INC FEREDAY, JEFFREY C 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720			
			1411 E MISSION AVE SPOKANE, WA 99202-3727			TRIBUTARY: SPOKANE RIVER
95-16663	11/19/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 POTLATCH LAND & LUMBER LLC	Issues:	11	
		OBJECTION: (ATTY)	FEREDAY, JEFFREY C 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720			
		CLAIMANT:	AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3727	Water Source:	COEUR D'ALENE LAKE	TRIBUTARY: SPOKANE RIVER

253 3RD AVEN	IUE NORTH	/er Adjudicat	ION DOCKET SHEET		WT040		PAGI	5: 740
	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, EPARTIES INVOLVED					
95-16663	11/19/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 POTLATCH TRS IDAHO LLC FEREDAY, JEFFREY C 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720					
			AVISTA CORPORATION 1411 E MISSION AVE					TRIBUTARY: SPOKANE RIVER
95-16663	11/24/2014	RESPONSE: (ATTY)	SPORANE, WA 99202-3727 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03	04 05 06 07	08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010					
			AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3727					
95-16663	11/24/2014	(ATTY)	USA AS TRUSTEE ON BEHALF OF US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		Issues:	01 02 03	04 05 06 07	08 09 10
		(ATTY)	BOISE, ID 83724 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010					
			AVISTA CORPORATION					TRIBUTARY: SPOKANE RIVER
95-16663	11/26/2014	(ATTY)	SPOKANE, WA 99202-3727 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03	04 05 06 07	08 09 12
		OBJECTION: (ATTY)	HARMON PROPERTY OWNERS ASSN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720					
		CLAIMANT:	AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3727	Water	Source:	COEUR D'	ALENE LAKE	TRIBUTARY: SPOKANE RIVER

253 3RD AVE TWIN FALLS,	ID 83301			IWT040	
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		L1/01/2014 THRU 11/30/2014.
95-16663	11/26/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	PAYNE, KRISTI & DOUG PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		
		CLAIMANT:	AVISTA CORPORATION		COEUR D'ALENE LAKE TRIBUTARY: SPOKANE RIVER
95-16663	11/26/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 ADDINGTON, STEVE SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
			1411 E MISSION AVE		COEUR D'ALENE LAKE TRIBUTARY: SPOKANE RIVER
95-16663	11/28/2014	(A'I''I'Y)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
			AVISTA CORPORATION 1411 E MISSION AVE SPOKANE WA 99202-3727		COEUR D'ALENE LAKE TRIBUTARY: SPOKANE RIVER
95-16663	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT:	AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3727	Water Source:	COEUR D'ALENE LAKE TRIBUTARY: SPOKANE RIVER
95-16663	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT:	BOISE, ID 83701-0829 AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3727	Water Source:	COEUR D'ALENE LAKE TRIBUTARY: SPOKANE RIVER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 748 253 3RD AVENUE NORTH IWT040

253 3RD AVEN	UE NORTH			IWT040		
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F			
		RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
			1411 E MISSION AVE			TRIBUTARY: SPOKANE RIVER
95-16663	11/28/2014	RESPONSE: (ATTY)	SPOKANE, WA 99202-3727 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	: 01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT:		Water Source:	: COEUR D'ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16663	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	: 01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
			AVISTÀ CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3727		: COEUR D'ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16663	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	: 01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
			AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3727			TRIBUTARY: SPOKANE RIVER
95-16663	11/28/2014	(ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	: 01 02 03 04 05 06 07	08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO DO BOY 83720			
		CLAIMANT:	BOISE, ID 83720-0010 AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3727	Water Source:	: COEUR D'ALENE LAKE	TRIBUTARY: SPOKANE RIVER

253 3RD AVE TWIN FALLS,	NUE NORTH	ver najaareat	TON BOOKET BIRET	IWT040	1101. 719
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD	
		RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200		01 02 03 04 05 06 07 08 09 11
		(ATTY)	SPOKANE, WA 99201-3505 HAUSER LAKE WATER ASSN INC MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		
			AVISTA CORPORATION 1411 E MISSION AVE		COEUR D'ALENE LAKE TRIBUTARY: SPOKANE RIVER
95-16664	11/19/2014	RESPONSE: (ATTY)	SPOKANE, WA 99202-3727 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 11
		(ATTY)	ALPINE MEADOWS WATER AND SEWER MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		
		CLAIMANT:	1411 E MISSION AVE	Water Source:	COEUR D'ALENE LAKE TRIBUTARY: SPOKANE RIVER
95-16664	11/19/2014	(A'I'I'Y)	SPOKANE, WA 99202-3727 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 11
		(ATTY)	WHITEMAN LUMBER CO INC WOLFF, NANCY A. MORRIS & WOLFF, P.A. 722 MAIN AVE		
		CLAIMANT:	4 4 4 4		COEUR D'ALENE LAKE TRIBUTARY: SPOKANE RIVER
95-16664	11/19/2014		AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 CORKILL, DAVID BRADLEY & MARY	Issues:	01 02 03 04 05 06 07 08 09 11
		(AIII)	MODEF, NANCI A. MORRIS & WOLFF, P.A. 722 MAIN AVE ST MARIES. ID 83861		
			AVISTA CORPORATION 1411 E MISSION AVE		COEUR D'ALENE LAKE TRIBUTARY: SPOKANE RIVER
95-16664	11/19/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 11
		(ATTY)	POTLATCH FOREST HOLDINGS INC FEREDAY, JEFFREY C 601 W BANNOCK ST PO BOX 2720		
		CLAIMANT:	PO BOX 2720 BOISE, ID 83701-2720 AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3727	Water Source:	COEUR D'ALENE LAKE TRIBUTARY: SPOKANE RIVER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 750 253 3RD AVENUE NORTH IWTO FALLS. TD 83301

253 3RD AVE			IWT040				
SUBCASE#	STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD :	11/01/2014 THRU 11/30/2014.		
	11/19/2014		AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 11		
		OBJECTION: (ATTY)	POTLATCH LAND & LUMBER LLC				
			AVISTA CORPORATION	Water Source:	COEUR D'ALENE LAKE TRIBUTARY: SPOKANE RIV	ER	
95-16664	11/19/2014	RESPONSE: (ATTY)	SPOKANE, WA 99202-3727 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issues:	01 02 03 04 05 06 07 08 09 11		
		(ATTY)	717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 POTLATCH TRS IDAHO LLC FEREDAY, JEFFREY C 601 W BANNOCK ST PO BOX 2720				
			BOISE, ID 83701-2720 AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3727		COEUR D'ALENE LAKE TRIBUTARY: SPOKANE RIV	ER	
95-16664	11/19/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issues:	01 02 03 04 05 06 07 08 09 10 11		
			SPOKANE, WA 99201-3505 CITY OF COEUR D'ALENE MCHUGH, CANDICE M 380 S 4TH STREET STE 103 BOISE, ID 83702				
			AVISTÀ CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3727		COEUR D'ALENE LAKE TRIBUTARY: SPOKANE RIV	ER	
95-16664	11/19/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	11		
		OBJECTION:	JAMES E CARNEY, TRUSTEE CARNEY LIVING TRUST 19483 S LATOUR CREEK RD CATALDO, ID 83810				
			AVISTA CORPORATION 1411 E MISSION AVE	Water Source:	COEUR D'ALENE LAKE TRIBUTARY: SPOKANE RIV	ER	
95-16664	11/19/2014	(ATTY)	SPOKANE, WA 99202-3727 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	11		
		OBJECTION:	CARNEY LIVING TRUST 19483 S LATOUR CREEK RD CATALDO, ID 83810				
		CLAIMANT:	AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3727	Water Source:	COEUR D'ALENE LAKE TRIBUTARY: SPOKANE RIV	ER	

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 751 253 3RD AVENUE NORTH IWTO FALLS. ID 83301

253 3RD AVE				IWT040		
TWIN FALLS, REGIS: SUBCASE#	TER OF ACTION	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			/2014.
95-16664	11/19/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			
		OBJECTION:	SPOKANE, WA 99201-3505 BINKLEY, JUDI 18327 LATOUR CREEK RD CATALDO, ID 83810			
		CLAIMANT:		Water Source:	COEUR D'ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16664	11/19/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issues:	11	
		OBJECTION:	РО ВОХ 273			
		CLAIMANT:	KELLOGG, ID 83837 AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3727	Water Source:	COEUR D'ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16664	11/19/2014	RESPONSE: (ATTY)	SPORANE, WA 99202-3727 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	11	
		OBJECTION:	MILLER, DORIS 27002 E DUDLEY RD CATALDO, ID 83810			
		CLAIMANT:		Water Source:	COEUR D'ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16664	11/19/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	11	
		OBJECTION:	WICK, VICTORIA 26430 E DUDLEY RD			
		CLAIMANT:	CATALDO, ID 83810 AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3727			TRIBUTARY: SPOKANE RIVER
95-16664	11/19/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	11	
		OBJECTION:	RUMPEL, DON 1957 MONTGOMERY GULCH KELLOGG, ID 83837			
		CLAIMANT:	AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3727	Water Source:	COEUR D'ALENE LAKE	TRIBUTARY: SPOKANE RIVER

TWIN FALLS, ID 83301					IWT040						
REGIS	TER OF ACTION		ALL OBJECTIONS AND RES								
95-16664	11/19/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE. STE	z 1200		Issues:					
			SPOKANE, WA 99201-350 MILLER, ROSALIE 119 E ST	0							
			SMELTERVILLE, ID 8386 AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-372	Ī	Water	Source:	COEUR D'ALENE I	LAKE TR	IBUTARY:	SPOKANE :	RIVER
95-16664	11/19/2014	RESPONSE: (ATTY)	SPOKANE, WA 99202-372 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE SPOKANE, WA 99201-350	E 1200		Issues:	11				
		OBJECTION:	MILLER, BELINDA 13704 CATALDO DR								
			CATALDO, ID 83810 AVISTA CORPORATION 1411 E MISSION AVE SPOKANE. WA 99202-372	27			COEUR D'ALENE I	LAKE TR	IBUTARY:	SPOKANE	RIVER
95-16664	11/19/2014	RESPONSE: (ATTY)	SPOKANE, WA 99202-372 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE SPOKANE, WA 99201-350	E 1200		Issues:	11				
			MARKUS, MIKE 15699 S HWY 3 CATALDO, ID 83810								
			AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-372 AVISTA CORPORATION		Water	Source:	COEUR D'ALENE I	JAKE TR	IBUTARY:	SPOKANE	RIVER
95-16664	11/19/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE SPOKANE, WA 99201-350	E 1200		Issues:	11				
			ELLIS, DEBRA 27722 E DUDLEY RD								
			CATALDO, ID 83810 AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-372 AVISTA CORPORATION	2.7			COEUR D'ALENE I			SPOKANE :	RIVER
95-16664	11/19/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE SPOKANE. WA 99201-350			Issues:	01 02 03 04 05	06 07 08	09 11		
		OBJECTION: (ATTY)	BUELL BROS INC WOLFF, NANCY A. MORRIS & WOLFF, P.A. 722 MAIN AVE ST MARIES, ID 83861								
		CLAIMANT:	AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-372		Water	Source:	COEUR D'ALENE I	JAKE TR	IBUTARY:	SPOKANE	RIVER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 753 253 3RD AVENUE NORTH IWT040

253 3RD AVEN	UE NORTH			IWT040		
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			
		RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		01 02 03 04 05 06 07	
		(ATTY)	WOLFF, NANCY A. WOLFF, NANCY A. MORRIS & WOLFF, P.A. 722 MAIN AVE ST MARIES, ID 83861			
			AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3727	Water Source:	COEUR D'ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16664	11/19/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07	08 09 11
		(ATTY)	BENEWAH COUNTY BOARD OF WOLFF, NANCY A. MORRIS & WOLFF, P.A. 722 MAIN AVE ST MARIES, ID 83861			
			AVISTA CORPORATION 1411 E MISSION AVE	Water Source:	COEUR D'ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16664	11/19/2014	(ATTY)	SPOKANE, WA 99202-3727 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07	08 09 11
		(ATTY)	CITY OF ST MARIES WOLFF, NANCY A. MORRIS & WOLFF, P.A. 722 MAIN AVE ST MARIES, ID 83861	Walter Garage		TOTOLOGICA CONTRACTOR
			AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3727			TRIBUTARY: SPOKANE RIVER
95-16664	11/19/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 CITY OF HARRISON	Issues:	01 02 03 04 05 06 07	08 09 11
		OBJECTION: (ATTY)	WOLFF, NANCY A. MORRIS & WOLFF, P.A. 722 MAIN AVE ST MARIES, ID 83861			
		CLAIMANT:	AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3727 AVISTA CORPORATION	Water Source:	COEUR D'ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16664	11/19/2014		SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07	08 09 11
		(ATTY)	HECLA LIMITED BARKER, ALBERT P 1010 W JEFFERSON ST STE 102 PO BOX 2139 BOISE, ID 83701-2139			
		CLAIMANT:	BOISE, ID 83701-2139 AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3727	Water Source:	COEUR D'ALENE LAKE	TRIBUTARY: SPOKANE RIVER

253 3RD AVENU	JE NORTH	ver Adjudicat	ION DOCKET SHEET		WT040		IAGE. /J4	
SUBCASE#	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED					
95-16664	11/19/2014	RESPONSE: (ATTY)	AVISTA CORPORATION		Issues:	03 04 05 09		
		(ATTY)	LYONS, MARC A RAMSDEN & LYONS LLP 700 NORTHWEST BLVD PO BOX 1336					
		CLAIMANT:	COEUR D'ALENE, ID 83816-1336 AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3727	Water	Source:	COEUR D'ALENE LA	AKE TRIBUTARY:	SPOKANE RIVER
95-16664	11/19/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 (	06 07 08 09 11	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010					
		CLAIMANT:		Water	Source:	COEUR D'ALENE LA	AKE TRIBUTARY:	SPOKANE RIVER
95-16664	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 0	06 07 08 09 12	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010					
		CLAIMANT:	AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3727	Water	Source:	COEUR D'ALENE LA	AKE TRIBUTARY:	SPOKANE RIVER
95-16664	11/24/2014	(ATTY)	USA AS TRUSTEE ON BEHALF OF US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 STATE OF IDAHO		Issues:	01 02 03 04 05 (	06 07 08 09 10	
		OBJECTION: (ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720					
		CLAIMANT:	BOISE, ID 83720-0010 AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3727	Water	Source:	COEUR D'ALENE LA	AKE TRIBUTARY:	SPOKANE RIVER

253 3RD AVENUE NORTH TWIN FALLS, ID 83301				IWT040	IAGE. 733	FAGE. /JJ		
REGIS	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.			
		RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE STE 1200	Issues:	01 02 03 04 05 06 07 08 09 12			
		OBJECTION: (ATTY)	PAYNE, WA 99201-3505 PAYNE, KRISTI & DOUG PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 AVISTA CORPORATION					
					COEUR D'ALENE LAKE TRIBUTARY: SPOK	ANE RIVER		
95-16664	11/26/2014	(21111)	PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issues:	01 02 03 04 05 06 07 08 09 12			
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 HARMON PROPERTY OWNERS ASSN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720					
		CLAIMANT:	BOISE, ID 83701-2720 AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3727	Water Source:	COEUR D'ALENE LAKE TRIBUTARY: SPOK	ANE RIVER		
95-16664	11/26/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE. WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 12			
		(ATTY)	ADDINGTON, STEVE SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
			1411 E MISSION AVE		COEUR D'ALENE LAKE TRIBUTARY: SPOK	ANE RIVER		
95-16664	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12			
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		CLAIMANT:	1411 E MISSION AVE	Water Source:	COEUR D'ALENE LAKE TRIBUTARY: SPOK	ANE RIVER		
95-16664	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12			
			BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		CLAIMANT:	BOISE, ID 83701-0829 AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3727	Water Source:	COEUR D'ALENE LAKE TRIBUTARY: SPOK	ANE RIVER		

253 3RD AVE TWIN FALLS,	NUE NORTH	rei Aujuuicat	ION DOCKET SHEET	IWT040	INGE. 750
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		
	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL	Issue	es: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
			1411 E MISSION AVE		ce: COEUR D'ALENE LAKE TRIBUTARY: SPOKANE RIVER
95-16664	11/28/2014	(11111)	701 W COLLAGE ST STE 201	Issue	es: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
			AVISTA CORPORATION 1411 E MISSION AVE		ce: COEUR D'ALENE LAKE TRIBUTARY: SPOKANE RIVER
95-16664	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issue	es: 01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
			1411 E MISSION AVE		ce: COEUR D'ALENE LAKE TRIBUTARY: SPOKANE RIVER
95-16664	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issue	es: 01 02 03 04 05 06 07 08 09 12
			BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT:	1411 E MISSION AVE	Water Source	ce: COEUR D'ALENE LAKE TRIBUTARY: SPOKANE RIVER
95-16664	11/28/2014	RESPONSE: (ATTY)	SPOKANE, WA 99202-3727 SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issue	es: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT:	AVISTA CORPORATION 1411 E MISSION AVE SPOKANE, WA 99202-3727	Water Source	ce: COEUR D'ALENE LAKE TRIBUTARY: SPOKANE RIVER

253 3RD AVEN	NUE NORTH			IWT040	
REGIS:	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		
95-16664		RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
			1411 E MISSION AVE	Water Source:	COEUR D'ALENE LAKE TRIBUTARY: SPOKANE RIVER
95-16668	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE. WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
95-16668	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
95-16668	11/28/2014	(A'I'I'Y)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE	Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 253 3RD AVENUE NORTH TWIN FALLS, ID 83301				PAGE: 758	
REGIS:	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1		
95-16668	11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER		01 02 03 04 05 06 07 08 09 12	
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
95-16668	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12	
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
95-16668	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12	
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
95-16668	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER	

253 3RD AVE TWIN FALLS,	NUE NORTH	,01 110,001000	10.1 2001.21 0.1221	IWT040	1110	2. 703
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1		2014.
95-16668	11/28/2014	(ATTY)	101 S CAPITOL BLVD 10TH FL	Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER	
95-16668	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07	08 09 12
		(ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER	
95-16668	11/28/2014	(ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 07 08	09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER	
95-16669	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07	08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	COEUR D'ALENE LAKE	TRIBUTARY: SPOKANE RIVER

253 3RD AVE	NUE NORTH	rei Aujuuicat	ION DOCKET SHEET	IWT040		I AG	. 700
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED				
		RESPONSE:	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720				
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sour	cce: COEUR	D'ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16669	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issu	nes: 01 02	03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sour	cce: COEUR	D'ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16669	11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOY 829	Issu	nes: 01 02	03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Sour	cce: COEUR	D'ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16669	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issu	nes: 01 02	03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sour	cce: COEUR	D'ALENE LAKE	TRIBUTARY: SPOKANE RIVER
			20102, 1D 00723				

253 3RD AV		.01 110,001000		IWT040	11101	. , , , ,
REGI	DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			
95-16669	11/28/2014	RESPONSE:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
95-16669	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
95-16669	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
95-16669	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE ID 83701-0829	Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	COEUR D'ALENE LAKE	TRIBUTARY: SPOKANE RIVER

253 3RD AVE TWIN FALLS,	NUE NORTH	ver najaareae	IOII DOCKEI SHEEI	IWT040	11101. 702
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, I PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
95-16669	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		: 01 02 03 04 05 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		(21111)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET MSC 033		: COEUR D'ALENE LAKE TRIBUTARY: SPOKANE RIVER
95-16670	11/13/2014		BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO	Issues	: 01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source	: GROUND WATER
95-16670	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
			UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 PINEHURST WATER DISTRICT	Water Source	: GROUND WATER
95-16670	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source	: GROUND WATER
			DOTOR, ID 00124		

Coeur d'Alene-Spokane River Adjudica 253 3RD AVENUE NORTH TWIN FALLS, ID 83301		ver Adjudicat:	ion DOCKET SHEET		08/14 WT040	PAGE: 763
REGIST SUBCASE#	PER OF ACTION DATE FILED	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE	PERIOD 1	11/01/2014 THRU 11/30/2014.
95-16670	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		Source:	GROUND WATER
95-16670	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		Source:	GROUND WATER
95-16670	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
95-16670	11/28/2014	(ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE		.01 110,001000	1011 2001(21 011221	IWT040	11102 • 701
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1	11/01/2014 THRU 11/30/2014.
95-16670	11/28/2014	(ATTY)	SEMANKO, NORMAN M	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
95-16670	11/28/2014	RESPONSE: (ATTY)		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
95-16670	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
95-16671	11/05/2014	RESPONSE: (ATTY)	RATHDRUM POWER LLC SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 07 08 09 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010	_	
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

WIN FALLS,	INUE NORTH ID 83301 STER OF ACTION	TITST SHOWING	ALL OBJECTIONS AND RESPONSES, F	OR THE	PERIOD 1	1/01/2014 THRU 11/30/2014
UBCASE#	DATE FILED					
	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
95-16671 1	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
95-16671	11/28/2014	RESPONSE: (ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
5-16671	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,		,01 110,001000	200021 50221	IWT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1	
95-16671	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	GROUND WATER
95-16671	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
95-16671	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
95-16671	11/28/2014	RESPONSE: (ATTY)		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

2	oeur d'Ale 253 3RD AVE WIN FALLS,	NUE NORTH	ver Adjudicat	ION DOCKET SHEET	12/08 IW1	7040	PAGE: /0/
	REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			11/01/2014 THRU 11/30/2014.
9	95-16671	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			01 02 03 04 05 06 07 08 09 12
			OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
			CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water S	Source:	GROUND WATER
9	95-16671	11/28/2014	(ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	]	Issues:	01 02 03 04 05 07 08 09 12
			OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010	٠		
			CLAIMANT: (ATTY)		Water S	Source:	GROUND WATER
S	95-16672	11/05/2014	RESPONSE: (ATTY)	RATHORUM POWER LLC SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	ם	ssues:	01 02 03 04 05 07 08 09 11
			OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
			CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water S	Source:	GROUND WATER
Ğ	95-16672	11/13/2014		BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	נ	ssues:	01 02 03 04 05 06 07 08 09 10 11
			OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010	٠		
			CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water S	Source:	GROUND WATER

253 3RD AVE	NUE NORTH	ver Aujudicat	TOTE DOCKET SHEET	IWT040	rage. 700
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
95-16672		RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720		
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
95-16672	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES	Water Source:	
95-16672	11/28/2014	RESPONSE: (ATTY)	550 WEST FORT STREET, MSC 033 BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
95-16672	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
			BOISE, ID 83724		

253 3RD AVENTWIN FALLS,	NUE NORTH	<u> </u>		IWT040	
REGIST	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		
95-16672	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST		01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
95-16672	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
95-16672	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
95-16672	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVENUE NORTH TWIN FALLS, ID 83301				IWT040		
SUBCASE#	DATE FILED		GALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
			BALDWIN, JOHN	Issues:	01 02 03 04 05 07 08 09 12	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER	
95-16673	11/05/2014	RESPONSE: (ATTY)	BOISE, ID 83724 RATHDRUM POWER LLC SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 07 08 09 11	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER	
95-16673	11/13/2014	RESPONSE: (ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER	
95-16673	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12	
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER	

253 3RD AVE	NUE NORTH	ver najuareae	ION DOCKET SHEET		WT040	17101. //1
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA			
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
95-16673	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
95-16673	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			GROUND WATER
95-16673	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVEN	UE NORTH	er Adjudicat.	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 7/2
SUBCASE#	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
95-16673	11/28/2014		SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA		
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
95-16673	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	
95-16673	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOTSE, TD 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
95-16673	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVEN	NUE NORTH			IWT040	
REGIS:	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		
95-16674	11/05/2014	RESPONSE: (ATTY)	RATHDRUM POWER LLC SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
95-16674	11/10/2014		BOISE, ID 83724 SCHULER, MARY M 6389 TALL PINES RD COEUR D'ALENE, ID 83814	Issues:	03 04 05 07 08 09 10 11
			GREEN, WILLIAM M 2803 N 5TH ST COEUR D'ALENE, ID 83815		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
95-16674	11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
95-16674	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE		.01 110,000	1011 2001.21 011.21	IWT040	111021
			ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
95-16674					01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
95-16674	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE. ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
95-16674	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	
95-16674	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY) CLAIMANT:	101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS	Water Source:	GROUND WATER
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 253 3RD AVENUE NORTH TWIN FALLS, ID 83301			ion DOCKET SHEET	12/08/14 IWT040	PAGE: 775
REGIST	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1	
95-16674	11/28/2014	RESPONSE: (ATTY)  OBJECTION: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
95-16674	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
95-16674	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
95-16674	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

1/01/2014 THRU 11/30/2014. 
GROUND WATER
01 02 03 04 05 06 07 08 09 10 11
GROUND WATER
01 02 03 04 05 06 07 08 09 12
GROUND WATER
01 02 03 04 05 06 07 08 09 12
GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH	.01 110,001000	200.21 521	IWT040	11102 • 777
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		
95-16675	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
95-16675	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	GROUND WATER
95-16675	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
95-16675	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
			20108, 18 00723		

	53 3RD AVENUE NORTH VIN FALLS, ID 83301			IWT040	PAGE: 778	
REGIS' UBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, I PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.	
5-16675	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL	Issues:	01 02 03 04 05 06 07 08 09 12	
		CLAIMANT: (ATTY)	PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER	
5-16675	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829	Water Source:	GROUND WATER	
5-16675	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 07 08 09 12	
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 83724	Water Source:	GROUND WATER	
5-16676	11/05/2014	RESPONSE: (ATTY)	BOISE, ID 83724 RATHDRUM POWER LLC SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 07 08 09 11	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER	

Coeur d'Alene-Spokane River Adjudica 253 3RD AVENUE NORTH TWIN FALLS, ID 83301	tion DOCKET SHEET	12/08/14 IWT040	PAGE: 779	
REGISTER OF ACTION LIST SHOWIN SUBCASE# DATE FILED			11/01/2014 THRU 11/30/2014.	
	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL	Issues:	01 02 03 04 05 06 07 08 09 10 11	
CLAIMANT: (ATTY)	STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER	
95-16676 11/24/2014 RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12	
OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER	
(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12	
OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER	
95-16676 11/28/2014 RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12	
OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER	

253 3RD AVE	NUE NORTH	.01 110,001000	1011 2001.21 01.221	IWT040	11021 100
REGIS'	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1	
95-16676	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)			GROUND WATER
95-16676	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
95-16676	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
95-16676	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	GROUND WATER

REGIS	ID 83301 STER OF ACTION	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, E	OR THE PERIOR	0 11/01/2014 THRU 11/30/2014.
JBCASE# 	DATE FILED		PARTIES INVOLVED		
5-16676	11/28/2014		PO BOY 829	Issues	s: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOTSE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
			BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source	e: GROUND WATER
-16676	11/28/2014	RESPONSE: (ATTY)	MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues	s: 01 02 03 04 05 07 08 09 12
		OB.TECTION.	BOISE, ID 83701-2720 STATE OF IDAHO		
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	e: GROUND WATER
5-16677	11/05/2014	(ATTY)	RATHORUM POWER LLC SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues	s: 01 02 03 04 05 07 08 09 11
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source	e: GROUND WATER
5-16677	11/13/2014	RESPONSE: (ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues	s: 01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	e: GROUND WATER

253 3RD AVE	NUE NORTH		1011 200121 011221	IWT040	
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		
95-16677	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
95-16677	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
95-16677	11/28/2014	(ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
95-16677	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVENTWIN FALLS,	NUE NORTH			IWT040	
REGIS:	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		
95-16677	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST		01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
95-16677	11/28/2014	(ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
95-16677	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
95-16677	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
			20102, 10 00721		

253 3RD AVE	NUE NORTH	ver Adjudicat	ion DOCKET SHEET		08/14 WT040	PAGE: 784
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720 STATE OF IDAHO			01 02 03 04 05 07 08 09 12
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 0.33	Water	Source:	GROUND WATER
95-16678	11/13/2014	RESPONSE: (ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)		Water	Source:	FIGHTING CREEK TRIBUTARY: COEUR D'ALENE LAKE
95-16678	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	FIGHTING CREEK TRIBUTARY: COEUR D'ALENE LAKE
95-16678	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	FIGHTING CREEK TRIBUTARY: COEUR D'ALENE LAKE

253 3RD AVE				IWT040	
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
95-16678		RESPONSE:	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	FIGHTING CREEK TRIBUTARY: COEUR D'ALENE LAKE
95-16678	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	FIGHTING CREEK TRIBUTARY: COEUR D'ALENE LAKE
95-16678	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		FIGHTING CREEK TRIBUTARY: COEUR D'ALENE LAKE
95-16678 11/28	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	FIGHTING CREEK TRIBUTARY: COEUR D'ALENE LAKE
			,		

253 3RD AVE	ENUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 786
TWIN FALLS, REGIS SUBCASE#	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	FOR THE PERIOD	
95-16678	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	FIGHTING CREEK TRIBUTARY: COEUR D'ALENE LAKE
95-16678	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	FIGHTING CREEK TRIBUTARY: COEUR D'ALENE LAKE
95-16678	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	FIGHTING CREEK TRIBUTARY: COEUR D'ALENE LAKE
95-16679	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	LAKE CREEK TRIBUTARY: COEUR D'ALENE LAKE

253 3RD AVE	NUE NORTH	.01 110,001000			T040		11102.	
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED					
95-16679	11/24/2014	RESPONSE:	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720					
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	LAKE CREEK	TRIBUTARY:	COEUR D'ALENE LAKE
95-16679	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	LAKE CREEK	TRIBUTARY:	COEUR D'ALENE LAKE
95-16679	11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)		Water	Source:	LAKE CREEK	TRIBUTARY:	COEUR D'ALENE LAKE
95-16679	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	LAKE CREEK	TRIBUTARY:	COEUR D'ALENE LAKE

253 3RD AVE TWIN FALLS,	NUE NORTH	or majaaroas		IWT040		11102.	
REGIS	TER OF ACTION	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED				
95-16679	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04	05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033				ALENE LAKE
95-16679	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04	05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033				ALENE LAKE
95-16679	11/28/2014	(ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04	05 06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	LAKE CREEK	TRIBUTARY: COEUR D	ALENE LAKE
95-16679	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04	05 06 07 08 09 12	
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	LAKE CREEK	TRIBUTARY: COEUR D	'ALENE LAKE

253 3RD AVE	NUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 789
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
		RESPONSE:	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	LAKE CREEK TRIBUTARY: COEUR D'ALENE LAKE
5-16680	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)		Water Source:	PLUMMER CREEK TRIBUTARY: CHATCOLET LAKE
5-16680	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	PLUMMER CREEK TRIBUTARY: CHATCOLET LAKE
5-16680	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	PLUMMER CREEK TRIBUTARY: CHATCOLET LAKE

253 3RD AVEN	NUE NORTH	.01 110,001000	1011 2001.21 01.221	IWT040	111021 750
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		
95-16680	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	PLUMMER CREEK TRIBUTARY: CHATCOLET LAKE
95-16680	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	PLUMMER CREEK TRIBUTARY: CHATCOLET LAKE
95-16680	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		PLUMMER CREEK TRIBUTARY: CHATCOLET LAKE
95-16680	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	PLUMMER CREEK TRIBUTARY: CHATCOLET LAKE
			BOISE, ID 83724		

253 3RD AVE TWIN FALLS,	NUE NORTH	ver najaareae	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 791
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		.1/01/2014 THRU 11/30/2014.
95-16680	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL		
		CLAIMANT: (ATTY)	PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	PLUMMER CREEK TRIBUTARY: CHATCOLET LAKE
95-16680	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	PLUMMER CREEK TRIBUTARY: CHATCOLET LAKE
95-16680	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	PLUMMER CREEK TRIBUTARY: CHATCOLET LAKE
95-16681	11/13/2014	RESPONSE: (ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	LITTLE PLUMMER CREEK TRIBUTARY: PLUMMER CREE

253 3RD AVE	NUE NORTH	ver Adjudicat	ION DOCKET SHEET	IWT040	PAGE: /92
TWIN FALLS, REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, I PARTIES INVOLVED	FOR THE PERIOD 1	
					01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	LITTLE PLUMMER CREEK TRIBUTARY: PLUMMER CREEK
95-16681	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	LITTLE PLUMMER CREEK TRIBUTARY: PLUMMER CREEK
95-16681	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	LITTLE PLUMMER CREEK TRIBUTARY: PLUMMER CREEK
95-16681	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	LITTLE PLUMMER CREEK TRIBUTARY: PLUMMER CREEK

253 3RD AVE TWIN FALLS,	ENUE NORTH			IWT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		
95-16681		RESPONSE:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		LITTLE PLUMMER CREEK TRIBUTARY: PLUMMER CREEK
95-16681	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		LITTLE PLUMMER CREEK TRIBUTARY: PLUMMER CREE
95-16681	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		LITTLE PLUMMER CREEK TRIBUTARY: PLUMMER CREE
95-16681	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	LITTLE PLUMMER CREEK TRIBUTARY: PLUMMER CREEK
			DOISE, ID 03/24		

253 3RD AVE	NUE NORTH	er Adjudicat.	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 794
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		
		RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES		LITTLE PLUMMER CREEK TRIBUTARY: PLUMMER CREEK
95-16682	11/13/2014		PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		PEDEE CREEK TRIBUTARY: CHATCOLET LAKE
95-16682	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	PEDEE CREEK TRIBUTARY: CHATCOLET LAKE
95-16682	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	PEDEE CREEK TRIBUTARY: CHATCOLET LAKE

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 795 253 3RD AVENUE NORTH IWT040

253 3RD AVE		_		IWT040	
	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1	
95-16682	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	PEDEE CREEK TRIBUTARY: CHATCOLET LAKE
95-16682	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	PEDEE CREEK TRIBUTARY: CHATCOLET LAKE
95-16682	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	PEDEE CREEK TRIBUTARY: CHATCOLET LAKE
95-16682	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	PEDEE CREEK TRIBUTARY: CHATCOLET LAKE
			,		

53 3RD AVE WIN FALLS,	NUE NORTH	/er Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 796
REGIS UBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1	
5-16682	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	PEDEE CREEK TRIBUTARY: CHATCOLET LAKE
5-16682	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	PEDEE CREEK TRIBUTARY: CHATCOLET LAKE
5-16682	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	PEDEE CREEK TRIBUTARY: CHATCOLET LAKE
5-16683	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE

253 3RD AVEN	NUE NORTH	ver Aujudicat	ION DOCKET SHEET	IWT040	1AGE. 757
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
95-16683	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720		
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		/ \u03bb	UNITED STATES OF AMERICA AS		BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
95-16683	11/28/2014	RESPONSE: (ATTY)	ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
			UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
95-16683	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
			ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
95-16683	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
			•		

253 3RD AVE TWIN FALLS,		.01 110,001000		IWT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	OR THE PERIOD 11/01/2014 THRU 11/30/201	4.
95-16683		RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861	Issues: 01 02 03 04 05 06 07 08	09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source: BENEWAH CREEK TRIBUTA	
95-16683	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues: 01 02 03 04 05 06 07 08	09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source: BENEWAH CREEK TRIBUTA	
95-16683	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues: 01 02 03 04 05 06 07 08	09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source: BENEWAH CREEK TRIBUTA	RY: BENEWAH LAKE
95-16683	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues: 01 02 03 04 05 06 07 08	09 12
			BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source: BENEWAH CREEK TRIBUTA	RY: BENEWAH LAKE

JBCASE#	DATE FILED		PARTIES INVOLVED			
		RESPONSE:	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720			01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
-16684	11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			WINDFALL CREEK TRIBUTARY: BENEWAH CREEK
-16684	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	WINDFALL CREEK TRIBUTARY: BENEWAH CREEK
5-16684	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	WINDFALL CREEK TRIBUTARY: BENEWAH CREEK

253 3RD AVE	NUE NORTH	ver Adjudicat	cion DOCKET SHEET	12/08/14 IWT040	PAGE: 800
	TER OF ACTION		G ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD	11/01/2014 THRU 11/30/2014.
95-16684	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	: WINDFALL CREEK TRIBUTARY: BENEWAH CREEK
95-16684	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
			UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		: WINDFALL CREEK TRIBUTARY: BENEWAH CREEK
95-16684	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	: 01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		: WINDFALL CREEK TRIBUTARY: BENEWAH CREEK
95-16684	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
			BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	: WINDFALL CREEK TRIBUTARY: BENEWAH CREEK

253 3RD AVE	NUE NORTH	.01 110,001000	1011 2001121 011221	IWT040	111021
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		
95-16684	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	WINDFALL CREEK TRIBUTARY: BENEWAH CREEK
95-16684	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	WINDFALL CREEK TRIBUTARY: BENEWAH CREEK
95-16684	11/28/2014	(ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	WINDFALL CREEK TRIBUTARY: BENEWAH CREEK
95-16686	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	CARLIN CREEK TRIBUTARY: COEUR D'ALENE LAKE

253 3RD AVE	NUE NORTH	ver najuareae	ION DOCKET SHEET	IWT040	1700. 002
SUBCASE#	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
		RESPONSE:	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720		
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	CARLIN CREEK TRIBUTARY: COEUR D'ALENE LAKE
95-16686	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	CARLIN CREEK TRIBUTARY: COEUR D'ALENE LAKE
95-16686	11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOY 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	CARLIN CREEK TRIBUTARY: COEUR D'ALENE LAKE
95-16686	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	CARLIN CREEK TRIBUTARY: COEUR D'ALENE LAKE
			BOISE, ID 83724		

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 803 253 3RD AVENUE NORTH IWT040

253 3RD AVE	NUE NORTH			IWT040		
REGIS'	TER OF ACTION DATE FILED					
95-16686	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05	06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS	Water Source:	CADITM CDEEV	TOTOLITADY. COPILD DIATEME LAKE
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
95-16686	11/28/2014	(ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			TRIBUTARY: COEUR D'ALENE LAKE
95-16686	11/28/2014	(ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05	06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
95-16686	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05	06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	CARLIN CREEK	TRIBUTARY: COEUR D'ALENE LAKE

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 804
253 3RD AVENUE NORTH IWT040
TWIN FALLS, ID 83301
REGISTER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014.
SUBCASE# DATE FILED PARTIES INVOLVED

550 WEST FORT STREET, MSC 033

BOISE, ID 83724

95-16686 11/28/2014 RESPONSE: BALDWIN, JOHN ISsues: 01 02 03 04 05 06 07 08 09 12 (ATTY) MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720
OBJECTION: STATE OF IDAHO (ATTY) CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010 CLAIMANT: UNITED STATES OF AMERICA AS Water Source: CARLIN CREEK TRIBUTARY: COEUR D'ALENE LAKE (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 RESPONSE: AVISTA CORPORATION 95-16687 11/13/2014 Issues: 01 02 03 04 05 06 07 08 09 10 11 (ATTY) SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 OBJECTION: STATE OF IDAHO (ATTY) CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010 CLAIMANT: UNITED STATES OF AMERICA AS Water Source: TURNER CREEK TRIBUTARY: COEUR D'ALENE LAKE (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 95-16687 11/24/2014 RESPONSE: HAGADONE HOSPITALITY CO Issues: 01 02 03 04 05 06 07 08 09 12 (ATTY) LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720 OBJECTION: STATE OF IDAHO (ATTY) CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010 CLAIMANT: UNITED STATES OF AMERICA AS Water Source: TURNER CREEK TRIBUTARY: COEUR D'ALENE LAKE (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 11/28/2014 RESPONSE: PINEHURST WATER DISTRICT Issues: 01 02 03 04 05 06 07 08 09 12 95-16687 (ATTY) PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 OBJECTION: WOEMPNER, CARLA
(ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 CLAIMANT: UNITED STATES OF AMERICA AS Water Source: TURNER CREEK TRIBUTARY: COEUR D'ALENE LAKE (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES

253 3RD AVE	NUE NORTH	ver Adjudicat	ion DOCKET SHEET		U8/14 WT040		PAGE: 805
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED				
95-16687	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724				
95-16687	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	TURNER CREEK	TRIBUTARY: COEUR D'ALENE LAKE
95-16687	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	TURNER CREEK	TRIBUTARY: COEUR D'ALENE LAKE
95-16687	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	TURNER CREEK	TRIBUTARY: COEUR D'ALENE LAKE

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 806 253 3RD AVENUE NORTH IWT040

253 3RD AVE				IWT040	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	FOR THE PERIOD :	11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 SCOTT, ANDREW & HEATHER		TURNER CREEK TRIBUTARY: COEUR D'ALENE LAKE
95-16687	11/28/2014	(A'I'IY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	TURNER CREEK TRIBUTARY: COEUR D'ALENE LAKE
95-16687	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	TURNER CREEK TRIBUTARY: COEUR D'ALENE LAKE
95-16688	11/13/2014	(A'I'I'Y)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO	Issues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	BEAUTY CREEK TRIBUTARY: COEUR D'ALENE LAKE

253 3RD AVE	NUE NORTH	ver Aujudicat	ION DOCKET SHEET	IWT040		IAGE. 007
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			11/30/2014.
		RESPONSE:	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720			
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	BEAUTY CREEK	TRIBUTARY: COEUR D'ALENE LAKE
95-16688	11/28/2014		PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201	Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	BEAUTY CREEK	TRIBUTARY: COEUR D'ALENE LAKE
95-16688	11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	BEAUTY CREEK	TRIBUTARY: COEUR D'ALENE LAKE
95-16688	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	BEAUTY CREEK	TRIBUTARY: COEUR D'ALENE LAKE

253 3RD AVE	NUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08 IWT	3/14 C040		PAGE: 808	
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED				11/30/2014.	
	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	I	Issues:	01 02 03 04 05	06 07 08 09 12	
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)		Water S	Source:	BEAUTY CREEK	TRIBUTARY: COEUR D'ALENE LAKE	i.
95-16688	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Ι	Issues:	01 02 03 04 05	06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water S	Source:	BEAUTY CREEK	TRIBUTARY: COEUR D'ALENE LAKE	ı
95-16688	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Ι	Issues:	01 02 03 04 05	06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water S	Source:	BEAUTY CREEK	TRIBUTARY: COEUR D'ALENE LAKE	ı
95-16688	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Ι	Issues:	01 02 03 04 05	06 07 08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water S	Source:	BEAUTY CREEK	TRIBUTARY: COEUR D'ALENE LAKE	

253 3RD AVEI TWIN FALLS,	NUE NORTH	2	ION DOCKET SHEET	IWT0	40	FAGE. 009
REGIS'	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720 STATE OF IDAHO	Is	sues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		(AIII)	ENVIRONMENT & NATL' RESOURCES			BEAUTY CREEK TRIBUTARY: COEUR D'ALENE LAKE
95-16689	11/13/2014		BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO	Is	sues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			CEDAR CREEK TRIBUTARY: WOLF LODGE CREEK
95-16689	11/24/2014	(ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Is	sues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
			UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 PINEHURST WATER DISTRICT	Water So	urce:	CEDAR CREEK TRIBUTARY: WOLF LODGE CREEK
95-16689 11/28/2014	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Is	sues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Mak C		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water So	urce:	CEDAR CREEK TRIBUTARY: WOLF LODGE CREEK

253 3RD AVE	ENUE NORTH	=	LION DOCKET SHEET	IWT040	PAGE: 810
SUDCASE#	TID 83301 STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL		
		CLAIMANT: (ATTY)	PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES	Water Source:	CEDAR CREEK TRIBUTARY: WOLF LODGE CREEK
95-16689	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	CEDAR CREEK TRIBUTARY: WOLF LODGE CREEK
95-16689	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		CEDAR CREEK TRIBUTARY: WOLF LODGE CREEK
95-16689	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	CEDAR CREEK TRIBUTARY: WOLF LODGE CREEK
			•		

253 3RD AVE		.or majaaroad	200.21 0.221	IWT040	1102. V11
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 1	11/01/2014 THRU 11/30/2014.
95-16689	11/28/2014	(ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	CEDAR CREEK TRIBUTARY: WOLF LODGE CREEK
95-16689	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	CEDAR CREEK TRIBUTARY: WOLF LODGE CREEK
95-16689	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	CEDAR CREEK TRIBUTARY: WOLF LODGE CREEK
95-16690	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	WOLF LODGE CREEK TRIBUTARY: COEUR D'ALENE LAKE

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 253 3RD AVENUE NORTH TWIN FALLS, ID 83301				12/08/14 IWT040	PAGE: 812
REGIS SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
			HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	WOLF LODGE CREEK TRIBUTARY: COEUR D'ALENE LAKE
95-16690	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	WOLF LODGE CREEK TRIBUTARY: COEUR D'ALENE LAKE
95-16690	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES	Water Source:	WOLF LODGE CREEK TRIBUTARY: COEUR D'ALENE LAKE
95-16690	11/28/2014	RESPONSE: (ATTY)	550 WEST FORT STREET, MSC 033 BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	WOLF LODGE CREEK TRIBUTARY: COEUR D'ALENE LAKE
			BOISE, ID 83724		

NUE NORTH		LION DOCKET SHEET	IWT040	PAGE: 813
DATE FILED		PARTIES INVOLVED		
11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201		
	OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		WOLF LODGE CREEK TRIBUTARY: COEUR D'ALENE LAKE
11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES	Water Source:	WOLF LODGE CREEK TRIBUTARY: COEUR D'ALENE LAKE
11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	WOLF LODGE CREEK TRIBUTARY: COEUR D'ALENE LAKE
11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	WOLF LODGE CREEK TRIBUTARY: COEUR D'ALENE LAKE
	ID 83301 TER OF ACTION DATE FILED 11/28/2014  11/28/2014	ID 83301 STER OF ACTION LIST SHOWING DATE FILED  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)	ID 83301 DATE FILED  TER OF ACTION LIST SHOWING DATE FILED  TI1/28/2014  RESPONSE: FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861  OBJECTION: WOEMPHER, CARLA SEMANC, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES SOWEST FORT STREET, MSC 033 BOISE, ID 83701-0829  OBJECTION: WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  OBJECTION: WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES SOWEST FORT STREET, MSC 033 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES SOWEST FORT STREET, MSC 033 BOISE, ID 83701-0829  OBJECTION: WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  OBJECTION: WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES SOWEST FORT STREET, MSC 033 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES SOWEST FORT STREET, MSC 033 BOISE, ID 83701-0829  BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  OBJECTION: WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, I	10 83301

NUE NORTH	ver Adjudicat	ION DOCKET SHEET	12/08/14 IWT040	PAGE: 814
TER OF ACTION DATE FILED		PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
	RESPONSE:	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	: WOLF LODGE CREEK TRIBUTARY: COEUR D'ALENE LAKE
11/10/2014		SCHULER, MARY M 6389 TALL PINES RD	Issues:	01 02 03 04 05 06 07 08 09 11
	OBJECTION: (ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
	(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	: MICA CREEK TRIBUTARY: COEUR D'ALENE LAKE
11/13/2014	RESPONSE: (ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issues:	: 01 02 03 04 05 06 07 08 09 10 11
	(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
	(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		: MICA CREEK TRIBUTARY: COEUR D'ALENE LAKE
11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720	Issues:	: 01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	: MICA CREEK TRIBUTARY: COEUR D'ALENE LAKE
	NUE NORTH ID 83301 TER OF ACTION DATE FILED	NUE NORTH ID 83301 TER OF ACTION LIST SHOWING DATE FILED  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  11/10/2014 RESPONSE: OBJECTION: (ATTY)  CLAIMANT: (ATTY)  11/13/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  11/13/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)	ID 83301  TER OF ACTION LIST SHOWING DATE FILED  11/28/2014  RESPONSE: BALDWIN, JOHN (ATTY)  (ATTY)  (BYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010 CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES STOWERS THE ATTORNEY GENERAL STATE OF IDAHO (ATTY)  RESPONSE: STATE OF IDAHO (ATTY)  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83724  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES STOWEST FORT STREET, MSC 033 BOISE, ID 83724  AVISTA CORPORATION (ATTY)  RESPONSE: AVISTA CORPORATION (ATTY)  OBJECTION: STATE OF IDAHO (ATTY)  CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO OBOX 83720  OBJECTION: STATE OF IDAHO OBOX 83720  OBJECTION: STATE OF IDAHO OBOX 83720  OBJECTION: STATE OF IDAHO OBOX 83720  OBJECTION: STATE OF JUSTICE ENVIRONMENT & NATL' RESOURCES STOWEST FORT STREET, MSC 033 BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES STOWEST FORT STREET, MSC 033 BOISE, ID 83721-2720  OBJECTION: STATE OF IDAHO OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO OFFICE OF THE ATTOR	NUE NORTH  1 83301 TER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD PARTIES INVOLVED  11/28/2014 RESPONSE: BALDWIN, JOHN (ATTY) FOR DOX 2720 BOLSE, ID 83701-2720 CLAIMANT UNID BOLSE, ID 83720-0010 CLAIMANT UNID BEPARMENT OF JUSTICE BOLSE, ID 83724 BOLSE, ID 83724  11/10/2014 RESPONSE: SCHUER, MARY M 6389 TALL PINES RD COURD 'ALENE, ID 83814  OBJECTION: STATE OF IDAHO (ATTY) CHEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF JUSTICE BOLSE, ID 83724  11/13/2014 RESPONSE: SCHUER, MARY M 6389 TALL PINES RD COURD 'ALENE, ID 83814  OBJECTION: STATE OF IDAHO (ATTY) CHEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF JUSTICE (ATTY) WINTED STATES OF AMERICA AS UNITED STATE OF IDAHO (ATTY) CHEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO (ATTY) STATE OF IDAHO (ATTY) STATE OF IDAHO (ATTY) UNITED STATES OF AMERICA AS UNITED STATE OF IDAHO (ATTY) UNITED STATES OF AMERICA AS UNITED STATE OF IDAHO (ATTY) UNITED STATES OF AMERICA AS UNITED STATE OF IDAHO (ATTY) UNITED STATES OF AMERICA AS UNITED STATE OF IDAHO (ATTY) UNITED STATES OF AMERICA AS UNITED STATE OF IDAHO (ATTY) UNITED STATES OF AMERICA AS UNITED STATE OF IDAHO (ATTY) UNITED STATES OF AMERICA AS UNITED STATE OF IDAHO (ATTY) UNITED STATES OF AMERICA AS UNITED STATE OF IDAHO (ATTY) UNITED STATES OF AMERICA AS UNITED STATE OF IDAHO (ATTY) UNITED STATES OF AMERICA AS UNITED STATE OF IDAHO (ATTY) UNITED STATES OF AMERICA AS UNITED STATE OF IDAHO (ATTY) UNITED STATES OF AMERICA AS UNITED STATE OF IDAHO (ATTY) UNITED STATES OF AMERICA AS UNITED STATE OF IDAHO (ATT

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 815 253 3RD AVENUE NORTH IWT040

253 3RD AVE		<u> </u>		IWT040
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED	FOR THE PERIOD 11/01/2014 THRU 11/30/2014.
95-16691	11/28/2014		PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
		CLAIMANT: (ATTY)		Water Source: MICA CREEK TRIBUTARY: COEUR D'ALENE LAKE
95-16691	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source: MICA CREEK TRIBUTARY: COEUR D'ALENE LAKE
95-16691	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source: MICA CREEK TRIBUTARY: COEUR D'ALENE LAKE
95-16691	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA	Issues: 01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Mater Course, MICA CARRY MATERIARY, CORUM MATERIARY
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source: MICA CREEK TRIBUTARY: COEUR D'ALENE LAKE

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 816
253 3RD AVENUE NORTH IWT040
TWIN FALLS. ID 83301

253 3RD AVENTWIN FALLS,				IWT040
REGIS: SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	FOR THE PERIOD 11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source: MICA CREEK TRIBUTARY: COEUR D'ALENE LAKE
95-16691	11/28/2014	(ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET MSC 033	Water Source: MICA CREEK TRIBUTARY: COEUR D'ALENE LAKE
95-16691	11/28/2014	RESPONSE: (ATTY)	101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET MSC 033	Water Source: MICA CREEK TRIBUTARY: COEUR D'ALENE LAKE
95-16691	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010	
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source: MICA CREEK TRIBUTARY: COEUR D'ALENE LAKE

53 3RD AVE WIN FALLS,	NUE NORTH TD 83301			ΙV	VT040		
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F				
5-16692	11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505				
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COUGAR CREEK	TRIBUTARY: COEUR D'ALENE LAK
-16692	11/24/2014		HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033				
-16692	11/28/2014	(ATTY)	BOISE, ID 83724 PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	COUGAR CREEK	TRIBUTARY: COEUR D'ALENE LAK
-16692	11/28/2014		BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COUGAR CREEK	TRIBUTARY: COEUR D'ALENE LAKE

253 3RD AVE	NUE NORTH	_	TION DOCKET SHEET	IWT040		PAGE: 818
SUDCASE#	STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			11/30/2014.
		RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER. CARLA	Issues:		
			SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Water Course.	COUCAD CDEEK	TRIBUTARY: COEUR D'ALENE LAKE
		(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water source:	COUGAR CREEK	IRIBUTARI: COLOR D'ALENE LARE
95-16692	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	COUGAR CREEK	TRIBUTARY: COEUR D'ALENE LAKE
95-16692	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	COUGAR CREEK	TRIBUTARY: COEUR D'ALENE LAKE
95-16692	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05	06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	COUGAR CREEK	TRIBUTARY: COEUR D'ALENE LAKE
			•			

253 3rd avei	NUE NORTH	ver Adjudicat	ion DOCKET SHEET		08/14 WT040	PAGE: 819
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			11/01/2014 THRU 11/30/2014.
			SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COUGAR CREEK TRIBUTARY: COEUR D'ALENE LAKE
5-16692	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	COUGAR CREEK TRIBUTARY: COEUR D'ALENE LAKE
5-16693	11/13/2014	RESPONSE: (ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
5-16693	11/24/2014	(ATTY)	LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 04 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE

253 3RD AVE		or majaaroas		IWT040	211021 020
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
95-16693	11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
95-16693	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
95-16693	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M	Issues:	01 02 03 04 05 06 07 08 09 12
			101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR	Water Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		

253 3RD AVE TWIN FALLS,	NUE NORTH		IWT040
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. PARTIES INVOLVED
		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S Issues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL DO BOX 829
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: BENEWAH CREEK TRIBUTARY: BENEWAH LAKE US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
95-16693	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS Issues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		(ATTY)	UNITED STATES OF AMERICA AS TR Water Source: BENEWAH CREEK TRIBUTARY: BENEWAH LAKE US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 ROISE. ID 83724
95-16693	11/28/2014		SCOTT, ANDREW & HEATHER ISSUES: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		(ATTY)	UNITED STATES OF AMERICA AS TR Water Source: BENEWAH CREEK TRIBUTARY: BENEWAH LAKE US DEPARTMENT OF JUSTICE
95-16693	11/28/2014	RESPONSE: (ATTY)	ENVIRONMENT & NAIL RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN Issues: 01 02 03 04 05 07 08 09 12 MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: BENEWAH CREEK TRIBUTARY: BENEWAH LAKE US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724

REGIS	STER OF ACTION	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	OR THE PER	IOD 11/01/2014 THR	U 11/30/2014.
5-16694	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issı	ues: 01 02 03 04	05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010	Water Sour	rce: BENEWAH CREE	K TRIBUTARY: BENEWAH LAKE
5-16694	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issı	ues: 01 02 03 04	05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Soun	rce: BENEWAH CREE	K TRIBUTARY: BENEWAH LAKE
5-16694	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issı	ues: 01 02 03 04	05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sour	rce: BENEWAH CREE	K TRIBUTARY: BENEWAH LAKE
5-16694	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issı	ues: 01 02 03 04	05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sour	rce: BENEWAH CREE	K TRIBUTARY: BENEWAH LAKE

### PROPRIES OF ACTION LIST SHOWING ALL OBLECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014.  #### PROPRIES OF ACTION LIST SHOWING ALL OBLECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014.  ###################################	253 3RD AVEN	NUE NORTH	ver hajuareae	ION DOCKET SHEET	IWT040	1700. 020
SEPONSE   SELLOGG SCHOOL DISTRICT   Issues: 01 02 03 04 05 06 07 08 09 12	REGIST SUBCASE#	TER OF ACTION DATE FILED		PARTIES INVOLVED		
SEMANNO, NORMAN M   101 S CAPITOL SLUD 10TH FL   101 S CAPITOL SLUD 10TH			RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
CLAIMANT   CATTY   UNITED STATES OF AMERICA AS TR Water Source: BENEWAH CREEK   TRIBUTARY: BENEWAH CREEK   CATTY   C			OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
95-16694 11/28/2014 RESPONSE: FERNWOOD WATER & SEMER DIST ATTY) PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 OBJECTION: WOEMPRER, CARLA DIST MARIES, ID 83861 OBJECTION: WOEMPRER, CARLA DIST MARIES, ID 83861 OBJECTION: WOEMPRER, CARLA DIST MARIES, ID 83701-0829 CLAIMANT: (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL ENVIRONMENT & NATL' RESOURCES STO WEST FORT STREET, MSC 033 OCISE, ID 83704 OS 06 07 08 09 12 OCISE, ID 83704 OS 06 07 08 09 12 OCISE, ID 83704 OCISE, ID				UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
SEMANKO, NORMAN M   101 S CAPITOL BLVD 10TH FL   PO BOX 829   BOISE, ID 83701-0829	95-16694	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: BENEWAH CREEK TRIBUTARY: BENEWAH (ATTY)				SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL FO BOX 829 BOISE, ID 83701-0829  OBJECTION: (ATTY)  OBJECTION: SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL FO BOX 829 BOISE, ID 83701-0829  CLAIMANT: (ATTY)  UNITED STATES OF AMERICA AS TR Water Source: BENEWAH CREEK TRIBUTARY: BENEWAH  (ATTY)  SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL FO BOX 829 BOISE, ID 83701-0829  CLAIMANT: (ATTY)  RESPONSE: SHOSHONE COUNTY PUBLIC WORKS ISSUES: 01 02 03 04 05 06 07 08 09 12  SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL FO BOX 829 BOISE, ID 83701-0829  OBJECTION: (ATTY)  OBJECTION: WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL FO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: BENEWAH CREEK TRIBUTARY: BENEWAH (ATTY) UNITED STATES OF AMERICA AS TR Water Source: BENEWAH CREEK TRIBUTARY: BENEWAH (ATTY) UNITED STATES OF AMERICA AS TR Water Source: BENEWAH CREEK TRIBUTARY: BENEWAH (ATTY) UNITED STATES OF AMERICA AS TR Water Source: BENEWAH CREEK TRIBUTARY: BENEWAH (ATTY) UNITED STATES OF AMERICA AS TR Water Source: BENEWAH CREEK TRIBUTARY: BENEWAH				UNITED STATES OF AMERICA AS TR US DEFARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: BENEWAH CREEK TRIBUTARY: BENEWAH (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  95-16694 11/28/2014 RESPONSE: SHOSHONE COUNTY PUBLIC WORKS Issues: 01 02 03 04 05 06 07 08 09 12  (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: BENEWAH CREEK TRIBUTARY: BENEWAH (ATTY) US DEPARTMENT OF JUSTICE	95-16694	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
(ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  P5-16694 11/28/2014 RESPONSE: SHOSHONE COUNTY PUBLIC WORKS ISSUES: 01 02 03 04 05 06 07 08 09 12  SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: BENEWAH CREEK TRIBUTARY: BENEWAH (ATTY) US DEPARTMENT OF JUSTICE			(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
95-16694 11/28/2014 RESPONSE: SHOSHONE COUNTY PUBLIC WORKS ISSUES: 01 02 03 04 05 06 07 08 09 12  SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL  PO BOX 829  BOISE, ID 83701-0829  OBJECTION: WOEMPNER, CARLA  (ATTY) SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL  PO BOX 829  BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: BENEWAH CREEK TRIBUTARY: BENEWAH  (ATTY) US DEPARTMENT OF JUSTICE				US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
OBJECTION: WOEMPNER, CARLA  (ATTY) SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL  PO BOX 829  BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: BENEWAH CREEK TRIBUTARY: BENEWAH  (ATTY) US DEPARTMENT OF JUSTICE	95-16694	11/28/2014		SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: BENEWAH CREEK TRIBUTARY: BENEWAH (ATTY) US DEPARTMENT OF JUSTICE				WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
550 WEST FORT STREET, MSC 033 BOISE, ID 83724				UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE

VIN FALLS,	NUE NORTH ID 83301	_		IWT040	
			ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
-16694	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
-16694	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)		Water Source:	BENEWAH CREEK TRIBUTARY; BENEWAH LAKE
-16695	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
			STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET MSC 033	Water Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
-16695	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE

253 3RD AVEN	IUE NORTH	er Adjudicat	IOII DOCKET SHEET		T040	INGE. 023
SUBCASE#	ER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
95-16695	11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
95-16695	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
95-16695	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Water	Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Macci		ZZ.Z OLZA INIZOTIANI DINUMINI DINU

VIN FALLS, REGIS	TER OF ACTION	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	OR THE PERIOD	11/01/2014 THRU 11/30/2014.
			SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
5-16695	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
5-16695	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
5-16695	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE

53 3RD AVE	NUE NORTH TD 83301	_		ΙW	T040			
			ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED					
		RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04		
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720					
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	LAKE CREEK	TRIBUTARY:	COEUR D'ALENE LAKE
-16696	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	LAKE CREEK	TRIBUTARY:	COEUR D'ALENE LAKE
-16696	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	LAKE CREEK	TRIBUTARY:	COEUR D'ALENE LAKE
5-16696	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	LAKE CREEK	TRIBUTARY:	COEUR D'ALENE LAKE

253 3RD AVE	ENUE NORTH	.01 110,000	1011 2001.121	IWT040	
	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, FC PARTIES INVOLVED		
95-16696		RESPONSE:	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	LAKE CREEK TRIBUTARY: COEUR D'ALENE LAKE
95-16696	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		LAKE CREEK TRIBUTARY: COEUR D'ALENE LAKE
95-16696	11/28/2014	(ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & MATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	LAKE CREEK TRIBUTARY: COEUR D'ALENE LAKE
95-16696	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	LAKE CREEK TRIBUTARY: COEUR D'ALENE LAKE

253 3RD AVE	NUE NORTH	. 01 110,000	200121 511221	II	WT040		11102.	
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F					
95-16696	11/28/2014	RESPONSE:	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
			UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724					
95-16696	11/28/2014	(Alli)	601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04	05 07 08 09	12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010					
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724					
95-16698	11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04	05 06 07 08	09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	LAKE CREEK	TRIBUTARY:	COEUR D'ALENE LAKE
95-16698	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	LAKE CREEK	TRIBUTARY:	COEUR D'ALENE LAKE

253 3RD AVE TWIN FALLS,	NUE NORTH		IWT040	
REGIS	TER OF ACTION		G ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. PARTIES INVOLVED	
95-16698	11/28/2014		PINEHURST WATER DISTRICT ISSUES: 01 02 03 04 05 06 07 08 09 12 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: LAKE CREEK TRIBUTARY: COEUR I US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	)'ALENE LAKE
95-16698	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER ISSUES: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
		(ATTY)	UNITED STATES OF AMERICA AS TR Water Source: LAKE CREEK TRIBUTARY: COEUR I US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	)'ALENE LAKE
95-16698	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT ISSUES: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE. ID 83701-0829	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
		(ATTY)	UNITED STATES OF AMERICA AS TR Water Source: LAKE CREEK TRIBUTARY: COEUR I US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724	)'ALENE LAKE
95-16698	11/28/2014	(ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: LAKE CREEK TRIBUTARY: COEUR I US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	)'ALENE LAKE

3 3RD AVE IN FALLS,	ENUE NORTH ID 83301			IWT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
-16698		RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	LAKE CREEK TRIBUTARY: COEUR D'ALENE LAKE
16698	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	LAKE CREEK TRIBUTARY: COEUR D'ALENE LAK
16698	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83/24 SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		LAKE CREEK TRIBUTARY: COEUR D'ALENE LAK
16698	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	LAKE CREEK TRIBUTARY: COEUR D'ALENE LAK

253 3RD AVEN	IUE NORTH	ver Adjudicat	ion DOCKET SHEET		08/14 VT040		PAGE: 8	332
SUBCASE#	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED					
95-16699		RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO			01 02 03 04		
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	LAKE CREEK	TRIBUTARY:	COEUR D'ALENE LAKE
95-16699	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	LAKE CREEK	TRIBUTARY:	COEUR D'ALENE LAKE
95-16699	11/28/2014	RESPONSE: (ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	LAKE CREEK	TRIBUTARY:	COEUR D'ALENE LAKE
95-16699	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	LAKE CREEK	TRIBUTARY:	COEUR D'ALENE LAKE

WIN FALLS,	NUE NORTH ID 83301			IWT04	44 /04 /004 4 44 /00 /004 4
BCASE#			ALL OBJECTIONS AND RESPONSES, FOR PARTIES INVOLVED		ERIOD 11/01/2014 THRU 11/30/2014.
-16699	11/28/2014		KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		ssues: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Nater Sou	ource: LAKE CREEK TRIBUTARY: COEUR D'ALENE LAKE
-16699	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Iss	ssues: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR W US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Nater Sou	ource: LAKE CREEK TRIBUTARY: COEUR D'ALENE LAKE
-16699	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOLSE TD 83701-0829	Iss	ssues: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR W US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	later Sou	ource: LAKE CREEK TRIBUTARY: COEUR D'ALENE LAKE
-16699	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Iss	ssues: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 DOLER TR 93701 0820		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR W US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Vater Sou	ource: LAKE CREEK TRIBUTARY: COEUR D'ALENE LAKE

IN FALLS,	INUE NORTH ID 83301	T TOW CHOMENO	ALL OD TROUTONG AND DEGDONGED I		TO40	1 /01 /0014 munii 1:	1 /20 /201 4	
BCASE#	DATE FILED		ALL OBJECTIONS AND RESPONSES, E PARTIES INVOLVED					
-16699	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	]	Issues:	01 02 03 04 05 (	06 07 08	09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water S	Source:	LAKE CREEK TR	IBUTARY:	COEUR D'ALENE LAKE
16699	11/28/2014	RESPONSE: (ATTY)	550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	I	Issues:	01 02 03 04 05 0	07 08 09	12
		OBJECTION:	STATE OF IDAHO					
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720					
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water S	Source:	LAKE CREEK TR	IBUTARY:	COEUR D'ALENE LAKE
16700	11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE. STE 1200	]	Issues:	01 02 03 04 05 (	06 07 08	09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720					
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water S	Source:	LAKE CREEK TR	IBUTARY:	COEUR D'ALENE LAKE
-16700	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	ĵ	Issues:	01 02 03 04 05 0	06 07 08	09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720					
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water S	Source:	LAKE CREEK TR.	IBUTARY:	COEUR D'ALENE LAKE

WIN FALLS,	3RD AVENUE NORTH N FALLS, ID 83301								
JBCASE#	DATE FILED		ALL OBJECTIONS AND RESPONSES, FOR						
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201				05 06 07 08 09		
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829						
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	LAKE CREEK	TRIBUTARY: COE	JR D'ALENE LAKE	
-16700	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04	05 06 07 08 09	12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829						
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	LAKE CREEK	TRIBUTARY: COE	JR D'ALENE LAKI	
5-16700	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04	05 06 07 08 09	12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829						
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	LAKE CREEK	TRIBUTARY: COE	JR D'ALENE LAKI	
-16700	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04	05 06 07 08 09	12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829						
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	LAKE CREEK	TRIBUTARY: COE	JR D'ALENE LAKE	

253 3RD AVE TWIN FALLS,	NUE NORTH	.01 110,001000		IWT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR PARTIES INVOLVED	R THE PERIOD 1	
		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	LAKE CREEK TRIBUTARY: COEUR D'ALENE LAKE
95-16700	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	LAKE CREEK TRIBUTARY: COEUR D'ALENE LAKE
95-16700	11/28/2014		SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724		LAKE CREEK TRIBUTARY: COEUR D'ALENE LAKE
95-16700	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	LAKE CREEK TRIBUTARY: COEUR D'ALENE LAKE

253 3RD AVE	NUE NORTH	=	ion DOCKET SHEET	TW	T040		PAGE: 8	
			ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED					
		RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200			01 02 03 04		
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720					
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	LAKE CREEK	TRIBUTARY:	COEUR D'ALENE LAKE
5-16701	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	LAKE CREEK	TRIBUTARY:	COEUR D'ALENE LAKE
-16701	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	LAKE CREEK	TRIBUTARY:	COEUR D'ALENE LAKE
5-16701	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04	05 06 07 08	09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	LAKE CREEK	TRIBUTARY:	COEUR D'ALENE LAKE

253 3RD AVE	NUE NORTH	.01 110,000		IWT040		111021
	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR PARTIES INVOLVED			/30/2014.
95-16701		RESPONSE:	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			5 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	LAKE CREEK TRIE	SUTARY: COEUR D'ALENE LAKE
95-16701	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06	5 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
95-16701	11/28/2014	(ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06	5 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR V US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	LAKE CREEK TRIE	SUTARY: COEUR D'ALENE LAKE
95-16701	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06	5 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	LAKE CREEK TRIE	BUTARY: COEUR D'ALENE LAKE
			20102/ 10 00/21			

53 3RD AVEN	NUE NORTH	ver Adjudicat	ion DOCKET SHEET		08/14 VT040	PAGE: 839
JBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			11/01/2014 THRU 11/30/2014.
			SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	LAKE CREEK TRIBUTARY: COEUR D'ALENE LAKE
-16701	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	LAKE CREEK TRIBUTARY: COEUR D'ALENE LAKE
-16702	11/13/2014	RESPONSE: (ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	LAKE CREEK TRIBUTARY: COEUR D'ALENE LAKE
-16702	11/24/2014	(ATTY)	LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	LAKE CREEK TRIBUTARY: COEUR D'ALENE LAKE

253 3RD AVE TWIN FALLS,		3		IWT040	
REGIS SUBCASE#	TER OF ACTION		PARTIES INVOLVED	OR THE PERIOD 11/01/2014 THRU 11/30/2014.	
95-16702	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues: 01 02 03 04 05 06 07 08 09 12	
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source: LAKE CREEK TRIBUTARY: COEUR D'ALENE	LAKE
95-16702	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues: 01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source: LAKE CREEK TRIBUTARY: COEUR D'ALENE	LAKE
95-16702	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues: 01 02 03 04 05 06 07 08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source: LAKE CREEK TRIBUTARY: COEUR D'ALENE	LAKE
95-16702	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues: 01 02 03 04 05 06 07 08 09 12	
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source: LAKE CREEK TRIBUTARY: COEUR D'ALENE	LAKE

253 3RD AVE TWIN FALLS,	NUE NORTH	701 1145441040		IWT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR PARTIES INVOLVED	THE PERIOD 1	
		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR WA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	ter Source:	LAKE CREEK TRIBUTARY: COEUR D'ALENE LAKE
95-16702	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR WA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	ter Source:	LAKE CREEK TRIBUTARY: COEUR D'ALENE LAKE
95-16702	11/28/2014		SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR WA US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724		LAKE CREEK TRIBUTARY: COEUR D'ALENE LAKE
95-16702	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR WAS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	ter Source:	LAKE CREEK TRIBUTARY: COEUR D'ALENE LAKE

NUE NORTH	ver Aujudicat	ION DOCKET SHEET		08/14 WT040	PAGL	: 842
TER OF ACTION DATE FILED		PARTIES INVOLVED				
11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE. STE 1200				
	a-1-1411	OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
	CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	water	Source:	COEUR D'ALENE LAKE	TRIBUTARY: SPOKANE RIVER
11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07	08 09 12
	OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
11/28/2014	RESPONSE: (ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07	08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07	08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
	NUE NORTH ID 83301 TER OF ACTION DATE FILED 11/13/2014	NUE NORTH ID 83301 TER OF ACTION LIST SHOWING DATE FILED  11/13/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)	ID 83301 TER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED  11/13/2014 RESPONSE: AVISTA CORPORATION SCHORODER, WILLIAM J PAINE HAMBLEN LIP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010 CLAIMANT: (ATTY)  (ATTY)  RESPONSE: (ATTY)  RESPONSE: (ATTY)  OBJECTION: STATE OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83701-2720  OBJECTION: STATE OF IDAHO (ATTY)  OBJECTION: STATE OF IDAHO (ATTY)  CLAIMANT: (ATT	NUE NORTH 1D 83301 TER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE DATE FILED  11/13/2014  RESPONSE: AVISTA CORPORATION (ATTY) SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505  OBJECTION: STATE OF IDAHO (ATTY) CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720  CLAIMANT: UNITED STATES OF AMERICA AS TR Water (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 50 WEST FORT STREET, MSC 033 BOISE, ID 83701-2720  OBJECTION: GATTY OF IDAHO (ATTY) OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO (ATTY) CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO (ATTY) OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO (ATTY) OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO (ATTY) OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO (ATTY) OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO (ATTY) OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720  CLAIMANT: UNITED STATES OF AMERICA AS TR WATER (ATTY) OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 ODIO  CLAIMANT: UNITED STATES OF AMERICA AS TR WATER (ATTY) OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 ODIO  CLAIMANT: UNITED STATES OF AMERICA AS TR WATER (ATTY) OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 829  CLAIMANT: UNITED STATES OF AMERICA AS TR WATER (ATTY) OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 829  CLAIMANT: UNITED STATES OF AMERICA AS TR WATER 10/128/2014 RESPONSE: EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: UNITED STATES OF AMERICA AS TR WATER 10/128/2014 RESPONSE: EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: UNITED STATES OF AMERICA AS TR WATER 10/128/2014 RESPONSE: EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: UNITED STATES OF AMERICA AS TR WATER 10/128/2014 RESPONSE: EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: UNITED	NUE NORTH  10 83301 TER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 1 DATE FILED  21/13/2014  RESPONSE: AVISTA CORPORATION SCHROED WILLIAM J PARTIES INVOLVED  27/17 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505  OBJECTION: CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT: NATL' RESOURCES SOURCE: DAY OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720  CLAIMANT: UNITED STATES OF AMERICA AS TR (ATTY) OS DEPARTMENT OF JUSTICE ENVIRONMENT: NATL' RESOURCES SOURCE: DAY OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO (ATTY) OF BOX 83701  11/24/2014  RESPONSE: HARDONE HOSPITALITY CO LAWRENCE, MICHAEL P OBJECTION: STATE OF IDAHO (ATTY) OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO (ATTY) OFFICE OF THE ATTORNEY G	NUE NORTH 1D 8330 11/13/2014 RESPONSE: AVISTA CORPORATION   Issues: 01 02 03 04 05 06 07 EARTHE SIMUOLVED   SCHOOL   11/13/2014 RESPONSE: AVISTA CORPORATION   Issues: 01 02 03 04 05 06 07 EARTHEN SIMUOLVED   SCHOOL   11/13/2014 RESPONSE: AVISTA CORPORATION   Issues: 01 02 03 04 05 06 07 EARTHEN SIMUOLVED   11/13/2014 RESPONSE: AVISTA CORPORATION   Issues: 01 02 03 04 05 06 07 EARTHEN SIMUOLVED   11/13/2014 RESPONSE: AVISTA CORPORATION   Issues: 01 02 03 04 05 06 07 EARTHEN SIMUOLVED   11/13/2014 RESPONSE: AVISTA CORPORATION   Issues: 01 02 03 04 05 06 07 EARTHEN SIMUOLVED   11/24/2014 RESPONSE: AVISTA CORPORATION   ISSUE   ID 83720   11/24/2014 RESPONSE: AVISTA CORPORATION   ISSUE   ID 83720   11/24/2014 RESPONSE: AVISTA CORPORATION   ISSUE
TWIN FALLS,	INUE NORTH			IWT040		
-------------	----------------	----------------------	--	---------------	----------------------	--------------------------
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			2014.
95-16703			KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16703	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARTES. ID 83861	Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
95-16703	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 83724			
95-16703	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER

253 3RD A	VENUE NORTH	,01 110,001000	200121 00221	IV	WT040		
REG SUBCASE#	ISTER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED				
95-16703	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07	7 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
			UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE				
95-16703	11/28/2014		MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 07 08	3 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE ID 83720-0010				
		(AIII)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724				
95-16704	11/13/2014		BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO		Issues:	01 02 03 04 05 06 07	7 08 09 10 11
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	None Specified	
95-16704	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07	7 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	None Specified	

253 3RD AVENUE NORTH	1101 1101 0010	200 200021 20221	IWT040	11.021 0.10
TWIN FALLS, ID 83301 REGISTER OF ACTION SUBCASE# DATE FILED				11/01/2014 THRU 11/30/2014.
				01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)			
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		None Specified
95-16704 11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
	(ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		None Specified
95-16704 11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		None Specified
95-16704 11/28/2014	(ATTY) OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
	(ATTY)  CLAIMANT:	101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS	Water Source:	None Specified
	(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		-

253 3RD AVE TWIN FALLS.	ENUE NORTH , ID 83301	-		II	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			
95-16704		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	None Specified
95-16704	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	None Specified
95-16704	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	None Specified
95-16704	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	None Specified

WIN FALLS,	ENUE NORTH , ID 83301				IT040	
REGIS	STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
95-16705	11/13/2014	RESPONSE: (ATTY)				01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
5-16705	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
5-16705	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	SPRING
5-16705	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING

253 3RD AVE		or majaaroas		IV	VT040	
REGIS'	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			1/01/2014 THRU 11/30/2014.
95-16705	11/28/2014		KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
95-16705	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
95-16705	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
95-16705	11/28/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
			· - = / == ** · = *			

253 3RD AVE TWIN FALLS,	NUE NORTH		TON BOOKET SHEET	IWT040	
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE	Water Source:	SPRING
95-16705	11/28/2014		MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE ID 83720-0010		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
95-16706	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
95-16706	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING

253 3RD AVE	NUE NORTH	or majaaroas		IW	T040	11.021
TWIN FALLS, REGIS SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
95-16706			PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861			
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
95-16706	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
95-16706	11/28/2014	(ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
95-16706	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY) CLAIMANT:	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR	Water	Source:	SPRING
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			

253 3RD AVE	ENUE NORTH	ver Aujudicac	ION DOCKET SHEET	IWT040	TAGE. USI
TWIN FALLS, REGIS SUBCASE#			ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	FOR THE PERIOD 1	
95-16706	11/28/2014		SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
95-16706	11/28/2014	(ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
95-16706	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
95-16706	11/28/2014	(ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING

253 3RD AVE	NUE NORTH	_	ION DOCKET SHEET	12/08/14 IWT040	PAGE: 852
REGIS SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
	11/13/2014		AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200		01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
95-16708	11/24/2014	RESPONSE: (ATTY)		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	SPRING
95-16708	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING
95-16708	11/28/2014	RESPONSE: (ATTY)		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	SPRING

253 3RD AVE TWIN FALLS,	NUE NORTH			IV	WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
95-16708	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
95-16708	11/28/2014		FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
95-16708	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	SPRING
95-16708	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING

253 3RD AVE TWIN FALLS,	NUE NORTH	ver Adjudicat	ion DOCKET SHEET		WT040	PAGE: 854
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			11/01/2014 THRU 11/30/2014.
95-16708		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL			
		(A'I''I'Y)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
95-16708	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	SPRING
95-16709	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
95-16709	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 855 253 3RD AVENUE NORTH IWT040

	NUE NORTH ID 83301		IWT040
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. PARTIES INVOLVED
5-16709		RESPONSE:	PINEHURST WATER DISTRICT ISSUES: 01 02 03 04 05 06 07 08 09 12 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR Water Source: BENEWAH CREEK TRIBUTARY: BENEWAH LAKE US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
-16709	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER ISSUES: 01 02 03 04 05 06 07 08 09 12  SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: BENEWAH CREEK TRIBUTARY: BENEWAH LAKE US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
-16709	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		(ATTY)	UNITED STATES OF AMERICA AS TR Water Source: BENEWAH CREEK TRIBUTARY: BENEWAH LAKE US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724
-16709	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST ISSUES: 01 02 03 04 05 06 07 08 09 12 PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: BENEWAH CREEK TRIBUTARY: BENEWAH LAKE US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 856 253 3RD AVENUE NORTH IWT040

253 3RD AVE		2	IWT040
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014. PARTIES INVOLVED
		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S Issues: 01 02 03 04 05 06 07 08 09 12  SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  BOISE, ID 83701-0829
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR Water Source: BENEWAH CREEK TRIBUTARY: BENEWAH LAKE US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724
95-16709	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS Issues: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		(ATTY)	UNITED STATES OF AMERICA AS TR Water Source: BENEWAH CREEK TRIBUTARY: BENEWAH LAKE US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724
95-16709	11/28/2014		SCOTT, ANDREW & HEATHER ISSUES: 01 02 03 04 05 06 07 08 09 12 SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829
		(ATTY)	UNITED STATES OF AMERICA AS TR Water Source: BENEWAH CREEK TRIBUTARY: BENEWAH LAKE US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET MSC 033
95-16709	11/28/2014	RESPONSE: (ATTY)	BOISF, ID 83724  BALDWIN, JOHN Issues: 01 02 03 04 05 06 07 08 09 12  MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720  BOISE, ID 83701-2720
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR Water Source: BENEWAH CREEK TRIBUTARY: BENEWAH LAKE US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724

REGIS	STER OF ACTION	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	OR THE PE	RIOD 1	1/01/2014 THRU 11/30/2014.
JBCASE# 						
5-16710	11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Is	sues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water So	ource:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
5-16710	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Is	sues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water So	ource:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
-16710	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Is	sues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water So	urce:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
5-16710	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Is	sues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water So	ource:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE

	NUE NORTH ID 83301			IWT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR PARTIES INVOLVED		
-16710		RESPONSE:	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
16710	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
6710	11/28/2014	(ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
6710	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE

53 3rd aven	IUE NORTH	ver Adjudicat	ion DOCKET SHEET		18/14 IT040	PAGE: 859
JBCASE#	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
			SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)		Water	Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
5-16710	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
5-16711	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
5-16711	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE

253 3RD AVEN	NUE NORTH	er Adjudicat	IOII DOCKET SHEET		T040	TAGE. 000
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
95-16711	11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
95-16711	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
95-16711	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Wa+or	Source	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water	Source:	DENEMAN CREEK INIDUIANI: DENEMAN LANE

253 3RD AVE	NUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/0 IW	8/14 T040	PAGE: 861
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
	11/28/2014	RESPONSE: (ATTY) OBJECTION:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA			
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
95-16711	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
95-16711	11/28/2014	(ATTY)	BOISE, ID 83724 SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83/UI-U829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
95-16711	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE

REGIS	STER OF ACTION	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	OR THE PERI	IOD 11/01/2014 THRU 11/30/2014.
5-16712	11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issu	ues: 01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sour	rce: BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
5-16712	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issu	des: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Sour	rce: BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
-16712	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issu	ues: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sour	rce: BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
5-16712	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issu	ues: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sour	rce: BENEWAH CREEK TRIBUTARY: BENEWAH LAKE

253 3RD AVENUE	E NORTH	er Adjudicat:	ion DOCKET SHEET		18/14 IT040		PAGE: 863	
TWIN FALLS, II REGISTEF SUBCASE# I	R OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED					
		RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOTSE. ID 83724					
95-16712 1	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861		Issues:	01 02 03 04 05	06 07 08 09	12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
			UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	BENEWAH CREEK	TRIBUTARY:	BENEWAH LAKE
95-16712 1	1/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05	06 07 08 09	12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	BENEWAH CREEK	TRIBUTARY:	BENEWAH LAKE
95-16712 1	1/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05	06 07 08 09	12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	BENEWAH CREEK	TRIBUTARY:	BENEWAH LAKE

253 3RD AVE	Coeur d'Alene-Spokane River Adjudication DOCKET 253 3RD AVENUE NORTH WIN FALLS, ID 83301		ion DOCKET SHEET	12/08/14 IWT040	PAGE: 864
REGIS' SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED	FOR THE PERIOD	
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER		
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
95-16712	11/28/2014	(ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		BENEWAH CREEK TRIBUTARY: BENEWAH LAKE
95-16713	11/13/2014		AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	COEUR D ALENE LAKE TRIBUTARY: SPOKANE RIVER
95-16713	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	COEUR D ALENE LAKE TRIBUTARY: SPOKANE RIVER

253 3RD AVENUE NORTH TWIN FALLS, ID 83301			ION DOCKET SHEET	IV	. 003		
REGIS' SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED				
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201				
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16713	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16713	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOTSE, ID 83701-0829		Issues:	01 02 03 04 05 06 07	08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOTSE. ID 83724				
95-16713	11/28/2014	(ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER

253 3RD AVEN	NUE NORTH	.or majaaroas	10.1 2001.21 511221	IWT040	1110	2. 000
SUBCASE#	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			
		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE ID 83701-0829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16713	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)		Water Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16713	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES	Water Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16713	11/28/2014	RESPONSE: (ATTY)	550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER

253 3RD AVEN	NUE NORTH	rei Adjudicat	ION DOCKET SHEET		VT040	DAI	. 007
REGIST	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED				
	11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07	08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16714	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16714	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07	08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16714	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER

TWIN FALLS,							
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED				
		RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16714	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 0	7 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033				
95-16714	11/28/2014	(ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 0	7 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724				
95-16714	11/28/2014		SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 0	7 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER

253 3RD AVE	NUE NORTH	ver Adjudicat	ion DOCKET SHEET		08/14 WT040	PAG	E: 869
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED				
	11/28/2014		SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			01 02 03 04 05 06 07	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16714	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16715	11/13/2014	RESPONSE: (ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07	08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16715	11/24/2014	(ATTY)	LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 253 3RD AVENUE NORTH		ion DOCKET SHEET	12/08/14 PAGE: 8/ IWT040			<b>5:</b> 8/0
TWIN FALLS, ID 83301 REGISTER OF ACTION LI: SUBCASE# DATE FILED		ALL OBJECTIONS AND RESPONSES, F				2014.
	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861				08 09 12
Ol	BJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
(		UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16715 11/28/2014 1	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07	08 09 12
Ol	BJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
	(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033				
95-16715 11/28/2014 1	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07	08 09 12
Ol	(ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07	08 09 12
	(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
(	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER

253 3RD AVE	NUE NORTH		ION DOCKET SHEET	TW	78/14 7T040		E: 8/1
REGIS SUBCASE#	STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED				
95-16715	11/28/2014		SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16715	11/28/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16715	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16715	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER

TWIN FALLS,	NUE NORTH			ΤM	T040		
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED				
95-16716	11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07	08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16716	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033				
95-16716	11/28/2014	(ATTY)	BOISE, ID 83724 PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16716	11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOTSE, ID 83701-0829		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER

253 3RD AVE	NUE NORTH		ION DOCKET SHEET		T040		_,
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED				
95-16716	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16716	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033				
95-16716	11/28/2014	(ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724				
95-16716	11/28/2014		SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER

253 3RD AVE TWIN FALLS,	NUE NORTH	rer najaareae	ION BOOKET BREET	IW	T040	1710	2. 071
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED				
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	=	Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS TRUS DEPARTMENT OF JUSTICE				
95-16716	11/28/2014		MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOTSE, TD 83701-2720	]	Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724				
95-16717	11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Ē	Issues:	01 02 03 04 05 06 07	08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water S	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16717	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	]	Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water S	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER

TWIN FALLS, ID 83301		ION DOCKET SHEET	12/08/14 IWT040			PAGE: 8/3	
REGI SUBCASE#	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED				
	11/28/2014		PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861			01 02 03 04 05 06 07	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16717	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16717	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724				
95-16717	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER

253 3RD AVENTWIN FALLS,	NUE NORTH	or majaaroas	ION DOCKET SHEET		T040	1110	2. 070
REGIS:	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F				
	11/28/2014	RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16717	11/28/2014	(ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE. ID 83701-0829		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16717	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724				
95-16717	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER

253 3RD AVE	NUE NORTH	rer Adjudicat.	ion DOCKET SHEET		08/14 VT040	PAG.	E: 877
SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED				
95-16718		RESPONSE: (ATTY)  OBJECTION:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505 STATE OF IDAHO			01 02 03 04 05 06 07	
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16718	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16718	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16718	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER

253 3RD AVE TWIN FALLS,	NUE NORTH		ION DOCKET SHEET		T040		
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED				
95-16718	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16718	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033				
95-16718	11/28/2014	(ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724				
95-16718	11/28/2014		SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER

253 3RD AVE TWIN FALLS,	NUE NORTH	ver najaareae	ion DOCKET SHEET	12/08/14 IWT040	FAGE: 8/9
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, E PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
95-16718	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	: COEUR D ALENE LAKE TRIBUTARY: SPOKANE RIVER
95-16718	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV		
			OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	: COEUR D ALENE LAKE TRIBUTARY: SPOKANE RIVER
5-16719	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues	: 01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	: COEUR D ALENE LAKE TRIBUTARY: SPOKANE RIVER
95-16719	11/24/2014	RESPONSE: (ATTY)	LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720	Issues	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	: COEUR D ALENE LAKE TRIBUTARY: SPOKANE RIVER

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 880 253 3RD AVENUE NORTH IWTO FALLS. ID 83301

253 3RD AVE		_		IW	T040		
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR PARTIES INVOLVED	R THE	PERIOD 1	1/01/2014 THRU 11/30/	2014.
95-16719	11/28/2014	RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)		Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16719	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16719	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)		Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16719	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER

NUE NORTH	ver najuareae	IOII DOCKET SHEET	IZ/U IW		I AG	E: 881
TER OF ACTION DATE FILED		PARTIES INVOLVED				
11/28/2014		SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07	08 09 12
	OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07	08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033				
11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07	08 09 12
	OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
	NUE NORTH ID 83301 TER OF ACTION DATE FILED	NUE NORTH ID 83301 TER OF ACTION LIST SHOWING DATE FILED  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)	ID 83301  TER OF ACTION LIST SHOWING DATE FILED  11/28/2014  RESPONSE: SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: (ATTY)  CLAIMANT: UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  RESPONSE: (ATTY) WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  OBJECTION: WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: (ATTY) WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: (ATTY) WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: (ATTY) WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: (ATTY) WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: (ATTY) WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: (ATTY) WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: (ATTY) WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: (ATTY) WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 BOISE, ID 83701-0829  CLAIMANT: (ATTY) WOEMPNER, CARLA SEMANCO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 BOIS	NUE NORTH  10 83301 TER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE DATE FILED  11/28/2014  RESPONSE: SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  BOISE, ID 83701-0829  OBJECTION: WOEMPRER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water (ATTY) UNITED STATES OF AMERICA AS TR Water ENVIRONMENT & NATL', RESOURCES 550 WEST FORT STREET, MSC 033  11/28/2014  RESPONSE: SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  OBJECTION: SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  OBJECTION: WOEMPRER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  OBJECTION: WOEMPRER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: UNITED STATES OF AMERICA AS TR WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  OBJECTION: SCHANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  OBJECTION: SCHANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  OBJECTION: UNITED STATES OF AMERICA AS TR WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  OBJECTION: SCHANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  OBJECTION: SCHANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  OBJECTION: SCHANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  OBJECTION: SCHANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  OBJECTION: SCHANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  OBJECTION: STATE OF 1DAHO  OCHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF 1DAHO  OCHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF 1DAHO  OCHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF 1DAHO  OCHIEF NATURE OF AMERICA AS TR WATER AND THE STATE OF 1	NUE NORTH  1D 83301 TER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 1 DATE FILED  11/28/2014  RESPONSE: SHOSHONE COUNTY SPORTSMEN'S ISSUES: SHOWN, NORMAN M 10 BOX 829 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR (ATTY)	NUE NORTH  10 83301  11 8301

		RESPONSE:								
		RESPONSE:								
		(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200				03 04 05 06 07			
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720							
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR	D ALENE LAKE	TRIBUTARY:	SPOKANE F	.IVER
95-16720 11/24	1/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02	03 04 05 06 07	08 09 12		
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010							
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR	D ALENE LAKE	TRIBUTARY:	SPOKANE F	.IVER
95-16720 11/28	3/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02	03 04 05 06 07	08 09 12		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829							
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	COEUR	D ALENE LAKE	TRIBUTARY:	SPOKANE F	.IVER
95-16720 11/28	3/2014	RESPONSE: (ATTY)	BOISE, ID 83724 EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02	03 04 05 06 07	08 09 12		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829							
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 500 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR	D ALENE LAKE	TRIBUTARY:	SPOKANE F	.IVER

TWIN FALLS,							
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED				
95-16720		RESPONSE:	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAN	E TRIBUTARY: SPOKANE RIVER
95-16720	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861		Issues:	01 02 03 04 05 06	5 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033				
95-16720	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06	5 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 ROISE ID 83724				
95-16720	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06	5 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAM	E TRIBUTARY: SPOKANE RIVER

253 3RD AVE TWIN FALLS,	NUE NORTH	rer najaareae	ION BOOKET BREET	IWT		1710	. 001
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED				
95-16720	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	I	ssues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS TRUS DEPARTMENT OF JUSTICE				
95-16720	11/28/2014		MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOTSE, TD 83701-2720	I	ssues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 83724				
95-16721	11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	I	ssues:	01 02 03 04 05 06 07	08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water S	ource:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16721	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	I	ssues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water S	ource:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER

253 3RD AVEN	NUE NORTH	ci najaareae.	ION DOCKET SHEET		VT040	1110	. 003
SUBCASE#	CER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED				
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201				
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16721	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16721	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033				
95-16721	11/28/2014	(ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER

253 3RD AVE	NUE NORTH	rei Adjudicat	TOTE DOCKET SHEET	IW	T040	IAG	E. 000
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED				2014.
	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16721	11/28/2014	(ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE. ID 83701-0829		Issues:	01 02 03 04 05 06 07	08 09 12
			WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
			UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 SCOTT, ANDREW & HEATHER SEMANKO NORMAN M				
95-16721	11/28/2014	(UIII)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724				
95-16721	11/28/2014	RESPONSE: (ATTY)	BALDWÍN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER

253 3RD AVE	NUE NORTH	rei Adjudicat	TOTE DOCKET SHEET	IWT040	TAGE. 007
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
95-16722		RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues	: 01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724		: COEUR D ALENE LAKE TRIBUTARY: SPOKANE RIVER
95-16722	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	: COEUR D ALENE LAKE TRIBUTARY: SPOKANE RIVER
95-16722	11/28/2014	( \lambda \text{TTTV} \)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA	Issues	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	: COEUR D ALENE LAKE TRIBUTARY: SPOKANE RIVER
95-16722	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	: COEUR D ALENE LAKE TRIBUTARY: SPOKANE RIVER

253 3RD AVE	NUE NORTH	.01 110,001000		IW	T040	_	
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED				
95-16722		RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16722	11/28/2014	RESPONSE: (ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06	07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033				
95-16722	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06	07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16722	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06	07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER

Coeur d'Ale 253 3RD AVE TWIN FALLS,	NUE NORTH	ver Adjudicat	ion DOCKET SHEET	12/08/14 IWT040	PAG	GE: 889
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M			
		CLAIMANT: (ATTY)	101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sourc	e: COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16722	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issue	s: 01 02 03 04 05 06 0	7 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sourc	e: COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16723	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issue	s: 01 02 03 04 05 06 0	7 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Sourc	e: COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16723	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issue	s: 01 02 03 04 05 06 0	7 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sourc	e: COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER

253 3RD AVE TWIN FALLS,				IW	T040		
REGIS SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F				
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			01 02 03 04 05 06 07	
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16723	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16723	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16723	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER

253 3RD AVE TWIN FALLS,	ENUE NORTH	.01 110,001000	IOH BOCKET SHEET	IWT04		1110.	2. 031
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F				
95-16723		RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sou	urce: (	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16723	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Iss	sues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sou	urce: (	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16723	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Iss	sues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724				
95-16723	11/28/2014	RESPONSE: (ATTY)	MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Iss	sues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Sou	urce: (	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER

TWIN FALLS, ID 83301 REGISTER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/ SUBCASE# DATE FILED  95-16724 11/13/2014 RESPONSE: AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505  OBJECTION: STATE OF IDAHO (ATTY) OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: COEUR D ALENE LAKE (ATTY) ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  95-16724 11/24/2014 RESPONSE: (ATTY) HAGADONE HOSPITALITY CO SOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  95-16724 11/24/2014 RESPONSE: HAGADONE HOSPITALITY CO SOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  95-16724 11/24/2014 RESPONSE: HAGADONE HOSPITALITY CO SOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  95-16724 11/24/2014 RESPONSE: HAGADONE HOSPITALITY CO SOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83720-2720 BOISE, ID 83701-2720 BOISE, ID 83701-2720 BOISE, ID 83701-2720 BOISE, ID 83701-2720 BOISE, ID 83720-0010 CLAIMANT: UNITED STATES OF AMERICA AS TR WATER SOURCE: COEUR D ALENE LAKE (ATTY) US DEPARTMENT OF JUSTICE	
95-16724 11/13/2014 RESPONSE: AVISTA CORPORATION	
OBJECTION: STATE OF IDAHO  (ATTY)  (AT	08 09 10 11
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: COEUR D ALENE LAKE  (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  PS-16724 11/24/2014 RESPONSE: HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720  OBJECTION: STATE OF IDAHO (ATTY) CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010 CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: COEUR D ALENE LAKE  (ATTY) US DEPARTMENT OF JUSTICE	
95-16724 11/24/2014 RESPONSE: HAGADONE HOSPITALITY CO ISSUES: 01 02 03 04 05 06 07 LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720  OBJECTION: STATE OF IDAHO (ATTY) CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010 CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: COEUR D ALENE LAKE (ATTY) US DEPARTMENT OF JUSTICE	TRIBUTARY: SPOKANE RIVER
OBJECTION: STATE OF IDAHO  (ATTY) CHIEF NATURAL RESOURCES DIV  OFFICE OF THE ATTORNEY GENERAL  STATE OF IDAHO  PO BOX 83720  BOISE, ID 83720-0010  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: COEUR D ALENE LAKE  (ATTY) US DEPARTMENT OF JUSTICE	08 09 12
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: COEUR D ALENE LAKE (ATTY) US DEPARTMENT OF JUSTICE	
ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	
BOISE, ID 83724 95-16724 11/28/2014 RESPONSE: PINEHURST WATER DISTRICT ISSUES: 01 02 03 04 05 06 07 (ATTY) PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	08 09 12
OBJECTION: WOEMPNER, CARLA  (ATTY) SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL  PO BOX 829	
BOISE, ID 83701-0829 CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: COEUR D ALENE LAKE (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	
95-16724 11/28/2014 RESPONSE: EAST SHOSHONE COUNTY WATER ISSUES: 01 02 03 04 05 06 07 (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOTSF. ID 83701-0829	08 09 12
OBJECTION: WOEMPNER, CARLA  (ATTY) SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL  PO BOX 829  BOISE, ID 83701-0829	
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: COEUR D ALENE LAKE  (ATTY) US DEPARTMENT OF JUSTICE  ENVIRONMENT & NATL' RESOURCES  550 WEST FORT STREET, MSC 033  BOISE, ID 83724	TRIBUTARY: SPOKANE RIVER

TWIN FALLS, REGIS	TD 03301						
	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED				
95-16724		RESPONSE:	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAN	KE TRIBUTARY: SPOKANE RIVER
95-16724	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES. ID 83861		Issues:	01 02 03 04 05 06	6 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033				
95-16724	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06	6 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 83724				
95-16724	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06	6 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAR	KE TRIBUTARY: SPOKANE RIVER

253 3RD AVEN		2		IWT040		
SUBCASE#	ER OF ACTION		ALL OBJECTIONS AND RESPONSES, F			2014.
95-16724	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOY 829	Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET MSC 033			
95-16724	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16725	11/13/2014	(ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07	08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16725	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL! RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER

253 3RD AVE	NUE NORTH	ver najuareae.	ION DOCKET SHEET		VT040	1110	. 093
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED				
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201				
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16725	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16725	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOTSE, ID 83701-0829		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOTSE. ID 83724				
95-16725	11/28/2014	(ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER

253 3RD AVE TWIN FALLS,	NUE NORTH			IWT040		
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, FOR	OR THE PERIOD 1		2014.
		RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL			08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16725	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724			
95-16725	11/28/2014		SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TRUS DEPARTMENT OF JUSTICE			
95-16725	11/28/2014	RESPONSE: (ATTY)	ENVIRONMENT & MAIL RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER

JOBCASE#			ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
95-16726	11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
95-16726	11/24/2014		HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
95-16726	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 83724			
95-16726	11/28/2014	(ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO ROY 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	BOISE, ID 837/01-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE	NUE NORTH	,01 110,001000	200. 200.21 0.221	IWT040	11102 <b>.</b> 030
REGIS'	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, E PARTIES INVOLVED	OR THE PERIOD 1	
95-16726	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)		Water Source:	GROUND WATER
95-16726	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
95-16726	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
95-16726	11/28/2014	RESPONSE: (ATTY)		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	ID 83301	TIOT SHOWING	ALL OBJECTIONS AND RESPONSES, F	יחם שטב	סקסד∧ה 1	1/01/2014 ਜ਼ਰੂਰਜ਼ 11/30/	2014
			PARTIES INVOLVED				
	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
			BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H	Water	Source:	GROUND WATER	
05 46506	44 /00 /004		BOISE, ID 83724		_		
95-16726	11/28/2014	RESPONSE: (ATTY)	601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET MSC 033	Water	Source:	GROUND WATER	
95-16727	11/13/2014	RESPONSE: (ATTY)	ROTER ID 83724		Issues:	01 02 03 04 05 06 07	08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
			BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033				
95-16727	11/24/2014	(ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER

253 3RD AVEN	NUE NORTH	rei najaareae	ION DOCKET SHEET		VT040	1110	. 500
SUBCASE#	CER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED				
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201				
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16727	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16727	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033				
95-16727	11/28/2014	(ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER

253 3RD AVE	NUE NORTH		ION DOCKET SHEET	IW	T040		E: 901
REGIS SUBCASE#	TD 83301 STER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED				
95-16727	11/28/2014		SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16727	11/28/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16727	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16727	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER

NUE NORTH	=	ION DOCKET SHEET	TV	78/14 7T040		E: 902
	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200				
	OBJECTION: (ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST		Issues:	01 02 03 04 05 06 07	08 09 12
	OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07	08 09 12
	OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07	08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
	NUE NORTH ID 83301 TER OF ACTION DATE FILED	NUE NORTH ID 83301 TER OF ACTION LIST SHOWING DATE FILED  11/13/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  11/28/2014 RESPONSE: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)	NUE NORTH 1D 83301 TER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, F DATE FILED  11/13/2014  RESPONSE: AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LIP 717 W SPRAGUE AVE, STE 1200 SPOKENE WA 99201-3505  OBJECTION: STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720  CLAIMANT: (ATTY) WINTED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  11/24/2014  RESPONSE: HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720  OBJECTION: STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO DO BOX 83720  CLAIMANT: (ATTY) WINTED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES STOWN REST FORT STREET, MSC 033 BOISE, ID 83720-0010  CLAIMANT: (ATTY) WINTED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES STOWN REST FORT STREET, MSC 033 BOISE, ID 83724  11/28/2014  RESPONSE: (ATTY) WOEMENER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES STOWN REST FORT STREET, MSC 033 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES STOWN REST FORT STREET, MSC 033 BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  CLAIMANT: UNITED STATES OF AMERIC	NUE NORTH 10 83301 TER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PART FILED  11/13/2014 RESPONSE: AVISTA CORPORATION SCHROEDER, WILLIAM JAINE PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKAME, WA 99201-3505  OBJECTION: STATE OF IDAHO (ATTY) CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO (ATTY) UNITED STATES OF AMERICA AS TR WATER OF STATE OF IDAHO (ATTY) UNITED STATES OF AMERICA AS TR WATER OF IDAHO (ATTY) UNITED STATES OF AMERICA AS TR WATER OF IDAHO (ATTY) UNITED STATES OF AMERICA AS TR WATER OF IDAHO (ATTY) STATE OF IDAHO (ATTY) CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO (ATTY) OFFICE OF THE ATTORNEY GENERAL STATE OF THE OFFICE OF THE OFFICE OF THE ATTORNEY GENERAL STATE OF THE OFFIC	NUE NORTH  1D 83301 TER OF ACTION LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 1 DATE FILED  PARTIES INVOLVED  11/13/2014 RESPONSE: AVISTA CORPORATION SCHROER, WILLIAM J SCHROER, WILLIAM J 717 W SPRAGUE LAW, STE 1200 SPOKANE, WA 99201-3505 OBJECTION: STATE OF IDARO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDARO CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: (ATTY) OSEPARATHENT OF JUSTICE WILLIAMS SOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDARO CLAIMANT: UNITED STATES OF AMERICA AS TR (ATTY) OS DEPARTMENT OF JUSTICE (ATTY) OS DEPARTMENT OF JUSTICE OBJECTION: STATE OF IDARO (ATTY) OBOX 2720 OBJECTION: STATE OF IDARO (ATTY) OFFICE OF THE ATTORNEY GENERAL STA	NUE NORTH  TER R ACTION  TER R ACTION  TER R ACTION  LIST SHOWING ALL OBJECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/:  PARTIES INVOLVED  TART PLANT  (ATTY)  (ATTY)  CHARLES INVOLVED  SPOKARAM, MA 9201-3505  STATE OF TOAHO  CHIEF OF THE ATTORNEY GENERAL  OFFICE OF THE A

253 3RD AVE	NUE NORTH	rei najaareae	IOII DOCKET SHEET	IW	T040	1110	. 505
SUBCASE#	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED				
95-16728	11/28/2014	RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16728	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033				
95-16728	11/28/2014	(ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724				
95-16728	11/28/2014		SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
			20101, 10 00/24				

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 253 3RD AVENUE NORTH WIN FALLS, ID 83301					08/14 WT040	PAGE: 904		
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED					
	11/28/2014		SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			01 02 03 04 05 06 07		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER	
95-16728	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07	08 09 12	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720					
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER	
95-16729	11/13/2014	RESPONSE: (ATTY)	BOISE, ID 83724 AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07	08 09 10 11	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010					
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER	
95-16729	11/24/2014	RESPONSE: (ATTY)	LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07	08 09 12	
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720					
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER	

253 3RD AVE	oeur d'Arene-Spokane River Adjudication Docker Sheer 53 3RD Avenue North WIN FALLS, ID 83301				VT040	PAGE: 905		
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED					
			PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861			01 02 03 04 05 06 07		
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER	
95-16729	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07	08 09 12	
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829					
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER	
95-16729	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07	08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER	
95-16729	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07	08 09 12	
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829					
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER	

253 3RD AVE	NUE NORTH	er majaareae	ION DOCKET SHEET		WT040	1110	. 500
REGIS'	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED				
95-16729		RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)		Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16729	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16729	11/28/2014		SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829				
		(A'I''I'Y)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER
95-16729	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07	08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720				
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	COEUR D ALENE LAKE	TRIBUTARY: SPOKANE RIVER

253 3RD AVENTWIN FALLS,	NUE NORTH	3	ION BOCKET SHEET	IWT040	
REGIS:	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, I PARTIES INVOLVED		
	11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	: 01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	: GROUND WATER
95-16730	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	: GROUND WATER
95-16730	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	: GROUND WATER
95-16730	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	: GROUND WATER

53 3RD AVE WIN FALLS,				IWT040	
REGIS' JBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F		l1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)			01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPHOR, CARDA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
-16730	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
-16730	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
-16730	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH	,	ION DOCKET SHEET	IWT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
95-16730	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
95-16731	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 83724		
95-16731	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE	NUE NORTH	rei Adjudicat	TOTE DOCKET SHEET		WT040	TAGE. 910
SUBCASE#	TER OF ACTION DATE FILED					1/01/2014 THRU 11/30/2014.
95-16731		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
95-16731	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
95-16731	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
95-16731	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	₩ <b>ɔ</b> +o	Source:	CDOUND WATED
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water	source:	GROUND WAILK

253 3RD AVE	NUE NORTH	ver Adjudicat	ion DOCKET SHEET		√T040	PAGE: 911
TWIN FALLS, REGIS SUBCASE#	TER OF ACTION DATE FILED	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
95-16731	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
95-16731	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
95-16731	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
95-16731	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

THIN FALLS, ID 83301 REGISTRE OF ACTON LIST SHOWING ALL OBLECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014.  BURDARH DATE FILED  RESPONSE: PARTIES INVOICED PRESENTED SHOWING ALL OBLECTIONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014.  RESPONSE: PARTIES INVOICED REGISTRATE OF ACTOR (ATT!) SCHOOL N. SECONDER WILLIAM J SHOWING ALL OBLECTION SCHOOL N. SECONDER WILLIAM J SHOWING ALL OBLECTION SCHOOL N. SECONDER W. 9201-3505  OBJECTION: SCHOOL N. SHOWING ALL OBLECTION J SHOWING ALL OBLECT AND A SHOWING ALL OBLECT AND A SHOWING ALL OBLECT AND A SHOWING ALL OBLECT AND A SHOWING ALL OBLECT AND A SHOWING ALL OBLECT AND A SHOWING ALL OBLECT AND A SHOWING ALL OBLECT AND A SHOWING ALL OBLECT AND A SHOWING ALL OBLECT AND A SHOWING	253 3RD AVEN	NUE NORTH	ver najuareae	ION BOCKET SHEET	IWT040	11101. 712
95-16734 11/13/2014 RESPONSE: AVISTA CORPORATION ISSUES: 01 02 03 04 05 06 07 08 09 10 11 SCHOOL RESPONSE: AVISTA CORPORATION SCHOOL RESPONSE: AVISTA CORPORATION: SCHOOL RESPONSE: AVISTA CORPORATION: SCHOOL RESPONSE: AVISTA CORPORATION: SCHOOL RESPONSE: AVISTA CORPORATION: SCHOOL RESPONSE: AVISTA CORPORATION: STATE OF IDAMO SOURCES DIV CHIEF RAUGAL RESOURCES DIV CHIEF RAUGAL RESOURCES DIV CHIEF RAUGAL RESOURCES DIV CHIEF RAUGAL RESOURCES STOWN FOR STREET, MSC 033 04 05 06 07 08 09 12 AVISTA CORPORATION OF THE ARTHONORY CRITERIA STATE OF IDAMO SOURCES DIV CHIEF RAUGAL RESOURCES DIV	REGIST SUBCASE#	TER OF ACTION		PARTIES INVOLVED		
OBJECTION: STATE OF IDAHO CHIEF MATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL OFFICE OF THE ATTORNEY GENERAL OFFICE OF THE ATTORNEY GENERAL OFFICE OF THE ATTORNEY GENERAL OFFICE OF THE ATTORNEY GENERAL OFFICE OF THE ATTORNEY GENERAL OFFICE OF THE ATTORNEY GENERAL OFFICE OF THE ATTORNEY GENERAL OFFICE OF THE ATTORNEY GENERAL STATE OF JUSTICS OFFICE OF THE ATTORNEY GENERAL OFFICE OF THE ATTORNEY		11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issues:	01 02 03 04 05 06 07 08 09 10 11
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  (ATTY) US DEPARTMENT & NATL' RESOURCES SIGNED STREET, MSC 033  95-16734 11/24/2014 RESPONSE: HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720  0BJECTION: STATE OF IDAHO (ATTY) USING POOK 100 MATER (ATTY) US DEPARTMENT OF USING POOK 100 MATER (				STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
95-16734 11/24/2014 RESPONSE: (ATTY)				UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83726 BOISE, ID 83726 BOISE, ID 83726 BOISE, ID 83726 BOISE, ID 83726 BOISE, ID 83726 BOISE, ID 83726 BOISE, ID 83726 BOISE, ID 83726 BOISE, ID 83701 B	95-16734	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
CLAIMANT:   UNITED STATES OF AMERICA AS TR   Water Source:   GROUND WATER				CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861  OBJECTION: WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: (ATTY) UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  PAYNE, DOUGLAS P. SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  OBJECTION: WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  OBJECTION: WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
CATTY   SEMANKO, NORMAN M	95-16734	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  (ATTY) US DEPARTMENT OF JUSTICE  ENVIRONMENT & NATL' RESOURCES  550 WEST FORT STREET, MSC 033  BOISE, ID 83724  95-16734 11/28/2014 RESPONSE: EAST SHOSHONE COUNTY WATER  (ATTY) SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL  PO BOX 829  BOISE, ID 83701-0829  OBJECTION: WOEMPNER, CARLA  SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL  PO BOX 829  OBJECTION: WOEMPNER, CARLA  SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL  PO BOX 829			OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
95-16734 11/28/2014 RESPONSE: EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 OBJECTION: WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
OBJECTION: WOEMPNER, CARLA  (ATTY) SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL  PO BOX 829	95-16734	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
			OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
BOISE, ID 83701-0829  CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  (ATTY) US DEPARTMENT OF JUSTICE  ENVIRONMENT & NATL' RESOURCES  550 WEST FORT STREET, MSC 033  BOISE, ID 83724				UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER

253 3RD AVEN	NUE NORTH	ver majaareae	IOII DOCKET SHEET	IWT040	11101. 913
	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
95-16734			KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
95-16734	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
95-16734	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
95-16734	11/28/2014	RESPONSE: (ATTY)		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
			,		

253 3RD AVE TWIN FALLS,	NUE NORTH			IWT040	
REGIS SUBCASE#	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, E PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
			UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN MEYED CHDISCODUED H	Water Source:	GROUND WATER
95-16734	11/28/2014	(AIII)	BALDWÍN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720 STATE OF IDAHO	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
95-16735	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
95-16735	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)		Water Source:	GROUND WATER

253 3RD AVE	NUE NORTH	rei Adjudicat	TOTE DOCKET SHEET		WT040	INGE. 919
SUBCASE#	TER OF ACTION DATE FILED					1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
95-16735	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
95-16735	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, TD 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 83724			
95-16735	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Wa+a	Source:	CDOUND WATED
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water	source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH		ION BOCKET SHEET		WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, E			
	11/28/2014	RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
95-16735	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
95-16735	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOY 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
95-16735	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

THIN FALLS, ID 8301 NIST SHOWING ALL GENERICONS AND RESPONSES, FOR THE PERIOD 11/01/2014 THRU 11/30/2014.    RESPONSE	253 3RD AVEN	IUE NORTH	ver najuareae	ION BOCKET SHEET	IWT040	17.01. 717
95-16736 11/13/2014 RESPONSE: (ATTY)  RESPONSE: (ATTY)  OBJECTION: SCHENDER, WILLIAM J STE 1200 SCHENDER, WILLIAM J STE 1200 SCHENDER, WILLIAM J STE 1200 SCHENDER, WILLIAM J STE 1200 SCHENDER, WILLIAM J STE 1200 SCHENDER, WILLIAM J STE 1200 SCHENDER, WILLIAM J STE 1200 SCHENDER, WILLIAM J STE 1200 SCHENDER, WILLIAM J STE 1200 SCHENDER, WILLIAM J STE 1200 SCHENDER, WILLIAM J STE 1200 SCHENDER, WILLIAM J STE 1200 SCHENDER, WILLIAM J STE 1200 SCHENDER, WILLIAM J STE 1200 SCHENDER, WILLIAM J STE 1200 SCHENDER, WILLIAM J STE WATER SCHENDER SCHENDER, WILLIAM J STATE OF IDAHO (ATTY)  OBJECTION: GARRIEL STE 1200 SCHENDER, WILLIAM J STE WATER SCHENDER, WILLIAM J STE WATER SCHENDER, WILLIAM J STATE OF IDAHO CHIEF MATHONNEY GENERAL SCHENDER, WILLIAM J STATES OF AMERICA AS TR WATER SCHENDER, WILLIAM J STATE OF IDAHO CHIEF MATHONNEY GENERAL SCHENDER, WILLIAM J STATES OF AMERICA AS TR WATER SCHENDER, WILLIAM J STATE OF IDAHO CHIEF MATHONNEY GENERAL SCHENDER, WILLIAM J STATES OF AMERICA AS TR WATER SCHENDER, WILLIAM J STATE OF AMERICA AS TR WATER SCHENDER, WILLIAM J STATE OF AMERICA AS TR WATER SCHENDER, WILLIAM J STATE OF AMERICA AS TR WATER SCHENDER, WILLIAM J STATE OF AMERICA AS TR WATER SCHENDER, WILLIAM J STATE OF AMERICA AS TR WATER SCHENDER, WILLIAM J STATE OF AMERICA AS TR WATER SCHENDER, WILLIAM J STATE OF AMERICA AS TR WATER SCHENDER, WILLIAM J STATE OF AMERICA AS TR WATER SCHENDER, WILLIAM J STATE OF AMERICA AS TR WATER SCHENDER, WILLIAM J STATE OF AMERICA AS TR WATER SCHENDER, WILLIAM J STATE OF AMERICA AS TR WATER SCHENDER, WILLIAM J STATE OF AMERICA AS TR WATER SCHENDER, WILLIAM J STATE OF AMERICA AS TR WATER SCHENDER, WILLIAM J STATE SCHENDER, WILLIAM J STATE SCHENDER, WILLIAM J STATE SCHENDER, WILLIAM J STATE SCHENDER, WILLIAM J STATE SCHENDER, WILLIAM J STATES OF AMERICA AS TR WATER SCHENDER, WILLIAM J STATE SCHENDER, WILLIAM J STATE SCHENDER, WILLIAM J STATE SCHENDER, WILLIAM J STATE SCHENDER, WILLIAM J STATE SCHENDER, WILLIAM J STATE SCHENDER, WILLIAM J STATE SCHENDER, WILLIAM J STATE SCHENDER, WILLIAM J ST	REGIST SUBCASE#	ER OF ACTION		PARTIES INVOLVED		
OBJECTION: STATE OF IDAHO CHIEF MATURAL RESOURCES DIV OFFICE OF THE ATTONNET GENERAL OFFICE O		11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issues:	01 02 03 04 05 06 07 08 09 10 11
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  (ATTY) USEPPARTMENT & NATL' RESOURCES SIGN WEST FOR STREET, MSC 033  95-16736 11/24/2014 RESPONSE: HAGADOME HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720  0BJECTION: STATE OF IDAHO (ATTY) USEPPARTMENT OF JUSTICE STATE OF IDAHO CLAIMANT: UNITED STATES OF AMERICA AS TR (ATTY) USEPPARTMENT OF JUSTICE (ATTY) USEPPARTMENT OF JUSTICE (ATTY) USEPPARTMENT OF JUSTICE (ATTY) USUAL STATE OF STATE OF STATE OF STATE OF STATE OF STATE (ATTY) USUAL STATE OF STATE OF STATE OF STATE OF STATE OF STATE (ATTY) USUAL STATE OF STATE OF STATE OF STATE OF STATE OF STATE (ATTY) USUAL STATE OF STATE O				STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
95-16736 11/24/2014 RESPONSE: (ATTY)			(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724		
CATTY   CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER LEVEL OF THE AMERICA AS TR Water Source: GROUND WATER SOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83726 BOISE, ID 83726 BOISE, ID 83726 BOISE, ID 83726 BOISE, ID 83726 BOISE, ID 83726 BOISE, ID 83726 BOISE, ID 83726 BOISE, ID 83726 BOISE, ID 83701 BO	95-16736	11/24/2014		HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
CLAIMANT:   UNITED STATES OF AMERICA AS TR   Water Source:   GROUND WATER				CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861  OBJECTION: WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  CLAIMANT: (ATTY) UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  95-16736 11/28/2014 RESPONSE: (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  OBJECTION: WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  OBJECTION: WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
CATTY   SEMANKO, NORMAN M	95-16736	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724  95-16736 11/28/2014 RESPONSE: EAST SHOSHONE COUNTY WATER (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  OBJECTION: WOEMPNER, CARLA (ATTY) SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  OBJECTION: WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
95-16736 11/28/2014 RESPONSE: EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829  OBJECTION: WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829  OBJECTION: WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829				UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
OBJECTION: WOEMPNER, CARLA  (ATTY) SEMANKO, NORMAN M  101 S CAPITOL BLVD 10TH FL  PO BOX 829	95-16736	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
RUICE IN 847HT=H87M			OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
CLAIMANT: UNITED STATES OF AMERICA AS TR Water Source: GROUND WATER  (ATTY) US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724				US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER

83301					
		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
11/28/2014	RESPONSE:	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
L1/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	101 S CAPITOL BLVD 10TH FL PO BOX 829			
	(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
	OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
	CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
1	DATE FILED	DATE FILED  11/28/2014 RESPONSE: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  OBJECTION: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)  CLAIMANT: (ATTY)	PARTIES   INVOLVED	PARTIES INVOLVED	PARTIES INVOLVED

253 3RD AVE TWIN FALLS,	ENUE ÑORTH	3	TON BOOKET BREET	IW	T040	
REGIS SUBCASE#	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			
95-16736	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
95-16736	11/28/2014	RESPONSE: (ATTY)	ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 0.33			
95-16737	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505		Issues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE. ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
95-16737	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH		ION BOCKET SHEET	II	WT040	
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			L1/01/2014 THRU 11/30/2014.
	11/28/2014	(ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
95-16737	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
95-16737	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, TD 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
95-16737	11/28/2014	(ATTY)	BOISE, ID 83724 FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH		ION BOCKET SHEET		WT040	
REGIS	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, E			
	11/28/2014	RESPONSE:	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
95-16737	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
95-16737	11/28/2014	(ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL DO BOY 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
95-16737	11/28/2014	RESPONSE: (ATTY)	BALDWÍN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

TWIN FALLS,	NUE NORTH			IWT040	
REGIS1	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, F		
	11/13/2014	RESPONSE:	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
95-16738	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
95-16738	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
95-16738	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	ID 83301				WT040	11/01/0014 57777 11/00/0014
SUBCASE#	DATE FILED		ALL OBJECTIONS AND RESPONSES, E PARTIES INVOLVED			11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
95-16738	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
95-16738	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
95-16738	11/28/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	ENUE NORTH			IWT040	
REGIS SUBCASE#	STER OF ACTION		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
			UNITED STATES OF AMERICA AS TRUS DEPARTMENT OF JUSTICE	Water Source:	GROUND WATER
95-16738	11/28/2014		ENVIRONMENT & NAIL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724 BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720 STATE OF IDAHO	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		(ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
95-16739	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200 SPOKANE, WA 99201-3505	Issues:	01 02 03 04 05 06 07 08 09 10 11
		(ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
95-16739	11/24/2014	RESPONSE: (ATTY)	HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)		Water Source:	GROUND WATER

253 3RD AVE	NUE NORTH	rei Adjudicat	TOTE DOCKET SHEET		WT040	INGE. 725
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
95-16739	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
95-16739	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE. ID 83724			
95-16739	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	₩ <b>ɔ</b> +o	Source:	CDOUND WATED
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	water	source:	GROUND WAIER

53 3RD AVE WIN FALLS,			ION DOCKET SHEET		VT040	
REGIS	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, E			
	11/28/2014		SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
-16739	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
5-16739	11/28/2014	(ATTY)	BOISE, ID 83724 SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPHER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
-16739	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720			
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVEI	NUE NORTH	_	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 927
REGIS' SUBCASE#	TER OF ACTION DATE FILED	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200		01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
95-16740	11/24/2014	RESPONSE: (ATTY)		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
95-16740	11/28/2014	RESPONSE: (ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
95-16740	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE TWIN FALLS,	NUE NORTH	.or majaaroas	ION BOCKET SHEET		WT040	111021 320
REGIS SUBCASE#	TER OF ACTION		ALL OBJECTIONS AND RESPONSES, PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
95-16740	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARTES. ID 83861		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829			
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033			
95-16740	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
95-16740	11/28/2014	RESPONSE: (ATTY)			Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER

253 3RD AVE		2		IWT040	
SUBCASE#	TER OF ACTION		G ALL OBJECTIONS AND RESPONSES, E PARTIES INVOLVED		
		RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		(ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724		
95-16740	11/28/2014		MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720	Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	BOISE, ID 83701-2720 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE ID 83720-0010		
		(ATTI)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE ID 83724	Water Source:	GROUND WATER
95-16741	11/13/2014	(ATTY)	SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200	Issues:	01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		(ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
95-16741	11/24/2014	RESPONSE: (ATTY)	BOISE, ID 83724 HAGADONE HOSPITALITY CO LAWRENCE, MICHAEL P 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
			STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE	NUE NORTH	rei Adjudicat	TOTE DOCKET SHEET		WT040	INGE. 930
SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED			1/01/2014 THRU 11/30/2014.
		RESPONSE: (ATTY)	PINEHURST WATER DISTRICT PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201			
		OBJECTION: (ATTY)	ST MARIES, ID 83861 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water	Source:	GROUND WATER
95-16741	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water	Source:	GROUND WATER
95-16741	11/28/2014	(ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, TD 83701-0829		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829			
		CLAIMANT: (ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724			
95-16741	11/28/2014	RESPONSE: (ATTY)  OBJECTION:	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861 WOEMPNER, CARLA		Issues:	01 02 03 04 05 06 07 08 09 12
		(ATTY)  CLAIMANT:	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR	Wa+or	Source	GROUND WATER
		(ATTY)	US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Macel	Jource.	OLOGIE MILLIN

53 3RD AVE WIN FALLS,	NUE NORTH	ver majaareae	ion DOCKET SHEET	12/08/14 IWT040	PAGE: 931
REGIS UBCASE#	TER OF ACTION	LIST SHOWING	ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
5-16741	11/28/2014	RESPONSE: (ATTY)	SHOSHONE COUNTY PUBLIC WORKS SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source:	GROUND WATER
5-16741	11/28/2014	RESPONSE: (ATTY)	SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
5-16741	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

253 3RD AVE	NUE NORTH	_	ION DOCKET SHEET	12/08/14 IWT040	PAGE: 932
REGIS SUBCASE#	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		11/01/2014 THRU 11/30/2014.
	11/13/2014	RESPONSE: (ATTY)	AVISTA CORPORATION SCHROEDER, WILLIAM J PAINE HAMBLEN LLP 717 W SPRAGUE AVE, STE 1200		: 01 02 03 04 05 06 07 08 09 10 11
		OBJECTION: (ATTY)	SPOKANE, WA 99201-3505 STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	: GROUND WATER
95-16742	11/24/2014	RESPONSE: (ATTY)		Issues	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720 BOISE, ID 83720-0010		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033	Water Source	: GROUND WATER
95-16742	11/28/2014	(ATTY)	PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues	e: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		CLAIMANT: (ATTY)	BOISE, ID 83701-0829 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	: GROUND WATER
95-16742	11/28/2014	RESPONSE: (ATTY)	EAST SHOSHONE COUNTY WATER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues	: 01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source	: GROUND WATER

253 3RD AVEN	NUE NORTH	ver majaareae	IOII DOCKET SHEET	IWT040	11.02. 555
	TER OF ACTION DATE FILED		ALL OBJECTIONS AND RESPONSES, F PARTIES INVOLVED		1/01/2014 THRU 11/30/2014.
95-16742			KELLOGG SCHOOL DISTRICT SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
95-16742	11/28/2014	(ATTY)	FERNWOOD WATER & SEWER DIST PAYNE, DOUGLAS P. 701 W COLLAGE ST STE 201 ST MARIES, ID 83861	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033		
95-16742	11/28/2014	RESPONSE: (ATTY)	BOISE, ID 83724 SHOSHONE COUNTY SPORTSMEN'S SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
95-16742	11/28/2014	RESPONSE: (ATTY)		Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER

PAGE: 934 Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14

253 3RD AVE TWIN FALLS, REGIS	NUE NORTH ID 83301 TER OF ACTION	_	: ALL OBJECTIONS AND RESPONSES, F	12/08/14 IWT040 FOR THE PERIOD 1	PAGE: 934 11/01/2014 THRU 11/30/2014.
SUBCASE#	DATE FILED		PARTIES INVOLVED		
95-16742	11/28/2014	RESPONSE: (ATTY)	SCOTT, ANDREW & HEATHER SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829		01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	BOISE, ID 83701-0829 WOEMPNER, CARLA SEMANKO, NORMAN M 101 S CAPITOL BLVD 10TH FL PO BOX 829 BOISE, ID 83701-0829		
		CLAIMANT: (ATTY)	UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
95-16742	11/28/2014	RESPONSE: (ATTY)	BALDWIN, JOHN MEYER, CHRISTOPHER H 601 W BANNOCK ST PO BOX 2720 BOISE, ID 83701-2720	Issues:	01 02 03 04 05 06 07 08 09 12
		OBJECTION: (ATTY)	STATE OF IDAHO CHIEF NATURAL RESOURCES DIV OFFICE OF THE ATTORNEY GENERAL STATE OF IDAHO PO BOX 83720		
		CLAIMANT: (ATTY)	BOISE, ID 83720-0010 UNITED STATES OF AMERICA AS TR US DEPARTMENT OF JUSTICE ENVIRONMENT & NATL' RESOURCES 550 WEST FORT STREET, MSC 033 BOISE, ID 83724	Water Source:	GROUND WATER
NUMBER PRIN	TED: 3748				

NUMBER PRINTED: 3748

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 253 3RD AVENUE NORTH TWIN FALLS, ID 83301 12/08/14 IWT057 PAGE: 1

	REGISTER OF ACTION LIST SHOWING ALL ORDERS, PLEADING AND OTHER DOCUMENTS (EXCEPT OBJECTIONS AND
	RESPONSES) FILED, OR LODGED, EXCLUDING SUBCASES FOR THE PERIOD 11/01/2014 THRU 11/30/2014.
SUBCASE#	DATE FILED ROA-DESCRIPTION
00-49576	11/14/2014 ORDER GRANTING MOTION TO AMEND ATTORNEY GENERAL MAILING ADDRESS ON CSRBA STANDARD FORMS
77-14354	11/20/2014 MOTION FOR DETERMINATION OF DEFERED DE MINIMIS DOMESTIC OR STOCK WATER USE
93-07656	11/12/2014 MOTION TO FILE LATE NOTICE OF CLAIM

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 1 253 3RD AVENUE NORTH IWT063 TWIN FALLS, ID 83301

REGISTER OF ACTION LIST SHOWING ALL PARTIAL DECREES
FILED FOR THE PERIOD 11/01/2014 THRU 11/30/2014.

SUBCASE # DATE FILED CLAIMANT AS RECOMMENDED/DECREED

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 1 253 3RD AVENUE NORTH IWT063D TWIN FALLS, ID 83301

REGISTER OF ACTION LIST SHOWING ALL FEDERAL INSTREAM FLOW SUBCASE DISCOVERY FOR THE PERIOD 11/01/2014 THRU 11/30/2014.

SUBCASE# DATE FILED ROA-DESCRIPTION \_\_\_\_\_\_

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 253 3RD AVENUE NORTH IWT060B TWIN FALLS, ID 83301 PAGE: 1

REGISTER OF ACTION LIST SHOWING ALL AMENDED DIRECTOR'S REPORTS
FOR THE PERIOD 11/01/2014 THRU 11/30/2014.

SUBCASE# DATE FILED ROA-DESCRIPTION \_\_\_\_\_\_

Coeur d'Alene-Spokane River Adjudication DOCKET SHEET 12/08/14 PAGE: 1 253 3RD AVENUE NORTH IWT066B

REGISTER OF ACTION LIST SHOWING ALL MASTER'S REPORTS
AND CHALLENGES TO MASTER'S REPORTS
FILED FOR THE PERIOD 11/01/2014 THRU 11/30/2014.

SUBCASE # DATE FILED CLAIMANT AS RECOMMENDED/DECREED